n -
B

28 - FEHENKEEEEHEEL00S

Address: NO.100 ,Longxiang Road,Yunlong Town,Yinzhou, Ningbo
Tel: 0574-28852366 +8618668550688

Fax: 0574-28852377

Skype: chen05081020

Website:www.kondifitting.com

Email: salel@kondifitting.com , chendaniel888@sina.com

JR 8 % 288 #1 7 PR 2 5]

KONDIHYDRAULICS CO.,LTD




R38R [E 25 M B R A

= sez=
~E@En
OMPANY PROFILE

TSR ERBRAALFEEMNFENZBETIEX , SittEfR6000Es. ARMMEVERR |, I8
BIZ1S2E , EEILCEO202E. 2AREE20SFIEFRERLAENE,

FRRERESMRRAHIESRANZITEN. 28RE "RES— , RHeIH" | RithaHR0EE
A MI—REEENKREEL  BE—MRESKRESHEFERNI~R. 2RBEWLEMLETSE , (Bi#
mBER , MRFHTHY. BiRESEFERSENBEXESSFRILESE—HRENRIR.

FREEAFANDHEZFERITCKBNSESRR. RIMSLUISRE | S5FcENEOIREaRNnNE
.

Ningbo Kangdi Hydraulic Co., Ltd. is adjacent to the scenic Dongqian Lake Scenic Area, covering an area of more than
6,000 . It enjoys beautiful natural scenery, convenient transportation and a favorable geographical location, being 15
kilometers from Ningbo International Airport, and less than 20 kilometers from Beilun Port. It is a specialized domestic

manufacturer of hydraulic pipe fittings with nearly a decade of production experience

The company has a number of high-quality high-tech designers and staff ranks. Adhering to the principle of“quality first,
innovative™, we have design the newest joint way to apply for the hose assembly . Metric Fittings and Adapters are the hot
sales and key products. Our producing line has achieved the Automatic which bring the stable quality and economic saving

cost. We provide the first-class Service to solve the problem and deal with Energy issue with the customers at Once.

All our people warmly welcome all new and old customers to visit us. We are happy to service you wholeheartedly with
high-quality products and competitive prices. We sincerely look forward to sincere cooperation with you, to create our
mutual splendid future.

>,

]@Jﬁ&ﬂ;aﬁﬁ

I Bx

Factory Tour

Rerser
4 24

?;
Nianaararine.

=
1

B8 E RS B IR A A




CONTENTS H>

r=dh B3¢

CONTENTS
A aE]fE S Company Profile..................oooooovivieiccee 1
LT IR FaCtOry TOUN .- oo 2
PART A B8k HOSE FITTINGS ..o, 13
FEE—8 AHOSE FITTINGS BRI oo, 14
INTERLOCK TYPE PUB R oo 21
H00700 FUPT MR EPEIE RIB RIS ASH oot ettt ettt ee e ecemen et e e e e et e eeeeeee et eeeeeoemn et eae e eue et eneeeenesrceaen 21
------------ FERRULE FOR SAE 100R13 / SAE 100R15 / DIN EN 856 4SH (3/4" = 1" )..cooiuieeeeeeeeeeeeeeeerrrnnnn 21
H00800 N ==y I =1 IR 21
------------ FERRULE FOR DIN EN 856 4SH ( 5/8" = 1.1/4" = 1.4/2"™ = 2" ). 21
H126A0 B TMIE L 800 PIAETHT covov oo e e e e e oo memee e o222 e et o2 et eememe e et e et e et eeeet e erenn s 22
------------ BSP MALE PARALLEL 602CONE SEAT .....oeoeieeeeeeeeeeeeeeeeee e ee e e ememes e eeseeeeeneesseneeeevemeesennen s 22
H226A2 ey gl ) Sl 11O PRS 22
------------ BSP O'RING FEMALE 602CONE SEAT ......ooovoeoeoeeeeeeeeeeeeeeee et eeeeeee e eee e eemem e sesneneeseeesen s emessenenenn 22
H226B2 Q0 2T PUBELL B0° FMETHT ..o oo e e e e e eememe e et o2 e et e e ememee et ee e e e e e s oemee e 23
------------ 90?BSP O'RING FEMALE 602CONE SEAT ....ooeoeoeoeeeeeeeeeeeeeeeeee et eememe e ee e ereeeeen e 23
H226C2 4572 BEAF PIEE L 600 FMIETHT ..ot oo e e e et e e e e e e o2 e e emecee e e eeee e ee et e e et o2 e rmemt et e et e e eeeeneeeereemne e 23
------------ 457BSP O'RING FEMALE 602CONE SEAT ....ovoooeeeeeoeeeeeeeeeeeeeeeeeeeeeeee e oememese e ee e ermemene e 23
H167A0 ZEH JIC FREB DL TA% IIMEETH ....ooveeeeeeeeeeeeeeeeeee e ettt et et et s ecame et e et et e e et eee et e eee s e amamee et ene e et eeeeneeaesesoemmeseae s 24
------------ JIC MALE TAPCONE ..ot et eemee e et e e et ee s rceet s s e e et e s sn e e s emeemssseeenennnn 24
H267A2 ZEE JIC AMB L TA% AT ..o e eeme e e e e et et oot e e e 24
------------ JIC FEMALE TAP2CONE SEAT ..ot eee et eeeme et et eee e e e vemmeseeeeeeseenee s e s eenn 2
H267B2 90?2 JIC FMBLL TA% PIETH .ottt et et et et e e e e emecma e et eaeeeeeeees e e et s oncmee e e et et et eneeeeaeeamen 25
------------ 9072JIC FEMALE 742CONE SEAT ..ot eememe e ns e e s s e enenereenennenennn 2B
H267C2 L e I (o N =gy 4 OSSO 25
------------ 452JIC FEMALE TA2CONE SEAT ..ot eemeee e e e e e memnsneneenennnennnnn 2D
H156A0 FRHERT IMIBLL 600 PIAETHT ..vevovoveeeeeeeeee ettt eceee et et et et et et e eeeeetsammet et et et eseeteeeeee e ermem st eeeeeeeeeeneeeeeeeesememnn e eneeee 26
------------ NPTF MALE B0PCONE SEAT .....ooooeoeoeeeoe oo eee e e eees e e et e e e e s es e seereesnn e eesnereans 2B
H142A0 ZEH ORFS HMNEBBITETH . .vveeeeeeeeee oottt e eeeee et et et eeeee e e et ee e et emeeme a2t e et eee e et eeeeeeeeeremmet s et e et eeeeteseeeae et e s e e eeeeneenes 26
------------ ORFS MALE ...t ee et et e e e e e rmemes et e e e e e e es s e erenen e eenrnee e 26
H242A1 ZE] ORFS PHEB T v veveeeeeeeeeeee et ee et eeece e e e et e s e e e et e e e e oecmme e e et et e e et et e et e rcmmmn et e et eee et eaterenesvemmee st eneenen 27
------------ ORFS FEMALE ...ttt e e ememes et en e s nees e eeme s enenenssenenenn 2T
H242B1 90225 ORFS PUEBAITE T ... voveveeeeeeeeeeeeeeeeeemee et et et et et e e e eeeestsammmt et et eeteneeeeseeeeearmmme st eteeeeeneereseeeeeesemmmmneenen 27
------------ O0P0RFS FEMALE .......oooooeoeoeeeeeeeeeeeee e ememee e e e e e e s e eemes s senes e nnes s e smamsenesenennenen e 2T
H242C1 A52ZE ] ORFS U BT v oveeeeee et eeeee et eeeee et et et e e teeeeeseeeeeeemecmee a2t eseeee et eee e e e e e omcmee e e et e e et et eet et e rmmmcne e 28
------------ 4520RFS FEMALE (CRIMPED - BACK NUT).....oimiimieeieeeeeeececeseeee e eee e eeen e remenen 28
H105A0 AN SMIBLL 240 PIBETEIEE 2851 ..ottt eeeee e et e et et ete e et e ee s et et e e teeeeeseeneeee e s emmmmn s e et eneneeeneereeeeeeeoemee s 28
------------ METRIC MALE 24?CONE SEAT HEAVY TYPE DIN 3861 (CES) ....co.viviieieeeeeeeeeeeeeeeeeeeeeeeesrene e 28
H205A1 P PIHBEL 24° ZEHE O BB ..ot ettt et eemee et o2 ettt et et e et ettt eeecee ettt ettt ee et et et e eemmet e reen 29
------------ O'RING METRIC FEMALE 24?CONE HEAVY TYPE DIN 3865 (DKOS) ........oviieeeeeereeeeeeeerereeereennnn 29
H205B1 Q0?2 /A &I FIIELL 24° 4 O BUBB B BT oottt et et e en 29
------------ 90?0'RING METRIC FEMALE 24?CONE HEAVY TYPE DIN 3865 (DKOS -90) (SLIP-ON NUT)............29
H205CA1 A52 N E] HUBESL 24° 4EH7 O BUB B BTN oottt e et e et ememet et e et et e et et eemen et et 30
------------ 45D'RING METRIC FEMALE 24?CONE HEAVY TYPE DIN 3865 (DKOS -45) (SLIP-ON NUT).............30
H873A0 E Y R < 111110 1 22K 70 SR 30
------------ SAE FLANGE 3000 P.S.l oottt oememe e ee e seseeeee s s s evmemes s enesesenensssenesseenneenenn 30
H873B0 Q0?SAE JE2E 3000 P.oS.l .o e e e e et et e e 22 s s remem e e e e e et 31
------------ G0?SAE FLANGE 3000 P.S.1.......o oo eeeee e eemeee e e e e e seeeeee s sememeseneneeeesenenenernermanees 3]
H873C0 F oy N S e 11 111 )= S 31
------------ A5PSAE FLANGE 3000 P.S.1. ...oooooooeeeeeoeeeeeeeeeeeeee et ecemet et sesenee e sese et eememeesesneneeeesnee e e s e 31
H876A0 SAE TE2E 8000 P.S.l ..o e e e e e et oo eee et e et e e en e 32
------------ SAE FLANGE 6000 P.S.l. oottt eememe et e e et ee e e rmemee s e e e eee e eeseen s oemee e en 32
H876B0 G0?SAE JE2E 8000 P.S.l ..o e e e e oot et e 2o e e et reme s e et e et et 32
------------ G0?SAE FLANGE 6000 P.S.L. ....ooooooeoeoeeeeeeeeeeeeeeeee et ee e eemee e e ee e e e e e s s s eememesneeeesereeeeeesnsermemen 32
H876C0 A52SAE Y525 8000 PoS.l .ot ettt e e eeei et e et e et 33
------------ A5P7SAE FLANGE 6000 P.S.1. ...cooioooeeeoeeeeeeee oottt eeee e eeemee et e s seeee e ses s oememeeseesesereeeeesnes e 33
H877A0 SAE Y25 9000 P.S.l ..o ee ettt et e e et et e e et e e et e ren e 33
------------ SUPERCAT FLANGE ..ottt et eemeee et e e e e e et ee e rmemn et et e eeee et e eereemese e eeeen e 33
H877B0 QOTSAE Y522 9000 P.S.l. ..o e et eeemee e et e et o2 e s e e e e e st et ereee e 34
------------ G0 PSUPERGCAT FLANGE ... e e eeeeme et e e ee s eermemes s e eeree s esnen s eemenennnn 3

r=dh B 3%

CONTENTS
H877C0 AS5BAE YE2Z Q000 P.S.l. .ot mee e e e et e s e e o2t e ettt reee e 34
------------ A5PSUPERCAT FLANGE ...ttt et oememe et et e et et ee et rmemet et ee e eeeenee e s een e oemeeeenn e 3
H200A0 R T TR I T ettt et et e eceee ettt et et et e et et e et et e e at et e 2t e oemnt e et ettt et e e et e et remonat e eae et e etenne et et oo 35
------------ CONNECTOR INSERT ..ot ee et e e eeeeme et ee e eeeee e e e s s rmemes s es e seseneneeeesnsoememnennnnenn 35
STANDARD TYPE Bt R oot 36
S00100 TR A oottt e ettt eeeme ettt e et reemee e et e e e ee e s e er e 36
------------ FERRULE FOR SAE 100RTA / DIN EN 853 18T ..o.ooeoieieoeeeeeeeeeeeeecee e eeeeeeee e eemes e eeneeeeseeeeen e eeni3B
S00200 i === ISP 36
------------ FERRULE FOR SAE 100R2A / DIN EN 853 2ST / SAE 100RA ..........oooeoeoeeeeeeeoeeeeeeeeeeeeeeeeeeeerrn . 36
S03000 i == IR T TSSOSO RO SR PIPN 37
------------ FERRULE FOR SAE 100R3 / DIN EN 854 3TE / SAE 100R5 ..........oiioooeeeeeeceeeeeeeeeeeseeeee s 3T
S04000 e =y USRS 37
------------ FERRULE FOR DIN EN 854 1TE / 2TE, SAE 100R17 /R6 , DINEN 857 1SC ......oevevoveoeeeoeeeeann . 37
S00110 i == IS USRI 38
------------ FERRULE FOR SAE 100RTAT/ENSS3 1SN ....oooooeoeoeoeeeeeeeeeeoeeeeeeeee oo eememnn 2 38
S00210 == USSR 38
------------ FERRULE FOR SEATOOR2AT/EN 853 2SN .....ooioieieooeeeeeee e eeemee e e ee e eememnen 2 38
S05001 e =y S 39
----------- FERRULE FOR SAE 100R1AT / DIN EN 853 1SN ......oo oo eee e en e enen e en30)
S05000 == USSR 39
------------ FERRULE FOR SAE 100R1AT - R2AT / DIN EN 853 1SN - 2SN / SAE 100R16 SAE 100R17................39
S00400 L= = RSN o
------------ FERRULE FOR 4SP, 4SHA0-16,R12 0616 ........c.ovoooeeeeeeeeeeeemeeeeeeeeeeeeeeeeeeeeememeseseneneesesenen e seemennn A0
S00401 e == O o
------------ FERRULE FOR SAE 4SH .RA12/32 ..o eeeeme e ses s ereamessereneen e A0
S130A0 TEHEEPHIIBI ..o ettt ettt et 2 et a2 et e e et 2 e e e amene o2t e 2t ettt et et e e s oamemn et e e et ea et eae e ees et 41
------------ BSP MALE TAPERED ..o e eemees e e e e e e s e s e s ee e senen e e ssermemes s e eenenen M
S122A0 B B LU TETHT «.ve oot ceee oottt e et et et e et eemcee et et et et et et e e et e mmae et et eet e et et eneeteesrmannt et etenee et ereeaenee o 41
------------ BSP MALE FLAT SEAT ..ottt oememe s e et e ses s eeeeees e ermemesee s eeseseneneesesnesoememneesnen AU
S126A0 GEREHMIBLL B0° PIZETHD ..vovevveveeeeeeeeeee et eeeecee e eeee et et ee e eeeese et emmame e e e e eeeeneeeeeeeeseesesammeteeeeeeereereseeeeeesesrmmmn e neneneaned 42
------------ BSP MALE PARALLEL 602CONE SEAT .....oovooieeeeeeeeeeeeeeeeeeeeeeeeeeee e e e ememee e eeseeeeeneessenee e vemenesennen A2
S226A B UL 800 FMEETH ...t e et e e e e et e e e e e e e e rmes s e e e e e een e nener e A3
------------ BSP FEMALE B02CONE ..o eeemes e e e s reneneeseseseememeneneesesneneneeseneseremennennen A3
S226B Q0 PIAE PIHBLL 600 FIETH ... voveeeeeeeeeeeeeeeeeeeeeeeeeeeee et ete et eue et eteeeesemeceseee et eteeeeeeeeeeseeeeememmeeeeereeereeeereeseresemeeneeeene A
------------ G07BSP FEMALE  B0PCONE .........meoooeeeeeeoeeoeeee e eeme e ee e s e e s e reemes s e e eessenenses s s eennn A
S226C A52TERE PIHBLL 60° FMET .. ove oo eeeeee e e e et ee e ee et ee e eemees e eeeeeeeeneeseeeeseseemamnseeseesneneeseseessereeeeeee e 215
------------ 457BSP FEMALE B0PCONE ..o et eemee e eeee s e e e eeeeneeeenen e e s reeens s BB
S226A-OR  FEGPIIELL 60° SEH O Z BB AT ..ot ee e e ettt ee e 46
------------ BSP O'RING FEMALE B02CONE .......ooioioeoeeeeeoeoeeeeee e ee e eemee e e eeeeeeseees e emeeseneseneneennennnenn B
S226B—OR  907ZE45 PHUESL 600 HEHE O B BB AT ..o eoeeeeeeeeeeeeeeeeeee ettt et et eemem et et et e et et eemee e r e e e, 47
------------ 907BSP O'RING FEMALE  602CONE ..o eememes e sese e eesess e eennenen e AT
S226C—OR 45?7 AF PIIBLL 60° HEHE O BUBB MBI ..ot eeee et et e ettt e e ememee e et e eee et et e s e et oemecneeeeeeeen e 48
------------ 457BSP O'RING FEMALE  B0PCONE ......ommioeoeoeeeeeeeeeee oot eemem e seee e e e nennnen e A8
S222A L BB T oo et e et e e 22 et e et e o2t e et oemem e e ee e 49
------------ BSP FEMALE FLAT SEAT .....oooooeoeoeeeeeeeeeeeeeeeeeee e e oememe e s e s s es s eeseememes s e seesenenenenes s veeee e 4O
S222B G0 P B T T .ottt e e et e et et et e e e eemmee e e et e et et et et eemona e e ae et e e e et e et e e et e e e e eee e 50
------------ 907 BSP FEMALE FLAT SEAT ..oooooeoeoeeeeeeeeeeeee et eeeeeeeeee et vmemes st eeeneeneesseeenes s vemeeesseseseesesneneennB0
$222C A B P BB LTI oot eeeee e et e e e oot et 2 et o2 et et oecem e e et e e ee et e e e e e errn e 51
------------ 457 BSP FEMALE FLAT SEAT ..ooooeoeoeoeeeeeeeee et ee et eee et e eeme s eee et e e ee et ee s e vemmeseenenesneeneensnennaB]
S720A0 B B B I oottt et ettt 52
------------ BSP BANUJO ..o oot et eeee e et et r et et nn e reans B2
KB720 B BRI B A oottt e e ————— et e e e ettt e ottt e e e e e e et e e e e 52
------------ (2157 230 =T T PSR 7
S16TAO  ZEFI JIC FMIBLL AT coovovoeeeeeeeeeeee ettt et eee et ettt et e e eee e e e et e rceemt e o2 e et a2 e et es et e2e et e rmemt e e s et es et ere et eee et srmecnteeeeenens 53
------------ JIC MALE TAPCONE ..ot e ettt eteemei e et et e ee et et e rcemen s eeeee et eeeneeeee e s emmemsenseeesennnee D3
S267A ZEH JIC PIEBLL T A P HETHT ....eoeoeeeeeeeeeee et eeeee et e e et e et et e e e e e e e e et e e e e e e e e e e e et et emmces e et et et et et entsrememe e ee s 54
------------ JIC FEMALE TA2CONE SEAT ...oooooeoeoeoeeeeeeeeeeoeoeeeeeee e ee e eeeme e et eee e reemes s s e esrenen s s s s eennn D
S267B 9072551 JIC PHBBLL T4% PIHETHT oo eee et eeeee et et eeee et ee e e e e e ememee et e e e e e e e e ee s s e s eemecs e eesneeeeeseresee e 55
------------ 90?JIC FEM ALE SWEPT ELBOW 742CONE SEAT .....oooooooeeeeeeeeeeeeeeeeeeeeeee e e eeeeeeeeeseseememeenenneneneenenn s BB
S267C 452255 JIC PHBBLL TA% PIEETT cooeeoeoeeeeeeeeeeeeee oot eeeee et et e et et e e e e ememee et e e e et e e e e s e e s oemec s e e s eneeeeesereeee e 56
------------ 457JIC FEMALE SWEPT ELBOW 742CONE SEAT .....ovooiooeeoeeeeeeeeeeeeeeee oo eee e eememe e nnnenennnnen OB
S267A2-D  ZEH| JIC PIEBLL T4° PHEETH O A oot eeee e oottt ommeme et et et et et et e e s rmmmmet e e e een e 57
------------ JIC FEMALE 74?CONE SEAT DOUBLE HEXAGON ........oomiuiieooeoeeoeeeeeeeeeeeeeeee e eeeeeeseneeeesnenennn BT
S156A0 FRHEEE AMBLL 800 PIHETHT ..ovovvoeoeeeeeeee ettt eeecee e e e et e et et et et e ecmmme e s e et et et et e et eesemmcms et et et eeeeeeeeeentsmmmeeeee s 58
------------ NPTE MALE B0PCONE SEAT ..o eeeee e e e e eeeee s e s e e e see s ee e eememe s neeeneesnneeeennerennn B8
S142A0 ZE ORFS MBI T vvcveveeeeeeeeeee et et eeeecee e et et et et et e et et ecmmme et et e et eteeeeeutesesammmt e et et enteneeeeeneeresrmmm e nenene s 59



=l EF

CONTENTS

(0] 1S3 Y Y RS 59
BB ORFS O BBl .ottt et et et et o2 eceet 2t o2 et e o2 e et o2t o2 eenn et o2 et o2 et et et et e e et et e et 59
ORFS O'RING ..o eeceme e e o2 et o2 e e e o2 o2 eeermemes e e e e eeseses s e e sesecemes s neseneresereseseseseed 59
ZEHH] ORFS PUBBLITETI v veeeeeeeeeeeee e eeeecemeeseeee et eeeeeeeeeeeeseememes e e eeeeseseseeeeeesesermmeee e e et et eeeeen et eeeeeseemeeeneneeeeeens 60
ORFS FEMALE FLAT SEAT .ottt et s et e eees et ee et vemems e s e e ee et et eeeeeeeseeermemeeseeseseenseeeensaseseeemeres 60
Q07 ZE ] ORFS PUBB AT v eveveeee ettt e et eeeee e ee et ee et ee et e e e et eemee et e e e e e et e ee e e eeessmemee e eeeee e e en e e eee e e ememeseeene 61
O0P0RFS FEMALE FLAT SEAT oottt ettt et ettt ee et vememe s e e e s s e eeeeeseseseremecnsesasasesesesasesesanand 61
A5ZE 5] ORFS PHEBAITET ..o.eveeeeeeeeeeeeeeee et eeeeeee e ee et eue e et e eeeeeesoememe e et eseseeseneeseeesesommemnseetes et eeeeseneesessommamn e 62
A520RFS FEMALE FLAT SEAT oo e eememe e e e eeeeee e s e eeermemes e ee e e e eeeerereneand 62
g TSR 63
VS o = = T =3 O 63
gl D i TSRO 64
METRIC FEMALE FLAT SEAT oo e e e e e e s emees 2ot et ee e s e e esee et ee s rememe e e s s e s e es oo 64
OO A PIEELL ST v eeeme et e et e e e et eeceme e o2 e e e et ee e e e et et e et se e e e et ee e et e rmeee e e e erenees 65
QOMETRIC FEMALE FLAT SEAT oo eeeme s e ee e e ee et eeeeee et et ermames e e e s s, 65
E N il 7 sy g T USSR 66
A5 IMETRIC FEMALE FLAT SEAT oot eceee e se e ecemee e ea e e e e e e e e s oememseeeeeeeeeeeeneeeeens 66
B AN SO R v 7 RO URRRRON 67
METRIC MALE  B07CONE SEAT oo e e e e e e ee e e s vemams e ee e s e sememe s eseseeesenaens 67
AT PTHBEL 800 AMEETHT ..ot eeeee ettt et et e e e et e e oamem et e 2 et e se et e e et et s oemem et e e et ete et ete et et s oemaee e eeeeeaeend 68
METRIC FMALE  BOPCONE SEAT .ot eemeee s eeeeeeeeseeeseeeeevmemeseseseeesseesesesesesesrmemessesesesenenesanand 68
Q07 AE PIEEBL 800 AT ..o e e seem s e e eeeseresesesesesesermemes e e e e s e e eeesese e nees 69
QOPMETRIC FEMALE  B02CONE ..ot ee e ecemes s s e eese e e e e e s emems et eneeeeeneeneeeeens 69
A5 A PR AL 800 AT ..o et e e e e e e e eeeme e e e et et e et e e e e e et e e e e e e omaae e anes 70
A5METRIC FEMALE BOPCONE ..o eeoeeee e eemem s s e eee e e esen e s s eesrmems e e e st eseneeeeeneens 70
AHITMZLE 240 PIBETEIBE AT oo eeeeeeeme et et e oottt eeeeeseememe s e e e seeeeeseses s rememesesenesnessennesesenenenn T
METRIC MALE 24?CONE SEAT LIGHT TYPE DIN 3861 ((CEL ) ..oeeieeceeeeeeeeeeeee e 71
INBEIFMBLL 240 PIZETAT T5530 oo eeeeeeeeeeee et eeeeeeme e et e e et et et et et et et et et semams s ee e e e e e e e e e e e e e s eececn s e eeeseeeeeeeneseseerememse 72
METRIC MALE 24 CONE FRENCH TYPE ..o eememe e e e ee et e ee e e e ermemesesen e, 72
ANBIPEBELL 240 S8 O FUBBl B2 BB oot et e et eememe e eee e enenenna 73
O'RING METRIC FEMALE 24?CONE LIGHT TYPE DIN 3865 (DKOL) .......ovivioeioeeeeeeeeoeeeeeeeeeeeen 73
90? /AHIPIHELL 24° 4EHF O TP 38 BRI oot ee et eememe e e 74
90?0'RING METRIC FEMALE SWEPT ELBOW 24?CONE LIGHT TYPE DIN 3865 (DKOL - 90)............ 74
ASVNHIPIBEL 24 HEHE O U BB TN oottt ettt eememee e, 75
O'RING METRIC FEMALE SWEPT ELBOW 24?CONE LIGHT TYPE DIN 3865 (DKOL -45).................. 75
A PIIB L 244 B TR ..o e oo ettt e e e e e e eeemee e e ee et e e e eeeee et e e seemet e ee et eee et eaeee e e rmameeeenee 76
METRIC FEMALE 247 SEAT LIGHT MULTISEAL DIN 3868 .....eeveeeereeeeeeeeeseeeemeeeeeeeeeeeeeeeeeeeeeeeesvmeeesenenenen B
I DL g Y R 1N T - v 76
METRIC FEMALE 24?CONE FRENCH TYPE (SLIP = ON NUT) ¢ eeeeemeeee e 76
TN I i Y= =9 71 > TR 77
90?METRIC FEMALE 247SEAT LIGHT MULTISEAL DIN 386 8 ... eeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee e eememenen 77
90?7 ABIPIEBLL 240 AT T et oot eeee ettt e e ee e e e e e e et e e s oeeme et e e et e e e e e e e et e e e eeeeeeneeneeeane 78
90METRIC FEMALE 24 CONE FRENCH TYPE (SLIP -ON NUT) ....vuimimeeeeeeee e oeee. 78
Y N L s QP =Y, | = TSRS 79
45?METRIC FEMALE 247SEAT LIGHT MULTISEAL DIN 3868 ....cevoveeeeeeeeeeeeeeeeeeeee oo 79
R oL g Yl N S v 80
45?METRIC FEMALE 24 CONE FRENCH TYPE ..ottt ee ettt eememes e es s s s s s nens 80
AFITMBEE 24° BT EE T .. ovoeoeeoeeeeeeeeeeeeeeeee e e e s s e s e e s e reemseseseeeeer e s e s s e v 81
METRIC MALE 24?CONE SEAT HEAVY TYPE DIN 3861 (CES ) ouvuveieeeeeeeeeeeeeeeeeeeeeeee oo 81
AEIPTHESL 24° HEHE O BB EE T ..ot et ee e e e et et et e reame e e e et e et ee et e et e et e te ettt ene e e 82
O'RING METRIC FEMALE 24?CONE HEAVY TYPE DIN 3865 .....veeveveeeeeeeeeeeeeeeeeeeeseseeeeeseseseseses s emeseees 82
90?7 A PTHELL 24° HEHE O BB B R oottt e ememee et e e e e et et ememe et et 83
90?0'RING METRIC FEMALE 242CONE HEAVY TYPE DIN 3865 ..evvuieeeeeeeeeeeseeeeeeeeeessesesesessesssnesind 33
ASVNHIPIBEL 24° S O U EE BRI oo eee et et ettt et et et et et et eemamn e ee s, 84
45?20'RING METRIC FEMALE 242CONE HEAVY TYPE DIN 3865 ....ovveeuieeeeeeeeeeeseeeeeeeeseeeseeeeseseeeeeeseseond 84
gl D R LT SRSV 85
GB METRIC FEMALE 7APCONE SEAT oo ee e e e oememt et et es e e eeeeee e e oememe s esenenes e 85
O L L i Y1 86
90?GB METRIC FEMALE  742CONE SEAT ..o eeeeeeeee e eememe s sese s s seee s eeemseneend 86
W Dkl L1 TS 87
455B METRIC FEMALE  7TA2CONE SEAT oo eeeeeeeet e s eememe s seeeeeseeesesese s eeemeenens 87
A B L B IR B B oo eeee et e ettt e e et ettt ettt e 38
METRIC STANDPIPE LIGHT TYPE DIN 2353 (BEL) ... eeeee e semem e 88
NN i S == W == 7| 89
90?METRIC STANDPIPE LIGHT TYPE DIN 2353 (BEL = 90) .......ovuveeeeeeeeeeeeoeeeeeeeeeeeeeees e sememeenee e 89
/N il S S W = o 8- | [T 89

45?METRIC STANDPIPE LIGHT TYPE DIN 2353 (BEL - 45) .....coiiiiiiiiiecieee e 89

r=oh H 3

CONTENTS
S501A0 e <3 W= = Y1 [OOSR a0
------------ METRIC STANDPIPE HEAVY TYPE DIN 2353 (BES) .....coovvieeeeeeeseeseeeseeeseeeseseesesnesesoeemessne e 90
S501B0 907 A ZE R B B B B I oo e eeeee s e e et ettt et ettt rmamee e 91
------------ 90?METRIC STANDPIPE HEAV Y TYPE DIN 2353 (BES=90) ......oveveeeeeeereeeeeeeeeeemeseereeeereseresesee s sreenennenn 91
S501C0 F B = e W= K== | SR 91
------------ 45?METRIC STANDPIPE HEAVY TYPE DIN 2353 (BES = 45) ....oovveeeeeeeseeeeeseeveemeeerereeeseseereses s enoenmerenn 91
S700A0 117222~ USSR 92
------------ METRIC BANUJO .o ecemee e se e s e s sememeseneneneneneneneneseeereememeneseneennesesenenen s 2
KBT700 IR EBEEEAR oottt ettt oeceoe et et 2 ettt et a2t e e eemecet et et oAttt et et en et et oecect et et en et et e e et e e ere 92
------------ METRIC BOLT ettt et eeees e ee e eememeseee e sesesesesesesesesmmmsese et eeesseeeeeeeesesermmmmseneeennseneneneseness s 02
S873A0 SAE BIEEZZ 3000 PO 1 oot e et e 2ottt o2 e rmamee et e e ettt en e a3
------------ SAE FLANGE 3000 P.S.1. oo eeemee e s e e e s e e e eneeeme e eeeeeeeeeeseeenese s rememnnn2 93
S873B0 QOBAE  ELTE2E 3000 P.S.1 oottt eeee et e eee et e e et et s onmmme et et et et e e et et s emmmn et e et et et e eeeneeereoemetenen 94
------------ GOPSAE FLANGE 3000 P.S. Lo eeeeeees e e e e eeeeeeee e eeesoemema s s sesesssess s O
S873C0 A5BAE  BIVE2E 3000 P.Sul coieieeeiee oot eeeee et et et e et et et s remme et ettt ete et et e s emmnn et et et et e eaeeeeereeemee s 95
------------ 457 SAE FLANGE 3000 P.S.1. cooeeeoeeeeeeeeeeeeeeeeeeeme ettt ee et et eeeeeveememeeeseeseeeeseseseeeee s rememnsesesesesesesesesessree 95
FL SAE JE2ETZ 3000 P.S.L oo e et et e et ee ettt e et oemame e et e e e et remeca e s er s e e e s et e e e 95
------------ SAE SPLIT FLANGE CLAMPS 3000 P.S.1. oo eeee s s e e s eeeemeseeee e eseesesesese e semacanennn 95
S876A0 LY R 7 o100 O == PO 96
------------ SAE FLANGE 6000 P.S.1. o oeeeeeeeeeeeeeeeeeeeeee e eemes e e s e e s s s enesesoeeamssseeeseseseesesesessessemacnsenen OB
S876BO O0PSAE ELVEE 8000 P.S.1. e ettt e e eememe et e e e et e e ermemee s e ren et et oeee . 97
----------- GOBAE FLANGE B000 P.S.1. oo eeemeee e seees e eeemeeeneeesesesenenesesssevmemmsesseeensesesesesesenseness 9T
S876C0 AS5BAE  ELTEZE BO00 P.S.l et et et ee o2 e e e et et et ee et et ee et oememneen 98
------------ A5PSAE FLANGE 8000 P.S.1. oot eeeeeeeeee e eeeeeeeememe e s eseeeeeesee e oemema s s s sesesessess s e 98
FS SAE TEZETE 8000 P.S. Lttt eeeeeeeeee oot eeeee e e et e e e et et et e et emmane et et et e et et eutetesramae et et entene et et ene et ommmnenee e s 98
------------ SAE SPLIT FLANGE CLAMPS 68000 P.S.1. oo eeeeeeeeeeee s e e s s eememeeeeeeeeeseeesesesesesesemennnnn 98
KOR612  SAE E¥E2 3000 F1 6000 P.S.LFTHE O ZUB ..o eeeeeeee et vcemee e eee e e e seeeeee s oeeee e 99
------------ O'RING FOR SAE FLANGE 3000 AND 6000 P.S.1. c.ureeeeeeeeeeeeeeeeee e ses s sse s eememe s sesnenesenennenen 90
S877A0 TR SUPERCAT BT e eoeeoeoeeeeeeeeeeeeeeeeeeee e et et e e et e e e e e e eemems e e e e e e remece s e s s s e s s s s semamseren s 99
------------ SUPERGCAT FLANGE ... e e e e e e eeeesevmeees e e e e e esene e e s vmemes s sesesessseseseseseeesenenenenenenns OO
S877B0 902 BT 2 - SUPE R CAT B .ttt eeee et ettt et et e s e et esemec e ee e e s e e s e ee e et e s e e emmcnneee e et e see et eeeeessommms 100
------------ GOPSUPERCAT FLANGE oot ecemee e se s s s s sseemeeeneneneneneneneneneneneemamenen ] 00
S877C0 A5 BT 2 - SUPERCAT B oottt ettt e e e e e e e ememme e e e e e e e e e e eeeee e s s ommmee e e eeeee e e e ee e et e rmmmmes 100
------------ A52SUPERCAT FLANGE ..ot eeeeeeee e e eeeeseememe e eeeeeeeseseseseseserememesesesereneseseseseneneseenenn 100
S870A0 L R 2 et ee ettt ettt ettt 2t ettt e o1t et e a1t e et oamet 2ttt e 1t eae ettt e e e ermne st ettt et e et et et et emmnn e e 101
------------ JAPANESE FLANGE ( KOMATSU TYPE ).ovoooiooeeeeeeeeeeeeeeee e emmenn e nemamnnnnn 101
S870A0 S TO = 7 7 OSSOSO RU 101
------------ 90?2JAPANESE FLANGE ( KOMATSU TYPE ) .oooeeeeeeeeeeeeeeeeseeeeeee e esememeenseenesenesenenesnoennn 101
S870C0 F o = PR 101
------------ 452JAPANESE FLANGE ( KOMATSU TYPE ) oo seememnene e 101
S286A3-D  HAAHIPIIRELZL 60° PIEETE CIUPIFE D oeoeeeeeeeeeeeeeeeeeeee e e e e et e eeemee e e et ee e s st essesesremame s e eeearennes 102
------------ JAPANESE METRIC FEMALE KOMATSU TYPE (CRIMPED - BACK NUT) ..o, 102
S226A3-D  HRIEHIPIHBLL 60° FMETHT CIUPIFHD ceoeeeeeeeeeeeee oottt oot e et e et e e et e e e eceme et e et e e et e e et e teermeemae et eeeeeeeens 102
------------ J.I.S. FEMALE 60?CONE TYPE C (CRIMPED - BACK NUT) w..cvoiveveeeeeseeeeeeeeemseseeeereeeenes s seeecenn 102
S296A3-D  HRILHIPIEELL 60° PIEETH (BT D oot et e e et et e e eeemee et ee e ee et eesesesremece s e eeeneeenes 103
------------ J.I.S. FEMALE 60?CONE SEAT TYPE F (CRIMPED - BACK NUT) w..ovivivieieeeseeeoeeeseeeeeeensnnn. 103
S900A0 By T i RSSO 103
------------ CONNECTOR INSERT ..ottt eceme e seee s se e e seeeseees e esseeeeeeeesseesesesoemamesesesesessesesesesesereecennenenen 103
ONE PIECE TYPE KB oo 104
P204A1 AHIREEEL 24° 481 O BUMB B2ZRT oo eeees e ee e er s es e 104
------------ O'RING METRIC FEMALE 24?CONE LIGHT TYPE DIN 3865 (DKOL) ......ovvvueeeeeeesesreeeeesserrennnn 104
P204B1 90? A PIUBSL 24° HEHE O BBl B8 RN oot ee ettt ettt eeeee e 105
------------ 90?0'RING METRIC FEMALE  242CONE LIGHT TYPE oo eemames e 105
P204C1 ASVAEPIUBLL 24° HEHF O BB BB B T oo eee s ereren e 106
------------ 45?0'RING METRIC FEMALE  24?2CONE LIGHT TYPE . e oo neeeenese e e enenn 106
P205A1 ABIPIBEL 24° 4EHF O BIBBIEEZR T oo et eee e eemet et et et et et et et et et et et eememn s, 107
----------- O'RING METRIC FEMALE 24?CONE HEAVY TYPE DIN 3865 (DKOS) ....cocvveuverireeeeerreeserrnenenenn. 107
P205B1 SIS L - QP YR O i e = 108
------------ 90?0'RING METRIC FEMALE SW EPT ELBOW 24?CONE HEAVY TYPE ....ovoeieeeeeeeeseeeeeeeernnnnn.. 108
P205C1 457 NEINIBSL 24° 4 O RIBE 25
------------ 45?0'RING METRIC FEMALE SWEPT ELBOW 24? CONE HEAVY TYPE ..o, 109
P873A0 SAE BITE2Z 3000 P.S. 1 oottt ettt o2 et e e rmemee et ee e r et en s st eememner ! 110
------------ SAE FLANGE 3000 P.S.1. ettt eeeeeeee e seeee e e s cemes e s s e seseseseseseseeeeeseseseeeeensneneesesemeemmnnenen] 10
P873B0 OOPSAE  EEVEZE 3000 P.S 1. et e et et eeemee et et e et o2t oememe et et e e e ermemeen! 111
------------ GOPSAE FLANGE 3000 P.S.l. oo e s s eeeeeeeseemems s eeeseseseseeeseses s oememasessesenenesseneneneneene 111
P873C0 ABPSAE  EITE2E B000 PoS.l oo eeceee e e e e et eeet et et et et ettt et et et et oememn s es e s ren e s s s remenn ] 112



7= B 3% 7=k B R

CONTENTS CONTENTS
------------ 45?SAE‘FLANGE 3000 P.S.L ettt emonr ettt mmnm et ne e s ememne | 12 ICH-ED BB A B LL ED BB 143
P876A0 SAE ETEZE B000 P.S.1. .ottt tieme ettt mmnm ettt st smmnm ettt et ene s s smmmm s s M3 METRIC THREAD WITH ED CAPTIVE SEALING( 1SO 99747 =1) evve.rveoeeveeereeeeeereeeeeseeseeseessesseeesesesenee 143
------------ SAE FLANGF BO00 P.S.L ettt et et ne e semmnne e e ] 1O 1CH-ED BB BB ED B B 144
P876B0 90?7 SAE HFEZE B000 P.S.1 o.eiiieieceiieieieeeeteimem ettt smmme sttt et b st sttt e st s "4 METRIC THREAD WITH CAPTIVE SEAL(1SO 9974 ~1).....cveeereeeeeeeeeeeeseeeeseeeeseeeevese e e seeem e 144
------------ 907SAE FLANGE BO00 P.S.L ettt smmmn et vemene | 1D 1Ch BB A BB O T B B I oo o145
P876C0  457SAE BRI 6000 P.S.l. oo L — METRIC THREAD WITH O’ RING SEAL (1SO 6149-1)....---oooooccooooooeoeooeeee oo 145
------------ 457SAE FLANGE 6000 P. S.l .ot eea e e emmmme e anenaneneneeennneeenrenee 1 1D 2Ch B A BB LL O BB BE I, o146
TESTHOSE FITTING R B i1 e METRIC THREAD WITH O’ RING SEAL/FEMALE 24 O’ RING SEALING ..........cccoovvvvvveiiioioeemrireeennnnn, 146
SBOOAT  BREHESL 116 2CHED  PURMAEL— MRS ED BIBHEBIEN .o 147
------------ TEST HOSE FITTING.....crcrerreersersiesseessessssessssesnescss s ssesssissmencssseossensssens s e 116 wo— METRICTHREAD WITH ED-RING SEALING/FEMALE 24 O RING SEALING ....ccoooovvscscs e 147
S202A1  AHIPIBEEL TR O T .o 116 1CG-ED BBk R A ED Ay 148
----------- O'RING METRIC FEMALE FLAT SEA ...ccccovrersensrsmenerssserssessssssssmesssssesessisessesss e erssens 116 == BSP THREAD STUD ENDS WITH ED-RING SEALING oot 148
S204A1  ABIKIREL 24 BESEH O BB BB, oo 116 1CG-ED BB SUHNRAL ED BRI oo 149
------------ O'RING METRIC FEMALE 24?CONE TEST HOSE FITTING ...occcouvvroerserrvrsersrssersseresesesssseronner:1 16 = BSP THREAD STUD ENDS WITH ED RING SEALING oottt 149
S267A1 B JIC PIBBEL TAPIHET oo oo eeeseeeeeeseseseeeesesseesceessesseesesseemsceeesseseresseseeremmn e 11T 1cT %ﬁ%ﬁfﬁmﬁ& ----------------------------------------------------------------------------------------------------------------------------------- 150
____________ ’) mEmmmesmmm—— B e e e e E e e E e eSS EmE e e e e e e e e S A S A eSS EEEES S Se SN NSNS NS mEmEs IS sassssasasaaaEnE s aman
STt MR 000 AT oo 20GED BB AHk IHIRA ED WMMAR, .. 151
------------ BSP FEMALE 60?CONE TEST HOSE FITTING ..c.ccocersevrierrerseemernssscsnssssessssseomemscenssscsrssseersecd 17 - BSP THREAD WITH O"RING SEALING/FEMALE 24 CONE O’ RING SEALING ........c..cocccrvsvss e 151
1CO NER ik L E QO N1 o OO 152
LOW PRESSURE {&Eiﬁ -------------------------------------------------------------------------------- 1 1 8 ------------ UN,UNF THREAD STUD ENDS WITH O-RING SEALING ... v e e e e 152
L104A0 FELHMBEL 60° PIHETE ......vecvceeeeeceeeeeetcemee e ee et ee e oemeen e aenene e aesesesrmemes s enenasassnnenssasssvmmmmennennenns 118 1CN ok O L O 153
------------ BSP MALE PARALLEL B0?CONE SEAT  ...oooioveeoieeeeeeseseeeemeeeeeeeeeeesseeseeeesseeemeeeseessseeeseesesesmeeensreennn. 118 NPT MALE oo eeeeseeeeees e es e seeeese s s e es e soemmsssesseesees s eesseessmeeeesseeesssessessesssseesn 153
L204A1 FEE PYIBLL 60° AMIETI ....ooovecveceeeeeceeeeeecemee e smnens e ss st en et ennesse s ensesessrmmemsnnensenes 118 1CN ok O L OO 154
------------ BSP FEMALE 60?CONE NPT MALE oo eeeeeee e eee e seeees s ses e es e oemmsess e eee s eeeseesmeeeesseesseeeesessessessnn 15
L204B1 Q07 JEEF PIBRLL 600 AMETHT.......oveeeeeeeeeeeeeeeceee e e e omemme s en e e s semees e ommemn e 119 1CN BB -TEHIAED S ..o et e 155
------------ 907BSP FEMALE SWEPT ELBOW B02CONE  ....oevvvveeeeeeeeeeeeeessseesseeeseeeeesseesesseeemmseesesseseeseerssneeseneene 19 NPT MALE oo eeeeeeeee e oeeees s sesee e esoemm e eeee e seeeesseeeeesseessereseeseesesseonn 155
L204C1 A5 B PIBB L B0° AT ... eemeee et eemee et ee e 119 2CN o R A L T 156
------------ 457 BSP FEMALE SWEPT ELBOW B02CONE .........covvveeeeoeeeeeeoeemeeeseeeeeeeeeeeseeeeeseeeeeeseeseneessenesssneen1 19 NPT MALE//FEMALE 24 CONE O’ RING SEALING ..........cosvoiroveeessoeeeseseereeeeeeesseeesesseeemeseseeseeeesseesnnn 156
1CT9 BB -BERIEIBLL ..o ameme e smen s 157
by P — GOPELBOW BSPT MALE ..o saeees e oo eeeee e eommese e s s oeeeme s ses s ee e seeeeeeeees 157
PART B d{#3k ADAPTOR ..ottt 120 1CNo e 158
= vy R U S ———— O0PELBOW NPT MALE ..o eeeeeee oo eeeeeseeeeeeeeeeeeees s s sseees e s s e eessoemmssses s eee e eeee e seeeees s 158
P —%E B ADAPTOR  SEERSL oo 121 1CN9 BEFHEESKZEIMEIRL ..o oooeoeoeeeoeeeeoeee oo eeeess e oo s sttt eeeee e 159
AHIFER, METRIC THREAD BITE TYPE ... 127 QOPELBOW NPT MALE .o oeeme oo e e e oeeeme e 159
1C BEBEESK oo 127 1CHO-OG  ELAATTARIBELAMIREL (.o 160
------------ STRAIGHT FITTINGS ....covooooooeeeveeeeeesoeees oo eeeeeeeseesesevmensanes e e oeemmsseeessenese s seenes e annn A 2T -~ 907ELBO W METRIC MALE ADJUSTABLE STUD ENDS ISO 9974 ...cccoooovvnnvviiiiinirimmnniiiiinnennen 160
1C9 BEBIBESK oo oeooeeee e e reeee oo oo e 128 ACHC-OG =BT FIBE-ABIUREL oo 161
------------ OOPELBOW FITTINGS ..ooooooeeveeeeseeeeeeeoemmeee e ees e eeeems e eseeseeeseeses s smeees e sesee e eesoenmmeeennn 128 METRIC MALE ADJUSTABLE STUD ENDS ISO 9974 BRANCH TEE .......ovvvviiiiniiiiiimnnniinen.. 161
AC R OO ACCH-0G  EBA = FTAITBRIR-ABIIRAT. oo 162
------------ EQUAL TEES ..ot eeee e soemms s e e eeeees s eeeeesesee s eeeesees e 129 METRIC MALE ADJUSTABLE STUD ENDS ISO 9974 RUN TEE .....ooovoiiiiiiniiiiinnnninnn o 162
XC DUIBBESK .oore oo ooseoeeesseeeee e eoesoeeemeeeeeee e osooeeesereeees e enereeeeene: 130 1CHA-0G A5 AR MBI A IR oo 163
------------ CROSS FITTINGS.....ooorevvooeeeeeeeeeeoommmseeeeesesessesesesssoeenmsseseeessaeesssseesssssmeees s anesssssessasssoemmssanesnsnnnnsns 130 - 457ELBOW METRIC MALE ADJUSTABLE STUD ENDS ISO 9974 ..oooovnniiiiinnnnene 163
1C BIBZEBEEK oo eeeee e oo eeee oo eeee oo 131 1Ch9-0G  EBEAA [ HBk-ABUREL O BUBERS 1SO 61491 oo 164
------------ STRAIGHT REDUCERS ......coooooooooooesesssieeesseeeooeseeeeesessssesens e eesessss s ssoeenmssnssensessssssesssssoeenesnnenn 1 31 - 907ELBOW METRIC MALE ADJUSTABLE STUD END WITH O -RING SEALING ISO 6149-1............164
1C BRSSO 132 AChC-0G =@M iREK-AHRE O BUBHE B 1SO 61491 oo 165
------------ STRAIGHT REDUCERS .......ooeovoooooeeeeeeeoeemeeeseeoeeeeeeeseses s eeeeeesseeessaeeseeeesssees e enesesnessenereemmanen 1 32 -~ METRIC MALE ADJUSTABLE BRANCH TEE - O’ RING SEALING ISO 6149-1 ...........cccoovvviiiinrrinnnr.. 165
AC R - SO 133 ACCh-OG =AY [ Bek-AMRERAL O BIBE RS 1SO 61491 oo 166
------------ METRIC MALE ADJUSTABLE RUN TEE -O’ RING SEALING ISO 6149-1............ccccooovvvvvvcimnrrrnn..... 166
AC Eggé?;g??.'.'.'.'.'.'.'.'f.'ff.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'fff'.'.ﬁﬁ'.Z'.ﬁﬁﬁZ'.'.'.ﬁfij.'j.'.'.'fff.".'.ﬁ'.'.'.ﬁ'.'.ﬁ'j'.ﬁ'.'.'.jjjj.'.'.'.'fffﬁ'.ﬁ'.'.'.ﬁﬁZﬁ'.'.'.'.ﬁ'.'.j.'jj.'.'.'ff.'fﬁﬁ'.ﬁ'.ﬁ'.ﬁﬁ'.ﬁ'.ﬁﬁ'.ﬁ'.jjﬁgi 1Ch4-0G  A52ATYAIFESK-AHMREL O ZUBEE . oo 167
------------ TEE REDUCERS ....c..ecooeeeeeeeeeeeseeeeeee oo es e eeeeees e seommess s ses e ees s eeeeems e eeeseeeeesseeeeseesmeenseseeeeeseesnnn 134 457ELBOW METRIC MALE ADJUSTABLE FITTINGS - O’ RING SEALING ISO 6149-1....................167
AC Lzt oo OO SO 135 1CG9-0G 0P AIAAIERSK-JEMMREL 1SO 1179 168
------------ TEE REDUCERS ......ovvooeveeeeeeeeseeeeemee e s eeeeeeees s eenmmees e seeeseeeess e es s vesemneesseeseeeeeseesseesssomeeessessresneeenssn 135 907ELBOW BSP THREAD ADJUSTABLE STUD ENDS 18O 1179 oo, 168
3C DELATABIRBESK wooovoveeeeeee oo eeeee e eeeeeee oo oeeeee o2 e oeeee oo e s et e seeoe 136 ACGC-0G =B AIEEKSEBBREL 1SO 1179 oo e 169
------------ COMBINED REDUCERS ......cooocooeeeeeeeeoseseeseeseeeeeseeeeeseeeessseemsessesseeeeeseeseeseessseeeesseessseessessesesssesmeenssnrn 136 BSP THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING BRANCH TEE .......................169
2C SRR BB oo 137 ACCG-0G SRR L -TEBIEREL 1SO 1179 ettt s mmmme et e ettt e eae s emmmma e reeeeeere e 170
------------ REDUCER TUBE ADAPTOR ....oovveoeeeeeeeseeeeeoemmeeseeeeeeeeeeeeeseseeseeeemeeseeseeeseessseessevmeensseseeeeenesesnneensnnn1 3T BSP THREAD ADJUSTABLE STUD END WITH O -RING SEALING RUN TEE ......cocoovvriiirriirnns. 170
2C SR I e 138 1CG4-0G A5 P AT THIEESR BERBBEL ..ottt et ettt emmmma ettt et eeesrmmnere s 171
____________ REDUCER TUBE ADAPTO R ... . 38 457ELBOW BSP THREAD ADJUSTABLE STUD ENDS ISO 1179 ...coooeevveeceeseeeeeoemmre e AT
2C SHETREEIREETK oo eeeoeemee oo eeeeee oot s et oeeeee e et oeem e s eserees] 139 1C09-0G  HIBAIHEESK-SRHIUREL O BUBBES 1SO 11962 oo 172
------------ REDUCER TUBE ADAPTOR ...oovveoeeoeeeeeeeeeeoeemeeeeeeeseeeeeeeeee s eeeemeeseeseeeseeseseessevmeensseeseeseessseessreeensnnn1 39 90° ELBOW UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING ................. 172
2C SRR BB oo 140 ACOC-0G  =@w A 8eK-EHMREL O BUBBEE 1SO 11962.....coiieiicicrmemeeierse e L LD
------------ REDUCER TUBE ADAPTOR ....oooiovveooeeeeeeeeeeemmeeesseeseseeeseseeeseeeeems e esesseseseseesesesemmeeessseeeessseessssresssseoenn 140 UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING BRANCH TEE .................173
6C BIIBRBBLERIEK oo eeeoeemee e eeeeee et oeeene e oeem e s esesens] 141 ACCO-0G  =EnlifmEK-SRAMRSL O BUBEE, ... 174
____________ STRAIGHT BULKHEAD FITTINGS oo 1M e UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALINGRUNTEE ........................174
6C9 BN ]k w2 oo OO OO 142 1C04-0G 452 AIAAIEK-RAMREL O BUBE RS oo 175
------------ 907E LBOW BULKHEAD FITTINGS ..o seeeeeoeeeese e seeeesee e seomeess e seee s eesee s oemmsene e 142 45° ELBOW UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING ...................175




il = -

CONTENTS
1CI Y e s W A .- SRS 176
------------ METRIC BANUJO oo eeeee ettt et et e e st e vmemes e e e s e s e e srmmes s s sesnesessesesseeessresesenenenennnnr 1 TB
ACI PS8 2 W 22 IO - oS 177
------------ METRIC RUN TEE BANUJO ..o eecemeeeeeeee e eeeeee e e s eememeseeeseseeeseseeesesesevememesesenesesesnssenenenenen AT
1CI-B B R B TR S TR G ooeoeeeoeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeeee e ettt e e et et et et et et e v e 178
------------ (235 =301 T TP I ¢ -
ACI-B By 5 £ s Wi (1 ) X1 - OSSOSO 179
------------ BSP RUN TEE BANUO ..o veees e eseeeeesesesessvmemes s s s essesesess s snmnsnenen A T
5CM FER R I | - TS 180
------------ MERIC FEMALE ..ot e e e e e e e e eeeees e e et eeeeeeeeeeeeseesermemesesesaseseseseseseseseseemsnnesesenenenen 180
5CB FER s o T | - OO RRPRPPRRPRPNE: K
------------ BSP FEMALE ...t eeee et ee e et et et et et eememes e e e e e s se e s sremes e eesesenesesesneeseseeeneseseesesneneeeeeenen 181
2C9 2 R -2 OSSOV 182
------------ 907ELBOW REDUCER TUBE ADAPTOR WITH SWIVEL  NUT ..o eeeeeeeeeeeseeeee e 182
2C4 F e -3 SRS PV SRRSO 183
----------- 45FELBOW REDUCER TUBE ADAPTOR WITH SWIVEL NUT oeooeeeeeeeeeeeeeeeeeeee e 183
BC N T2 k=272 PSP 184
------------ BRANCH TEE FITTINGS WITH SWIVEL NUT ...t eeeoeeere e eee e eesee e vemece e seseseseneneneonn 184
cc N L k- OSSR 185
------------ RUN TEE FITTINGS WITH SWIVEL NUT ..ot emeeeeeeeeeeeeeeeseeeeeeeesvmemmeeseeesesenenesesesesesremeenenen 185
3C o o2 = TR 186
------------ STRAIGHT TUBE ADAPTERS WITH SWIVEL NUT ..o eeemssenenenenenenennn 186
L0 T 0 G = 3 U= .= L PUSTTRUS. 187
------------ BSP PRESSURE GAUGE CONNECTOR WITH DKI SAELING ....vvvreeeeeeeeeeeeeeseeeeeeeeessssssn e 187
7CB-GDK AL -2 OSSR 187
------------ BSP PRESSURE GAUGE CONNECTOR WITH DKI S AELING ....oeeeeeeeeeeeeeeeeeeeeeeseeeeeeeeeen e 18T
1CW v SRR 188
------------ WELD FITTINGS oot eee et ee e e et et ee et esee et vemame s e e e e e ses s e e s sememesesesesesesesesesesessmmemsssnesesesesesenns ]88
1CW9 D = = - 189
------------ GOPWELD FITTINGS oo e e e e e e s eemeeeseeeeeeeeeeeeeeeeeenesrememssenesesesesenesesesesrememesnnnenen 189
2CW s OO ERPSURRRUUPRPRSSNOt: [ 0
------------ WELD FIFTTING WITH 24 CONE 0-RING SEALING ....eeooeeeeeeeeeeeeeeeeeee oo 190
9C IR 2 OO [ |
------------ FEMALE PLUG ..o oeeees e eses et e esesesesesesvemamss s sesesaeeseseses s sememsenenenenenenenennnn 1O
4C b == SO URERUPRRRPRRRR: [ 124
------------ WELD FIFTTING oot eeee et ee et ee et et eeee s eememe e eeeeseseeeeesesee s rememe s s seseseseseseseseseememnenenenenenenennn 192
4H/4G-ED ey b IME A B e D ke TSRV 193
------------ CAPTIVE SEAL HOLLOW HEX PLUG ..ottt eeeeee s eeeeeesese s seemseeseneeeneeeeeneneseesemamesnnennn 193
4h Yy M E S Qi L bk LY@ Y o1 L J OSSOSO 193
------------ METRIC MALE HOLLOW HEX PLUG ..o ee e eeee et et ee s eememeseseees s res s e nenenenenn 193
40N el pay: <D s I o L@ Y K o H RS 194
------------ SAE O-RING BOSS HOLLOW HEX PLUG .o 1 O4
FHIBLL BSP THREAD ... aenaenaaenn e 1 O5
1B k= TN G O ;- 195
------------ BSP MALE DOUBLE USE FOR B0PSEAT  .eeeeeeeeeeeeeeeeeeeeeeeeeeesssees s seseses s semecsessensesesssensesesmeemsenen ] OB
1B9 STO R X = TN g Ol -0 OSSP 196
------------ GOELBOW BSPMALE BOBEAT .ot eeeeemeeeseeeeeeeeese s s e eeeesmeemsseeeeeesneseeeesssesesrmamesesesesesennenennn 196
AB B T B B0 B I Tal oo oo ettt e eeeemet o2t teee et e et a et et rmemet a2 e e e et et eee et et eas 197
------------ BSP MALE B0PSE AT TEE ..ot eeee e et eeeeeeeeeees et erermames e e s eseeesesesessessremesesesesesenesseseseseseonmen 1 OT
2B WEIMBSL 60° PIHESK S AT A 44 S B B R PIREL 60° AMIE ..o 198
------------ BSP MALE DOUBLE USE FOR 60?SEAT OR BONDED SEAL/BSP FEMALE 60TONE ...................198
2B4 45 A HMB LT B0 P T PR L B0 M oo eees et e e et eeeeee et eserer e s e 199
------------ 457ELBOW BSP MALE 60BEAT / BSP FEMALE 607CONE  «.oooeeeeeeeeeeeeeeeeeeceeeeeeeneeneeenenenenneneeees: 199
BB B HMBLL 60° P HE | B P IB B 60 2N 20 3 3 et eemee e enen. 200
------------ BSP MALE 60?SEAT | BSP FEMALE 60?CONE BRANCH TEE ....vvovoeeeeoeeeeeeeeeeeeeeersnnnn. 200
CB FAHMB L 60° P/ P L B0 M T 3 T3 oottt 200
------------ BSP MALE 60?SEAT / BSP FEMALE 60?CONE RUN TEE  ..eieoieeeeeeeeeee e neeee s reen 2200
9B B B A B0 M E oo e+t et e e ettt e et e e en 201
------------ BSP FEMALE 602 CONE PLUG ..o s e e enenenenenennn 201
6B R AN g LS a2 SRR 202
------------ BSP MALE B0?SEAT BULKHEAD ..ot e s s sesene s soseseeseeeeseseeseseeesseesevememnsseeesnsnenesnn 202
6B9 STy =N O g O ML S e PSR 202
------------ 90?ELBOW BSP MALE 60?SEAT BULKHEAD  ..eeeeeeeeeeeeeee e eememes s nnenennnenn 202
1BT-SP BB IMREL 60° WAHEER S 5T A G BB /TEHEB IR 203
------------ BSP MALE DOUBLE USE FOR 60? SEAT OR BONDED SEAL /BSPT MALE ..oovvveveeeerirnn. 203
1BT4-SP 45785 T B BL 60° PH A /T AMIBL ..ottt et eemeee e e ettt e e ee et eemeee e e e e 204

=i E

CONTENTS
------------ 457ELBOW BSP MALE 60 ° SEAT / BSPT MALE ... eemeee e 204
1BTO-SP Q0725 Bt JIMIB L0 60° P | Bt B L .ottt et e et evcaema e et et eeeeeeeeeeee e e ercmemeeeeeeeanae 205
----------- 907ELBOW BSP MALE 607SEAT | BSPT MALE ..o ernnnnnn 205
1BG HEIMRE 60° NHESS T A &R E BB SMRSL O BB 1SO1179 e 206
------------ BSP MALE DOUBLE USE FOR 60?SEAT OR BONDED SEAL / BSP MALE O -RING.......ccccou..........206
1BG4-OG  457EHEHIMELL 60° P4 /SEE AMESL O BRI M A RIAENT 1SOT179 i 207
------------ 457ELBOW BS P MALE 60?SEAT | BSP MALE O-RING ADJUSTABLE STUD END ISO1179........207
1BG9-OG 907 HAFSMEBELL 60° A /I SMBSL O ZUE 0 FEE T T FIFREER 1SOT179. oo 207
------------ 90° ELBOW BSP MALE 60?SEAT | BSP MALE O-RING ADJUSTABLE STUD END 1SO1179........207
1BH B SMELL 60° AR £ 5 T 4B BEB I AHISMBLERRFT 1SO9974 e 208
------------ BSP MALE DOUBLE USE FOR 60?SEAT OR BONDED SEALMETRIC MALE L -SERIES 1S09974
............................................................................................................................................................................................ 208
1BH4-OG 457 S SMBLL 60° N HE/A I IMBLER BT 1SOOO7 4 ..ot eeeeme e nen e, 209
------------ 457ELBOW BSP MALE 60?SEAT / METRIC MALE L-SERIES I1SO9974 .....oveoeeeeeeeeeeeeereeeeeeeeeeennnnn. 209
1BH9-OG  907& T SMELL 60° Y HE/A B AMBLLIR BT 1SOODT 4ottt ee et e ememee et ee e e eeaeens 210
------------ 90?ELBOW BSP MALE 60?SEAT / METRIC MALE L-SERIES ISO9974.......ooeoeeeeeeeeeeeeeerrnnn. 210
1BO B HMB L 60° P HE Bk A 3 T 20 & 8as B3] SAE AMELCH O BRI R4 1SO 11926-3............. 211
------------ BSP MALE DOUBLE USE FOR 60?SEAT OR BONDED SEAL /SAE O-RING BOSS L-SERIES ISO
109263 oo e e e e e et e et ettt et et e et rememe et 2 e e e e e e e e e e e e e e reem e e e e e et et e e e e ermemee e s e e e et et e e ermane 211
1B-ED BB HMELL 60° /S ST 4 A& BB ARE IMBEURBIEES .o 212
------------ BSP MALE DOUBLE USE FOR 60?SEAT OR BONDED SEAL / BSP MALE CAPTIVE SEAL ............212
4G-ED k=N g el = - RSP RRUORRR 213
------------ BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG oot eesese s seseeeeeeeneneeenenennnn 213
4B-ED b= g o b - SRR 213
------------ BSP MALE CAPTIVE SEAL PLUG o.eoeeeeeoeeeeeeeeee oo er e eememse e 213
7B9-PK O 2B B PMBLL ..o eeee et e ettt o2 a2t o2 a e o2 e et o2 e et o2t remat et e e et e e et et et e e rameet et e e e e ne 214
------------ OOPELBOW BSP FEMA LE ..o ecemes s s s s s seemesenenenenenenenenen e enoeenn 214
GB-PK K=y gy DTSR 214
------------ BSP FEMALE TEE .ot eoemee e eeemeeeeeneneneneneeenenenermamesesesesenesesesesrss e enenenenenn 214
1T-SP e N - OO P U RROP 215
------------ BSPT IMALE ..o eememe e e e e s ee s s remeeseeseneeeeeeeeeseneeeesrmemessesessnnsnnenen e 215
1T9-SP o0 = 1N - TSSO 216
------------ 907 ELBOW BSPT MALE ..o eeeemes e eememe e 216
4T-SP N -2 LSRR 216
------------ BSPT MALE PLUG .ot eeemeeee e s e er et ee e e s eememes e esesen s esesesrr s nnnnenn 216
7T9-PK QOZEETEHEAEPIIRLL oo ee e ee et et e e et e+ e e e et o2 et e e et st et r e e n e 217
------------ GOPELBOW BSPT FEMALE ..ot eemes e eeneeeneneseeeenesremeenseeeneneanennennnnn 217
ZEHELL JIC THREAD ..o e e e e 218
1N B A MBI ..ottt ettt e et ee et o2 et et e e et e et et e et e e eeeeeaen 218
------------ N = Y N ST OTRRRPRRTR~ |
1N9 eI i -0 219
------------ GOPELBOW NPT MALE .ot e e ememes e e e s omemes s sesesnenerns s 219
4N IRk v O 219
------------ N = Y T 3= U PP~ [ |
5N St A A B B AT A B P EBEL ..ottt e s e et e e ettt et ettt e 220
------------ NPT MALE / NPT FEMALE ..o s eveeees e res s e e s ss s s e e 220
5N9 STl Lol ik N g I o= L o 221
------------ 90PELBOW NPT MALE / NPT FEMALE oo oeeems e vememas e 22
7N L k=g L - OSSOSO 222
------------ NPT FEMALE .o eeeee s e e e eeee et et eeeeeeenermames e ses s s s s seses s ememesneseserenenenenenenn 222
GN-PK IR =) oy DTS 222
------------ NPT FEMALE TEE ..ottt oot et s s e e e ee e e e smmmesseeeseeee et eseeseesessrmemeeseesnenenseseensessensremeeneneeesensnenss 222
1J IO =y SRS 223
------------ JIC MALE 7AP2CONE ..o eeeee e ettt eemema e s s e rememe s nenesesesenesnn s eeeseenee e 223
1J4 A5 ZEH] JIC HMIBLL TA% HMIE. oottt e et ememe et e e e et et ee e rmemet s ee e e e eee et et e et oemece 224
------------ A57ELBOW JIC MALE  TAPCONE ..o eeeee e e e en e e s srnennnnn 224
1J9 Q0P ZEHI JIC FMIBLL 740 HMIE oottt e e e eceeme et e e e e et ee e reemee e e et e et et e e e e e 225
------------ 9OPELBOW JIC MALE TAP2CONE  ...oeeoeoeeeoeeeeeeeeeeeee et eeeeeee e vememe s e seeeseseseseee s eemecnneenenennnenenenn 225
AJ ZEB] JIC Bl 740 M mai oottt et e e et e e ettt et et e et eeeee et ae et et eeen 226
------------ JIC MALE TATONE TEE ..o eemes e ee e e e e e ee e ee et eememe e eeeser s rememnnnn 206
2J 4] JIC FMBLL 74° HMIE/JIC PURB LT 740 PR oottt et e e ettt ee e 227
------------ JIC MALE 74T ONE / JIC FEMALE 742SEAT oo eememes s 22T
2J9 90?241 JIC MBS 74° HMEES JIC PIBEBAL 740 P oottt et et e e e, 228
------------ 907ELBOW JIC MALE 74?2CONE /JIC FEMALE 742SEAT  oeoeoeeeeeeeeeeeeeeeeeeeeeeeeerees e 228
4J IO = g 5 = 5 OSSO 229
------------ JIC MALE TA2CONE PLUG oot ememes s s s seemesennenenenenenenesenerranane 220



7= B lidades

CONTENTS CONTENTS
1IN JIC SMBLBL TA° HMRES ATHEBEIMBLL cooeoeeeeeeeeeeeeeeeeeeeeeeoeeee e e ettt e eememe s es e s s s s emamsee e e e s eneees 230 e WELD AE FLANGE WITH HIGH PRESSURE SERIES ......oviieeeeeeeeeeeeeeeeeees e 260
------------ JIC MALE 742CONE / NPT MALE  ...oe ettt eeeee et e et ee s e eee e ememmeeeeeseseeenesesessessemes e nnenennnenenenn 230 1CF-LK LR s V- -5 OO o
1JN4 A5201C MBI 740 AN T B TN B oo oo 231 e FLANG CONNECTION ...oeteeceeeeeeeeeeeeteeeee e et et eeeeeeeeee et e e et sememe s ee e e e es e s e e eememe s s eseseeeeeeeseseneeeeememsenenaes 261
............ 457ELBOW JIC MALE 742CONE / NPT MALE .. oooo oo eeen e en s snen e e 23] 1CF9-LK R T BIE R B AR e tmen ettt e 20 ]
1JN9 90DIC HAMBLL 740 HMEIAGHERE TMBLL cooeeoeeeeeeeeeeeeeeeeeeeeoeeee e e e eeem s e e ee e eeeeeeee e eses s v e ee e eeeeen 232 e 907ELBOW FLANGE CONNECTION ...oiuiiiiiiiiteiieteiseiemse sttt smmems et smmecs s sesens 261
------------ 90?ELBOW JIC MALE 742CONE / NPT MALE oo eeeee e e nener e ennnn 232 1JFL JIC HMEEL 74° SMEAZE R IUTEZE ISOBTO2-1 ..ot veese et smnmmns st meces e 202
5JN 8] JIC FMBBL 740 S R IBBE oo ettt e et oememe e 233 e JIC MALE 74T ONE L -SERIES FLANGE ISOBT62 1 ...eveeeeeeeeeeeeseeeeseeeemeesteeeeeeeeeteeeteeeeeeevmameseseseenaseeseees 262
............ JIC MALE 742CONE / NPT FEMALE ..o eeeceee e seeeeee et etes s svmemmssene s seseessesesessseememsesneneenenenn 233 1JFL9 907? ] JIC FMBEL 74° SMEAR RFIEZ ISO6162-1....occieemc e 203
1JT-SP LIRS @ AL N L 234 e 907ELBOW JIC MALE 74TONE L -SERIES FLANGE ISOB1621 ...cvvuurvveerrrmaerressmemmeseressssssssessesnans 263
............ JIC MALE 742CONE / BSPT MALE ...ttt ettt et eememes s enenenen 234 1JFS EH] JIC FMBLL 74° SME/H RFITEZ 1ISOBTB2-2......oecseemsie et cn 204
1JT4-SP 452258 JIC JMBLL 74° HMEEIZAERE TMIBEL ..o e et eeees e e e e es e e e s es e e 235 e JIC MALE 74?2CONE S-SERIES FLANGE ISOBTB2-2 ......ceeeeeeeeeeeeeeeeeeeceees e oenmes e en e e 264
------------ 457ELBOW JIC MALE 742CONE / BSPT MALE  <.ooeeoeeeeeeeeeeeeeeeeeeeeee ettt semames e 235 1JFS9 907 3 JIC SMBLL 74° SME/E RFUIE ISOBT62-2.....ooccccecmese s snmemec e 204
1JT9-SP 907 JIC FMELL 74° HME TR IMBL ..ot eemece e e e reeemee e 236 e 907ELBOW JIC MALE 74 TONE S -SERIES FLANGE ISOB162-2.......eeeeeteeeeeeeeseeeeemee s 264
------------ 907ELBOW JIC MALE 742CONE/BSPT MALE ..ot e e eee e s eeesen e en e e e eenenenene e 230
1JO Sl JIC SMELL 74° SM4EISAE SMELGH O BB RF 1ISOT1926-3......veee e 237
------------ JIC MALE 74?CONE ISAE O-RING BOSS L-SERIES ISO 119263 ..eeoveeeeeeeeeeeeeee e 237
AJOJ -0G 1] JIC SMEBLL 74° SMEISAE SMELGH O BIBZ R 1ISO11926-3 23 =3 oo 238
------------ JIC MALE 74?CONE/SAE O -RING BOSS L-SERIES IS0 11926-3 RUN TEE ....ovvveeeeeereeeerereennn 238
1J04-0G 45?3 JIC #MELL 74° 4N /SAE FMERLGH O BIBIR R FI 1ISO11926-3......oceeeee e 239
------------ 457ELBOW JIC MALE 74?CONE | SAE O-RING BOSS L-SERIES ISO 11926-3....oeevvereerrerenn239
1J09-0G  907?3&#H JIC SMEREL 74° §MfE/SAE FMESUH O RIBIRFR ) 1ISOT11926-3....eeeeeeeeee e 240
------------ 90?ELBOW JIC MALE 74?CONE ISAE 0- RING BOSS L-SERIES | SO 11926-3......oeveveeeeeeeeeeen...240
AJJO-OG | JIC FMEBLL 74° SM4E/SAE SMBLUH O BB R 1ISO11926-3 =3 ..oocvcveeeeeeeceeeeeeeeeeeee e 241
------------ JIC MALE 74?CONE/SAE O -RING BOSS L-SERIES 1S0 11926-3 RUN TEE ...vvevveeeeeereeeree e 241
1JH JIC SMZESL 74° SMEEIABIIMBLIZ BT 1ISOO9T4 ..ot en e e enen 242
------------ JIC MALE 74?CONE/ METRIC MALE END L -SERIES ISO 9974 .. ..eeoeoeeeeeeeeeeeeeeeeeeeeessnenen 242
1JH4-0G  457%5 K JIC SMEBEL 74° SME/ AFIBRSCRT R AR R T 1SO9974 ..o 243
------------ 45?ELBOW JIC MALE 74?CONE /METRIC MALE ADJUSTABLE STUD END L -SERIES ISO 9974
............................................................................................................................................................................................ 243
1JH9-OG  90?7% Kl JIC SMEBLL 74° SME/ AFIBRECRT R AR R T 1SO9974 ..o 244
------------ 90?ELBOWJIC MALE 74?CONE/METRIC MALE ADJUSTABLE STUDENDL -SERIES 1S09974
............................................................................................................................................................................................ 244
1JG 28] JIC FMEBLL 74° SN /ZEEIMBEL O ZURB 1SOM17 oot eececee et ettt ecemee ettt aee e e 245
------------ JIC MALE74TONE/BSP MALE O -RING ISOT179 ..o eee e ee e en s e 245
1JG4-0G 45?241 JIC SMBLL 74° FMEEEA SMBLL O IR 1SOT179ucmeeeeeeeeeeeeeeeeeeeeeeeeees e e veeees e 246
------------ 457ELBOW JIC MALE 74?CONE / BSP MALE O -RING ISOT179 ..ceeeeeeeoeeeeeeeeeeeeeerererenrnnnn 246
1JG9-OG 90?4 JIC SMBLL 74° SMERZTEHN T BL O BB 1SON1T9 oo eememn e 247
------------ 90ELBOW JICMALE74TONE/BSP MALE O -RING ISOT179 ..o sseeeeene 247
AJGJ-OG  907IC HMERLL 74° SME/FAE IMEREL O BB 20 T =0 .ot eeeme et sememe e 248
------------ 907ELBOW JIC MALE 74?CONE /BSP MALE O-RING BRANCH TEE .....oveeeeeeeeeeeeeeeeeeeeee e 248
AJUG-OG  9072IC AMEZr 74° SMfE/BEE MRS O BB E L ZIE oceceeeseme ettt 248
------------ 907ELBOW JIC MALE 74?CONE / BSP MALE O -RING RUN TEE ....oveoeeeeeeeeeeeeeeeeerrnnnnn. 248
1JB-ED NI NV QLN k=g N g - 249
----------- JIC MALE74TONE/BSP MALE CAPTIVE SEAL  oeoeeeeoeeeeeeeeeeeeeeeeeeeeeeeseee s cemee s e enenenennnen 249
1JF 28] JIC HMELL 749 FNHEIORFS HAMBLL ..ottt ememet et eee e et e e e et rmemee e e eee e 250
------------ JIC MALE 742CONE / ORFS MALE ...t ee e ee et eeevmemes s eseses e s s s s e s nenenenenn 250
1JM-ED RO N -V QR TN FPAT AP AN -Eag: o, o < SRR 251
------------ JIC MAL E 742CONE/METRIC MALE CAPTIVESEAL .o seee s vmaemsseneeeeenenenenn 257
NB200 L IO W= I PSSR 252
------------ JIC FLARE TUBE END NUT oottt eeeee s e s ecemeseseseseseneseseseseseseemteseneeeeeneseseseeeeesoemames 252
NB300 BT 5 == SOOI 253
------------ JIC INCH SLEEVE ..o s eemes e e en e e s s enenes s e s semems s esesesesesesessss s remamnsennnnenenenn 253
NB500 O 1K= =SS 254
------------ JIC METRIC SLEEVE ..o eeeee e eee et et eeeee et eeeememes s sesesesesesesesesesemmmsssesessesesesessnesoeeeeeeeeeenenenns 254
FE2E FLANGE ... e e e e e eee e 255
1CFL Dt Ve - B = | SRRSO 255
------------ SAE FLANGE WITH STANDARD SERIES ...ooeeeeeoeeeeeeeeeeeeeeeeeeeeeeeeeeee e evmemes s seseseseseseses s enme e e 255
1CFL9 T R B T T R B oot ettt et et ettt ettt e oemo ettt e e e et e s e 256
------------ 907ELBOW SAE FLANGE WITH STANDARD SERIES ..o 256
1FLW D Wb I 2 | SRS 257
------------ WELD AE FLANGE WITH STANDARD SERIES ...eeeeeereeeeeeeeeeseeeeeeeee e eee e eeemeeneneneeeeeneeennnen 287
1CFS D s 2 =y = | TSRS 258
------------ SAE FLANGE WITH HIGH PRESSU RE SERIES ....ceeeteieeeeeeeeeeeeeee e eee e eeeeees s seeemee e e enen e enanennnnn . 258
1CFS9 D W=y < o =) o2 7| TSRS 259
------------ 907ELBOW SAE FLANGE WITH HIGH PRESSURE SERIES ....eovoeeeeeeeeeeeeeeeeeemeeseeeeeeeneeeseeeseeeseeenee . 259

1FSW D R W b g 2 | TSRS SPN 260



PART A

&L HOSE FITTINGS

i =g 8

HOSE FITTINGS

P2 im— % A HOSE FITTINGS L

ivdi= 8

HOSE FITTINGS

INTERLOCK

TYPE

A8

i

JRVLI]

HOO700

HO0800

L
) H1
B o T
\ I LY e
-

s

H126A0

H226C2

a H1
> 1 &
i“( - m}j;' IS limi) | L
5 S

2, r /Lj’:‘lil]lmm
IR S
H167A0 H267A2 H267B2 H267C2
H156A0 H142A0 H242A1 H242B1
e - -/’L—FIJEIII.TITI_F
il 4 [ f/ffiTJJ_l
H242C1 H105A0 H205A1 H205B1
@2 T . - Se L ] FZH’H[I]]]’H -
Nt o ik NV 4
H205C1 H873A0 H873B0 H873CO0




iicdi— g8

HOSE FITTINGS

INTERLOCK |-

TYPE

A8

T

o L :
I —————

L
ol @] = - -
L
1 ey

H876A0

H876C0

H877A0

[ Jﬁj};_ﬂw-ﬁ

H200A0

STANDARD

TYPE

PRAER

I

S00100

S00200

S04000

L

(I

L

S00110

S00210

S00400

S00401

S130A0

L1 ity

\ @W

S126A0

S226A1

S226A2

BB Bk

HOSE FITTINGS

STANDARD

TYPE

PrRAER

e L —shony

S226C2

S226A1-OR

A /; IFHI s
J ¢ T\ T
S,

S226B1-OR

S226B2-OR

S226C1-OR

JFHHMW ]

| T

= jJJ Himy

—Jj

S226C2-OR

S222A1

S222B1

;- |T\1;t:nf. }

S222CA1

S222C2

S720A0

AT
(] o2 Iﬂj_-jyfgg_}

" /
f%h Ll
]

]

T %JHI]F"TH [

SZA A

KB72

S167A0

S267A2

ﬁ/ﬁjJJ T

- (

- L
= ‘;ﬂ;lllﬂ

S267B1

S267B2

S267C2




ivdi— g8

HOSE FITTINGS

STANDARD

TYPE

PR

| Pl

(e

S267A2-D

S142A0

KOR170

ﬁi%ﬂ I E.TJ

: L S

L

S242A1

El;;hlﬂ] lFFI L .

- o

S202B1

ﬁﬂ iy

I e

— i
- r|'”” IJ

S204A1

S204A2

N jj]illlm%

c \;\‘c'i\/ ' T
_xq THP

>

L
£ ﬂlﬂ:ﬂ ]
,Ex&¢%wrég
4 ¢ ,“f‘
& K

S204B2

S204C1

S204C2

S203A1

BB Bk

HOSE FITTINGS

STANDARD

TYPE

PRAER

+
L

;
B

F203A1

S203B1

i/‘_‘ %;.«::—fl%
Sa%

y L %WTHI‘F

e

F203CA1

S105A0

ﬁ:lﬂ-anm
— (\ e
L& ? =

Ny >’)

S205C1

Dliﬂnnmﬁ ]

Rty

S500A0

S501A0

e Mmooy

HL L
LAY = L o ~

KBT700

g :

<
b

S873A0

S873B0

S873C0




BB RSk
HOSE FITTINGS
e [ | |
S876A0 S876B0 S876C0 FS
STAN DARD ____.—‘— ‘; :/;;;'::E’.J11 - l—;’j .
TYPE [t | g
bt KORG12  |S877A0  |S877BO | S877CO
: —J]]J / ,?;:T—WH I- /-""L_\lfnf]lmﬂr i
T e | 1440 LA | o [ I Fiowry
S870A0 S870C0 S286A3-D
;;Q%W = ﬁww@mﬂ o
S226A3-D S900A0
ONE PIECE -
TYPE
— 3

P205B1

P205C 1

P873A0

P873B0

FiSs 4 42 S

HOSE FITTINGS

ONE PIECE

Y

FITTINGS

MMﬁ$?§%§§:

S500A1

S202A1

S267A1

| T =

S226A1

LOW
PRESSURE

RER

L104A0

L204A1

L204B1

L204C1




Jivdi= g8

il = g0

HOSE FITTINGS
HOSE FITTINGS
|
0] INTERLOCK TYPE Py &=
INTERLOCK TYPE W 4li=
L
. L A H1
%K} _
al - o gl 1 = W
0] | |
FORM A FORM B
H126A0
H126A0 W SMEL60° R
------------ BSP MALE PARALLEL 60°CONE SEAT
HO00700 THREAD B L A HA1
H00700 FIRIEEERS R13R154SH PART NUMBER HOSE
------------ FERRULE FOR SAE 100R13 / SAE 100R15 / DIN EN 856 4SH ( 3/4" - 1") DN In SIZE T mm | mm | mm | mm
D L H126A0 - 10 - 10 16 5/8" 10 5/8" - 14 145 | 321 | 16 30
PART NUMBER HOSE FORM H126A0 - 12 -12 20 3/4" 12 3/4" - 14 16,5 | 34,4 | 16 32
DN In SIZE mm | mm H126A0 - 16 - 16 25 1" 16 1" - 11 22 387 | 19 41
H00700 - 12 20 3/4" 12 A 40 59 H126A0 - 20 - 20 32 1.1/4" | 20 1.1/4" - 11 285 | 445 | 20 50
HO00700 - 16 25 1" 16 A 47 745 H126A0 - 24 - 24 40 112" | 24 1.172" - 11 335 | 504 | 22 55
H00700 - 20 32 1.1/4" | 20 A 60 88 H126A0 - 32 - 32 50 2" 32 2" - 11 46 60,7 | 25 70
HO00700 - 24 40 112" |24 B 69 94
HO00700 - 32 50 2" 32 B 845 | 99
L A L
H2 H1
|| |
E |
L — m4 . = -
=1
T R
7 w MI H226A2
H226A2 W IR L60° FMET
Hoosoo BSP O'RING FEMALE 60°CONE SEAT
H00800 FINSREER 4SH THREAD B L A HA1 H2
------------ FERRULE FOR DIN EN 856 4SH ( 5/8" - 1.1/4" - 1.1/2" - 2") PART NUMBER HOSE
D L DN In SIZE T mm mm mm mm mm
PART NUMBER HOSE - -
DN In SIZE mm | mm H226A2 - 10 - 10 16 5/8 10 5/8" - 14 12 254 |97 |30 30
H00800 - 10 16 5/8" 10 34 50 H226A2 - 12 - 12 20 3/4" 12 3/4" - 14 15 309 |9 32 32
HO00800 - 12 20 3/4" 12 38 60 - -
H00800 - 16 55 T 15 6 745 H226A2 - 16 - 16 25 1 16 1" - 11 19 33,7 | 105 | 41 41
HO0800 - 20 32 1.1/4" | 20 56 88 H226A2 - 20 - 20 32 1.1/4" | 20 1.1/4" - 11 26 413 [101 |50 50
HO0800 - 24 40 112" | 24 62 94 . .
H00800 - 32 =0 o 3 25 59 H226A2 - 24 - 24 40 1.1/2" | 24 1.1/2" - 11 32 439 |[125 |55 55
H226A2 - 32 - 32 50 2" 32 2" - 11 42 501 | 16,1 | 70 70




BB 82k

B BesL HOSE FITTINGS
HOSE FITTINGS @A
WA INTERLOCK TYPE W &{R
INTERLOCK TYPE 4=,
L=
L
[TH T, A HL
p T = ,
= 2l ol | o ﬂﬁ[@ T
i '_j' | B g
4 gl
= H167A0
T H226B2 H167A0 RMIJICHMREL74° SMETH
............ JIC MALE 74°CONE
H226B2 90° B HIRL60° SMET THREAD B L A H1
------------ 90°BSP O'RING FEMALE 60°CONE  SEAT PART NUMBER HOSE
THREAD B L A M H2 DN In SIZE T mm | mm | mm | mm
PART NUMBER HOSE
DN n SIZE T mm mm mm mm mm H167A0 - 10 - 10 16 5/8" 10 7/8" - 14 12 366 | 195 |24
H226B2 - 10 - 10 16 | 5/8" 10 5/8" - 14 12 50,9 9,7 52,2 30 H167A0 - 12 - 12 20 3/4" 12 1.1/16" - 12 15 404 | 22 27
H226B2 - 12 - 12 20 | 3/4" 12 3/4" - 14 15 60,1 9 62 32 . ;
Ho96B2 16 16 Se T i T 15 743 05 1773 11 H167A0 - 16 - 16 25 1 16 1.5/16" - 12 19 447 |23 36
H226B2 - 20 - 20 32 [1.1/4" |20 1.1/4" - 11 26 89,3 10,1 | 94,1 50 H167A0 - 20 - 20 32 1.1/4" |20 15/8" - 12 26 47 243 |46
H226B2 - 24 - 24 40 | 1.1/2" |24 1.4/2" - 11 32 100,6 | 125 | 1059 |55 16750 24 —24 0 T 24 76 12 3 534 275 |50
H226B2 - 32 - 32 50 | 2" 32 2" - 11 42 127 16,1 | 1262 | 70
H167A0 - 32 - 32 50 2" 32 2.1/2"-12 42 65,7 | 34 65
=
A L
H2
[T, Ho H1
Z o P
3 |—l7 m& T 1T - — 1
-
H226C2
H267A2
H226C2 457 FE NIRE60° SMEETH
............ 45°BSP O'RING FEMALE 60°CONE  SEAT H267A2 EHJICHMRG 740 NHEHE
THREAD B L A M R — JIC FEMALE 74°CONE SEAT
PART NUMBER HOSE THREAD B L A H1 | H2
DN In SIZE T mm mm mm mm | mm PART NUMBER = IHOSE ETHE -
mm mm mm mm mm
H226C2 - 10 - 10 16 5/8" 10 5/8" - 14 12 | 598 |97 |258 |30 L
H296C2 - 12 - 12 20 a4 12 34" 14 15 | 608 |o 304 | 32 H267A2 - 10 - 10 16 5/8 10 7/8" - 14 12 | 291 | 126 |24 |27
H226C2 - 16 - 16 25 1 16 " 11 19 852 | 105 |374 | a1 H267A2 - 12 - 12 20 3/4" 12 1.1/16" - 12 15 | 316 | 144 |27 |32
H226C2 - 20 - 20 32 1.1/4" | 20 1.0/4" <11 |26 | 102,8 | 101 | 456 |50 H267A2 - 16 - 16 25 |1 16 1.516"-12 |19 352 [152 |36 |41
H226C2 - 24 - 24 40 1.1/2" | 24 1.1/2" -11 32 110 12,5 |49 55 H267A2 - 20 - 20 32 1.1/4" 20 1.5/8" - 12 26 40,2 | 15,7 | 46 50
H226C2 - 32 - 32 50 2" 32 2" - 11 42 | 1352 | 161 |571 |70 H267A2 - 24 - 24 40 1.1/2" 24 1.7/8" - 12 32 | 456 |183 |50 |60
H267A2 - 32 - 32 50 2" 32 2.1/2" - 12 44 | 517 |24 65 |75




i =g 8

ivodi— -0

HOSE FITTINGS
.F:nn_‘%: A
INTERLOCK TYPE 8=
L
A H1
H1
8| - m};ﬂ
i W
H156A0
H156A0 TR SRS 60° AWAETH
------------ NPTF MALE 60°CONE SEAT
THREAD B L A H1 H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
H156A0 - 10 - 12 16 | 5/8" 10 3/4" - 14 16 376 | 192 |27
H156A0 - 12 - 12 20 | 3/4" 12 3/4" - 14 16 376 | 192 |27
H156A0 - 16 - 16 25 1" 16 1"-115 19 437 | 242 |36
H156A0 - 20 - 20 32 1.1/4" | 20 1.1/4" -11,5 26 54 25 46
H156A0 - 24 - 24 40 1.1/2" | 24 1.1/2" -11,5 32 554 | 26 50
H156A0 - 32 - 32 50 | 2" 32 2"-115 45 612 | 265 |65
L
A Hi
| H1
A o F Tm]]ﬂmjtq
i W )
H142A0
H142A0 4| ORFSHME S FTH
------------ ORFS MALE
THREAD B L A H1 H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
H142A0 - 10 - 10 16 5/8" 10 1" - 14 123 |326 |155 |27
H142A0 - 12 - 12 20 3/4" 12 1.3/16" - 12 155 | 354 |17 32
H142A0 - 16 - 16 25 1" 16 1.7/16" - 12 206 | 407 | 175 |41
H142A0 - 20 - 20 32 1.1/4" 20 1.11/16" - 12 26 44 175 | 46
H142A0 - 24 - 24 40 1.1/2" 24 2" - 12 32 479 | 175 |55

HOSE FITTINGS
| R
INTERLOCK TYPE F 45 =%,
L
11
Q S
o
- I:da
LY
T
B
I
H267B2
H267B2 90°KHI| JICHMBRL74° HEETH
------------ 90°JIC FEMALE 74°CONE SEAT
THREAD B L A H1 H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
H267B2 - 10 - 10 16 | 5/8" 10 7/8" - 14 12 50,9 126 | 52 27
H267B2 - 12 - 12 20 | 3/4" 12 1.1/16" - 12 15 60,1 144 | 59,5 32
H267B2 - 16 - 16 25 | 1" 16 1.5/16" - 12 19 74,2 15,2 | 72,8 41
H267B2 - 20 - 20 32 1.1/4" | 20 1.5/8" -12 26 89,3 15,7 | 90,6 50
H267B2 - 24 - 24 40 1.1/2" | 24 1.7/18" -12 32 100,6 | 18,3 | 106,9 |60
H267B2 - 32 - 32 50 | 2" 32 2.1/2" -12 44 127 24 134,8 | 75
H267C2
H267C2 ASEER|JICHMEL74° NHETH
------------ 45°JIC FEMALE 74°CONE SEAT
THREAD B L A H1 H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
H267C2 - 10 - 10 16 5/8" 10 7/8" - 14 12 59,5 126 | 255 |27
H267C2 - 12 - 12 20 3/4" 12 1.1/16" - 12 15 68 144 | 286 |32
H267C2 - 16 - 16 25 1" 16 1.5/16" - 12 19 82,7 15,2 | 34,9 | 41
H267C2 - 20 - 20 32 1.1/4" 20 1.5/8" -12 26 101,1 15,7 | 43,9 |50
H267C2 - 24 - 24 40 1.1/2" 24 1.7/8" -12 32 110,9 | 18,3 |49,7 |60
H267C2 -32 - 32 50 2" 32 2.1/2" -12 44 141,3 | 24 632 |75




BB 8k

B‘zgg% HOSE FITTINGS
HOSE FITTINGS &
INTERLOCK TYPE 4,
W05 A
INTERLOCK TYPE Py &=
A L , 7
- 1
g
H242C1
H242C1 45°%%] ORFS WIBSCEH
HoaoAd e 45°0RFS FEMALE (CRIMPED - BACK NUT)
H242A1 *£#] ORFS WIRZCFHE R OCE THREAD B L A | M | H1 | H2
____________ ORFS FEMALE PART NUMBER
THREAD B L A H1 H2 DN In SIZE T mm | mm | mm | mm | mm | mm
PART NUMBER HOSE ; ;
DN In SIZE T om | mm | omm | mm | mm H242C1-10-10 | 16 | 5/8" |10 | 1"-14 12 521 | 135|181 30
H242A1 - 10 - 10 16 | 5/8" 10 1" -14 12 366 | 135 |24 30 H242C1-12-12 | 20 | 3/4" |12 |1.3/16"-12 |15 |624 |145|23 |36
H242A1 - 12 - 12 20 | 3/4" 12 1.3/16" - 12 15 404 |145 |28 36 ) )
H225A1 =16 216 %5 T g 6 716" - 12 19 437 |15 6 21 H242C1-16-16 | 25 | 1 16 | 1.7/16"-12 |19 |75 15 | 27,3 | 41
H242A1 - 20 - 20 32 | 1.1/4" |20 1.11/16" 12 26 46 15 41 50 H242C1-20-20 |32 | 1.1/4" |20 [1.11/16"-12 |26 |882 |15 |31 |50
H242A1 - 24 - 24 40 [ 1.1/2" |24 2" - 12 32 499 |15 50 60
H242C1-24-24 | 40 | 1.1/2" | 24 | 2" -12 32 |100,5|15 |355 |60
_nL
|| -
s 8 = 4y 1 ML
‘| ‘/ »——/ L 1
H105A0
H242B1 H105A0 AHISMB G 24P HETH E R 5
H242B1 90ZRHIORFS WIEGCFE METRIC MALE 24°CONE SEAT HEAVY TYPE DIN 3861 (CES)
------------ 90°0ORFS FEMALE
THREAD B L A | H1 | H2 B ART NUMBER HOSE VAREAD ) FIRE | Lo A
PART NUMBER HOSE = -
DN In SIZE T mm mm mm | mm | mm DN In SIZE mm - mm | mm | mm
H242B1 - 10 - 10 16 | 5/8" 10 1" - 14 12 50,9 135 | 413 |30 ]
H242B1 - 12-12 20 (34" |12 1.3/16" - 12 15 | 601 | 145 |518 |36 H105A0-10-30 |16 | 5/8 10 | M30x2 20 15 336 |16 |30
H242B1 - 20 - 20 32 | 1.1/4" |20 1.11/16" - 12 26 89,3 15 734 |50
H242B1 - 24 - 24 40 | 1.1/2" |24 2" - 12 32 102,7 | 15 85 60 H105A0 - 16 - 42 25 | 1" 16 M42x2 30 25 407 |20 |46
H105A0 - 20 - 52 32 | 1.1/4" |20 M52x2 38 30 |47 |22 |55




=g 8

HOSE FITTINGS

i =S8

HOSE FITTINGS | R
W A INTERLOCK TYPE P34t
a]s] AL
INTERLOCK TYPE W&z
A L L .
" 2 /—WILKI]]lnmEq
N
'_l m& 1 = X
= ¢
H205A1 H205C1
H205A1 N I IR S0 240435 ORI B
------------ O'RING METRIC FEMALE 24°CONE HEAVY TYPE DIN 3865 (DKOS) H205C1  45°AHINIRE 24° HEATORIE E ARSI
------------ 45°0'RING METRIC FEMALE 24°CONE HEAVY TYPE DIN 3865 (DKOS -45) (SLIP-ON
HOSE THREAD B L A H2 NUT)
PART NUMBER PIPE
THREAD B L A M H2
DN In SIZE T mm mm mm mm PART NUMBER HOSE PIPE
H205A1 - 10 - 30 16 | 5/8" 10 M30x2 20 12 |35 4 36 DN In SIZE T mm | mm | mm | mm | mm
H205A1 - 12 - 36 20 | 3/4" 12 M36x2 25 15 375 |45 |46 H205C1 - 10 - 30 16 | 5/8" 10 M30x2 20 12 643 |4 31 36
H205A1 - 16 - 42 25 | 1" 16 M42x2 30 19 405 |63 |50 H205C1 - 12 - 36 20 | 3/4" 12 M36x2 25 15 | 755 |45 |35 46
H205A1 - 20 - 52 32 | 1.1/4" |20 M52x2 38 26 47 8 60 H205C1 - 16 - 42 25 | 1" 16 M42x2 30 19 859 |63 |38 50
) H205C1 - 20 - 52 32 | 1.1/4" |20 M52x2 38 26 104 |8 458 | 60
L
J S
, \A‘I"—“"A‘ :
= &
| = -
B I
% Bt
< 8] H873A0
T H873A0 SAE 2% 3000 P.S.I.
------------ SAE FLANGE 3000 P.S.I.
H205B1
H205B1 Q0?A M N EB L 24° 4EHORIE E R
------------ 90°0'RING METRIC FEMALE 24°CONE HEAVY TYPE DIN 3865 (DKOS -90) (SLIP-ON B L D S
NUT) PART NUMBER HOSE FLANGE
DN In SIZE mm mm mm mm
PART NUMBER HOSE THREAD oIpE B L Al M H2 H873A0 - 10 - 12 16 | 5/8" 10 3/4" 18 455 | 381 | 6,73
N I — - om | mm | mm | mm | mm H873A0 - 12 - 12 20 3/4" 12 3/4" 18 455 | 38,1 6,73
H873A0 - 12 - 16 20 3/4" 12 1" 24 505 |445 |8
H205B1 - 10 - 30 16 | 5/8" 10 M30x2 20 12 50,2 | 4 59,6 | 36 H873A0 - 16 - 16 25 1" 16 1" 24 61,5 44,5 8
- H873A0 - 16 - 20 25 T 16 1.1/4" 30 63 508 |8
H205B1 - 12 - 36 20 | 3/4 12 M36x2 25 15 611 |45 |688 |46 HB73A0 - 20 - 20 3 T 20 T 30 ) 508 |8
H205B1 - 16 - 42 25 | 1" 16 M42x2 30 19 741 |63 |783 |50 H873A0 - 20 - 24 32 1.1/4" 20 1.1/2" 36 60,5 |603 |8
) H873A0 - 24 - 24 40 1.1/2" 24 1.1/2" 36 609 |603 |8
H205B1 - 20 - 52 32 | 1.1/4" |20 M52x2 38 26 903 |8 944 |60 H873A0 04 32 20 T o4 T 28 665 1714 1953
H873A0 - 32 - 32 50 2" 32 2" 48 67,7 | 714 | 953




ivodi— g0

idi= 8

HOSE FITTINGS
HOSE FITTINGS
& [
INTERLOCK TYPE py 8l =% - A
. INTERLOCK TYPE P 8=,
% -
[T | 5
£ L I
1 . ng?J § -
w)
H873B0 H876A0
H873B0 90° SAE ¥ 3000 P.S.| H876A0 SAE 2 6000 P.S.I
............ 90°SAE FLANGE 3000 P.S.I. SAE FLANGE 6000 P.S.1.
B L D M S B L D S
PART NUMBER HOSE FLANGE PART NUMBER HOSE FLANGE
DN In SIZE mm mm mm mm mm DN In SIZE mm mm mm mm
H873B0 - 10 - 12 16 | 5/8" 10 3/4" 18 |509 |381 |528 |6,73 H876A0 - 10 - 12 16 | 5/8" 10 3/4" 18 435 413 | 8,76
H873B0 - 12 - 12 20 | 3/4" 12 3/4" 18 60,1 38,1 |584 6,73 HB876A0 - 12 - 12 20 3/4" 12 3/4" 18 454 413 | 8,76
H873B0 - 12 - 16 20 | 3/4" 12 1" 24 | 60,1 445 [595 |8 HB876A0 - 12 - 16 20 | 3/4" 12 1 23 50,4 476 | 9,53
H873B0 - 16 - 16 25 | 1" 16 1" 24 | 742 | 445 | 705 |8 HB76A0 - 16 - 16 25 1 16 " 23 1607 1476 |953
H873B0 - 16 - 20 25 | 1" 16 1.1/4" 30 |742 |508 |72 8 HB76A0 - 16 - 20 25 1" 116 114" 30 %87 |54 11029
H873B0 - 20 - 20 32 | 114" |20 1.1/4" 30 |902 |508 |795 |8 HB76A0 - 20 - 20 32 1114 20 1.1/4 30 % hy 10,29
: : ’ ’ ' H876A0 - 20 - 24 32 | 1.4/4" |20 1.4/2" 36 70 635 | 12,57
H873B0 - 20 - 24 32 | 1.1/4" | 20 1.172" 36 1902 603 |83 8 H876A0 - 24 - 24 40 [ 1./2" |24 1.172" 36 859 |635 | 1257
H873B0 - 24 - 24 40 1.1/2" 24 1.1/2" 36 100,6 60,3 95 8 H876A0 - 24 - 32 40 1.4/2" 24 " 48 90,9 794 12,57
H873B0 - 24 - 32 40 | 142" |24 2" 48 100,6 | 71,4 |97 9,53 H876A0 - 32 - 32 50 |2 32 2 48 129,7 | 794 | 12,57
H873B0 - 32 - 32 50 | 2" 32 2" 48 127 714 | 1135 | 9,53 .
, ~L Lt
=
i
4
o | g
D
H876B0
H873C0 H876B0 90° SAE ¥£2£ 6000 P.S.I
H873C0 45° SAE 322 3000P.S.| 90°SAE FLANGE 6000 P.S.I.
------------ 45°SAE FLANGE 3000 P.S..
B L D | M s
B L D M S PART NUMBER HOSE FLANGE
PART NUMBER HOSE FLANGE DN In SIZE mm | mm mm | mm mm
DN In SIZE mm | mm | mm | mm | mm H876B0 - 10 - 12 16 | 5/8" 10 3/4" 18 |509 |413 |553 |8,76
H873C0 - 10 - 12 16 | 5/8" 10 3/4" 18 | 60,1 381 | 263 |6,73 H876B0 - 12 - 12 20 | 3/4" 12 3/4" 18 | 601 | 41,3 | 625 | 8,76
H873C0 -12-12 20 3/4" 12 3/4" 18 67,4 38,1 27,7 6,73 H876B0 - 12 - 16 20 3/4" 12 1" 23 60,1 476 66,5 9,53
H873C0 - 12 - 16 20 | 3/4" 12 1" 24 |677 |445 |284 |8 H876B0 - 16 - 16 25 | 1" 16 e 23 | 742 | 476 |775 | 953
H873C0 - 16 - 16 25 |1 16 1" 24 80,5 445 | 327 |8 H876B0 - 16 - 20 25 | 1" 16 1.1/4" 30 |742 |54 81 10,29
H873C0 - 16 - 20 25 | 1" 16 1.1/4" 30 81,5 508 |337 |8 H876B0 - 20 - 20 32 | 1.14" |20 1.1/4" 30 | 902 |54 904 | 10,29
H873C0 - 20 - 20 82 |1.1/4" |20 114" 30 1925 508 |351 |8 H876B0 - 20 - 24 32 [1.14" |20 1.1/2" 3 902 635 |974 |1257
H873C0 - 20 - 24 82 | 1.14" |20 1.1/2" 36 952 603 |38 |8 H876B0 - 24 - 24 40 | 1.4/2" |24 1.1/2" 36 | 100,6 | 635 |108,9 | 1257
H873C0 - 24 - 24 40 | 1.1/2° |24 1.1/2 3 11027 1603 415 |8 H876B0 - 24 - 32 40 | 1.4/2" |24 2" 48 1006 | 794 [1204 | 1257
H873CO - 24 - 32 40 | 1.1/2" |24 2 48 1042 | 714 |43 9,53 HB76B0 - 32 - 32 50 |2 32 o 28 | 1357 | 794 | 1447 | 1257
H873C0 - 32 - 32 50 | 2" 32 2" 48 127,8 | 714 | 497 | 9,53




iicdi= g8

il = &8

HOSE FITTINGS
HOSE FITTINGS
-ann—ﬁ A 8-
INTERLOCK TYPE H&IR -l A
] INTERLOCK TYPE 43,
/_WEH]]]]IF[HZE -
ZL %@
p v =
] :(
H876C0 %
H876C0 45° SAE 2% 6000 P.S.I o] _B_I
------------ 45°SAE FLANGE 6000 P.S.1. I
B L D M S
PART NUMBER HOSE FLANGE H877B0
DN | In SIZE A O A H877B0  90°SAE ¥:2% 9000 P.S.I
H876C0 - 10 - 12 16 | 5/8" 10 3/4" 18 61,9 413 |28 876 | e 90°SUPERCAT FLANGE
H876C0 - 12 - 12 20 | 3/4" 12 3/4" 18 69,9 413 | 305 | 8,76 5 3 5 v S
H876C0 - 16 - 16 25 | 1" 16 q" 23 85,5 476 | 375 | 953 DN In SIZE mm mm mm mm mm
H876CO0 - 20 - 20 32 1.1/4" 20 1.1/4" 30 100,2 54 43 10,29 H877B0 - 16 - 16 25 1™ 16 1" 19 74:2 47:6 82,3 14:3
H876CO0 - 20 - 24 32 |1.1/4" |20 1.1/2" 36 105,1 | 635 | 479 | 1257 H877B0 - 20 - 20 32 | 1.1/4" |20 1.1/4" 24 90,2 54 94,4 14,3
H876C0 -24 - 24 40 |1.1/2" |24 1.172" 36 | 113 635 |518 | 1257 H877B0 - 24 - 24 40 | 1.1/2" |24 1.1/2" 30 | 1006 | 635 | 110,6 | 143
H876C0 - 24 - 32 40 | 1.172" |24 2" 48 1204 | 794 |592 | 1257
H876C0 - 32 - 32 50 | 2" 32 2" 48 150,8 | 794 | 678 | 1257
L
5 LT
! E— —
(] ) - = -
I
e
H877A0 H877CO0
H877CO 45°SAE %2 9000 P.S.I
H877A0 SAE 22 9000 P.S.I e 45°SUPERCAT FLANGE
------------ SUPERCAT FLANGE B L D M S
B ] D S PART NUMBER HOSE FLANGE
PART NUMBER HOSE FLANGE DN | In | SIZE mm | mm | mm | mm | mm
DN I SIZE o T po o H877C0 - 12 - 12 20 | 3/4" 12 3/4" 14 73,8 413 | 344 |143
H877A0 - 12 - 12 20 3/4" 12 3/4" 14 509 | 413 | 143 H877CO - 16 - 16 25 [1" 16 1" 19 88,8 476 |41 14,3
H877A0 - 16 - 16 25 1" 16 1" 19 657 | 476 | 14,3 H877C0 - 20 - 20 32 [1.14" |20 1.1/4" 24 103,1 | 54 457 | 143
H877A0 - 20 - 20 32 1.1/4" 20 1.1/4" 24 80 54 14,3 H877C0 -24 - 24 40 1.1/2" 24 1.1/2" 30 114,2 63,5 53 14,3
H877A0 - 24 - 24 40 1.4/2" 24 1.472" 30 909 | 635 | 143




i =g 8

HOSE FITTINGS
=04 A
INTERLOCK TYPE W&i=,
L.
| Rl (1] o
R T A e
H900A0
H200A0 X S
------------ CONNECTOR INSERT
B L
PART NUMBER HOSE
DN In SIZE mm mm
H900AO - 10 - 10 16 5/8" 10 12 14
H900A0 - 12 - 12 20 3/4" 12 14 14
H900AO - 16 - 16 25 1" 16 19 18
H900AO0 - 20 - 20 32 1.1/4" 20 24 22
H900AO - 24 - 24 40 1.1/2" 24 30 25
H900AO - 32 - 32 50 2" 32 41 29,4

idi= 8

HOSE FITTINGS
i
STANDARD TYPE#R#ER,
L
IR
S00100
S00100 REER
------------ FERRULE FOR SAE 100R1A/DIN EN 853 1ST
D L
PART NUMBER HOSE
DN In SIZE mm mm
S00100 - 03 5 3/16" 03 17 27
S00100 - 04 6 1/4" 04 19 30
S00100 - 05 8 5/16" 05 20 30
S00100 - 06 10 3/8" 06 24 32
S00100 - 08 12 172" 08 285 34
S00100 - 10 16 5/8" 10 32 37
S00100 - 12 20 3/4" 12 36 43
S00100 - 16 25 1" 16 43 50
S00100 - 20 32 1.1/4" 20 52 59
S00100 - 24 40 1.4/2" 24 57 63
S00100 - 32 50 2" 32 70.6 79
L
(T
S00200
S00200 =gy
------------ FERRULE FOR SAE 100R2A / DIN EN 853 2ST / SAE 100R9A
D L
PART NUMBER HOSE
DN In SIZE mm mm
S00200 - 03 5 3/16" 03 20 27
S00200 - 04 6 1/4" 04 21 30
S00200 - 05 8 5/16" 05 24 30
S00200 - 06 10 3/8" 06 26 32
S00200 - 08 12 1/2" 08 30 34
S00200 - 10 16 5/8" 10 34 37
S00200 - 12 20 3/4" 12 38 43
S00200 - 16 25 1" 16 46 50
S00200 - 20 32 1.4/4" 20 56 59
S00200 - 24 40 1.4/2" 24 62 63
S00200 - 32 50 2" 32 75 79




i =8 iody= -8

HOSE FITTINGS HOSE FITTINGS
-F:Fllillq—'ﬁ A -an—% A
STANDARD TYPE#R# STANDARD TYPE#R#ER
= L
W
o
S00110
S03000 S00110 BREER
so3c00  REEE 00 FERRULE FOR SAE 100R1AT/EN853 1SN
------------ FERRULE FOR SAE 100R3 / DIN EN 854 3TE / SAE 100R5
D L
SIZE SIZE D L PART NUMBER HOSE
PART NUMBER HOSE ST - S o o
S03000 - 03 5 3/16" 03 04 18 29 00110 04 5 T oa 26 30
S03000 - 04 6 1/4" 04 05 20 30 200110 05 5 56 0% 51 30
S03000 - 05 8 516" 05 06 21 30 20071008 10 38" 06 >3 3
S03000 - 06 10 3/8" 06 08 24 31 S00T10 08 1 o 08 5 34
S03000 - 08 12 12" 08 10 29 34 20011010 16 zig" 10 30 37
S03000 - 10 16 5/8" 10 12 32 36 20071012 0 3" 1 5 3
S0 L 2 S N — 5
- _ S00110 - 20 32 1.1/4" 20 50.8 59
S03000 - 20 32 1.1/4 20 50 57 S00T10 24 38 T 4 =5 >
S00110 - 32 32 2" 32 68 78
L
L
IR I
S00210
S04000 S00210 i3]
S04000 B FERRULE FOR SEA100R2AT/EN 853 2SN
------------ FERRULE FOR DIN EN 854 1TE / 2TE, SAE 100R17 / R6 , DIN EN 857 = 3 .
1SC PART NUMBER HOSE
D L d DN In SIZE mm mm mm
S00210 - 03 5 3/16" 03 14 27
PART NUMBER N ":OSE SizE - - - S00210- 04 6 174" 04 215 30
n S00210 - 05 8 5/16" 05 23 30
S04000 - 03 5 3/16 03 14 29 11 .
¢ S00210 - 06 10 3/8 06 255 315
S04000 - 04 6 1/4 04 17 30 135 ;
_ S00210 - 08 12 172 08 29 34
S04000 - 05 8 5/16 05 19 305 15,2 ;
¢ $00210 - 10 16 5/8 10 32 37
S04000 - 06 10 3/8 06 21 32 17,2 ;
,, S00210 - 12 20 3/4 12 355 43
S04000 - 08 12 172 08 25 35 208 4
S00210 - 16 25 1 16 46 50
S04000 - 10 16 5/8" 10 29 365 245 .
_ S00210 - 20 32 1.1/4 20 55 59
S04000 - 12 20 3/4 12 32 40 27.8 .
! S00210 - 24 38 1172 24 625 74
S04000 - 16 25 1 16 40 52 346 ;
S04000 - 20 32 11/4" 20 48 56 42 S00210 - 32 32 2 32 75 8
- - Similar SAE 100R7 hose with external diameter max = d



-Fz m— A

STANDARD TYPE#R#ER

S05001

iicdi— g0

HOSE FITTINGS

WA

STANDARD TYPE#R#ER

ivdi= ;8

HOSE FITTINGS

Qo
S05001 BREER
----------- FERRULE FOR SAE 100R1AT / DIN EN 853 1SN
D L
PART NUMBER HOSE S00400
S05001 - 03 5 3/16" 03 20 235 BREH
S05001-04 5 174 04 20 o T 1 @ e FERRULE FOR 4SP, 4SH10-16,R12 06-16
S05001 - 05 8 5/16" 05 22 30 D 1
S05001- 06 10 378" 06 24 32 PART NUMBER HOSE
S05001 - 08 12 172" 08 28 34 DN in SIZE mm mm
S05001 - 10 16 5/8" 10 32 37 300400 - 04 5 e o7 > 0
S05001 - 12 20 3/4 12 35 42 500400 - 06 10 3/8" 06 26 325
S05001 - 16 25 LA 16 43 o1 00400 - 08 12 172" 08 30 34.5
S05001 - 20 32 1.1/4" 20 56 59 S00400 - 10 16 =g 10 3 20
S05001 - 24 40 1172 24 63 67 S00400 - 12 20 S0 1 38 155
S00400 - 20 32 1.1/4" 20 56 66
L S00400 - 24 40 1.1/2" 24 65 75
S00400 - 32 50 2" 32 79 79
S05000 BREER
------------ FERRULE FOR SAE 100R1AT - R2AT / DIN EN 853 1SN - 2SN /
SAE 100R16 SAE 100R17
D L S00401
PART NUMBER HOSE S00401 REER
DN In SIZE mm mm_ | | FERRULE FOR SAE 4SH .R12/32
S05000 - 03 5 3/16" 03 20 235
S05000 - 04 6 1/4" 04 23 30 D L
S05000 - 05 8 5/16" 05 24 30 PART NUMBER HOSE
S05000 - 06 10 3/8" 06 26 32 DN In SIZE mm mm
S05000 - 08 12 172" 08 29 34 S00401- 12 20 3/4" 12 355 50
S05000 - 10 16 5/8" 10 33 37 S00401 - 16 25 1" 16 46 60
S05000 - 12 20 3/4" 12 37 42 S00401 - 20 32 1.1/4" 20 52 66
S05000 - 16 25 1" 16 46 51 S00401 - 24 40 142" 24 62 75
S05000 - 20 32 1.1/4" 20 59 59 S00401 - 32 50 2" 32 77 79
S05000 - 24 40 142" 24 67 67
S05000 - 32 50 2" 32 80 72




ivdi= ;-8

.an—%ﬁ A

STANDARD TYPEFR#ER

6e°
T

S126A0

S126A0 T HMEL60° T
------------ BSP MAL E PARALLEL 60°CONE SEAT
THREAD B L A H1
PART NUMBER HOSE
DN In SIZE T mm mm mm mm

S126A0 - 03 - 02 5 3/16" 03 1/8" - 28 3,5 20,6 8 14
S126A0 - 04 - 02 6 1/4" 04 1/8" - 28 3,5 20,5 8 14
S126A0 - 04 - 04 6 1/4" 04 1/4" - 19 5 25,5 11 19
S126A0 - 04 - 06 6 1/4" 04 3/8" - 19 8 27 12 22
S126A0 - 05 - 06 8 5/16" 05 3/8" - 19 8 27,5 12 22
S126A0 - 06 - 06 10 3/8" 06 3/8" - 19 8 28,1 12 22
S126A0 - 06 - 08 10 3/8" 06 1/2" - 14 11 32,1 14 27
S126A0 - 08 - 06 12 1/2" 08 3/8" - 19 8 28,3 12 22
S126A0 - 08 - 08 12 1/2" 08 1/2" - 14 11 32,3 14 27
S126A0 -08 - 10 12 1/2" 08 5/8" - 14 14,5 36,3 16 30
S126A0 - 08 - 12 12 1/2" 08 3/4" - 14 16,5 36,3 16 32
S126A0 -10-10 16 5/8" 10 5/8" - 14 14,5 34,3 16 30
S126A0 -10-12 16 5/8" 10 3/4" - 14 16,5 36,3 16 32
S126A0 -12-12 20 3/4" 12 3/4" - 14 16,5 37,5 16 32
S126A0 -12 - 16 20 3/4" 12 ™" -11 22 41 19 41
S126A0 - 16 - 16 25 1" 16 1" - 11 22 41,8 19 41
S126A0 - 16 - 20 25 1" 16 1.1/4" - 11 28,5 46,3 20 50
S126A0 - 20 - 20 32 1.1/4" 20 1.1/4" - 11 28,5 47 20 50
S126A0 -24 - 24 40 1.1/2" 24 1.1/2" - 11 33,5 52,5 22 55
S126A0 - 32 - 32 50 2" 32 2" -1 46 62,9 25 70

HOSE FITTINGS
W0 A
STANDARD TYPEFR#ER
L
A H1
— coL ‘,[T .
A 222
S130A0
S130A0 FEHEE SMBRSL
------------ BSP MALE TAPERED
THREAD B L A HA1
PART NUMBER HOSE

DN In SIZE T mm mm mm mm
S130A0 - 03 - 02 5 3/16" 03 1/8" - 28 4 20,1 8,5 12
S130A0 - 04 - 02 6 114" 04 1/8" - 28 4 20,5 |85 12
S130A0 - 04 - 04 6 1/4" 04 1/4" - 19 5 25 12,5 14
S130A0 - 04 - 06 6 114" 04 3/8" - 19 8 26,5 13 19
S130A0 - 05 - 06 8 5/16" 05 3/8" - 19 8 27 13 19
S130A0 - 06 - 06 10 3/8" 06 3/8" - 19 8 27,6 13 19
S130A0 - 06 - 08 10 3/8" 06 1/2" - 14 11 31,6 165 |22
S130A0 - 08 - 08 12 1/2" 08 1/2" - 14 11 31,8 165 |22
S130A0 - 10 - 12 16 5/8" 10 3/4" - 14 16,5 | 35,3 18 27
S130A0 -12 - 12 20 3/4" 12 3/4" - 14 16,5 | 36 18 27
S130A0 - 16 - 16 25 1" 16 1" - 11 22 413 |21 36
S130A0 - 20 - 20 32 1.1/4" 20 1.1/4" - 11 285 | 465 |235 |46
S130A0 - 24 - 24 40 1.1/2" 24 1.1/2" - 11 335 |49 24 50
S130A0 - 32 - 32 50 2" 32 2" 11 46 554 | 27 65

. T
S122A0
S122A0 HEIMRSCETH
------------ BSP MALE FLAT SEAT
THREAD B L A H1
PART NUMBER HOSE

DN In SIZE T mm mm mm mm
S122A0 - 04 - 04 6 1/4" 04 114" - 19 5 25,5 11 19
S122A0 - 06 - 06 10 3/8" 06 3/8" - 19 8 28,1 12 22
S122A0 - 06 - 08 10 3/8" 06 1/2" - 14 11 32,1 14 27
S122A0 - 08 - 08 12 1/2" 08 112" - 14 11 32,3 14 27
S122A0 -12 - 12 20 3/4" 12 3/4" - 14 16,5 | 37,5 16 32




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
WA W% A
STANDARD TYPEM:#ER, STANDARD TYPEWR#ER,

H2I : LHQI |
H - M iemm 7 | Q
| ST R — FT

3

H2

) L] R
4 g '
S226A1 S226A2 T T
S226A RE WIBL60°4MET S226B1 S226B2
------------ BSP FEMALE 60°CONE S2268B 90°HEE Y MR SL60° M TH
THREAD B L A H2 | e 90°BSP FEMALE  60°CONE
PART NUMBER HOSE THREAD B L A M H2
DN In SIZE T mm mm mm mm PART NUMBER HOSE

S226A1 -03-02 5 3/16" 03 1/8" - 28 3 14,6 4.4 14 DN In SIZE T mm mm mm mm mm
S226A1 -03 - 04 5 3/16" 03 1/4" - 19 4 18 5,2 19 S226B1 - 03 -02 5 3/16" 03 1/8" - 28 3 26.5 4.4 257 14
S226A2 - 04 - 02 6 1/4" 04 1/8" - 28 3 15,5 4.4 14 S226B1 - 03 - 04 5 3/16" 03 1/4" - 19 4 26.5 5,2 26,7 19
S226A1 -04 - 04 6 1/4" 04 1/4" - 19 4 18 5,2 19 S226B2 — 04 -02 6 1/4" 04 1/8" - 28 3 28 4.4 32,4 14
S226A1 - 04 - 06 6 1/4" 04 3/8" - 19 7 19,1 6 22 S226B1 - 04 - 04 6 1/4" 04 1/4" - 19 4 28 5,2 28,8 19
S226A2 - 05 - 04 8 5/16" 05 1/4" - 19 4 18 5,2 19 S226B1 - 04 - 06 6 1/4" 04 3/8" - 19 7 28 6 30.5 22
S226A1 - 05 - 06 8 5/16" 05 3/8" - 19 7 19,1 6 22 S226B2 — 05 -04 8 5/16 05 1/4" - 1 4 31 5.2 335 10
S226A2 - 06 - 04 10 3/8" 06 1/4" - 19 4 18 5,2 19 S226B1 - 05 - 06 8 5/16" 05 3/8" - 19 7 31 6 30,8 22
S226A1 - 06 - 06 10 3/8" 06 3/8" - 19 7 19,6 6 22 S226B2 - 06 - 04 10 3/8" 06 1/4" - 1 4 34 5.2 37 19
S226A1 - 06 - 08 10 3/8" 06 1/2" - 14 9,5 20,5 6,5 27 S226B1 - 06 - 06 10 3/8" 06 3/8" - 19 7 34 6 34,1 22
S226A2 - 08 - 06 12 1/2" 08 3/8" - 19 7 20,8 6 22 S226B1 - 06 - 08 10 3/8" 06 1/2" - 14 9,5 34 6,5 35,5 27
S226A1 -08 -08 12 1/2" 08 1/2" - 14 9,3 20,8 6,5 27 S226B2 — 08 -06 12 1/2" 08 3/8" - 19 7 40 6 43 22
S226A1- 08 -10 12 1/2" 08 5/8" - 14 12 20,8 9,7 30 S226B1 - 08 - 08 12 1/2" 08 1/2" - 14 9,3 40 6,5 40,4 27
S226A1-08-12 12 1/2" 08 3/4" - 14 15 23,3 9 32 S226B1 - 08 -10 12 1/2" 08 5/8" - 14 12 40 9,7 42 30
S226A2-10-10 16 5/8" 10 5/8" - 14 12 20,3 9,7 30 S226B1 - 08 -12 12 1/2" 08 3/4" - 14 15 40 9 43 32
S226A1-10-12 16 5/8" 10 3/4" - 14 15 233 9 32 S226B2 — 10 -10 16 5/8" 10 5/8" - 14 12 48 9,7 52,2 30
S226A2-12-12 20 3/4" 12 3/4" - 14 15 24 5 9 32 S226B1 — 10 -12 16 5/8" 10 3/4" - 14 15 48 9 48 32
S226A1-12-16 20 3/4" 12 1" - 11 19,5 26 10,5 38 S226B2 — 12-12 20 3/4" 12 3/4" - 14 15 55 9 62 32
S226A2-16-16 25 1" 16 1" - 11 19,5 27.3 10,5 38 S226B1 — 12-16 20 3/4" 12 1" -11 19,5 55 10,5 55 38

S226B2 — 16-16 25 1" 16 1" - 11 19,5 73 10,5 77,3 38




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
8w A &
STANDARD TYPEM:#ER, STANDARD TYPEWR#ER,

A L
HZ2

(] -

o L il - = ot
e e

S226A1-0R S226A2-0R
S226C1 S296C2 S226A-OR  ZEEPURLI60° 4 OZL M SMER
S226C AT RIBLE0MET 0 e BSP O'RING FEMALE 60°CONE
o o THREAD B L A H2
------------ 45°BSP FEMALE 60°CONE SART NUMBER -
PART NUMBER HOSE THREAD B L A M H2 DN In SIZE T mm mm mm mm
DN n SIZE T O T e S226A1 - 03 — 020R 5 316" | 03 1/8" - 28 3 146 | 4,4 14
S226C1 - 03 - 02 5 3/16" | 03 1/8" - 28 3 305 |44 13,2 | 14 S226A1 - 03 - 040R 5 3/16" 03 1/4" - 19 4 18 52 19
S226C1 - 03 - 04 5 3/16" | 03 1/4" - 19 4 312 |52 13,9 |19 S226A2 - 04 — 020R 6 1/4" 04 1/8" - 28 3 155 |44 14
S226C1 - 04 - 04 6 1/4" 04 1/4" - 19 4 352 |52 14,7 |19 S226A1 - 04 — 040R 6 1/4" 04 1/4" - 19 4 18 5,2 19
S226C1 - 04 - 06 6 1/4" 04 3/8" - 19 7 373 |6 16,8 | 22 S226A1 - 04 — 060R 6 1/4" 04 3/8" - 19 ’ 191 |6 22
S226C1 - 05 - 06 8 5/16" | 05 3/8" - 19 7 374 |6 16,3 | 22 S226A2 - 05-040R 8 o/16" 05 1/4" - 19 4 18 0,2 19
S226C1 - 06 - 06 10 | 3/8" 06 3/8" - 19 7 409 |6 173 |22 S226A1 - 05— 060R 8 5/16" 05 3/8" - 19 7 191 |6 22
S226C1 - 06 - 08 10 | 3/8" 06 1/2" - 14 95 | 419 |65 18,3 | 27 S226A2 - 06 — 040R 10 | 38" 06 1/4" - 19 4 18 52 19
S226C1 - 08 - 08 12 | 1/2" 08 1/2" - 14 93 |476 |65 19,9 |27 S226A1 - 06 — 060R 10 | 3/8° 06 3/8" - 19 l 196 |6 22
S296C2 - 04 - 02 5 14" 04 18" - 28 3 364 | 44 171 |14 S226A1 - 06 — 080R 10 | 3/8" 06 1/2" - 14 95 |205 |65 27
S226C1 - 08 - 10 12 |12 08 5/8" - 14 12 502 |97 |235 |30 S226A2 - 08 — 060R 12 |12 08 3/8" - 19 l 208 |6 22
S296C1 - 08 - 12 12 12 08 34" 14 15 551 |9 271 | 32 S226A1 - 08 — 080R 12 | 1/2" 08 1/2" - 14 93 |208 |65 27
S226C2 - 10 - 10 16 | 5/8" 10 5/8" - 14 12 56,8 | 9,7 258 | 30 S226A1 - 08 — 100R 12 |12 08 5/8" - 14 12 208 |97 30
S226C1-10 - 12 16 | 5/8" 10 3/4" - 14 15 59,8 |9 288 |32 S226A1 - 08 -120R 12 |12 08 3/4" - 14 15 233 |9 32
S226C2 -12 - 12 20 | 3/4" 12 3/4" - 14 15 678 |9 303 |32 S226A2 — 10 -100R 16 | 58" 10 5/8" - 14 12 203 |97 30
S226C1 - 12 - 16 20 | 34 12 TRy 195 | 71 105 | 30 38 S226A1 - 10 -120R 16 | 5/8" 10 3/4" - 14 15 233 |9 32
S226C2 - 16 - 16 25 | qv 16 11 195 | 844 | 105 | 374 |38 S226A2 - 12 -120R 20 | 3/4 12 3/4" - 14 15 245 |9 32
S226A1 — 12 -160R 20 | 3/4" 12 1" - 11 19,5 |26 10,5 38
S226A2 - 16 -160R 25 | 1" 16 1" - 11 195 |27,3 | 105 38
S226A2 - 16 — 200R 25 | 1" 16 1.1/4" - 11 26 30,8 | 10,1 50
S226A2 - 20 — 200R 32 | 114" |20 1.1/4" - 11 26 315 | 10,1 50
S226A2 - 20 — 240R 32 | 114" |20 1.1/2" - 11 32 295 | 125 55
S226A2 - 24 — 240R 4 | 1.172" |24 1.1/2" - 11 32 295 | 125 55
S226A2 - 24 — 320R 40 | 112" |24 2" - 11 32 30 16,1 70
S226A2 - 32 — 320R 50 | 2" 32 2" - 11 42 314 | 16,1 70




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
WA W% A
STANDARD TYPEM:#ER, STANDARD TYPEWR#ER,

-

] = . > 3 S =
L
-
.
S226B1-0R S226B2-0R S226C1-0R $226C2-0R
S226B-OR  90ZLHE A IRS60° #EH OB Bl SMETH S226C-OR A5ZEE N IRG60° #EH OB B SMETH
------------ 90°BSP O'RING FEMALE ~ 60°CONE feeew 45°BSP O'RING FEMALE  60°CONE
THRED | B oo LU 2 THREAD B L A | M | H2
PART NUMBER HOSE PART NUMBER HOSE
DN In SIZE T mm mm | mm mm mm DN In SIZE T mm mm mm mm | mm
S226B1 - 03 — 020R 5 | 316" |03 1/8" - 28 3 265 |44 [257 |14 S226C1 - 04 — 040R 6 | 1/a" 04 14" - 19 4 352 |52 |147 |19
S226B1 - 03 — 040R 5 | 3/16" |03 1/4" - 19 4 265 |52 |267 |19 S226C1 - 06 — 06OR 10 |38 06 38" - 19 7 409 |6 173 | 22
S226B2 - 04 - 020R 6 |14 |04 1/8" - 28 3 28 |44 |324 |14 S226C1 - 08 — 080R 12| 1/2" 08 1/2" - 14 93 |476 |65 199 |27
S226B1 - 04 - 040R 6 |14 04 174" - 19 4 28 |52 |288 |19 S226C2 - 10 — 100R 16 | 5/8" 10 5/8" - 14 12 |568 |97 258 |30
S226B1 - 04 — 060R 6 |14" |04 3/8" - 19 ’ 28 |6 305 |22 S226C2 - 12— 120R 20 | 3/4" 12 3/4" - 14 15 |678 |9 30,3 |32
S226B2 - 05— 040R 8 | 5/16" |05 1/4" - 19 4 31 |52 [335 |19 S226C2 - 16 — 160R 25 | q" 16 11 195 |844 | 105 |374 |38
S226B1 - 05 - 060R 8 |5M6" |05 3/8" - 19 ! 31 |6 308 |22 $226C2 - 16 — 200R 25 |1 16 1.1/4"-11 |26 901 | 101 |416 |50
S226B2 - 06 - 040R 10 38" |06 174" - 19 4 34 |52 |37 19 $226C2 - 20 — 200R 32 | 1.1/4" |20 1.1/4"-11 |26 | 100,7 |10,1 |448 |50
S226B1 - 06 - 060R 10 | 38" 06 3/8" - 19 ! 34 |6 41 |22 S226C2 - 20 — 240R 32 | 1.1/4" |20 14/2"-11 |32 [101,3 | 125 |455 |55
S22681 - 06 — 080R 10 |38 |06 12" - 14 95 |34 |65 |35 | $226C2 - 24 - 240R 40 | 1.1/2" | 24 1.1/2'-11 |32 | 1125 [125 |49 |55
S226B2 - 08 - 060R 12 12" |08 3/8"-19 ’ 40 |6 43 22 S226C2 - 24 — 320R 40 | 1.1/2" | 24 2" - 11 42 | 116 16,1 | 525 |70
S226B1 - 08 — 080R 12 [ 12" |08 1/2" - 14 93 |40 |65 |404 |27 S226C2 - 32 — 320R 50 |2 32 11 42 | 1329 | 161 | 557 |70
S$226B1 - 08 — 100R 12 [ 12" |08 5/8" - 14 12 |40 |97 |42 30
$226B1 — 08 -120R 12 [ 1/2" |08 3/4" - 14 15 |40 |9 43 32
S226B2 — 10 -100R 16 | 58" |10 5/8" - 14 12 |48 |97 |522 |30
$226B1 - 10 -120R 16 | 58" |10 3/4" - 14 15 |48 |9 48 32
S226B2 - 12 -120R 20 | 34" |12 3/4" - 14 15 |55 |9 62 32
S226B1 — 12 -160R 20 | 34" |12 1" - 11 195 |55 [105 |55 38
S226B1 — 16 -160R 25 | 1" 16 1" - 11 195 |73 | 105 |773 |38
S226B2 - 16 — 200R 25 | 1" 16 11/4"-11 |26 |73 [101 |843 |50
S$226B2 - 20 — 200R 32 | 1.1/4" |20 1.1/4"-11 |26 | 898 |101 |93 50
S226B2 - 20 — 240R 32 | 1.1/4" |20 11/2"-11 |32 | 898 |125 |94 55
S226B2 - 24 — 240R 40 | 1.4/2" |24 11/2"-11 |32 | 103 |125 |106 |55
S226B2 - 24 — 320R 40 |12 |24 2" - 11 32 |103 |16 | 1104 |70
S226B2 - 32 - 320R 50 |2 32 2" - 11 42 |126 | 16,1 |124 |70




ivdi— g8 ivdi— g8

HOSE FITTINGS HOSE FITTINGS
e [
STANDARD TYPEM:#ER, STANDARD TYPE##ER,
A L A L .
2 | HZ

s el —
M TR e

H2

N r 1
T
S222A1 S222A2 ==
B
S222A B NIRECTH T
------------ BSP FEMALE FLAT SEAT 529281 S
THREAD B L A H2
PART NUMBER HOSE S222B 90°3EE WIRSFTH
DN In SIZE T mm mm mm mm ____________ 900 BSP FEMALE FLAT SEAT

S222A1 - 04 - 04 6 1/4" 04 1/4" - 19 4 15 7.7 19 THREAD B L A M | H2
S222A1 - 04 - 06 6 1/4" 04 3/8" - 19 4 17 9 22 PART NUMBER HOSE
S222A2 - 05 - 04 8 516" | 05 1/4" - 19 55 |15 7.7 19 STPIRTY, GDN 1/4"'” 04S'ZE 1/4"T — 4mm 22‘”‘ 7”;’“ 2r7“m ';“gm
S222A1 - 05-06 8 o 1? 05 3 8" =19 55 L 9 22 S222B1 - 04 - 06 6 1/4" 04 3/8" - 19 4 28 9 28 22
S222A1 - 06 - 06 10 3/8" 06 3/8" - 19 7 17 9 22 S222B1 — 05- 06 8 5/16" 05 3/8" - 19 5.5 31 9 29 22
S222A1 - 06- 08 10 | 3/8" 06 12" - 14 7 17 10.5 27 S222B2 - 06- 04 10 | 3/8" 06 1/4" - 19 55 34 7.7 35 19
S222A1 - 08- 08 12 | 12" 08 1/2" - 14 7 17 10.5 27 S222B1 - 06- 06 10 | 3/8" 06 3/8" - 19 4 34 9 32 22
S222A2 -10 10 6 56 0 e 14 oF 205 |12 20 S222B1 -08 - 08 12 |12 08 1/2" - 14 7 40 105 | 39 27

- - : : S222B1 - 08 - 10 12 1/2" 08 5/8" - 14 9.5 40 12 40 30
S222A1 -10 -12 16 |58 10 3/4" - 14 12 21 135 32 S222B2 -10 - 10 16 | 5/8" 10 5/8" - 14 95 |48 12 50 30
S222A2 - 12 -12 20 | 3/4" 12 3/4" - 14 145 | 21 13.5 32 S222B1 - 10 - 12 16 | 5/8" 10 3/4" - 14 12 48 135 | 46 32
S222A2 - 16 -16 25 [ 1" 16 " =11 20 22 15.5 38 S222B2 - 12 -12 20 | 3/4" 12 3/4" - 14 145 |55 135 | 60 32
S222A2 -20 -20 32 [1.14" |20 1.1/4" - 11 25 26 15.5 50 S222B2 - 16 - 16 25 | 1" 16 1" - 11 20 73 155 |70 38
S222A2 24 24 20 112 |2 112" 11 32 275 175 s $222B2 -20 -20 32 | 1.1/4 20 1.1/4" - 11 25 898 |155 |83 50

S222B2 -24 - 24 40 | 1.472" | 24 1.1/2" - 11 32 103 | 175 |985 |55

S222A2 -32 -32 50 |2" 32 2" - 11 42 305 |23 70




ivdi— ;8 ivdi— g8

HOSE FITTINGS HOSE FITTINGS
W—w A @0 A
STANDARD TYPER#ER STANDARD TYPE:#E
L
_ : 1/ ﬁm
P o K i
>4 C
\ S720A0
S720A0 HEHI BB
------------ BSP BANJO
BOLT L C M
S222C1 S222C2 R U HOSE
$299C 45 P R T DN In SIZE "THREAD mm mm mm
____________ 45> BSP FEMALE FLAT SEAT S720A0 - 04 - 04 6 1/4 04 1/4" - 19 243 | 1325 |14
T 5 3 A T S720A0 - 05 - 06 8 5/16" | 05 3/8" - 19 263 | 16,7 16
T NUEER HOSE S720A0 - 06 - 06 10 | 3/8" 06 3/8" - 19 26,8 | 16,7 16
DN n SIZE T mm | mm | mm | mm | mm S720A0 - 06 - 08 10 | 3/8" 06 1/2" - 14 318 | 21 25
S222C1 - 04 - 04 6 1/4" 04 1/4" - 19 4 14 77 | 14 19 S720A0 - 08 - 08 12 | 172 08 172" - 14 321 | 21 25
S22201 - 04 - 06 5 12 04 38 - 19 4 17 5 12 2 S720A0 - 10 - 10 16 | 5/8" 10 5/8" - 14 322 |23 25
S222C2- 06- 04 10 | 3/8" 06 1/4" - 19 5.5 15 7.7 18 19 S720A0 - 12 -12 20 |34 12 3/4" - 14 381 | 265 30
S222C1- 06- 06 10 | 3/8" 06 3/8" - 19 7 17 9 165 | 22
S222C1- 06- 08 10 | 3/8" 06 1/2" - 14 7 17 105 |17 27
S222C1- 08 -08 12 12" 08 1/2" - 14 7 17 105 | 18 27 " .
S222C1 08 -10 12 [ 172" 08 5/8" - 14 95 | 205 |12 20 30
S222C2 -10 -10 16 | 5/8" 10 5/8" - 14 95 | 205 |12 25 30 | ]
S222C1 10 -12 16 | 5/8" 10 3/4" - 14 12 21 135 | 24 32 .y aE il
S222C2 12 12 20 | 3/4" 12 3/4" - 14 145 | 21 135 | 29 32 %f
S222C2 -16 -16 25 | 1" 16 1" 11 20 22 155 | 34 38
S222C2-20-20 32 | 1.14" |20 1.1/4" - 11 25 26 155 | 43 50 KB720
S222C2 24 -24 40 | 1.12 24 1.1/2" - 11 32 275 | 175 |49 55 KB720 T
------------ BSP BOLT
THREAD B L H1
PART NUMBER
T mm mm mm
KB720 - 04 1/4" - 19 8 26 19
KB720 - 06 3/8" - 19 11 29 22
KB720 - 08 1/2" - 14 14 41 27
KB720 - 10 5/8" - 14 16 42 30
KB720 - 12 3/4" - 14 19 47 32




ivdi— ;8

.an—%ﬁ A

STANDARD TYPEFR#ER

i =g 8

HOSE FITTINGS
|
STANDARD TYPE#FR#ER,
L
A H1
S -
S167A0
S167A0  EHIJIC AMRLL S
------------ JIC MALE 74°CONE
THREAD B L A H1
PART NUMBER HOSE
DN In SIZE T mm mm mm mm
S167A0 - 04 - 04 6 1/4" 04 7/16" - 20 4 28 14 12
S167A0 - 04 - 05 6 1/4" 04 1/2" - 20 5,5 29 14 14
S167A0 - 04 - 06 6 1/4" 04 9/16" - 18 7 29 14 17
S167A0 - 05 - 05 8 5/16" 05 1/2" - 20 5,5 29 14 14
S167A0 - 05 - 06 8 5/16" 05 9/16" - 18 7 29 14 17
S167A0 - 06 - 06 10 3/8" 06 9/16" - 18 7 296 | 14 17
S167A0 - 06 - 08 10 3/8" 06 3/4" - 16 9,5 34,1 16,5 19
S167A0 - 06 - 10 10 3/8" 06 7/8" - 14 12 386 | 19,5 24
S167A0 - 08 - 08 12 1/2" 08 3/4" - 16 9,3 343 | 165 19
S167A0 - 08 - 10 12 1/2" 08 7/8" - 14 12 388 | 195 24
S167A0 - 08 - 12 12 1/2" 08 1.1/16" - 12 15 428 |22 27
S167A0 -10 - 10 16 5/8" 10 7/8" - 14 12 388 | 195 24
S167A0 -10 - 12 16 5/8" 10 1.1/16" - 12 15 428 |22 27
S167A0 - 12 - 12 20 3/4" 12 1.1/16" - 12 15 435 | 22 27
S167A0 - 12 - 14 20 3/4" 12 1.3/16" - 12 16 44 22,5 32
S167A0 - 12 - 16 20 3/4" 12 1.5/16" - 12 195 | 465 |23 36
S167A0 - 16 - 12 25 E 16 1.1/16" - 12 15 448 | 22 32
S167A0 - 16 - 16 25 E 16 1.5/16" - 12 195 | 478 |23 36
S167A0 - 16 - 20 25 E 16 1.5/8" - 12 26 488 | 24,3 46
S167A0 - 20 - 20 32 1.1/4" 20 1.5/8" - 12 26 49 24,3 46
S167A0 - 20 - 24 32 1.1/4" 20 1.7/8" - 12 32 55 27,5 50
S167A0 - 24 - 24 40 1.1/2" 24 1.7/8" - 12 32 555 | 275 50
S167A0 - 32 - 32 50 2" 32 2.1/2" - 12 42 679 |34 65

HOSE FITTINGS
A L A L
HZ H2
T |
s e i als 4 ——
T T
S267A1 S267A2
S267A SEHIJIC PIBL74° WHETH
------------ JIC FEMALE 74°CONE SEAT
THREAD B L A H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm

S267A1 - 03 -04 5 3/16" 03 7/16" - 20 3 141 8,5 14
S267A1 -04 - 05 6 1/4" 04 1/2" - 20 4 15 9,5 17
S267A1 -04 - 06 6 1/4" 04 9/16" - 18 6 16 9,5 19
S267A1 - 06 - 08 10 3/8" 06 3/4" - 16 7 18,1 10,8 22
S267A1 -06-10 10 3/8" 06 7/8" - 14 11 19,5 12,8 27
S267A1 -08 - 10 12 1/2" 08 7/8" - 14 11 19,8 12,8 27
S267A1 -08-12 12 1/2" 08 1.1/16" - 12 14 21,7 14 32
S267A1-10-12 16 5/8" 10 1.1/16" - 12 14 21,8 14 32
S267A2 - 04 - 04 6 1/4" 04 7/16" - 20 4 15,5 8,2 14
S267A2 - 05 - 05 8 5/16" 05 1/2" - 20 5,5 16 9,4 17
S267A2 - 05 - 06 8 5/16" 05 9/16" - 18 5,5 15,5 9,2 19
S267A2 - 06 - 06 10 3/8" 06 9/16" - 18 7 16,1 9,2 19
S267A2 - 08 - 08 12 1/2" 08 3/4" - 16 9,3 17,8 11,1 22
S267A2 -10-10 16 5/8" 10 7/8" - 14 12 19,8 12,6 27
S267A2 -12-10 20 3/4" 12 7/8" - 14 12 21 12,6 27
S267A2 -12-12 20 3/4" 12 1.1/16" - 12 15 22 14,4 32
S267A2 -12-14 20 3/4" 12 1.3/16" - 12 15 22,5 14,3 36
S267A1-12-16 20 3/4" 12 1.5/16" - 12 19,5 22 15,2 41
S267A2 -16-12 25 1" 16 1.1/16" - 12 15 23,3 14,4 32
S267A2 - 16 - 16 25 1" 16 1.5/16" - 12 19,5 23,8 15,2 41
S267A2 - 16 - 20 25 1" 16 1.5/8" -12 26 28,3 15,7 50
S267A2 -20 - 20 32 1.1/4" 20 1.5/8" -12 26 28,5 15,7 50
S267A2 -20-24 32 1.1/4" 20 1.7/8" -12 32 30,5 18,3 60
S267A2 -24 -24 40 1.1/2" 24 1.7/8" - 12 32 30,5 18,3 60
S267A2 -32-32 50 2" 32 2.1/2" -12 44 334 24 75




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
L i A
STANDARD TYPE#R#E STANDARD TYPE#R#ER
L Ls
’ ‘1‘_(_,-4-%;/—4 3
— =
T 25
| ] Jes
E — i
T X T
T 1 g
' B
- T
T
S267B1 S267B2 5267C1 S267C2
S267B 90 HIJIC WIBLT4° PSR $267C ASCRHINIC PIRE74° P HETH
____________ 90°JIC FEMALE SWEPT ELBOW 74°CONE SEAT -------—----  45°JIC FEMALE SWEPT ELBOW 74°CONE SEAT
THREAD B L A M | H2
THREAD B L A M H2
PART NUMBER HOSE PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm DN In SIZE T S S mm | mm | mm
S267B1 - 04 - 05 5 e 04 12" - 20 2 28 95 | 272 17 S267C1-04 - 05 6 1/4" 04 1/2" - 20 4 34 95 |135 |17
S267B1 - 06 - 08 10 |3 06 34" - 16 - » 108 1323 |22 S267C1 - 06 - 08 10 | 3/8" 06 3/4" - 16 7 396 | 108 |16 |22
S267B1 - 06 - 10 10 |38 06 28" - 14 1 2 128 | 343 |27 S267C1-06 - 10 10 | 3/8" 06 7/8" - 14 11 40,9 12,8 | 175 |27
S267B1 -08 -10 2 T2 08 Y ” 40 128 |395 |27 S267C1-08 - 10 12 | 172" 08 7/8" - 14 11 46,9 128 |183 |27
S267B1 - 08 - 12 12 |12 08 116" -12 114 |40 14 |25 |32 S267C1 - 08 - 12 12| 12" 08 1.1/16" - 12 14 | 49,1 14 | 214 |32
S267B1-10-12 PP 10 116" 12 |14 |48 14 505 |32 S267C1-10 - 12 16 | 5/8" 10 1.1/16" - 12 14 | 575 |14 | 246 |32
526702 - 04 04 s | 1a 04 216" - 20 2 29 82 324 |12 S267C2 - 04 - 04 6 1/4" 04 7/16" - 20 4 364 (82 [171 |14
526782 - 06 - 06 0 |3 06 916" - 18 . ” 02 | 353 |19 S267C2 - 06 - 06 10 | 3/8" 06 9/16" - 18 7 408 |92 [182 |19
S267B2 - 08 - 08 12 1/2" 08 3/4" - 16 9.3 40 111 428 22 S5267C2 - 08 - 08 12 172" 08 3/4" - 16 9,3 48,3 11,1 216 |22
S267B2 -10-10 16 5/8" 10 7/8" - 14 12 48 126 52 27 5267C2-10-10 16 5/8" 10 7/8" - 14 12 56,6 12,6 257 27
S267B2 -12 - 12 20 3/4" 12 1.1/16" - 12 15 55 144 | 595 32 S267C2-12-12 20 3/4" 12 1.1/16" - 12 15 66 144 |285 |32
526782 - 12 - 14 20 |3 12 131612 |15 |55 143 635 |36 S267C2 - 12 - 14 20 | 3/4" 12 1.3/16" - 12 15 689 | 143 [313 |36
S267B1 -12-16 20 | 34 12 1 516" - 12 195 |55 152 | 632 |41 S267C1-12-16 20 | 3/4" 12 1.5/16" - 12 19,5 | 69,2 15,2 | 31 41
S267B2 - 16 - 16 Y PP 16 1 516" - 12 195 |73 152 | 728 | a1 S267C2 - 16 - 16 25 | 1" 16 1.5/16" - 12 195 | 813 152 | 342 |41
S267B2 - 16 - 20 25 |1 16 158" - 12 % | 73 157 |816 |50 S267C2 - 16 - 20 25 | 1" 16 1.5/8" - 12 26 | 877 |157 |406 |50
S267B2 - 20 - 24 32 | 112" | 20 17/8" -12 32 809 | 183 | 954 50 S267C2 - 20 - 24 32 | 1.1/4" |20 1.7/8" - 12 32 102 183 | 46,3 |60
S267B2 - 24 - 24 20 |12 |24 17/8" - 12 32 1031 1183 | 106.9 | 60 S267C2 - 24 - 24 40 | 1.1/2" |24 1.7/8" - 12 32 113,3 | 183 | 496 |60




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
Wi A W5 A
STANDARD TYPEAR#ER STANDARD TYPEAR#ER,
A P
HZ2  H1 8
_Cf%% A H1
.—l o} g A ]ﬂﬂﬂm (
72 NS e T
7/
S267A2-D S156A0
S267A2-D  FEHIJIC WIRG 74°PI4ET A S156A0  A#EE SMREL 60° WAHEE
------------ JIC FEMALE 74°CONE SEAT DOUBLE HEXAGON --------—--- NPTF MALE 60°CONE SEAT
THREAD B L A H1 | H2 THREAD B L A H1
PART NUMBER HOSE PART NUMBER HOSE
DN In SIZE T mm | mm | mm | mm | mm DN In SIZE T JLLUL UL SR

S267A2 - 04 — 04D 6 1/4" 04 7/16" - 20 4 21 8,2 12 14 S156A0 - 03 - 02 4 3/16" | 03 1/8" - 27 4 231 |10 12

S267A2 - 04 — 05D 6 1/4" 04 1/2" - 20 4 215 9.4 14 17 S156A0 - 03 - 04 4 3/16" | 03 1/4" - 18 5,5 28,6 14,5 14

S267A2 - 06 — 06D 10 | 3/8" 06 9/16" - 18 7 246 |92 17 19 S156A0 - 04 - 02 6 174" | 04 1/8" - 27 4 235 |10 12

S267A2 - 06 — 08D 10 | 3/8" 06 3/4" - 16 95 [271 |111 |19 22 S156A0 - 04 - 04 6 174" | 04 1/4" - 18 55 |29 145 |14

S267A2 - 08 — 08D 12 | 1/2" 08 3/4" - 16 93 (268 |11,1 |19 22 S156A0 - 04 - 06 6 174" | 04 3/8" - 18 9.5 315 | 145 |19

S267A2 - 08 — 10D 12 | 1/2" 08 7/8" - 14 12 278 | 126 |22 27 S156A0 - 05 - 04 8 /16" | 05 1/4" - 18 55 295 145 |14

S267A2 - 12— 12D 20 | 3/4" 12 1.1/16" - 12 15 31,5 | 144 |27 32 S156A0 - 05 - 06 8 516" | 05 3/8" - 18 95 |32 145 |19

S267A2 - 16 — 16D 25 | 1" 16 1.5/16" - 12 195 |338 |152 |32 41 S156A0 - 06 - 04 10 | 3/8" |06 1/4" - 18 5,9 301 | 145 |17

S267A2 - 20 - 20D 32 | 1.1/4" |20 1.5/8" - 12 25 405 | 157 | 41 50 S156A0 - 06 - 06 10 | 3/8" |06 3/8" - 18 95 321 [145 |19
S156A0 - 06 - 08 10 | 3/8" | 06 1/2" - 14 125 | 346 |192 |24
S156A0 - 08 - 06 12| 1/2" |08 3/8" - 18 93 (323 |145 |19
S156A0 - 08 - 08 12 | 1/2" |08 1/2" - 14 125 |348 |192 |24
S156A0 - 08 - 12 12 | 1/2" |08 3/4" - 14 16 398 | 192 |27
S156A0 - 10 - 08 16 | 5/8" | 10 1/2" - 14 12 388 | 192 |24
S156A0 - 10 - 12 16 | 5/8" | 10 3/4" - 14 16 398 | 192 |27
S156A0 - 12 - 12 20 | 3/4" |12 3/4" - 14 16 405 | 192 |27
S156A0 - 12 - 16 20 | 3/4" |12 1" -11,5 195 | 455 |242 |36
S156A0 - 16 - 16 25 |1 16 1" -115 195 | 468 |242 |36
S156A0 - 16 - 20 25 | 1" 16 1.1/4" - 11,5 26 558 | 25 46
S156A0 - 20 - 20 32 [ 1.1/4" | 20 1.1/4" - 11,5 26 56,5 | 25 46
S156A0 - 24 - 24 40 | 1.172" | 24 1.1/2" - 11,5 32 575 | 26 50
S156A0 - 32 - 32 50 | 2" 32 2"-115 42 634 | 265 |65




ivdi— g8 idi— ;-8

HOSE FITTINGS HOSE FITTINGS
i Wi A
STANDARD TYPEAF# R, STANDARD TYPEAR#ER,
L
A H1 A L
H2
— m* - - - C
i VW = O%
S142A0 e
S142A0 *£HORFS SMRLCFTH S242A1
............ ORFS MALE S242A1 X ORFS WIRLCFH
THREAD B L A | Hl | H2 | e ORFS FEMALE FLAT SEAT
PART NUMBER HOSE THREAD B L A H1 H2
DN In SIZE T mm mm mm mm | mm PART NUMBER HOSE
S142A0 - 04 - 04 6 1/4" 04 9/16" - 18 44 |24 98 |17 DN In SIZE T mm | mm | mm | mm | mm
S142A0 - 06 - 06 10 | 3/8" 06 11/16" - 16 67 [276 |112 |19 S242A1 - 04 - 06 6 |14 04 9/16" - 18 4 205 |8 18 |17
S142A0 - 08 - 08 12 | 12" 08 13/16" - 16 96 |303 |128 |22 S242A1-04-09 6 |14 04 11116" - 16 7 22 |95 |16 |22
S142A0 - 10 - 10 16 | 58" 10 14 123 | 348 | 155 | 27 S242A1 - 05 - 09 8 |5/16" |05 11/16" - 16 7 22 |95 |16 |22
S142A0 - 12 - 12 20 | 3/4" 12 1.3/16" - 12 155 |385 |17 |32 S242A1 - 06 - 09 10 | 38 06 11/16" - 16 ! 22 |95 |16 |22
S142A0 - 16 - 16 25 | 1" 16 1.7/16" - 12 206 |438 | 175 |41 S242A1 - 06 - 11 10 |3@8" |06 13/16" - 16 95 |26 |11 |19 |24
S142A0 - 20 - 20 32 | 114" |20 1.1116"-12 |26 |46 | 175 | 46 S242A1 - 08 - 11 12 12" |08 13/16" - 16 93 |26 |11 |19 |24
S142A0 - 24 - 24 40 | 1.12" |24 2" - 12 32 |50 |175 |55 S242A1 - 08 - 13 12 12" |08 1"-14 12 30 135 |24 |30
S242A1-10 - 13 16 | 5/8" 10 1" - 14 12 |30 |[135 |24 |30
S242A1-10 - 14 16 | 5/8" 10 1.3/16" - 12 15 |32 |145 |28 |36
S242A1-12-14 20 | 3/4" 12 1.3/16" - 12 15 |32 |145 |28 |36
S242A1 -12 - 15 20 | 3/4" 12 1.7/16" - 12 195 |354 |15 |36 |41
S242A1-16 - 15 25 | 1" 16 1.7/16" - 12 195 |354 |15 |36 |41
S242A1 - 20 - 21 32 [1.14" |20 1.11/16" - 12 26 |355 |15 |41 |50
KOR170 S242A1 - 24 - 32 40 | 1.1/2" | 24 2" - 12 32 |355 |15 |50 |60
KOR170  3:H#|ORFS OZMH
------------ ORFS ORING
MALE D S
PART NUMBER
THREAD mm mm
KOR170 - 04 9/16" - 18 7,66 | 1,78
KOR170 - 06 11/16" - 16 9,25 | 1,78
KOR170 - 08 13/16" - 16 1242 | 1,78
KOR170 - 10 1" - 14 15,60 | 1,78
KOR170 - 12 1.3/16" - 12 18,77 | 1,78
KOR170 - 16 1.7/16" - 12 23,52 | 1,78




i =g 8

HOSE FITTINGS
W% A
STANDARD TYPE#R#ER
iy
P S
ol ‘”“\r
B
L
S242B1
S242B1 90°%H|ORFS WIRLCFTH
------------ 90°ORFS FEMALE FLAT SEAT
THREAD B L A M H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
S242B1 - 04 - 06 6 1/4" 04 9/16" - 18 4 28 8 28 17
S242B1 -04 - 09 6 1/4" 04 11/16" - 16 7 28 9,5 295 | 22
S242B1 -05-09 8 5/16" | 05 11/16" - 16 7 31 9,5 31 22
S242B1- 06 - 09 10 3/8" 06 11/16" - 16 7 34 9,5 325 | 22
S242B1 -06 - 11 10 3/8" 06 13/16" - 16 9,5 34 11 34 24
S242B1 -08 - 11 12 1/2" 08 13/16" - 16 9,3 40 11 395 | 24
S242B1 -08 -13 12 1/2" 08 1" -14 12 40 135 |41 30
S242B1-10-13 16 5/8" 10 1" -14 12 48 135 | 48 30
S242B1-10-14 16 5/8" 10 1.3/16" - 12 15 48 14,5 | 49 36
S242B1 -12-14 20 3/4" 12 1.3/16" -12 | 15 55 145 | 505 | 36
S242B1-12-15 20 3/4" 12 1.7/16" - 12 195 | 55 15 525 | 41
S242B1 -16-15 25 1" 16 1.7/16" -12 | 195 | 73 15 67 41
S242B1 -20 - 21 32 1.1/4" | 20 1.11/16" -12 | 26 899 |15 79 50
S242B1 -24 - 32 40 1.1/2" | 24 2" -12 32 103 15 88 60

%A

STANDARD TYPE#R#ER

i =g 8

HOSE FITTINGS

S242CA1
S242C1 45°% | ORFS PYIRLCFTH
------------ 45°0ORFS FEMALE FLAT SEAT
THREAD B L A M H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm

S242C1-04-06 6 1/4" 04 9/16" - 18 4 30,3 |8 14 17
S242C1-04 -09 6 1/4" 04 11/16" - 16 7 31,3 |95 142 |22
S242C1-05-09 8 5/16" 05 11/16" - 16 7 32,1 9,5 15 22
S242C1-06-09 10 3/8" 06 11/16" - 16 7 348 |95 155 |22
S242C1-06 - 11 10 3/8" 06 13/16" - 16 9,5 35,9 11 165 |24
S242C1-08 - 11 12 1/2" 08 13/16" - 16 9,3 414 11 19 24
S242C1-08-13 12 1/2" 08 1" -14 12 44 135 |20 30
S$242C1-10-13 16 5/8" 10 1"-14 12 49,1 135 | 22 30
S242C1-10-14 16 5/8" 10 1.3/16" - 12 15 50 145 |225 |36
S242C1-12-14 20 3/4" 12 1.3/16" - 12 15 60,5 145 |24 36
S$242C1-12-15 20 3/4" 12 1.7/16" - 12 19,5 | 63,1 15 26,5 |41
S242C1-16-15 25 1" 16 1.7/16" - 12 195 | 743 15 28 41
S242C1-20-21 32 1.1/4" 20 1.11/16" - 12 25 86,6 15 33 50
S242C1-24 -32 40 1.1/2" 24 2" -12 32 97 4 15 38 60




i =g 8 i =g 8

HOSE FITTINGS HOSE FITTINGS
B s A e
STANDARD TYPE#R#ER STANDARD TYPEMR#ER
L & L
A H1 |
gl = = RS ‘
R 70 SO A
S102A0
S102A0 ARISMESCETH S202A1
............ METRIC FEMALE FLAT SEAT S202A1 AHIARL P
THREAD B L A H1 METRIC FEMALE FLAT SEAT
PART NUMBER HOSE THREAD B L A HA H2
DN In SIZE T mm mm mm mm PART NUMBER HOSE
S102A0-04-14 | 6 1/4" 04 M14X1.5 4 235 |11 14 DN In SIZE T mm | mm | mm | mm | mm
S102A0 -04 - 16 6 1/4" 04 M16X1.5 7 235 | 11 17 S202A1 -04 -14 6 1/4" 04 M14X1.5 4 15 8 17
S102A0 -05-16 8 5/16" 05 M16X1.5 7 235 | 11 17 S202A1 -04 - 16 6 1/4" 04 M16X1.5 7 16 8 19
S102A0 - 06 - 18 10 3/8" 06 M18X1.5 7 235 | 11 19 S202A1 -05 - 16 8 5/16" 05 M16X1.5 7 16 8 19
S102A0 - 08 - 22 12 1/2" 08 M22X1.5 9,3 265 |12 22 S202A1 - 06 - 18 10 3/8" 06 M18X1.5 7 17.5 8 22
S102A0-10-27 |16 | 5/8" 10 M27X1.5 12 315 |13 27 S202A1 - 08 - 22 12 |12 08 M22X1.5 9,3 18,5 | 10 27
S102A0-12-30 | 20 3/4 12 M30X1.5 15 335 |14 32 S202A1 -10-27 16 5/8" 10 M27X1.5 12 195 |10 32
S102A0 — 14 -36 20 |7/8 14 M36X2 15 355 | 16 36 S202A1 -12-30 20 3/4 12 M30X1.5 15 20 11 36
S102A0 — 16 -39 20 1 16 M39X2 19,5 | 30 18 41 S202A1 - 12 -36 20 718 14 M36X2 15 20 13 41
S102A0 - 20 - 45 32 1.1/4" 20 M45X2 26 445 | 21 46 S202A1 — 16 -39 20 1 16 M39X2 19,5 235 13 46
S102A0 - 24 - 52 40 1.1/2" | 24 M52X2 32 475 | 22 55 S202A1 -20 -45 32 1.1/4" 20 M45X2 26 25 15 50
S202A1 -24 -52 40 1.1/2" 24 M52X2 32 25 17 60




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
5w A ]
STANDARD TYPEAF#R, STANDARD TYPEAR#R,
-
, |
4, f
o] :F_‘*
gl
a1
S202B1 $202C1
S202B1 00° A K IBLr ETH S$202CA1 45:4}%%1!%@'( P
____________ 90METRIC FEMALE FLAT SEAT —----—--—--- 45°METRIC FEMALE F LAT SEAT
THREAD | B LA MR PART NUMBER HOSE THREAD B : A MR
PART NUMBER HOSE
DN In SIZE T mm e e T - DN .I.n SIZE T mm mm mm mm | mm
S202B1 - 04 - 14 6 |14 |04 M14X15 | 4 28 |8 265 |17 5202C1 -04-14 B T S e M14x15 |4 303 |8 14 |17
S202B1 - 04 - 16 6 | 1/4" 04 M16X1.5 7 28 |8 265 | 19 $202C1 - 04 - 16 6o |14 04 M16X1.5 7 313 |8 14 |19
S202B1 05 - 16 s 516 o5 iexis 7 a1 T8 0 19 $202C1 - 05 - 16 8|56 |05 M16X15 | 7 321 |8 15 |19
S202B1 - 06 - 18 10 | 3/8" 06 M18X1.5 95 |34 |8 325 |22 $202C1 - 06 - 18 10 3’8“ 06 M18X1.5 95 |359 |8 16 |22
S202B1 -08 22 2 12 os M22xis  les a0 (10 |338 |27 $202C1 - 08 - 22 12 [z [oe M22X15 |93 | 414 |10 |19 |27
S202B1 - 10 - 27 16 |58 | 10 M27X15 |15 |48 |10 | 428 |32 5202C1-10-27 16 o8 10 M27X15 |15 |50 |10 |22 |32
S202B1 - 12 - 30 20 a2 1 M3OX1E 5 155 11 518 |36 $202C1 - 12 - 30 20 | 4" 12 M30X1.5 15 | 605 |11 |24 |36
S202B1 -12 - 36 20 |3 12 M36X0 105 155 113 507 a1 $202C1 - 12 - 36 20 | i 12 M36X2 195 |631 |13 |25 |41
520281 -16 -39 YR 16 M39X2 o5 (75 13 Tes |26 $202C1 - 16 - 39 25 [~ |16 M39X2 195 |743 |13 |30 |46
S202B1 - 20 - 45 32 11 20 45X 5 Tess |15 732 |50 S$202C1 - 20 - 45 2| 114" | 20 Md45X2 25 866 |15 |33 |50
S202B1 - 24 - 52 20 1112 |24 MB2X2 22 105 17 Tss  leo $202C1 - 24 - 52 40 | 1120 |24 M52X2 32 | 974 |17 |38 |60




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
WA Wiy A
STANDARD TYPE#G#R STANDARD TYPER#ER
A L.
H2
% F= — mé §:_ = |
S106A0
S106A0 AISMES 60°HHEE S206A1
------------ METRIC MALE 60°CONE SEAT S206A1 AN IBSL 60°4METT
THREAD B L A H1 METRIC FMALE 60°CONE SEAT
PART NUMBER HOSE THREAD B L A H1
DN In SIZE T mm mm mm mm PART NUMBER HOSE

S106A0 - 04 - 14 6 1/4" 04 M14x1.5 6 235 | 11 19 DN In SIZE T e [ iy -
S106A0 - 04 - 16 6 1/4" 04 M16x1.5 8 26.5 12 22 S206A1-04 -14 6 1/4" 04 M14x1.5 4 18 55 19
S106A0 - 05 - 16 8 5/16" 05 M16x1.5 8 26.5 12 22 S206A1-04 -16 6 1/4" 04 M16x1.5 4 19,1 55 29
S106A0 - 06 - 18 10 | 38" 06 M18X1.5 10 295 |12 24 S206A1 -05 - 16 8 5/16" 05 M16x1.5 5.5 191 |55 22
S106A0 - 08 - 22 12 172" 08 M22X1.5 12 30.5 14 27 S206A1 -06 -18 10 3/8" 06 M18X1.5 7 19,5 55 22
S106A0 - 10 - 26 16 | 58" 10 M26X1.5 16 343 |16 32 S206A1 - 08 - 22 12 |12 08 M22X1.5 9.5 208 |6 22
S106A0 - 10 - 27 16 | /8" 10 M27X1.5 16 363 |16 32 S206A1-10 - 26 16 | 5/8" 10 M26X1.5 12 255 |6 30
S106A0 -12 - 30D 20 3/4" 12 M30X1.5 18 37,5 18 36 S206A1 - 10 - 27 16 5/8" 10 M27X1.5 12 255 6 32
S106A0 - 12 - 30 20 | 34" 12 M30X2 18 375 |18 36 S206A1 - 12— 30D 20 | 3/4" 12 M30X1.5 145 |26 6 32
S106A0 - 16 - 36 25 1" 16 M36X2 22 418 |20 41 S206A1 - 12 - 30 20 | 3/4" 12 M30X2 145 | 26 6 41
S106A0 - 16 - 39 25 |1 16 M39X2 26 43 20 46 S206A1 - 16 - 36 25 | 1" 16 M36X2 22 30 6.5 41
S106A0 - 20 - 45 32 1.1/4" 20 M45Xx2 30 46 20 55 S206A1 - 16 - 39 25 1" 16 M39X2 22 30 6.5 50
S106A0 - 24 - 52 40 142" |24 M52X2 38 46 20 60 S206A1 - 20 - 45 32 | 1.1/4" |20 M45X2 26 31 8.5 50

S206A1 - 24 - 52 40 | 1.172" | 24 M52X2 32 32 10 55




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
Wi A Wik A
STANDARD TYPEFF#ER, STANDARD TYPEF IR,
L
ast
= B
T
S206B1
S206B1 90° A il N EREL 60°HMEE T
____________ 90°METRIC FEMALE  60°CONE S206C1 A5 NI N HRSL 60°4MEETH
T = 1 A e T 45°METRIC FEMALE 60°CONE
PART NUMBER HOSE THREAD B L A M
DN In SIZE T mm mm mm mm PART NUMBER HOSE
S206B1- 04 - 14 6 1/4" 04 M14x1.5 5 28 55 |29 19 DN In SIZE T mm | mm | mm | mm
S206B1 04 - 16 s T 04 1601 5 . s a5 T30 |22 S206C1 - 04 - 14 6 | 1/4" 04 M14x1.5 5 255 |55 |15 |19
S206B1 - 05 - 16 8 |516" |05 M16x1.5 8 31 55 | 315 |22 S206C1 - 04 - 16 6 | 04 M16x1.5 8 2r |55 |15 |22
S208B1- 06 - 18 0 as 05 \18X1 5 o 24 55 132 |22 S206C1 - 05 - 16 8 | 516" |05 M16x1.5 8 275 |55 |16 |22
S206B1 - 08 -2 2 12 08 V22X 5 o T 205 22 S206C1 - 06 - 18 10 | 3/8" 06 M18X1.5 8 281 |55 |175 |22
S206B1 - 10 - 26 16 | 5/8" 10 M26X1.5 145 |48 6 42 30 $206C1-08 -22 12 | 172 08 M22X1.5 8 283 |6 20 |2
20651 - 1027 PP 0 V27X 165 148 |6 TR S206C1 - 10 - 26 16 | 5/8" 10 M26X1.5 145 | 343 |6 255 |30
520681 - 12 300 20 a4 - V30X1 5 65 155 |6 2 3 S206C1 - 10 - 27 16 | 5/8" 10 M27X1.5 165 | 363 |6 255 |32
S206B1 - 1230 20 T3 i V30X > 1o 16 . S206C1 - 12 - 30D 20 | 3/4" 12 M30X1.5 165 | 375 |6 27 |32
S206B1-16 - 36 s | 6 V362 22 73 Tes 170 a1 S206C1 - 12 - 30 20 | 3/4" 12 M30X2 22 | 41 6 28 | 41
520881 - 16 - 39 YERET s V392 25 |73 Tes |72 |50 S206C1 - 16 - 36 25 | 1" 16 M36X2 22  |418 |65 |33 |41
S206B1 - 20 - 45 32 | 114" |20 M45X2 285 |899 |85 |84 |50 S206C1 - 16 - 39 25 |1 16 M39X2 285 |463 |65 |34 |50
S208B1 - 24 - 52 20 112 |2 ME2X2 335 1103 |10 193 |85 S206C1 - 20 - 45 32 | 1.1/4" | 20 M45X2 285 |47 |85 |40 |50
S206C1 - 24 - 52 40 | 11/2" |24 M52X2 335 |525 |10 |43 |55




ivdi— g8 i =g 8

HOSE FITTINGS HOSE FITTINGS
Wi A W5 A
STANDARD TYPE#F#ER, STANDARD TYPEFR#:R
L
A H2
L
&) H2 “
D W i T o T
o e Lo ] L L
L /;HQW F103A0
F103A0 ARISMBS 24°HEEE R
S104A0 METRIC MALE 24 CONE FRENCH TYPE
S104A0 AHISMRGL 24°NHEH R R 51 THREAD B L A H2
------------ METRIC MALE 24°CONE SEAT LIGHT TYPE DIN 3861 ( CEL) PART NUMBER HOSE PIPE
THREAD B L A Ho DN In SIZE T mm mm mm mm
PART NUMBER HOSE PIPE F103A0 - 05 - 20 8 5/16 05 M20x1,5 13.25 5.5 18,6 12 22
DN In SIZE T mm mm mm | mm F103A0 - 06 - 20 10 3/8" 06 M20x1,5 1325 |7 195 |12 22

S104A0 - 03 - 12 5 3/16" 03 M12x1,5 6 3 211 10 14 F103A0 - 08 - 24 12 1/2" 08 M24x1,5 16.75 | 9.5 195 |12 34
S104A0 - 04 - 12 6 174" 04 M12x1,5 6 4 215 |10 14 F103A0 — 10 - 30 16 | 5/8 10 M30x1,5 2125 | 12 195 | 14 32
S104A0 - 04 - 14 6 1/4" 04 M14x1,5 8 4 215 |10 14 F103A0 —12-30 20 3/4 12 M30x1,5 2125 | 145 |19,6 | 14 32
S104A0 -04 - 16 6 174" 04 M16x1,5 10 7 235 | M1 17 F103A0 — 12 - 36 20 | 3/4 12 M36x1,5 2675 | 145 |201 |14 38
S104A0 -04 -18 6 1/4" 04 M18x1,5 12 9,5 23,5 11 19 F103A0 — 16 - 45 25 1 16 M45x1,5 335 20 21 16 46
S104A0 - 05 - 16 8 5/16" 05 M16x1,5 10 7 24 11 17 F103A0 — 20 - 52 32 11/4" 20 M52X2 423 25 213 | 16 55
S104A0 - 05 - 18 8 5/16" 05 M18x1,5 12 9,5 24 11 19
S104A0 - 06 - 16 10 | 3/8" 06 M16x1,5 10 7 241 | 11 17
S104A0 - 06 - 18 10 | 3/8" 06 M18x1,5 12 9,5 246 | 11 19
S104A0 - 06 - 22 10 | 3/8" 06 M22x1,5 15 10 256 | 12 22
S104A0 - 08 - 18 12 1/2" 08 M18x1,5 12 9,3 248 | 11 19
S104A0 - 08 - 22 12 1/2" 08 M22x1,5 15 10 258 | 12 22
S104A0 - 08 - 26 12 1/2" 08 M26x1,5 18 12 26,3 | 12 27
S104A0 - 10 - 26 16 | 5/8" 10 M26x1,5 18 12 26,3 | 12 27
S104A0 - 12 - 30 20 | 3/4" 12 M30x2 22 15 295 |14 30
S104A0 - 16 - 36 25 | 1" 16 M36x2 28 195 |318 | 14 36
S104A0 - 20 - 45 32 1.1/4" 20 M45x2 35 26 395 |16 46
S104A0 - 24 - 52 40 1.1/2" 24 M52x2 42 32 405 | 16 55




ivdi— g8 il =8

HOSE FITTINGS HOSE FITTINGS
o e |
STANDARD TYPE#R#ER STANDARD TYPE#F#E
I
L ﬁ
A L ‘ l ;
" 5 L , g ol s
H> =| o .
| =) - e | _ L i L] B g
S204A1 S204A2 S204B1 S204B2
S204A ARG 24°4EH ORI B RF S204B Q0°A | HURAL 24° HETHORIE HRF|
------------ O'RING METRIC FEMALE 24°CONE LIGHT TYPE DIN 3865 (DKOL) e 90°O'RING METRIC FEMALE SWEPT ELBOW 24°CONE LIGHT TYPE DIN 3865
THREAD B L A H2 (DKOL - 90)
PART NUMBER HOSE PIPE THREAD B L A M H2
DN In SIZE T mm mm mm mm PART NUMBER HOSE PIPE

S204A1 -03-12 5 3/16" 03 M12x1,5 6 3 241 1,2 14 DN In SIZE T mm | mm | mm | mm | mm
S204A1 -04 - 14 6 1/4" 04 M14x1,5 8 4 24,5 1,8 17 S204B1-03-12 | 5 3/16" | 03 M12x1,5 | 6 3 265(1,2 | 306 |14
S204A1 -04 -16 6 1/4" 04 M16x1,5 10 55 26 2,3 19 S204B1-04-14 | 6 1/4" 04 M14x15 | 8 4 28 1,8 | 332 |17
S204A1 -05-16 8 5/16" 05 M16x1,5 10 55 26 2,3 19 S204B1-04-16 | 6 1/4" 04 M16x1,5 | 10 55 |28 |23 |34,7 |19
S204A1 -05-18 8 5/16" 05 M18x1,5 12 7 26 2,5 22 S204B1-05-16 | 8 5/16" | 05 M16x1,5 | 10 55 | 31 23 (32,7 |19
S204A1 -06 - 18 10 3/8" 06 M18x1,5 12 7 26,6 2,5 22 S204B1-05-18 | 8 5/16" | 05 M18x1,5 | 12 7 31 25 (335 |22
S204A1 - 06 -22 10 3/8" 06 M22x1,5 15 9,5 30,1 2,5 27 S204B1-06-18 | 10 | 3/8" 06 M18x1,5 | 12 7 34 |25 |36,7 |22
S204A1 -08 - 22 12 1/2" 08 M22x1,5 15 9,3 29,3 2,5 27 S204B1 -06-22 | 10 | 3/8" 06 M22x1,5 | 15 95 |34 |25 |399 |27
S204A1 - 08 - 26 12 172" 08 M26x1,5 18 12 31,3 2,5 32 S204B1-08-22 | 12 | 1/2" 08 M22x1,5 | 15 93 |40 |25 |438 |27
S204A1 -10 - 26 16 5/8" 10 M26x1,5 18 12 30,3 2,5 32 S204B1-08-26 | 12 | 1/2" 08 M26x1,5 | 18 12 |40 |25 |46,3 | 32
S204A1 -12-30 20 3/4" 12 M30x2 22 15 33 3,5 36 S204B1-10-26 | 16 | 5/8" 10 M26x1,5 | 18 12 140 |25 [543 |32
S204A1 -12 - 36 20 3/4" 12 M36x2 28 19,5 34,5 3,7 41 S204B1-12-30 | 20 | 3/4" 12 M30x2 22 15 | 55 35 619 |36
S204A1 - 16 - 36 25 1" 16 M36x2 28 19,5 34,3 3,7 41 S204B1-12-36 | 20 | 3/4" 12 M36x2 28 19,5 | 55 3,7 | 651 | 41
S204A1 -20 -45 32 1.1/4" 20 M45x2 35 26 39 4 50 S204B1-16-36 | 25 | 1" 16 M36x2 28 19,5 | 73 3,7 |72 41
S204A1 -24 -52 40 1.1/2" 24 M52x2 42 32 39,5 4,5 60 S204B1-20-45 | 32 | 1.1/4" | 20 M45x2 35 26 |898 |4 874 |50
S204A2 - 06 - 16 10 3/8" 06 M16x1,5 10 55 23,6 2 19 S204B1-24-52 | 40 | 1.1/2" | 24 M52x2 42 32 103 | 4,5 | 101,5| 60

S204B2 -06-16 | 10 | 3/8" 06 M16x1,5 | 10 55 |34 |2 424 |19




i =g 8 ivdi— ;8

HOSE FITTINGS HOSE FITTINGS
W5k A Wi A
STANDARD TYPEAF#ER STANDARD TYPEAF#ER
A L
L - L , H2
. : i
\ [ \ hl @l -
o
& e ® " S203A1
> < S203A1 At A BRI 24°%% R FIBRTH
------------ METRIC FEMALE 24° SEAT LIGHT MULTISEAL DIN 3868
THREAD B L A H2
$204C1 S204C2 PART NUMBER HOSE PIPE
o o st DN In SIZE T mm mm mm mm
S204C AS"AHINIREL 244 OB B AR5 S203A1 - 03 - 12 5 |316" |03 M12x1,5 6 3 186 |37 14
------------ O'RING METRIC FEMALE SWEPT ELBOW 24°CONE LIGHT TYPE DIN 3865 (DKOL - S203A1 -04 - 14 6 1/4" 04 M14x1,5 8 4 19,5 35 17
45) S203A1 - 04 - 16 6 174" | 04 M16x1,5 10 55 | 195 |45 19
THREAD B L A M H2 S203A1 -05-16 8 5/16" 05 M16x1,5 10 5,5 19,5 |45 19
PART NUMBER HOSE PIPE S203A1 - 05 - 18 8 516" | 05 M18x1,5 12 7 19,6 | 4,5 22
DN| In | SIZE U ATV I S203A1 -06 - 18 10 |38 |06 M18x1,5 12 7 201 | 45 22
S204C1-03-12 |5 | 3/16" | M M12x15 | 6 3 342 |12 | 167 | 14 S203M1 - 06 - 22 0 T3 o6 M22x1 5 15 o5 |21 5.2 07
S204C1-04-14 |6 | 14" |04 |M14x15 |8 4 383 |18 | 177 |17 S203A1 - 08 - 22 2 12 o8 M22x1 5 = o3 213 |52 o7
S204C1-04-16 |6 |1/4" |04 |M16x15 |10 |55 |393 |23 |188 |19 S203M1 10 - 26 6 s 10 M26x1 5 18 12 222 |55 2
S204C1-05-16 |8 | 516" |05 |M16x15 |10 |55 |387 |23 |175 |19 -
S204C1-05-18 |8 |5/16" |05 | M18x15 |12 |7 392 |25 | 181 |22
S204C1-06-18 |10 |3/8" |06 | M1815 |12 |7 426 |25 |192 |22
S204C1-06-22 |10 | 3/8" |06 |M22x15 |15 |95 |449 |25 |215 |27 hl o 1
S204C1-08-22 |12 |12° |08 |M22x15 |15 |93 |499 |25 |224 |27 |
S204C1-08-26 |12 |1/2° |08 |M26x15 |18 |12 |517 |25 |24 |32 F503A1
S204C1-10-26 |16 | 58" |10 |M26x15 |18 |12 |603 |25 |273 |32 F203A1 ABIPIRE 24° SMETE R
S204C1-12-30 |20 |3/4" |12 | M30x2 22 |15 |675 |35 |302 |36 | METRIC FEMALE 24° CONE FRENCH TYPE (SLIP - ON NUT)
S204C1-12-36 |20 | 3/4" |12 | M36x2 28 | 195 | 69,9 |37 |325 |41 THREAD B L A H2
S204C1-16-36 | 25 | 1" 16 | M36x2 28 195 | 797 |37 | 336 |41 PART NUMBER HOSE PIPE
S204C1-20-45 |32 | 1.1/4" |20 | M45x2 35 |26 |97 |4 |408 |50 DN In SIZE T mm | mm | mm i
! ! F203A1 - 05 - 20 8 | 5/16 05 M20x1,5 1325 |55 |22 |25 24
S204C1-24-52 | 40 | 1.1/2" |24 | M52x2 42 |32 |1095 |45 | 458 |60 Co03AT - 06 - 20 o o o M20X1 5 25 7 22 25 ”
S204C2-06-16 | 10 [3/8" |06 |M16x15 |10 |55 [452 [2 [232 |19 F203A1 - 08 - 24 12 | 12" 08 M24x1,5 1672 |95 |31 |23 30
F203A1 — 10 - 30 16 | 5/8 10 M30x1,5 2125 |12 |31 |23 36
F203A1 — 12 - 30 20 | 3/4 12 M30x1,5 2125 | 145 |31 |21 36
F203A1 — 12-36 20 | 3/4 12 M36x1,5 2675 | 145 |34 |48 41
F203A1 — 16 - 45 25 |1 16 M45x1,5 335 20 |34 |46 55
F203A1 — 20 - 52 32 114" |20 M52X2 42.3 25 |38 |52 60




ivdi= g8 ivdi— ;8

HOSE FITTINGS HOSE FITTINGS
@0 A i
STANDARD TYPE#F#ER, STANDARD TYPE#R#ER,
L. .
L. ,
: I I [T B
’ L |
== ‘ S
= g
L"L‘—i
T
E,.. :
T - '
B
.
S203B1
S203B1 90CAHINIRLL 24°42 RFIFRTE F203B1
------------ 90°METR IC FEMALE 24°SEAT LIGHT MULTISEAL DIN 3868 F203B1 90°2 il IR 24° SMETE AT
THREAD B L A M H2 | @ e 90METRIC FEMALE 24 CONE FRENCH TYPE (SLIP -ON NUT)
PART NUMBER HOSE PIPE THREAD B L A M H2
DN In SIZE T mm mm mm mm mm PART NUMBER HOSE PIPE
S203B1-03-12 5 3/16" 03 M12x1,5 6 3 26.5 3,7 28,1 14 DN In SIZE T mm mm mm mm mm
S203B1 -04 - 14 6 1/4" 04 M14x1,5 8 4 28 35 315 17 F203B1 - 05 - 20 8 5/16 05 M20x1,5 13.25 55 31 2.5 28,1 24
S203B1 -04 - 16 6 1/4" 04 M16x1,5 10 55 28 4,5 32,3 19 F203B1 - 06 - 20 10 3/8" 06 M20x1,5 13.25 7 34 2.5 31,5 24
S203B1 -05 - 16 8 5/16" | 05 M16x1,5 10 55 31 4,5 305 | 19 F203B1 - 08 - 24 12 1/2" 08 M24x1,5 16.75 | 9.5 40 2.3 32,3 | 30
S203B1 -05 -18 8 5/16" 05 M18x1,5 12 7 31 4,5 315 22 F203B1 - 10-30 16 5/8 10 M30x1,5 21.25 12 48 2.3 30,5 36
S203B1 -06 -18 10 3/8" 06 M18x1,5 12 7 34 4,5 34,7 22 F203B1 - 12 - 30 20 3/4 12 M30x1,5 21.25 14.5 55 2.1 315 36
S203B1 - 06 - 22 10 3/8" 06 M22x1,5 15 9,5 34 5,2 37,2 27 F203B1 - 12 - 36 20 3/4 12 M36x1,5 26.75 14.5 55 4.8 347 | 41
S203B1 - 08 -22 12 1/2" 08 M22x1,5 15 9,3 40 52 411 | 27 F203B1 — 16 - 45 25 1 16 M45x1,5 335 20 73 4.6 37,2 | 55
S203B1 -10 - 26 16 5/8" 10 M26x1,5 18 12 48 55 51,4 32 F203B1 — 20 - 52 32 11/4" 20 M52x2 42.3 25 89.8 5,2 411 60




ivdi— g8

i =g 8

HOSE FITTINGS
B A
STANDARD TYPE#F#ER
; L ;
- ‘ fﬂd]nmmz
= \W Lw—
&
~ %
S203C1
S203C1 45° N\ N IB L 24°%% R FIBRTH
------------ 45°METR IC FEMALE 24°SEAT LIGHT MULTISEAL DIN 3868
THREAD B L A M H2
PART NUMBER HOSE PIPE
DN In SIZE T mm mm mm mm mm
S203C1-03-12 5 3/16" | 03 M12x1,5 6 3 321 |37 15 14
S203C1-04 - 14 6 1/4" 04 M14x1,5 8 4 37 3,5 16,5 | 17
S203C1-04 -16 6 1/4" 04 M16x1,5 10 55 |378 |45 17,2 |19
S203C1-05-16 8 5/16" | 05 M16x1,5 10 55 |371 |45 16 19
S203C1-05-18 8 5/16" | 05 M18x1,5 12 7 378 |45 172 | 22
S203C1-06-18 10 | 3/8" 06 M18x1,5 12 7 413 |45 17,7 | 22
S203C1-06 -22 10 | 3/8" 06 M22x1,5 15 95 |431 |52 195 |27
S203C1-08 -22 12 | 1/2" 08 M22x1,5 15 9,3 |48 52 204 |27
S203C1-10-26 16 | 5/8" 10 M26x1,5 18 12 581 | 5,5 255 | 32

HOSE FITTINGS
0% A
STANDARD TYPE#R#ER
F203C1
F203C1 A5°AHIPIREL 24° SMETE ¥ER
------------ 45°METRIC FEMALE 24 CONE FRENCH TYPE
THREAD B L A M H2
PART NUMBER HOSE PIPE
DN In SIZE T mm | mm | mm | mm | mm
F203C1-05-20 8 5/16 05 M20x1,5 13.25 5.5 321 | 25 172 | 24
F203C1-06 - 20 10 | 3/8" 06 M20x1,5 13.25 7 37 2.5 18.7 | 24
F203C1-08 - 24 12 1/2" 08 M24x1,5 16.75 9.5 378 | 2.3 22 30
F203C1-10-30 16 | 5/8 10 M30x1,5 21.25 12 371 |23 |27 36
F203C1-12-30 20 | 3/4 12 M30x1,5 21.25 145 | 37,8 | 2.1 305 | 36
F203C1-12-36 20 3/4 12 M36x1,5 26.75 145 | 41,3 | 4.8 33 41
F203C1-16-45 25 |1 16 M45x1,5 335 20 431 |46 |35 55
F203C1-20-52 32 11/4" | 20 M52X2 423 25 48 5,2 42 60




i =g 8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
| W0 A
STANDARD TYPER#ER STANDARD TYPERR#ER
L Q_ -t L =
A H2 H2
‘ u‘ (
i B T T W[It[
J A G S A S = ED% = -
P W ‘a {ﬁff
S105A0
S105A0 AHIFMBLL 24° NEETEE RS
------------ METRIC MALE 24°CONE SEAT HEAVY TYPE DIN 3861 ( CES) S205A1
BART NUMBER HOSE THREAD oIpE B L A H1 S205A1 AHIRIELL 24° 4 ORIEE £ 5
UMBER |  HOSE | PIPE O'RING METRIC FEMALE 24°CONE HEAVY TYPE DIN 3865
DN In SIZE T mm mm mm mm THREAD B L A H2
S105A0 - 03 - 16 5 3/16" 03 M16x1,5 8 55 25 12 17 PART NUMBER HOSE S
S105A0 - 04 - 16 6 1/4" 04 M16x1,5 8 55 255 | 12 17 =T i STHE - am | mm | mm m
S105A0 - 04 - 18 6 1/4" 04 M18x1,5 10 55 26,5 | 12 19 n
. S205A1 - 03 - 16 5 3/16 03 M16x1,5 8 3 261 | 44 19
S105A0 - 05 - 20 8 5/16 05 M20x1,5 12 7 29 12 22 -
. S205A1 - 04 - 16 6 114 04 M16x1,5 8 4 266 | 44 19

S105A0 - 05 - 24 8 5/16 05 M24x1,5 16 95 30,5 | 14 24 i}

- S205A1 -04 -18 6 1/4 04 M18x1,5 10 4 28 3 22
S105A0 - 06 - 18 10 | 3/8 06 M18x1,5 10 7 276 | 12 19 .

. S205A1 - 05 - 20 8 5/16 05 M20x1,5 12 55 281 |25 24
S105A0 - 06 - 20 10 | 3/8 06 M20x1,5 12 7 296 | 12 22 -

. S205A1 - 06 - 20 10 | 3/8 06 M20x1,5 12 7 286 |25 24
S105A0 - 06 - 22 10 | 3/8 06 M22x1,5 14 8 316 |14 22 i}

. S205A1 - 06 - 22 10 | 3/8 06 M22x1,5 14 7 326 |35 27
S105A0 - 08 - 22 12 [12 08 M22x1,5 14 9.3 319 | 14 22 i

_ S205A1 - 08 - 24 12 [1/2 08 M24x1,5 16 9.3 323 | 45 30
S105A0 - 08 - 24 12 [12 08 M24x1,5 16 9.3 31,3 | 14 24 .

. S205A1 - 10 - 30 16 | 5/8 10 M30x2 20 12 373 | 4 36
S105A0 - 10 - 30 16 | 5/8 10 M30x2 20 15 358 | 16 30 .

. S205A1 -12 - 36 20 | 3/4 12 M36x2 25 15 405 |45 46
S105A0 - 12 - 30 20 | 3/4 12 M30x2 20 15 36,5 | 16 30 &

_ S205A1 - 16 - 42 25 |1 16 M42x2 30 195 | 43,8 | 6,3 50
S105A0 -12 - 36 20 |34 12| M36x2 25 195 140 |18 36 S205A1-20-52 |32 | 1.4/4" |20 | M52x2 38 |26 | 495 |8 60
S105A0 - 16 - 36 25 | 1" 16 M36x2 25 19,5 | 40,8 | 18 36 : ’
S105A0 - 16 - 42 25 | 1" 16 M42x2 30 25 438 | 20 46
S105A0 - 20 - 52 32 [ 1.1/4" |20 M52x2 38 30 495 |22 55




i vdi— g8 e i =g 8

HOSE FITTINGS STANDARD TYPE#R#ER HOSE FITTINGS
W5 A | L
STANDARD TYPEAR/ER 2|
L =
&
Wmmmr 2 ;
' e S205C1
= ¢ S205C1 45°AHIRIBRLL 24° R ORIE E A5
e 45° O'RING METRIC FEMALE 24°CONE HEAVY TYPE DIN 3865
o sy THREAD B L A M H2
« 8 PART NUMBER HOSE PIPE
Y DN In SIZE T mm | mm | mm | mm mm
- S205C1-03-16 |5 | 3/16" |03 M16x1,5 |8 3 341 |44 |17 19
S205C1-04-16 |6 | 1/4" |04 M16x1,5 |8 4 382 |44 |176 19
S205B1
S205C1-04-18 |6 | 1/4" |04 M18x15 | 10 4 406 |3 20 22
S205B1  90°AMIHRAL 24° HEHOMIME K5 " X1, ’
............ 90°0'RING METRIC FEMALE 24°C ONE HEAVY TYPE DIN 3865 S205C1-05-20 |8 5/16 05 M20x1,5 12 55 |41 25 [199 24
THREAD B L | A M H2 S205C1-06-20 |10 |3/8" |06 M20x15 | 12 7 444 |25 |21 24
PART NUMBER HOSE PIPE S205C1-06-22 |10 |3/8" |06 M22x15 | 14 7 463 |35 |227 27
DN In SIZE T mm | mm | mm | mm mm "
205C1-08-24 |12 | 1/2 M24x1 1 1 4 2
S205B1-03-16 |5 | 3/16" |03 | M16x1,5 |8 3 | 26544 |31 19 5205C1 - 08 / 08 x1.5 0 93 | 513 S | 236 30
S205B1-04-16 |6 | 1/4" |04 | M16x1,5 |8 4 |28 |44 [331] [19 S205C1-10-30 |16 | 58" | 10 M30x2 20 12 |64 4 31 36
S205B1-04-18 |6 [ 1/4" [04 | M18x15 |10 [4 [28 [3 [365| |22 S205C1-12-36 | 20 |3/4" |12 M36x2 25 15 | 726 |45 |35/ 46
S205B1-05-20 |8 |5/6" |05 |M20x15 |12 |55 |31 |25 |36 24 Pre »
S205B1-06-20 | 10 | 3/8" |06 | M20x15 |12 |7 |34 |25 |392]| |24 5205C1-16-42 |25 |1 16 M42x2 30 195 |828 |63 | 381 50
S205B1 -06-22 | 10 | 3/8" 06 M22x15 | 14 7 34 |35 | 417 27 S5205C1 -20 - 52 32 | 1.1/4" | 20 M52x2 38 26 1015 |8 45,8 60
S205B1-08-24 |12 [ 12" [08 | M24x15 |16 |93 |40 |45 456 |30
S205B1-10-30 | 16 | 5/8" |10 |M30x2 |20 |12 |49 |4 |596| |36
S205B1-12-36 | 20 | 3/4" |12 | M36x2 |25 |15 |55 |45 |688| |46
S205B1-16-42 [ 25 | 1" 16 | M42x2 |30 |195|73 |63 | 783 |50
S205B1-20-52 | 32 | 1.1/4" |20 | M52x2 |38 |26 |898|8 |944| |60




i =g 8

5w A

STANDARD TYPE#R#ER

|
1=
I

HOSE FITTINGS
W% A
STANDARD TYPE#R#ER
A L
H2
|
Y e
< S207A1
S207AT  AHIPIEL T4 WHEE
------------ GB METRIC FEMALE 74° CONE SEAT
THREAD B L A H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm
S207A1-04 - 14 6 1/4" 04 M14X1.5 4 14 8.5 17
S207A1 -04 - 16 6 1/4" 04 M16X1.5 4 15 8 19
S207A1 -05-16 8 5/16" 05 M16X1.5 5.5 15 8 19
S207A1 -06-18 10 3/8" 06 M18X1.5 7 16.5 8 22
S207A1 -08 -22 12 1/2" 08 M22X1.5 9.5 15.5 10 27
S207A1 -08 -24 12 1/2" 08 M24X1.5 9.5 16.5 11 30
S207A1 -10-27 16 5/8" 10 M27X1.5 12 18.5 11 32
S207A1 -10-30 16 5/8" 10 M30X1.5 12 20 11 36
S207A1 -12-30 20 3/4" 12 M30X1.5 15 20 11 36
S207A1 -12-36 20 3/4" 12 M36X2 15 20 14 41
S207A1 -16 -39 25 1" 16 M39X2 19,5 235 14 46
S207A1 -20-45 32 1.1/4" 20 M45X2 26 25 15 50
S207A1 -24 -52 40 1.1/2" 24 M52X2 32 25 17 60

S207B1
S207B1 90° A WUREL 74° A HETH
------------ 90°GB METRIC FEMALE 74° CONE SEAT
THREAD B L A M H2

PART NUMBER HOSE

DN In SIZE T mm | mm | mm | mm mm
S207B1-04-14 | 6 1/4" 04 M14X1.5 4 28 85 | 26 17
S207B1-04-16 | 6 1/4" 04 M16X.5 4 28 8 26.5 19
S207B1-05-16 | 8 5/16" | 05 M16X1.5 55 | 31 8 27.5 19
S207B1-06-18 | 10 | 3/8" 06 M18X1.5 7 34 |8 31 22
S207B1-08-22 | 12 | 3/8" 08 M22X1.5 9.5 |40 10 39 27
S207B1-08-24 | 12 | 1/2" 08 M24X1.5 9.5 |40 11 | 40 30
S207B1-10-27 | 16 | 1/2" 10 M27X1.5 12 | 48 11 | 50 32
S207B1-10-30 | 16 | 5/8" 10 M30X1.5 12 48 11 515 36
S207B1-12-30 | 20 | 5/8" 12 M30X1.5 15 |55 |11 | 56 36
S207B1-12-36 | 20 | 3/4" 12 M36X2 15 |55 |14 |58 41
S207B1-16-39 | 25 | 3/4" 16 M39X2 19,5 | 73 14 | 65 46
S207B1-20-45 | 32 | 1" 20 M45X2 26 |89.8|15 |80 50
S207B1-24-52 | 40 | 1.1/4" | 24 M52X2 32 103 | 17 95 60

il =8

HOSE FITTINGS



i =g 8 il =8

HOSE FITTINGS HOSE FITTINGS
W5k A Wi A
STANDARD TYPE#R#ER STANDARD TYPE#F#E
L -
A
Dk m* - —W I"]]l :l
T e
S500A0
S500A0 AREREER RS
s2o0rct e METRIC STANDPIPE LIGHT TYPE DIN 2353 (BEL)
S207C1 A5 ARINERL 74° AR B L A D
------------ 45GB METRIC FEMALE 74° CONE SEAT PART NUMBER HOSE PIPE
THREAD B L A M a2 DN In SIZE mm mm mm mm
PART NUMBER HOSE S500A0 - 03 - 06 5 3/16" 03 6 3 29,6 22 6
DN In SIZE T mm mm mm | mm mm S500A0 - 04 - 06 6 1/4" 04 6 3 30 22 6
S207C1-04 - 14 6 1/4" 04 M14X1.5 4 30,3 | 8.5 14 17 S500A0 - 04 - 08 6 1/4" 04 8 4 30 22 8
S207C1-04 -16 6 1/4" 04 M16X.5 4 31,3 | 8 14 19 S500A0 -05-10 8 5/16" 05 10 7 31 23 10
S207C1-05-16 8 5/16" 05 M16X1.5 5.5 32,1 8 15 19 S500A0 - 06 - 10 10 3/8" 06 10 7 31,6 23 10
S207C1-06-18 10 3/8" 06 M18X1.5 7 348 |8 16 22 S500A0 - 06 - 12 10 3/8" 06 12 8 31,6 23 12
S207C1-08 - 22 10 3/8" 06 M22X1.5 9.5 35,9 10 19 27 S500A0 -06 - 15 10 3/8" 06 15 10,5 33,6 25 15
S207C1-08 -24 12 1/2" 08 M24X1.5 9.5 41,4 11 20 30 S500A0 - 08 - 12 12 1/2" 08 12 8 32,3 23 12
S207C1-10-27 12 1/2" 08 M27X1.5 12 44 11 22 32 S500A0 - 08 - 15 12 1/2" 08 15 10,5 34,3 25 15
S207C1-10-30 16 5/8" 10 M30X1.5 12 49,1 11 23 36 S500A0 - 08 - 18 12 1/2" 08 18 13 35,3 26 18
S207C1-12-30 16 5/8" 10 M30X1.5 15 50 11 25 36 S500A0 -10 - 18 16 5/8" 10 18 13 35,3 26 18
S5207C1-12 - 36 20 3/4" 12 M36X2 15 605 | 14 26 41 S500A0 - 10 - 22 16 5/8" 10 22 15 37,3 28 22
S207C1-16 -39 20 3/4" 12 M39X2 19,5 | 63,1 14 30 46 S500A0 - 12 - 22 20 3/4" 12 22 15 38,5 28 22
S207C1-20-45 25 1" 16 M45X2 26 74,3 15 33 50 S500A0 - 16 - 28 25 1" 16 28 20 41,3 30 28
S207C1-24 -52 32 1.1/4" 20 M52X2 32 86,6 17 38 60 S500A0 - 20 - 35 32 1.1/4" 20 35 26 48,5 36 35
S500A0 - 24 - 42 40 1.1/2" 24 42 32 53 40 42




i vdi— g8

ivdi= 8

HOSE FITTINGS
Wi A
STANDARD TYPE#R#ER
L _
- A
| Il
) m‘} 44—
W
S501A0
S501A0 AR ERETERY
------------ METRIC STANDPIPE HEAVY TYPE DIN 2353 (BES)
B L A D
PART NUMBER HOSE PIPE
DN In SIZE mm mm mm mm
S501A0 - 03 - 08 5 3/16" 03 8 3 316 |24 8
S501A0 - 04 - 10 6 114" 04 10 4 34 26 10
S501A0 - 04 - 12 6 114" 04 12 7 34 26 12
S501A0 - 05 - 12 8 5/16" 05 12 7 34 26 12
S501A0 - 06 - 14 10 3/8" 06 14 8 376 | 29 14
S501A0 - 08 - 14 12 172" 08 14 9,3 383 |29 14
S501A0 - 08 - 16 12 172" 08 16 10,5 39,3 |30 16
S501A0 - 10 - 20 16 5/8" 10 20 13 453 | 36 20
S501A0 - 12 - 20 20 3/4" 12 20 15 465 |36 20
S501A0 - 12 - 25 20 3/4" 12 25 15 50,5 | 40 25
S501A0 - 16 - 25 25 1" 16 25 15 51,3 | 40 25
S501A0 - 16 - 30 25 1" 16 30 20,5 |553 |44 30
S501A0 - 16 - 38 25 1" 16 38 26 61,3 | 50 38
S501A0 - 20 - 30 32 1.1/4" 20 30 20,5 | 56,5 |44 30
S501A0 - 20 - 38 32 1.1/4" 20 38 26 62,5 |50 38
S501A0 - 24 - 38 40 1.1/2" 24 38 26 63 50 38

HOSE FITTINGS
5% A
STANDARD TYPEMR#ER
Qﬂﬂm}ﬁ
o
8]
D
S500B0
S500B0 I0° AR EREER RS
------------ 90°METRIC STANDPIPE LIGHT TYPE DIN 2353 (BEL - 90)
B L M D
PART NUMBER HOSE PIPE

DN In SIZE mm mm mm mm
S500B0 - 04 - 06 6 1/4" 04 6 3 28 34 6
S500B0 - 04 - 08 6 1/4" 04 8 4 28 38 8
S500B0 - 05 - 10 8 5/16" 05 10 7 31 43 10
S500B0 - 06 - 10 10 3/8" 06 10 7 34 43 10
S500B0 - 06 - 12 10 3/8" 06 12 8 34 47 12
S500B0 - 08 - 15 12 172" 08 15 10 40 50,5 15
S500B0 - 12 - 22 20 3/4" 12 22 17 55 69 22

S500C0
S500C0 458K FEXEER RS
------------ 45°METRIC STANDPIPE LIGHT TYPE DIN 2353 (BEL - 45)
B L M D
PART NUMBER HOSE PIPE

DN In SIZE mm mm mm mm
S500C0 - 04 - 06 6 1/4" 04 6 3 458 25,8 6
S500C0 - 04 - 08 6 1/4" 04 8 4 53,6 29 8
S500C0 -05-10 8 5/16" 05 10 7 59 32,7 10
S500C0 - 06 - 10 10 3/8" 06 10 7 59,6 32,7 10
S500C0 - 06 - 12 10 3/8" 06 12 8 65,9 36,4 12
S500C0 -08-15 12 172" 08 15 10 69 384 15
S500C0-12 - 22 20 3/4" 12 22 17 89,7 53,5 22




i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
W05 A W0 A
STANDARD TYPEAR/ER STANDARD TYPER R
L L
| -/ )
= T Tt
S | e
=
! e
A
0| S700A0
S501B0 S700A0 NI B A
S501B0 W AHFEXREEERN METRIC BANJO
------------ 90°METRIC STANDPIPE HEAVY TYPE DIN 2353 (BES - 90) HOSE BOLT 3 c M
B L M D PART NUMBER DN | SIZE
PART NUMBER HOSE PIPE n THREAD mm mm | mm
DN In SIZE mm | mm mm | mm S700A0 - 04 - 12 6 174" 04 M12x1 5 223 | 121 [ 12
S501B0 -04 - 10 6 1/4" 04 10 5 28 43 10 S700A0 -04 - 14 6 1/4" 04 M14x1,5 243 14 1 14
S501B0 - 05 - 12 8 5/16" 05 12 7 31 47 12 S700A0 - 05 - 14 8 5/16" 05 M14x1.5 243 | 141 | 14
S501B0 - 06 - 14 10 | 3/8" 06 14 9 34 52 14 S700A0 - 06 - 16 10 | 3/8" 06 M16x1,5 268 | 161 | 16
S501B0 - 08 - 16 12 1/2" 08 16 10 40 54 16 S700A0 - 06 - 18 10 | 3/8" 06 M18x1,5 288 | 181 | 20
S501B0 - 10 - 20 16 | 5/8" 10 20 14 48 66 20 S700A0 - 08 - 18 12 172" 08 M18x1,5 291 | 181 | 20
S501B0 - 12 - 20 20 | 3/4" 12 20 15 55 66 20 S700A0 - 08 - 22 12 172" 08 M22x1,5 321 | 221 | 25
S501B0 - 12 - 25 20 | 3/4" 12 25 18 55 875 |25 S700A0 - 10 - 22 16 | 5/8" 10 M22x1,5 322 | 224 |25
S700A0 - 12 - 26 20 | 3/4" 12 M26x1,5 381 | 261 |30
H1 L
‘ [
17, S i 5
| [
KBT 700
S501C0 KBT700 A HIBEEIRRE
S501C0 ASM/ERERBEEERST e METRIC BOLT
------------ 45°METRIC STANDPIPE HEAVY TYPE DIN 2353 (BES - 45 THREAD B L H1
5 C v 5 PART NUMBER
PART NUMBER HOSE PIPE T Ll JULUL AL
o - SIZE m m om | mm KBT700 - 12 M12x1.5 7 24 17
S501C0 - 04 - 10 6 174" 04 10 5 592 329 |10 KBT700 - 14 M14x1,5 9 26 19
S501C0 - 05 - 12 8 516" | 05 12 7 65,4 364 |12 KBT700 - 16 M16x1,5 11 28 22
S501C0 - 06 - 14 10 | 3/8" 06 14 9 719 40,7 |14 KBT700 - 18 M18x1,5 13 32 24
S501C0 - 08 - 16 12 172" 08 16 10 74 415 |16 KBT700 - 22 M22x1,5 16 39 27
S501C0 - 10 - 20 16 | 5/8" 10 20 14 855 509 |20 KBT700 - 26 M26x1,5 20 45 32
S501C0 - 12 - 20 20 | 3/4" 12 20 15 865 509 |20
S501C0-12 - 25 20 | 3/4" 12 25 18 112,5 685 |25




i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
W% A @5 A
STANDARD TYPE#RHER STANDARD TYPE#Z#R
L .
] |ﬂﬂ]mnum
. T
Sn—— o}
=
] w)
O "— o | J
B S — B
LW = ;
S873A0
S873A0 SAE E#:2 3000 P.S..
------------ SAE FLANGE 3000 P.S.I. - S873B0
B 1 D S S873B0 90°SAE Eix= 3000 P.S.I.
PART NUMBER HOSE FLANGE | L L T T e 90°SAE FLANGE 3000 P.S.1.

DN In SIZE mm | mm | mm mm B L D M S
S873A0 - 08 - 08 12 | 1/2" 08 172" 12 46,8 | 302 6,73 PART NUMBER HOSE FLANGE
S873A0 - 08 - 12 12 | 172" 08 3/4" 18 46,8 | 38,1 6,73 DN In SIZE mm | mm | mm | mm | mm
S873A0 - 10 -08 6 [ 5/8" 10 172" 12 478 1302 6.73 S873B0 - 08 - 08 12 | 1/2" 08 172" 12 |40 | 30,2 | 445 |6,73
S873A0 - 10-12 6 58" 10 34" 18 458 | 38.1 6.73 S873B0 - 08 - 12 12 | 12" 08 3/4" 18 |40 | 381 |47 6,73
S873A0 -12-12 20 3/4" 12 3/4" 18 50,5 38,1 6.73 S873B0 -10 - 08 16 5/8" 10 1/2" 12 48 30,2 | 50,3 6,73
S873A0 -12 -16 20 3/4" 12 1" 24 465 445 ) S873B0 -10-12 16 5/8" 10 3/4" 18 48 38,1 52,8 6,73
S873A0 - 16 - 16 55 [ {" 16 T >4 548 445 8 S873B0 - 12 - 12 20 | 3/4" 12 3/4" 18 |55 | 381 |584 |6,73
S873A0 - 16 - 20 25 | 1" 16 1174 30 51,8 | 50,8 8 S873B0 - 12 - 16 20 | 3/4" 12 1 24 |55 445 |595 |8
S873A0 - 20 - 20 32 [1.1/4" |20 1.1/4" 30 665 | 508 8 S873B0 - 16 - 16 25 1 16 1" 24 |73 445 | 705 |8
S873A0 - 20 - 24 32 [1.1/4" |20 1.172" 36 525 |603 8 S873B0 - 16 - 20 25 |1 16 1.1/4 30 |73 1508 |72 8
S873A0 - 24 - 24 420 (142" |24 1A/2" 36 63 60.3 8 S873B0 - 20 - 20 32 [ 1.1/4" |20 1.1/4" 30 [898 |508 |79 8
S873A0 - 24 - 32 420 (112" |24 o 8 ) 714 9.53 S873B0 - 20 - 24 32 | 1.1/4" |20 1472" 36 |898 |603 |83 8
S873A0 - 32 - 32 50 on 32 on 48 69,9 714 9.53 S873B0 -24-24 40 1.1/2" 24 1.1/2" 36 103 60,3 | 95 8
S873A0 - 32 -40 50 " 32 2.1/2" 58 63,9 84 1 9.53 S873B0 -24 - 32 40 1.1/2" 24 2" 48 103 714 |97 9,53

S873B0 - 32 - 32 50 | 2" 32 2" 48 |[126 | 714 | 1135 | 953




i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
@55 A @0 %A
STANDARD TYPER#ER, STANDARD TYPER#ER,
L .
i
L
- e T
Sw
A
S873C0 = mi I 3 S
S873C0 45°SAE E ¥ 3000 P.S.l. / T
------------ 45° SAE FLANGE 3000 P.S.1.
B L D M S
PART NUMBER HOSE FLANGE S876A0
DN In SIZE mm mm mm mm mm
S873C0 - 08 - 08 12 | 1/2" 08 172" 12 53,2 302 | 215 |6,73 .
S873C0 - 08 - 12 12 | 12" 08 3/4" 18 54,9 381 | 233 |6,73 8876A0 gﬁ‘g fﬁgE%O&?OPF;SS"]
S873C0 - 10 - 08 16 | 5/8" 10 1/2" 12 56,7 30,2 | 245 |6,73 = 5 > B 5
S873C0-10 - 12 16 | 5/8" 10 3/4" 18 58,6 381 | 263 |6,73
S873C0-12 - 12 20 | 3/4" 12 3/4" 18 66,6 381 | 27,7 |6,73 PR N [EER = HIOSE e ALANEE m m o m
S873C0 - 12 - 16 20 | 3/4" 12 1" 24 67,3 | 445 | 282 |8 oL ;
4 - S876A0 - 08 - 08 12 | 112 08 172 12 46,8 31,8 7,75
S873C0 - 16 - 16 25 |1 16 1 24 79,7 | 445 [327 |8 - -
; ; S876A0 - 08 - 12 12 | 1/2 08 3/4 18 48,8 413 8,76
S873C0 - 16 - 20 25 |1 16 1.1/4 30 80,7 50,8 | 33,7 |8 - -
. : S876A0 - 10 - 08 16 | 5/8 10 172 12 47,8 31,8 7,75
S873C0 - 20 - 20 32 | 1.1/4" |20 1.1/4 30 92,2 50,8 | 351 |8 ; ;
. - S876A0 - 10 - 12 16 | 5/8 10 3/4 18 4538 413 8,76
S873C0 - 20 - 24 32 | 1.1/4" | 20 1472 36 95 60,3 | 379 |8 : :
T ; S876A0 - 12 - 12 20 | 3/4 12 3/4 18 485 413 8,76
S873C0 - 24 - 24 40 | 1.1/2" |24 1.1/2 36 105,2 | 60,3 | 415 |8 - &
. : S876A0 - 12 - 16 20 | 3/4 12 1 23 53,5 47,6 9,53
S873C0 - 24 - 32 40 | 1.1/2" |24 2 48 106,6 | 71,4 | 429 | 9,53 a .
S873C0-32-32 |50 | 2" 2 |2 48 | 126|714 | 483 | 9,53 S876A0 -16 - 10 25 1 16 ! 23 1938 1476 9,88
- ' ’ ’ S876A0 - 16 - 20 25 | 1" 16 1.1/4" 30 61,8 54 10,29
= S876A0 - 20 - 20 32 | 1.1/4" |20 1.1/4" 30 735 54 10,29
] = S876A0 - 20 - 24 32 | 1.1/4" |20 1.172" 36 725 63,5 12,57
£ /é“:;) ‘ S876A0 - 24 - 24 40 1.1/2" 24 1.1/2" 36 83 63,5 12,57
) m,! S876A0 - 24 - 32 40 [1142" [ 24 2" 48 93 79,4 12,57
el S876A0 - 32 - 32 50 | 2" 32 2" 48 106,9 | 794 12,57
i \@
FL
FL SAE #:=3& 3000 P.S.I.
------------ SAE SPLIT FLANGE CLAMPS 3000 P.S.I.
C E D
PART NUMBER FLANGE
mm mm mm
FL - 08 172" 38,1 175 8,75
FL-12 2/4" 476 22,3 10,75
FL-16 1" 52,4 26,2 10,75
FL - 20 1.1/4" 58,7 30,2 12
FL - 24 1.472" 69,8 35,7 135
FL - 32 2" 77,8 42,9 13,5
FL - 40 2.1/2" 88,9 50,8 13,5




i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
i i
STANDARD TYPE#w#:R STANDARD TYPE#R#ER
L L. ¢
| ‘ ﬂd]lmqu
y T = ZL N
=
_E'}J S876C0
S876C0 45°SAE E#E% 6000 P.S.I.
e — 45°SAE FLANGE 6000 P.S.I.
S876B0 B L D M S
S876BO 90°SAE HE £ 6000 P.S.I. PART NUMBER HOSE FLANGE
----------- 90°SAE FLANGE 6000 P.S.I. DN In SIZE A o s | e |
B L D M S S876C0 - 08 - 08 12 172" 08 172" 12 53,9 318 [223 [7,75
PART NUMBER HOSE FLANGE S876C0 -08-12 12 [ 172" 08 3/4" 18 57,8 413 262 |8,76
DN In SIZE mm | mm | mm mm mm S876C0 - 10 - 08 16 | 5/8" 10 1/2" 12 56,9 318 [257 |775
S876B0 - 08 - 08 12 1/2" 08 1/2" 12 40 318 1455 7,75 S876C0-10-12 16 | 5/8" 10 3/4" 18 60,4 413 [278 |[8,76
S876B0 - 08 - 12 12 1/2" 08 3/4" 18 40 413 |513 8,76 S876C0 - 12-12 20 | 3/4" 12 3/4" 18 69,4 413 305 |8,76
S876B0 - 10 - 08 16 5/8" 10 1/2" 12 48 31,8 51,2 7,75 S876C0-12-16 20 3/4" 12 1" 23 72,2 47 6 33,3 9,53
S876B0 -10-12 16 5/8" 10 3/4" 18 48 41,3 55,3 8,76 S876C0-16 - 16 25 1" 16 1" 23 84,7 47 6 376 9,53
S876B0 -12 -12 20 3/4" 12 3/4" 18 55 41,3 62,5 8,76 S876C0 - 16 - 20 25 1" 16 1.1/4" 30 87,1 54 40 10,29
S876B0 - 12 - 16 20 | 3/4" 12 1" 23 95 476 | 665 9,53 S876C0 - 20 - 20 32 [1.1/4" |20 1.1/4" 30 100 54 428 110,29
S876B0 - 16 - 16 25 1" 16 1" 23 73 476 | 77,5 9,53 S876C0 - 20 - 24 32 1.1/4" | 20 1.4/2" 36 104,9 | 635 |47,8 | 1257
S876B0 - 16 - 20 25 1" 16 1.1/4" 30 73 54 81 10,29 S876C0 - 24 - 24 40 [ 1.172" |24 1.1/2" 36 115,4 [ 635 |51,7 | 1257
S876B0 -20 - 20 32 1.1/4" 20 1.1/4" 30 89.8 54 90,4 10,29 S876C0 -24 - 32 40 1.1/2" 24 2" 48 122.,9 79,4 59,2 12,57
S876B0 - 20 -24 32 1.1/4" 20 1.1/2" 36 89.8 63,5 974 12,57 S876C0 - 32 - 32 50 2" 32 2" 48 151,6 794 67,8 12,57
S876B0 - 24 - 24 40 1.4/2" | 24 1.1/2" 36 103 | 63,5 [ 108,9 | 1257
S876B0 - 24 - 32 40 1.1/2" | 24 2" 48 103 | 794 [120,4 | 1257 L
S876B0 - 32 - 32 50 | 2" 32 2" 48 126 | 794 | 1445 | 1257 P
(AN S )
\. L
" = s
SSEC
FS
FS SAE ¥k 6000 P.S.I.
------------ SAE SPLIT FLANGE CLAMPS 6000 P.S.I.
C E D
PART NUMBER HOSE FLANGE
DN In SIZE mm mm mm
FS-08 12" 40,5 18,2 8,75
FS-12 2/4" 50,8 23,8 11
FS-16 1" 57,1 27,8 13
FS-20 1.1/4" 66,7 31,8 15
FS-24 1.1/2" 79,4 36,5 17
FS-32 2" 96,8 445 21




i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
Wi A Wi A
STANDARD TYPEARHER, STANDARD TYPEARHER
L
%
z T =
5 [9p]
KOR612
KOR612  SAE E¥:= 3000 F1 6000 P.S.|frAtO%! B S877B0
------------ O'RING FOR SAE FLANGE 3000 AND 6000 P.S.| . S877B0 90°BI 2 -SUPERCAT Z I
D S . —_— AN
------------ 90°SUPERCAT FLANGE
PART NUMBER FLANGE 5 L D M S
mm mm
KOR612 - 08 172" 18,64 3,53 HN SIS = HISSE SR FLaEs om | omm | mm | mm | mm
Egggg 12 f,’,“ g‘z"gg ggg S877B0 - 12 - 12 20 |34 |12 3/4" 15 | 595 | 413 | 685 | 143
KORET2 20 A 5756 353 S877B0 - 16 - 16 25 | 1" 16 1" 195 | 735 | 476 |822 | 143
T T 755 353 S877B0 - 20 - 20 32 [ 1.1/4" |20 1.1/4" 26 89 54 944 | 143
KORE T2 3 > 5674 353 S877B0 - 24 - 24 40 | 1.1/2" | 24 1.1/2 32 103,7 | 635 | 1106 | 14,3
KOR612 - 40 2.1/2" 69,44 3,53
L
5
A
== T -
/ I
S877A0
S877A0 B2 -SUPERCAT %73
------------ SUPERCAT FLANGE S877C0
B L D S S877C0 457E ¥: 2 -SUPERCAT &5
PART NUMBER HOSE FLANGE | | | | L 45°SUPERCAT ELANGE
DN In SIZE mm mm mm mm B L D M S
S877A0 - 12 - 12 20 | 3/4" 12 3/4" 15 60 41,3 143
= ; HOSE
S877A0 - 16 - 16 25 | 1" 16 1" 195 | 67,8 | 476 14,3 PART NUMBER DN n SIZE FLANGE om | mm | mm | mm | mm
S877A0 - 24 - 24 40 | 1.1/2" |24 1.1/2" 32 93 63,5 143 S877C0 - 16 =16 TR 16 T 195 188 176 141 123
S877C0 - 20 - 20 32 | 1.1/4" | 20 1.1/4" 26 102,8 | 54 457 | 143
S877C0 - 24 - 24 40 [1.4/2" | 24 1.4/2" 32 116,7 | 635 |53 143




i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
i i
STANDARD TYPEFR#ER STANDARD TYPEFR#ER
L ‘ A L
5 H2 H1
- Ny
| (PPt
Olf™
S o 17 B Hl “ ' =S
S870A0
S870A0 HAE=
------------ JAPANESE FLANGE ( KOMATSU TYPE ) S286A3-D
B L D S . I\ o
PART NUMBER HOSE FLANGE S286A3-D  HAAHINIRL 60°HEEE (NAA)
DN T In | SIZE mm | mm | mm T — JAPANESE METRIC FEMALE KOMATSU TYPE (CRIMPED - BACK NUT)
S870A0 - 10 - 10 16| 5/8" |10 5/8" 12 67,3 | 3472 6,7 THREAD B L A | H1 | H2
i PART NUMBER HOSE
DN In SIZE T mm mm mm mm | mm
% S286A3 - 04 — 14D 6 | 1/4" |04 M14x1,5 4 23 [105 [17 |19
) == ] S286A3 - 05— 16D 8 | 5/16" |05 M16x1,5 55 |225 [93 |19 |21
S286A3 - 06 — 18D 10 [3/8" |06 M18x1,5 7 236 | 115 |19 |24
= . S286A3 - 08 — 22D 12 [1/2" |08 M22x1,5 93 [248 |14 |22 |27
S286A3 - 10 — 24D 16 [ 5/8" |10 M24x1,5 12 |268 [151 |30 |32
S286A3 - 12 — 30D 20 [ 3/4" |12 M30x1,5 15 |315 [183 |32 |36
g S286A3 - 16 — 33D 25 |1 16 M33x1,5 195 333 [21,3 |36 |41
“— 587080
S870A0 907H A ik 22 A, L o
------------ 90°JAPANESE FLANGE ( KOMATSU TYPE ) H2 H1
B L D M S i

PART NUMBER HOSE FLANGE 0

DN [ In SIZE mm | mm | mm | mm | mm !
S870B0 -10-10 16 5/8" 10 5/8" 12 494 34,2 49,8 6,7 W '

S226A3-D

S226A3-D  HRFEH| AIZL 60°4MEH (AN A)
............ J.I.S. FEMALE 60°CONE TYPE C (CRIMPED - BACK NUT)

S870C0 PART NUMBER HOSE THREAD ° - A i e

S870C0 45EB¢¥£é DN In SIZE T mm mm mm mm mm
"""""" 45°JAPANESE FLANGE ( KOMATSU TYPE ) S226A3 - 04 — 04D 6 174" | 04 1/4" - 19 4 235 |6 17 19
B L D M S S226A3 - 06 — 06D 10 | 3/8" |06 3/8" - 19 7 246 | 6,5 19 22
PART NUMBER HOSE FLANGE S226A3 - 08 — 08D 12 | 1/2" |08 12" - 14 9,3 258 | 8 22 27
DN In SIZE mm | mm mm | mm | mm S226A3 -12-12D 20 | 3/4" [12 3/4" - 14 15 295 |10 30 36
S870C0-10-10 16 5/8" 10 5/8" 12 56,5 34,2 24 1 6,7 S226A3 - 16 — 16D 25 1™ 16 1" - 11 19,5 33,8 11 36 41




i vdi— g8 ivdi— g8

HOSE FITTINGS HOSE FITTINGS
=55 A W% A
STANDARD TYPEAR#ER ONE PIECE TYPE—#& =
Hl m&
S296A3-D
S296A3-D  HAZEHIAERSL 60°ANHET (WA )
------------ J.I.S. FEMALE 60°CONE SEAT TYPE F (CRIMPED - BACK NUT) P204AT
PART NUMBER HOSE THREAD S - A At R P204A1 AHINIREL 24° HEHORE RARF
DN | In | SIZE T e e e — O'RING METRIC FEMALE 24°CONE LIGHT TYPE DIN 3865 (DKOL)
S296A3 - 04 — 04D 6 174" | 04 1/4" - 19 4 21 8,5 17 19 THREAD B L A H2
S296A3 - 06 — 06D 10 [3/8" [06 3/8" - 19 7 221 |9 19 |22 PART NUMBER HOSE PIPE
S296A3 - 08 — 08D 12 [172" |08 1/2" - 14 93 |228 |11 22 27 DN In SIZE T mm | mm | mm | mm
S296A3 - 12— 12D 20 | 3/4" |12 3/4" - 14 15 26 135 |30 36
S296A3 - 16 — 16D 25 1" 16 1" - 11 195 |30,8 |14 36 41 P204A1 -03 -12 5 3/16" 03 M12x1,5 6 3 241 1,2 14
P204A1 - 04 - 14 6 1/4" 04 M14x1,5 8 4 245 |18 17
P204A1 - 04 - 16 6 1/4" 04 M16x1,5 10 5,5 26 2,3 19
P204A1 - 05 - 16 8 5/16" 05 M16x1,5 10 5,5 26 2,3 19
L P204A1 -05-18 8 5/16" 05 M18x1,5 12 7 26 25 |22
P204A1 - 06 - 18 10 | 3/8" 06 M18x1,5 12 7 266 |25 |22
P204A1 - 06 - 22 10 | 3/8" 06 M22x1,5 15 9,5 301 |25 |27
. o} P204A1 - 08 - 22 12 |12 08 M22x1,5 15 9,3 293 |25 |27
ez P A P204A1 - 08 - 26 12 [ 172" 08 M26x1,5 18 12 313 |25 |32
S900A0 P204A1 - 10 - 26 16 | 5/8" 10 M26x1,5 18 12 303 |25 |32
S900A0 TR TF P204A1-12-30 20 | 3/4" 12 M30x2 22 15 33 3,5 36
P204A1 - 12 - 36 20 | 3/4" 12 M36x2 28 195 |345 |37 |41
"""""" CONNECTOR INSERT 5 - P204A1 - 16 - 36 25 [ 1" 16 M36x2 28 195 343 [37 |41
P204A1 - 20 - 45 32 [ 1.14" |20 M45x2 35 26 39 4 50
PART NUMBER BN "I'OSE P204A1 - 24 - 52 40 [1.172" |24 M52x2 42 32 395 |45 |60
n SIZE mm mm oy =) = 2 oty
S900A0 - 03 - 03 5 316" 03 3 13,2 1 REREAHR-2RRARE
S900A0 - 04 - 04 6 1/4" 04 4 14 2. MFRATASPESE RSB AP204A1-XX-XX4P
S900A0 - 05 - 05 8 5/16" 05 5,5 14 nF A T 4SHESYE S HP204A1-XX-XX4H
S900A0 - 06 - 06 10 3/8" 06 7 15,2
S900A0 - 08 - 08 12 12" 08 9,3 15,6
S900A0 - 10 - 10 16 5/8" 10 12 15,6
S900A0 - 12 - 12 20 3/4" 12 15 18
S900A0 - 16 - 16 25 1" 16 19,5 226
S900A0 - 20 - 20 32 1.1/4" 20 26 23
S900A0 - 24 - 24 40 1.172" 24 32 23
S900A0 - 32 - 32 50 2" 32 42 25,8




i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
| W5 A
ONE PIECE TYPE—#& = ONE PIECE TYPE—& =
L
P204B1
P204B1 90° A WIREL 24° ORI R R 7 P204CA
90° O'RING METRIC FEMALE TI-ZIQECAODNE LIGHT TYI;E . . . - P204C1 A5e A IRSL 240 ORE BE
PART NUMBER HOSE PPE | | | | e 45° O'RING METRIC FEMALE 24°CONE LIGHT TYPE
DN In SIZE T mm mm mm mm mm THREAD B L A M H2

P204B1 - 03 - 12 5 3/16" | 03 M12x1,5 6 3 255 [ 1,2 [306 |14 PART NUMBER HOSE PIPE
P204B1 - 04 - 14 6 1/4" 04 M14x1,5 8 4 29 1,8 | 31 17 DN In SIZE T mm | mm | mm | mm | mm
P204B1-04 - 16 6 1/4" 04 M16x1,5 10 55 |29 23 |31 19 P204C1-03 - 12 5 3/16" | 03 M12x1,5 6 3 34,2 1,2 | 16,7 | 14
P204B1 - 05 - 16 8 5/16" | 05 M16x1,5 10 55 |31 23 327 |19 P204C1 -04 - 14 6 1/4" 04 M14x1,5 8 4 38,3 1,8 | 17,7 |17
P204B1 -05 - 18 8 5/16" | 05 M18x1,5 12 7 31 25 [335 |22 P204C1-04 - 16 6 1/4" 04 M16x1,5 10 55 393 |23 [188 |19
P204B1 -06 - 18 10 | 3/8" 06 M18x1,5 12 7 34 25 [36,7 |22 P204C1-05 - 16 8 5/16" | 05 M16x1,5 10 55 387 |23 [175 |19
P204B1 - 06 - 22 10 | 3/8" 06 M22x1,5 15 95 |34 25 |399 |27 P204C1-05-18 8 5/16" | 05 M18x1,5 12 7 392 |25 [181 |22
P204B1 - 08 - 22 12 |12 08 M22x1,5 15 9,3 |40 25 |438 |27 P204C1-06 - 18 10 | 3/8" 06 M18x1,5 12 7 426 |25 [192 |22
P204B1 - 08 - 26 12 |12 08 M26x1,5 18 12 |40 25 |46,3 |32 P204C1 - 06 - 22 10 | 3/8" 06 M22x1,5 15 95 [449 |25 |215 |27
P204B1 - 10 - 26 16 | 5/8" 10 M26x1,5 18 12 |40 25 |543 |32 P204C1 - 08 - 22 12 | 1/2" 08 M22x1,5 15 93 [499 |25 |224 |27
P204B1 - 12 - 30 20 | 3/4" 12 M30x2 22 15 55 35 |619 |36 P204C1 - 08 - 26 12 | 1/2" 08 M26x1,5 18 12 51,7 |25 |24 32
P204B1 -12 - 36 20 3/4" 12 M36x2 28 19,5 | 55 3,7 65,1 41 P204C1 -10 - 26 16 5/8" 10 M26x1,5 18 12 60,3 2,5 27,3 | 32
P204B1 - 16 - 36 25 | 1" 16 M36x2 28 195 | 73 37 |72 41 P204C1-12-30 20 | 3/4" 12 M30x2 22 15 675 |35 |302 |36
P204B1 - 20 - 45 32 | 1.1/4" | 20 M45x2 35 26 878 | 4 874 50 P204C1-12-36 20 | 3/4" 12 M36x2 28 19,5 1699 3,7 325 | #1
P204B1 - 24 - 52 40 | 1.1/2" |24 M52x2 42 32 103 | 4,5 |101,5 | 60 P204C1-16 - 36 25 | 1" 16 M36x2 28 195 | 797 3,7 1336 |41

P204C1 - 20 - 45 32 | 1.1/4" |20 M45x2 35 26 96,7 |4 40,8 | 50
w1 REREH1E2BRARE P204C1 -24 - 52 40 [ 1.1/2" | 24 M52x2 42 32 109,5 |45 | 458 |60

2. TR FA4SPESE REBCAP204B1-XX-XX4P ¥ 1. RIREH1E2BREAKE
nF AT 4SHESE A5 NP204B1-XX-XX4H 2. BT 4SPHELYE REBHP204C1-XX-XX4P

T A F4SHESE AR5 BAP204C1-XX-XX4H



i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
@55 A @0 %A
ONE PIECE TYPE— /4% ONE PIECE TYPE— =,
L
P205AT p20sB1  SOAMAMEE 260 SRONMERA
A N — N
P205A1 AFARY 240 gwOREERY 90°0'RING METRIC FEMALE SWEPT EL BOW 24°CONE HEAVY TYPE
----------- O'RING METRIC FEMALE 24°CONE HEAVY TYPE DIN 3865 (DKOS)
THREAD B L A H2 PART NUMBER HOSE THREAD PIPE ° A M e
HENTNELIE S 101512 AUFS DN In SIZE T mm mm mm | mm mm
DN | _In | SIZE T mm | _™m | mm mm P205B1-03-16 |5 | 3/16" | 03 | Mi6x1,5 |8 3 255 |44 | 31 19
P205A1 - 03 - 16 5 | 3/16" |03 M16x1 .5 8 3 261 | 4.4 19
: P205B1 -04-16 |6 | 1/4" |04 | Mi6x15 |8 4 20 |44 | 331 19
P205A1 - 04 - 16 6 |1/ 04 M16x1.5 8 4 266 | 4.4 19
; P205B1-04-18 |6 | 1/4" |04 | Misxi5 |10 |4 20 |3 1365 | |22
P205A1 - 04 - 18 6 | 1/4 04 M18x15 10 a 28 |3 22
. P205B1-05-20 |8 | 5/16" |05 | M20xi5 | 12 55 [31 |25 |36 24
P205A1 - 05 - 20 8 516" |05 M20x1.5 12 55 | 281 |25 24 6
: P205B1-06-20 |10 | 3/8 06 | M20x15 |12 7 34 (25 |392 | |24
P205A1 - 06 - 20 10 |38 06 M20x1 5 12 7 286 | 2.5 24
; P205B1-06-22 |10 |3/8" |06 | M22x15 | 14 7 34 (35 |417 | |27
P205A1 - 06 - 22 0 |38 06 M22x1.5 14 7 326 |35 27
; P205B1-08-24 |12 [ 1/2° |08 | M24xi5 |16 93 (40 |45 456 | 30
P205A1 - 08 - 24 12 12 08 M24x15 16 93 323 |45 30 ’
; P205B1 -10-30 | 16 | 5/8 10 | M30x2 20 12 149 |4 596 | |36
P205A1 - 10 - 30 6 |58 10 M30x2 20 12 1373 [4 36
. P205B1 -12-36 |20 | 3/4" |12 | M36x2 25 15 |55 |45 |688 | |46
P205A1 - 12 - 36 20 | 3/4 12 M36x2 25 15 [ 405 |45 46 /
. P205B1-16-42 |25 |1 16 | Md2x2 30 195 |73 163 783 | |50
P205AT - 16 - 42 25 |1 16 Md2x2 30 195 1438 |63 50 P205B1 -20-52 |32 | 1.4/4" |20 | M52x2 38 26 (878 |8 | 944 | |60
P205A1 - 20 - 52 32 | 1.4/4" |20 M52x2 38 26 | 495 |8 60 2 "20-52_ Ll X ’ :
¥ 1. RRRERIE2ERARE #: 1. RPRSA1E2BRFARE

NEHATF4SHESE RS AP205A1-XX-XX4H MR F4SHESE AR5 B AP205B1-XX-XX4H



i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
i i
ONE PIECE TYPE—/& = ONE PIECE TYPE—4& =
|
P205C1
P205C1 45° AHINEELL 24° OB E RS
------------ 45°0'RING METRIC FEMALE SWEPT ELBOW 24°CONE HEAV Y TYPE
THREAD B L A M H2 P873A0
PART NUMBER HOSE PIPE P873A0 SAE E¥: 3000 P.S.I.
DN In SIZE T mm | mm | mm | mm mm | SAE FLANGE 3000 P.S.I.
P205C1-03-16 |5 3/16" | 03 M16x1,5 3 341 |44 |17 19 5 3 D s
P205C1-04-16 | 6 1/4" 04 M16x1,5 | 8 4 382 |44 [176 19
P205C1-04-18 | 6 1/4" 04 M18x1,5 10 4 406 |3 20 22 FAREIIEI BN HISSE SIZE HEANES mm | mm mm mm
P205C1-05-20 |8 5/16" | 05 M20x1,5 12 55 | 41 25 | 199 24 PB73A0 - 08 - 08 12 12" 08 2" 12 268 | 302 5.73
P205C1 - 06 - 20 10 | 3/8" 06 M20x1,5 12 7 444 |25 |21 24 PS73A0 —08 - 12 > 17 08 34" 18 268 1381 573
P205C1 - 06 - 22 10 | 3/8" 06 M22x1,5 14 7 46,3 |35 | 227 27 PS73A0 —10 08 16 5/g" 10 15 ™ 278 1302 673
P205C1 - 08 - 24 12 [ 12" 08 M24x1,5 16 93 | 513 |45 |236 30 BE73A0 ~10 - 12 16 =g 10 34 18 158 381 e
P205C1 - 10 - 30 16 | 5/8" 10 M30x2 20 12 |64 4 31 36 P873A0 - 12 12 20 /4" 1 34 18 505 1381 573
P205C1-12-36 | 20 | 3/4" 12 M36x2 25 15 | 726 |45 |35, 46 PS73A0 —12 =16 0 34" > T >4 i65 445 g
P205C1-16-42 |25 | 1" 16 M42x2 30 195 | 82,8 |6,3 | 38,1 50 PE73A0 —16 —16 5 T 16 T 2 548 445 5
P205C1-20-52 | 32 | 1.1/4" |20 M52x2 38 26 101,5 | 8 4538 60 P873A0 - 16 =20 T T 16 T 30 518 1508 3
. . " P873A0 - 20 - 20 32 1.1/4" 20 1.1/4" 30 66,5 | 50,8 8
HE: 1. RPRSAH1E-2BERARE P873A0 - 20 - 24 32 |[1.1/4" |20 172" 36 525 | 60,3 8
2. NF{HF4SPESE REBAP205C1-XX-XX4P P873A0 - 24 - 24 40 1.1/2" 24 1.4/2" 36 63 60,3 8
MTEHTFASHESE KB BCAP205C1-XX-XX4H P873A0 - 24 - 32 40 1.1/2" 24 2" 48 53 714 9,53
P873A0 - 32 - 32 50 2" 32 2" 48 69,9 | 714 9,53
P873A0 - 32 - 40 50 2" 32 2.1/2" 58 63,9 | 84,1 9,53

E: 1. RPRSHA1E2BRARE
2. MIF/HTFASPERE R SBCAP873A0-XX-XX4P
MR FASHESE A5 BAP873A0-XX-XX4H



i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
T @A
ONE PIECE TYPE—fk =, ONE PIECE TYPE—f=
P873C0
P873C0 45° SAE H¥.= 3000 P.S.l.
------------ 45° SAE FLANGE 3000 P.S.I.
P873B0 B L D M S
P873B0  90° SAE EL¥:2: 3000 P.S.I. AR NEIE = foEiE FAEE
------------ 90°SA E FLANGE 3000 P.S.I. DN In SIZE mm | mm | mm | mm | mm
5 1 D v S P873CO0 - 08 - 08 12 [ 12" 08 12" 12 532 [302 [215 [6,73
PART NUMBER HOSE FLANGE P873C0 - 08 - 12 12 [ 172" 08 3/4" 18 549 [381 |233 |6,73
P873C0 - 10 - 08 16 | 5/8 10 172 12 56,7 | 30,2 | 245 |6,73
DN In SIZE mm mm mm mm mm - -
" ; P873C0-10-12 16 | 5/8 10 3/4 18 586 | 381 |263 |673
P873B0 - 08 - 08 12 |12 08 12 12 | 466 |302 |445 6,73
" ; P873C0 - 12 - 12 20 | 3/4" 12 3/4" 18 66,6 |381 |27,7 |673
P873B0 - 08 - 12 12 |12 08 3/4 18 | 466 | 381 |47 6,73 . 4
" ; P873C0-12-16 20 | 3/4 12 1 24 673 |445 | 282 |8
P873B0 - 10 - 08 16 | 5/8 10 12 12 | 494 302 |503 |6,73 & ,
T ; P873C0-16- 16 25 |1 16 1 24 797 445 [327 |8
P873B0 - 10 - 12 16 | 5/8 10 3/4 18 | 494 |[381 [528 |6,73
" ; P873C0 - 16 - 20 25 |1 16 1.1/4" 30 80,7 |508 |337 |8
P873B0 - 12 - 12 20 |3/4 12 3/4 18 |[595 |381 [584 6,73 . .
" " P873C0 - 20 - 20 32 | 1.1/4" |20 1.1/4 30 922 |508 |351 |8
P873B0 - 12- 16 20 | 3/4 12 1 24 |595 |445 |595 |8
; T P873CO0 - 20 - 24 32 [ 1.1/4" [ 20 1.1/2" 36 95 60,3 | 379 |8
P873B0 - 16 - 16 25 |1 16 1 24  |735 | 445 |705 |8
; T P873C0 - 24 - 24 40 [ 1.4/2" | 24 1.1/2" 36 105,2 | 60,3 | 415 |8
P873B0 - 16 - 20 25 |1 16 1.1/4 30 |735 |508 |72 8 . :
" " P873C0 - 24 - 32 40 [ 1.4/2" |24 2 48 106,6 | 714 | 429 | 953
P873B0 - 20 - 20 32 [ 1.1/4" |20 1.1/4 30 |89 50,8 | 79 8 587360 - 35 -39 s o - o 18 R 714 483 623
P873B0 - 20 - 24 32 [1.1/4" |20 1.1/2" 36 |89 60,3 | 83 8 L ’ ’ ’ ’
P873B0 - 24 - 24 40 [ 1.1/2" |24 1.1/2" 36 103,7 | 603 |95 8 .
P873B0 - 24 - 32 40 | 1.12" | 24 2" 48 1037 | 714 |97 9,53 1 RPASAR-2RRARE
P873B0 - 32 - 32 50 | 2" 32 2" 48 126,1 |[714 [1135 [9,53 2. MFBHT4SPESHE S AP873CO-XX-XX4P

NE A F4SHESE B HBAP873C0-XX-XX4H
1. RBERSHIE2BREARE
2. TR F4SPESRE RS EAP873B0-XX-XX4P
WA T ASHESE A5 BNP873B0-XX-XX4H



i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
i i
ONE PIECE TYPE—/ = ONE PIECE TYPE—4& =
P876B0
P876A0 P876B0 90° SAE Ei%k>% 6000 P.S.I.
------------ 90°SAE FLANGE 6 000 P.S.I.
P876A0 SAE HiE= 6000 P.S.I. B L D M S
------------ SAE FLANGE 6000 P.S .I. PART NUMBER HOSE FLANGE
B L D S DN In SIZE mm mm mm mm mm
PART NUMBER HOSE FLANGE P876B0 - 08 - 08 12 [ 172" 08 1/2" 12 46,6 318 [455 7,75
DN In SIZE mm mm mm mm P876B0 - 08 - 12 12 [ 172" 08 3/4" 18 46,6 413 | 513 8,76
P876A0 - 08 - 08 12 1/2" 08 1/2" 12 46,8 31,8 7,75 P876B0 - 10 - 08 16 | 5/8" 10 1/2" 12 49,3 318 | 51,2 7,75
P876A0 - 08 - 12 12 1/2" 08 3/4" 18 488 413 8,76 P876B0 - 10 - 12 16 | 5/8" 10 3/4" 18 49,3 413 | 553 8,76
P876A0 - 10 - 08 16 5/8" 10 1/2" 12 478 31,8 7,75 P876B0 - 12 - 12 20 | 3/4" 12 3/4" 18 59,5 413 625 8,76
P876A0 - 10 - 12 16 5/8" 10 3/4" 18 458 413 8,76 P876B0 - 12 - 16 20 | 3/4" 12 1" 23 59,5 476 | 665 9,53
P876A0 - 12 - 12 20 3/4" 12 3/4" 18 485 413 8,76 P876B0 - 16 - 16 25 [ 1" 16 1" 23 73,5 476 | 775 9,53
P876A0 - 12 - 16 20 3/4" 12 1" 23 53,5 47,6 9,53 P876B0 - 16 - 20 25 [ 1" 16 1.1/4" 30 73,5 54 81 10,29
P876A0 - 16 - 16 25 1" 16 1" 23 63,8 47,6 9,53 P876B0 - 20 - 20 32 [1.1/4" |20 1.1/4" 30 89 54 90,4 10,29
P876A0 - 16 - 20 25 1" 16 1.1/4" 30 61,8 54 10,29 P876B0 - 20 - 24 32 [1.1/4" |20 1.1/2" 36 89 63,5 | 974 12,57
P876A0 - 20 - 20 32 1.1/4" 20 1.1/4" 30 73,5 54 10,29 P876B0 - 24 - 24 40 [1.1/2" |24 1.1/2" 36 103,7 | 635 | 1089 | 1257
P876A0 - 20 - 24 32 1.1/4" 20 1.4/2" 36 72,5 63,5 12,57 P876B0 - 24 - 32 40 [ 1.1/2" |24 2" 48 103,7 | 794 [120,4 | 1257
P876A0 - 24 - 24 40 1.1/2" 24 1.1/2" 36 83 63,5 12,57 P876B0 - 32 - 32 50 | 2" 32 2" 48 136,9 | 794 | 1445 | 1257
P876A0 - 24 - 32 40 1.1/2" 24 2" 48 93 79,4 12,57
P876A0 - 32 - 32 50 |2" 32 2" 48 106,9 | 794 12,57 ¥ 1. BRREFIE-2EHNRE
. g 2. WFRATASPESE RS HNP876B0-XX-XX4P
¥ 1. RPERSH1E-2ERARKE WA T4SHESRE RS B AP876B0-XX-XX4H

2. MFEH F4SPESE R FENP876A0-XX-XX4P
TR T4SHESE AR5 BAP876A0-XX-XX4H



i vdi— g8 ivdi= 8

HOSE FITTINGS HOSE FITTINGS
i i
ONE PIECE TYPE—fk =, TEST HOSE FITTING i &4k
S500A1 WA Bk
------------ TEST HOSE FITTING
THREAD d L A HA1 H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
S500A1 -00 — 16 00 02 M16x2 1 21
P876C0 S500A1 -01— 16 01 03 M16x2 1.2 22,1
P876C0 45° SAE E¥:2: 6000 P.S.I.
------------ 45°SAE FLANG E 6000 P.S.I. e
B L D M S %
PART NUMBER HOSE FLANGE ‘\ %#LL
DN In SIZE mm mm mm | mm | mm ,_L , ) —
P876CO - 08 - 08 12 [ 172" 08 172" 12 53,9 31,8 | 223 | 7,75 C #F“m
P876C0 - 08 - 12 12 [172" 08 3/4" 18 57,8 413 26,2 |8,76 e
P876C0 - 10 - 08 16 | 5/8" 10 1/2" 12 56,9 31,8 | 257 | 7,75 o
P876CO0 - 10 - 12 16 | 5/8" 10 3/4" 18 60,4 413 278 [8,76 )
P876C0 -12 - 12 20 | 3/4" 12 3/4" 18 69,4 413 [305 |8,76 S202A1 AR IRSC P A OZY B
P876C0 - 12 - 16 20 | 3/4" 12 1" 23 72,2 476 [333 [953 | e O'RING METRIC FEMALE FLAT SEA
P876CO - 16 - 16 25 | 1" 16 1" 23 84,7 476 |376 | 9,53 THREAD d L A H1 H2
P876C0 - 16 - 20 25 | 1" 16 1.1/4" 30 87,1 54 40 10,29 PART NUMBER HOSE
P876CO0 - 20 - 20 32 [ 1.1/4" |20 1.1/4" 30 100 54 42,8 | 10,29 DN | In | SIZE T mm | mm | mm | mm | mm
P876CO - 20 - 24 32 [ 1.1/4" |20 1.1/2" 36 1049 |635 |47,8 | 12,57 S202A1 - 00 — 040R 00 02 1/4" - 19 1 13 11 19
P876C0 - 24 - 24 40 1.1/2" 24 1.1/2" 36 115,4 63,5 51,7 12,57 S202A1 - 01 - 040R 01 03 1/4" - 19 1.2 13 11 19
P876CO0 - 24 - 32 40 | 1.1/2" |24 2" 48 1229 |794 |592 |1257
P876CO0 - 32 - 32 50 | 2" 32 2" 48 1516 | 794 |67,8 | 12,57
H: 1. REREH1E-2BRARE
2. NF{HF4SPESE R EBANP876C0O-XX-XX4P
WA FASHESE K5 BuP876C0-XX-XX4H
S204A1 AHINIRLS 248 ORE B RF
------------ O'RING METRIC FEMALE 24°CONE TEST HOSE FITTING
THREAD d L A H1 H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
S204A1 -00 - 14 00 02 M14x1.5 1 18 1.8 17
S204A1 -00 - 16 00 02 M16x1.5 1 18 2.2 19
S204A1 - 01 - 14 01 03 M14x1.5 1.2 18 1.8 17
S204A1-01-16 01 03 M16x1.5 1.2 18 2.2 19




N N
[ BB ek BB ek
TEST HOSE FITTING MR &L HOSE FITTINGS HOSE FITTINGS
W5 A
L LOW PRESSURE {£JE=R
A
F\ e .
[\ :' -
L..fi %C 1
S267A1 EHJIC WIRS74°NHETH
------------ JIC FEMALE 74°CONE SEAT TEST HOSE FITTING .
THREAD d L A HA1 H2 "
PART NUMBER HOSE L104A0 T SMESL 60° WHETE
DN | In | SIZE T mm | mm | mm | mm | mm | e BSP MALE PARALLEL 60°CONE SEAT
S267A1 -00 104 00 02 7/16-20 1 13 14 THREAD B L A H1
PART NUMBER HOSE
S267A1 -01 104 01 03 7/16-20 1.2 13 14 SN = = - o o o o
L L104A0 - 04 - 04 6 1/4" | 04 1/4" - 19 5 215 | 11 19
| L104A0 - 06 - 06 10 3/8" | 06 3/8" - 19 8 235 |12 22
‘ ) L104A0 - 08 - 08 12 1/2" | 08 1/2" - 14 11 275 | 14 27
F‘ ; == L104A0 - 10 - 10 16 5/8" 10 5/8" - 14 145 |295 |16 30
’—‘H ki L104A0 - 12 - 12 20 3/4" 12 3/4" - 14 16,5 | 315 |16 32

S226A1 WENIRL 60° SMER Hl i
------------ BSP FEMALE 60°CONE TEST HOSE FITTING
THREAD d L A H1 H2 . ]
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
S226A1 - 00 B040R 00 02 1/4" - 19 1 18 19 L204A1 T WEREL 60° AMETE
S226A1 - 01 1040R 01 03 1/4" - 19 1.2 18 9 | | e BSP FEMALE 60°CONE
THREAD B L A H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm
L204A1 - 04 - 04 6 1/4" 04 1/4" - 19 4 13 52 19
L204A1 - 06 - 06 10 3/8" 06 3/8" - 19 7 16 6 22
L204A1 - 08 - 08 12 1/2" 08 12" - 14 9,3 17 6,5 27
L204A1 - 10 - 10 16 5/8" 10 5/8" - 14 12 15 9 30
L204A1 - 12 - 12 20 3/4" 12 3/4" - 14 15 16,5 8,7 32




i =g 8

HOSE FITTINGS
|
LOW PRESSURE {&/ER
L
[l=psnt
4 T
= )
-
o B
]|
L204B1 Q07L& IRLI60° FMET
------------ 90° BSP FEMALE SWEPT ELBOW 60°CONE
THREAD B L A M H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
L204B1 - 04 - 04 6 1/4" | 04 1/4" - 19 4 26 5,2 288 |19
L204B1 - 06 - 06 10 | 3/8" |06 3/8" - 19 7 304 |6 341 |22
L204B1 - 08 - 08 12 | 1/2" |08 1/2" - 14 9,3 37 6,5 404 | 27
L204B1 - 10 - 10 16 | 5/8" |10 5/8" - 14 12 46 9 46 30
L204B1 - 12 - 12 20 | 3/4" |12 3/4" - 14 15 485 | 8,7 55,5 | 32
L204C1 A5TRE IRL60° FHMETR
------------ 45°BSP FEMALE SWEPT ELBOW 60°CONE
THREAD B L A M H2
PART NUMBER HOSE
DN In SIZE T mm mm mm mm mm
L204C1 - 04 - 04 6 1/4" | 04 1/4" - 19 4 318 |52 147 |19
L204C1 - 06 - 06 10 | 3/8" |06 3/8" - 19 7 374 |6 173 | 22
L204C1 - 08 - 08 12 | 12" |08 1/2" - 14 9,3 438 |65 199 |27
L204C1 -10-10 16 | 5/8" |10 5/8" - 14 12 545 |9 22,6 |30
L204C1 - 12 - 12 20 | 3/4" |12 3/4" - 14 15 575 |87 26,5 |32

PART B T EE:L ADAPTOR



FEEh—% B ADAPTOR iRk

R S

ADAPTORS

R £ S

ADAPTORS

METEIC
THREAD
BITE TYPE

AHIRER

-

2CN

1CM9-0G

2

&

ACMC-0G

ACCM-0G

ACM4-0G

1CH9-0G

METEIC
THREAD
BITE TYPE

AHIRER

3
=t

ACHC-0OG

ACCH-0OG

ACH4-0G

1CG9-0G

By =

il
ne'=s
| [y
13 p
bal

N

gg?;
%

&

ACGC-0OG

ACCG-0G

1C0O9-0G

s

181

i

-
{ ____;j%ﬁ :
ey

ol

ACOC-0OG

ACCO-0G

ACO4-0G

1C1

;HM

O

S0=

AC1

AC1-B

o
K ?.::’
i
. ""“.

2C4

[HLF

5CB-GDIC

7/CB-GDIC

=

25

1CW

1CW9

2CW

9C




R S

ADAPTORS

METEIC
THREAD
BITE TYPE

AHIRER

R £ S

ADAPTORS

4C

4M/AG

4H/4R

BSP
THREAD

TR BREL

BSP
THREAD

B BREL

"'77}1/////115-

Y
\\\\\\\\\\“‘ X

1BH4-0G

1BH9-0G

JIC
THREAD

SR AL

AJ 2J
[ ||'.f =’
2J9 4J 1JN 1JN4




R S

ADAPTORS

JIC
THREAD

SRAHIIREL

ll’lllz T
LT

R £ S

ADAPTORS

1JT9-SP

ﬁ%ﬂm

1JG4-0G 1JG9-0G
AJGJ-0G| AJIG-0OG 1JB-ED 1JF
@G b
_ L [ |
1JM-ED NB200 NB300 NB500

FLANGE
¥ 22

1CF-LK 1CF90-LK 1JFL
1JFL9 1JFS 1JFS9




UL S

ADAPTORS
A#l+FExR METRIC THREAD BITE TYPE
S, S,
] 1
== =
-
- . -
1C
1C HiEgk
------------ STRAIGHT FITTINGS
R EOS% | WMEME | | 4| s1 | s AIEH
PART NOMBER MPa TUBE O D. bar
1C-06L 06 39 10 12 14 315
1C-08L 08 40 11 14 17 315
1C-10L 10 42 13 17 19 315
1C-12L 12 43 14 19 22 315
1C-15L L 15 46 16 24 27 315
1C-18L 18 48 16 27 32 315
1C-22L 22 52 20 32 36 160
1C-28L 28 54 21 41 41 160
1C-35 35 63 20 46 50 160
1C-42L 42 66 21 55 60 160
1C-06S 06 45 16 14 17 630
1C-08S 08 47 18 17 19 630
1C-10S 10 49 17 19 22 630
1C-128 12 51 19 22 24 630
1C-14S s 14 57 22 24 27 630
1C-16S 16 57 21 27 30 400
1C-20S 20 66 23 32 36 400
1C-25S 25 74 26 41 46 400
1C-30S 30 80 27 46 50 400
1C-38S 38 90 29 55 60 315

R £ S

ADAPTORS
@B
A#l-&k%&R METRIC THREAD BITE TYPE
2 — :
P = | Xﬂf_jﬂ
@ b L o,
‘ Lo
1C9

1C9 HfEk

------------ 90°ELBOW FITTINGS
e EO%% | ®EMB | 5| o | so | s3] s3 AIES

PART NOMBER MPa TUBE O D. bar

1C9-06L 06 27 12.0 14 12 12 315
1C9-08L 08 29 14.0 17 14 12 315
1C9-10L 10 30 15.0 19 17 14 315
1C9-12L 12 32 17.0 22 19 17 315
1C9-15L 15 36 21.0 27 19 19 315
1C9-18L - 18 40 23.5 32 24 24 315
1C9-22L 22 44 27.5 36 27 27 160
1C9-28L 28 47 305 | 41 36 | 36 160
1C9-35L 35 56 34.5 50 41 41 160
1C9-42L 42 63 40.0 60 50 50 160
1C9-06S 06 31 16.0 17 14 12 630
1C9-08S 08 32 17.0 19 17 14 630
1C9-10S 10 34 17.5 22 19 17 630
1C9-128 12 38 21.5 24 22 17 630
1C9-14S 14 40 22.0 27 19 19 630
1C9-16S S 16 43 24.5 30 24 24 400
1C9-20S 20 48 26.5 36 27 27 400
1C9-25S 25 54 30.0 46 36 36 400
1C9-30S 30 62 35.5 50 41 41 400
1C9-38S 38 72 41.0 60 50 50 315




R £ S8

R, £ S

ADAPTORS
&5y B
A#l+ER METRIC THREAD BITE TYPE
S, A
—— —
T
A N2 &= klz
== &R ' L
|
AC

AC =ik

------------ EQUAL TEES
5 BAS% | @8R | |, | b | 5o | s3 | 53 | AWES

PART NOMBER MPa TUBE O D. bar

AC-06L 06 27 12.0 14 12 12 315
AC-08L 08 29 14.0 17 14 12 315
AC-10L 10 30 15.0 19 14 14 315
AC-12L 12 32 17.0 22 17 17 315
AC-15L 15 36 21.0 27 19 19 315
AC-18L - 18 40 23.5 32 24 24 315
AC-22L 22 44 275 36 27 27 160
AC-28L 28 47 30.5 41 36 36 160
AC-35L 35 56 345 50 41 41 160
AC-42L 42 63 40.0 60 50 50 160
AC-06S 06 31 16.0 17 14 12 630
AC-08S 08 32 17.0 19 14 14 630
AC-10S 10 34 17.5 22 17 17 630
AC-12S 12 38 21.5 24 17 17 630
AC-14S 14 40 22.0 27 19 19 630
AC-16S S 16 43 24.5 30 24 24 400
AC-20S 20 48 26.5 36 27 27 400
AC-25S8 25 54 30.0 46 36 36 400
AC-30S 30 62 35.5 50 41 41 400
AC-38S 38 72 41.0 60 50 50 315

ADAPTORS
| e
A#REx, METRIC THREAD BITE TYPE
|
1
XC

XC WG

------------ CROSS FITTINGS
RS EF1%% ME I L2 2 2 | s3 AHIES

PART NOMBER MPa TUBE O D. bar

XC-06L 06 27 12.0 14 12 315
XC-08L 08 29 14.0 17 12 315
XC-10L 10 30 15.0 19 14 315
XC-12L 12 32 17.0 22 17 315
XC-15L 15 36 21.0 27 19 315
XC-18L L 18 40 23.5 32 24 315
XC-22L 22 44 27.5 36 27 160
XC-28L 28 47 30.5 41 36 160
XC-35L 35 56 34.5 50 41 160
XC-42L 42 63 40.0 60 50 160
XC-06S 06 31 16.0 17 12 630
XC-08S 08 32 17.0 19 14 630
XC-10S 10 34 17.5 22 17 630
XC-12S 12 38 21.5 24 17 630
XC-14S 14 40 22.0 27 19 400
XC-16S S 16 43 24.5 30 24 400
XC-20S 20 48 26.5 36 27 400
XC-25S8 25 54 30.0 46 36 315
XC-30S 30 62 35.5 50 41 315
XC-38S 38 72 41.0 60 50 315




B-—uB

A#EER METRIC THREAD BITE TYPE

B-nws
AHEER METRIC THREAD BITE TYPE

S3

Dy

E=

i |
1

Dz

Ly
1C
1C HiBEZ gk
------------ STRAIGHT REDUCERS
4 BEN%8 m@ﬁggyg@ L1 L1 | s1 | s2 | s3 | AFIED

PART NOMBER MPa D1 D2 bar
1C-08-06S 08 06 | 47 18.0| 17| 17| 19| 630
1C-10-06S 10 06 | 48 175| 19| 17|22 | 630
1C-10-08S 10 08 | 48 175| 19| 19|22 | 630
1C-12-06S 12 06 50 195 | 22| 17|24 | 630
1C-12-08S 12 08 50 195| 22| 19|24 | 630
1C-12-10S 12 10 51 190 | 22| 22|24 | 630
1C-14-10S 14 10 54 205 | 24| 22|27 | 630
1C-14-12S 14 12 54 205 | 24| 24|27 | 630
1C-16-10S 16 10 54 200| 27| 22|30 | 400
1C-16-12S S 16 12 54 200| 27| 24|30 | 400
1C-16-14S 16 14 57 215| 27| 27|30 | 400
1C-20-10S 20 10 60 220| 32| 22|36 | 400
1C-20-12S 20 12 60 220| 32| 24|36 | 400
1C-20-16S 20 16 63 230| 32| 30|36 | 400
1C-25-16S 25 16 68 255 | 41| 30|46 | 400
1C-25-20S 25 20 71 255 | 41| 36|46 | 400
1C-30-20S 30 20 74 260 | 46| 36|50 | 400
1C-30-25S 30 25 77 265| 46| 46 | 50 | 400
1C-38-30S 38 30 87 295| 55| 50|60 | 315

SS S1 82
|
| |
sl — L
\? ) 7 \
— IE —
- » =
1C
1C HilZaEk
------------ STRAIGHT REDUCERS
5 EN58 ’B)ﬂg“%ﬁé’é L1 L1 S1 S2 | S3 AL
PART NOMBER MPa ’ bar
1C-08-06L 08 06 40 11.0 14 14 | 17 | 315
1C-10-06L 10 06 41 12.0 17 14 | 19 | 315
1C-10-08L 10 08 41 12.0 17 17 | 19 | 315
1C-12-06L 12 06 42 13.0 19 14 | 22 | 315
1C-12-08L 12 08 42 13.0 19 17 | 22 | 315
1C-12-10L 12 10 43 14.0 19 19 | 22 | 315
1C-15-10L 15 10 45 15.0 24 19 | 27 | 315
1C-15-12L 15 12 45 15.0 24 22 | 27 | 315
1C-18-10L 18 10 46 155 27 19 | 32 | 315
1C-18-12L L 18 12 46 15.5 27 22 | 32 | 315
1C-18-15L 18 15 48 16.5 27 27 | 32 | 315
1C-22-12L 22 12 48 17.5 32 22 | 36 | 160
1C-22-15L 22 15 50 18.5 32 27 | 36 | 160
1C-22-18L 22 18 50 18.0 32 32 | 36 | 160
1C-28-18L 28 18 52 19.0 41 32 | 41 160
1C-28-22L 28 22 54 21.0 41 36 | 41 160
1C-35-22L 35 22 59 21.0 46 36 | 50 | 160
1C-35-28L 35 28 59 21.0 46 41 | 50 | 160
1C-42-35L 42 35 66 215 55 50 | 60 | 160




R £ S

R £ S

ADAPTORS ADAPTORS
it it =
A#EZR METRIC THREAD BITE TYPE AtlE#ER, METRIC THREAD BITE TYPE
! s & ,/s. " 8
S A e
5| g Il g
. § - N7 =T -
# g
{ B Y
-D’-
il "' b
L ' L
AC =ER ARk AC
------------ TEE REDUCERS AC =Rk
7\ —— TEE REDUCERS
e B messe il x
PART ko @O D. L1 | L2 | L3, 1 | 12|13 [sS1|s2|83|s4| & sy EH RS &
NOMBER | \jpg | D1 D2 D3 7 PART g @0 D. L1 | L2 | L3, 1M | 12| 13 ]81|S2|8S3|s4| &
bar NOMBER | ppa | D1 D2 D3 71
AC-06-08-06L 06| 08|06| 29| 20| 29|140 | 140 |140| 14| 17| 14| 14| 315 e
AC-08-06-08L 08| 06|08| 29| 29| 29|14.0 |140 | 140| 17| 14| 17| 14| 315 AC18-10-10L 18| 10[10| 40| 39| 39|235|240 |240| 32| 19| 19| 24315
AC-06-10-06L 06| 10|06| 30| 30| 30|150|150 | 150| 14| 19| 14| 14| 315 AC18-10-18L 18| 10[18| 40| 40| 39|235|235|240| 32| 19| 32| 24315
AC-08-10-08L 08| 10|08| 30| 30| 30|150|150 | 150| 17| 19| 17| 14| 315 AC18-12-18L 18| 12| 18| 40| 40| 39|235|235 |240| 32| 22| 32| 24315
AC-10-06-10L 10| 06/10| 30| 30| 30|150 150 [150| 19| 14| 19| 14| 315 AC18-15-18L 18| 15[18| 40| 40| 39|235|235|240| 32| 27| 32| 24315
AC-10-08-10L 10| 08|10| 30| 30| 30|15.0(150 | 150| 19| 17| 19| 14| 315 AC18-18-10L 18| 18[10| 40| 39| 40|235|240 |235| 32| 32| 19| 24315
AC-10-10-06L 10| 10/06| 30| 30| 30|150 150 [150| 19| 19| 14| 14| 315 AC22-10-22L 22| 10| 22| 44| 44| 43|275|275|280| 36| 19| 36| 27| 160
AC-08-12-08L 08| 12]08| 32| 32| 32[170|17.0 |170| 17| 22| 17| 17| 315 AC22-12-22L 22| 12| 22| 44| 44| 43|275|275|280| 36| 22| 36| 27| 160
AC-12-06-12L 12| 06|12 | 32| 32| 32|17.0|17.0 | 170| 22| 14| 22| 17| 315 AC22-15-15L 22| 15|15| 44| 43| 43|275|280 |280| 36| 27| 27| 27| 160
AC-12-08-08L 12| 08|08| 32| 32| 32|17.0|170 170 22| 17| 17| 17| 315 AC22-1522L | 22| 15|22| 44| 44| 43|275|275|280| 36| 27| 36| 27| 160
AC-12-08-12L | 12| 08|12| 32| 32| 32|17.0|17.0 | 170| 22| 17| 22| 17| 315 AC22-18-18L 22| 18|18| 44| 44| 44|275|275|275| 36| 32| 32| 27| 160
AC-12-10-10L 12| 10|10| 32| 32| 32|17.0|17.0 | 170| 22| 19| 19| 17| 315 AC22-18-22L 22| 18| 22| 44| 44| 44|275|275|275| 36| 32| 36| 27| 160
AC-12-10-12L 12 10|12| 32| 32| 32170170 |[170| 22| 19| 22| 17| 315 AC22-22-18L 22| 22|18| 44| 44| 44|275|275|275| 36| 36| 32| 27| 160
AC-12-12-10L 12| 12]10| 32| 32| 32|17.0|17.0 | 170| 22| 22| 19| 17| 315 AC28-10-28L 28| 10[28| 47| 47| 46|305|305|310| 41| 19| 41| 36| 160
AC-10-15-10L 10| 15/10| 36| 36| 36|21.0 210 (210 19| 27| 19| 19| 315 AC28-12-28L 28| 12| 28| 47| 47| 46|305 305 |310| 41| 22| 41| 36| 160
AC-12-15-12L 12| 15/12| 36| 36| 36|21.0|210 |210| 22| 27| 22| 19] 315 AC28-15-28L 28| 15[28| 47| 47| 46|305|305|310| 41| 27| 41| 36| 160
AC-15-06-15L 15| 06|15| 36| 36| 36|21.0|210 |21.0| 27| 14| 27| 19| 315 AC28-18-28L 28| 18|28| 47| 47| 47|305|305|305| 41| 32| 41| 36| 160
AC-15-10-15L 15 10|15| 36| 36| 36|21.0 210 (210 27| 19| 27| 19| 315 AC28-22-22L 28| 22| 22| 47| 47| 47|305|305|305| 41| 36| 36| 36| 160
AC-15-12-12L 15 12/12| 36| 36| 36|21.0|210 210 27| 22| 22| 19] 315 AC28-22-28L 28| 22(28| 47| 47| 47|305|305|305| 41| 36| 41| 36| 160
AC-15-12-15L 15| 12|15| 36| 36| 36|21.0|210 |21.0| 27| 22| 27| 19| 315
AC-15-15-12L 15| 15/12| 36| 36| 36|21.0|210 210 27| 27| 22| 19| 315
AC-12-18-12L 12| 18|12| 39| 39| 40|24.0|240 [235| 22| 32| 22| 24| 315




B-5%s

AElEER METRIC THREAD BITE TYPE

B-% s
AE]EER METRIC THREAD BITE TYPE

- S &
—y & —
4 11 g
! ) xﬂ ¥ 2 =
| s 7
Dl
— T -—‘--Izn—
L Lz
AC
AC =@k
------------ TEE REDUCERS
/A\
fg BN e 1
PART 377 @0 D. L1 | L2 | L3 | 2 | 13 | S1|S2|S3 | S4 | &
NOMBER | \pa | D1 D3 A
bar
AC10-06-10S 10| 06|10| 34| 34| 33175175180 | 22| 17| 22| 17| 630
AC12-08-08S 12| 08|08| 38| 37| 37[215[220(220| 24| 19| 19| 17 630
AC12-08-128 12| 08|12 38| 38| 37|215|215[22.0| 24| 19| 24| 17| 630
AC12-10-12S 12| 10|12| 38| 38| 38(215(215|215| 24| 22| 24| 17 630
AC12-16-12S 12| 16 |12| 42| 42| 43|255(255|245| 24| 30| 24| 24| 400
AC16-06-16S 16| 06 |16| 43| 43| 41(245(245(260| 30| 17| 30| 24| 400
AC16-08-16S 16| 08 |16| 43| 43| 41[245|245(260| 30| 19| 30| 24| 400
AC16-10-16S 16| 10| 16| 43| 43| 42|245|245[255| 30| 22| 30| 24| 400
AC16-12-16S | S 16| 12|16 | 43| 43| 42(245|245|255| 30| 24| 30| 24| 400
AC16-20-16S 16| 20|16| 47| 47| 48|285(285|265| 30| 36| 30| 27| 400
AC20-10-20S 20| 10| 20| 48| 48| 46|265|265(295| 36| 22| 36| 27| 400
AC20-12-20S 20| 12| 20| 48| 48| 46|265|265(295| 36| 24| 36| 27| 400
AC20-16-20S 20| 16|20| 48| 48| 47|265|265(285| 36| 30| 36| 27| 400
AC20-25-20S 20| 25|20| 53| 53| 54|315|315[30.0| 36| 46| 36| 36| 400
AC25-16-25S 25| 16|25| 54| 54| 52|30030.0[335| 46| 30| 46| 36| 400
AC25-20-25S 25| 20| 25| 54| 54| 53|30030.0([315| 46| 36| 46| 36| 400
AC25-30-25S 25| 30|25| 61| 61| 62|37.0|37.0[355| 46| 50| 46| 41| 400

& 5| —4 Foolo ¢
4*7 L || \ous
¥ L
oz /) =
3C
3 e YT
------------ COMBINED REDUCERS
- m | WEHIR N

PART/FIEJO%M BER E,{:.iﬁ 20D | C G2 L L2 st s ﬁﬁjaﬂryj
3C-06L 06 | 06 | M12x15 | M12x15 | 33 | 32| 14| 14 315
3C-08L 08 | 08 | M14x15 | M14x15 | 33| 32| 1717 315
3C-10L 10 | 10 | M16x15 | M16x15 | 34 | 33| 19 19 315
3C-12L 12 | 12 | M18x15 | M18x15 | 34| 33| 22 22 315
3C-15L 15 | 15 | M22x15 | M22x15 | 39 | 38| 27|27 315
3C-18L " [ 18 | 18 | M26x15 | M2exts | 41| 39| 32| 32 315
3C-22L 22 | 22 [M30x2 | M3ox2 | 44| 42| 3636 160
3C-28L 28 | 28 |M36x2 | M36x2 | 48 | 46| 41| 41 160
3C-35L 35 | 35 | M45x2 | M45x2 | 52 | 48| 50| 50 160
3C-42L 42 | 42 |mMs2x2 | Ms22 | 57| 52| 60| 60 160
3C-06S 06 | 06 | M14x15 | M14x15 | 33 | 32| 2717 630
3C-08S 08 | 08 |M16x15 | M16x15 | 34 | 33| 27| 19 630
3C-10S 10 | 10 | M18x15 | M18x15 | 35 | 33| 2722 630
3C-12S 12 | 12 | M20x15 | M20x15 | 38| 36| 32| 19 630
3C-14S 14 | 14 | M22x15 | M12x15 | 41| 39| 32|22 630
3C-16S > 6 | 16 | M2axt5 | M2axis | 42 | 39| 32|27 400
3C-20S 20 | 20 |M36x2 | M30x2 | 48| 44| 3230 400
3C-25S 25 | 25 |M36x2 | M36x2 | 53 | 46| 36| 22 400
3C-30S 30 | 30 |M42x2 | Ma2 | 62| 52| 3627 400
3C-38S 38 | 38 | M52 | M52 | 67| 52| 3632 400




ADAPTORS
it ! Wi ws
A#|E2R METRIC THREAD BITE TYPE A#|E2R METRIC THREAD BITE TYPE
S; 5 S,
lﬁ"T = _‘_ |
-2 EL I 1 ; &
4.
onE
L1
2C
2C XHER R L
------------ REDUCER TUBE ADAPTOR
2C E S Tz SN re | BV mese N
............ REDUCER TUBE ADAPTOR PART &% | @OD. d1 L1 | 11 | s1|S2| s3 OZY E7
N NOMBER | ypg | D1 D2 bar
JEET iz !mg%g&g& 41 Ul st so | s3 ORI E 2C-28L-16S | LS| 28| 16| maclllMl 545|365 32 | 41| 30 | OR26.0x2.0| 160
NOMBER | ypa | D1 D2 5 262818 | | 28| 18| M36x2 |520(365|32 | 41| 32 | OR26.0x20| 160
bar 2C-28-22L 28| 22| M36x2 | 540|375)32 | 41| 36 | OR26.0x2.0| 160
| 2C-08-06L | 08| 06| M14x1.5 380123512 | 17| 14| OR6.5X15 | 315 2C28L-255 | LS| 28| 25| m3clM 620 | 380 |41 | 41| 46 | OR26.0x20| 160
| 2C-10-06L | 10| 06| M1cHEMEM | 400 250| 14 | 19| 14| OR8.OX15 | 315 2C-35-06L 35| 06| M45x2 | 52.0|370|41 | 50| 14 | OR32.0X2.5| 160
 2C-10-08L | 10| 08| M16x1.5 4001250 14 | 19| 17 OR8.0X15 | 315 2C-35-08L 35| 08| M4sx2 | 520|370[41 | 50| 17 | OR32.0x25| 160
| 2C-12-06L | 12| 06| M1GHEMEM | 400|250| 17 | 22| 14| OR10.0X15] 315 2C-35-10L 35| 10| m4siM 530 380|41 | 50| 19 | OR32.0Xx2.5| 160
| 2C-12-08L 12| 08| M1cHEMN 400|250 | 17 | 22| 17| OR10.0X15] 315 2035-12L | L | 35| 12| M45x2 | 53.0(380|41 | 50| 22 | OR32.0x25| 160
| 2C-12-10L | 12| 10| M1SHENM | 41026017 | 22| 19| OR10.0X15] 315 2C-35-15L 35| 15| M4sHE 54039041 | 50| 27 | OR320x25| 160
| 2C-15-06L | 15| 06| M22J | 430 285|19 | 27| 14| OR120X20] 315 2C-35-18L 35| 18| M4sH 550 | 385|41 | 50| 32 | OR32.0x25| 160
| 2C-15-08L 15 08| M22x15 1430|285/ 19 | 27| 17| OR12.0X20 315 2C-35-22L 35| 22| M4sHEM 570 405| 41 | 50| 36 | OR32.0X2.5| 160
2C-15-10L 15| 10| M22x1.5 4401295|19 | 27| 19| OR12.0X2.0] 315 2c-35L255 | L/s| 35| 25| masi 640 | 400| 41 | 50| 46 | OR32.0x25| 160
2C-15-12L 15| 12| M22x1.5 440|295]19 | 27| 22| OR12.0x2.0| 315 2035260 | L | 35| 28| Masll 570 | 405| 41 | 50| 41 | ORs2.0x25] 160
2C-18-06L 18| 06| M26x1.5 430/280]24 | 32| 14| OR15.0X2.0) 315 2c-35L-30S | L/s| 35 30| masi 680 | 415|46 | 50| 50 | OR32.0x25| 160
2C-18-08L 18| 08| M26x1.5 430|280] 24 | 32| 17| OR15.0x2.0 | 315 2CA210L 42| 10| o 560 | 41550 | 60| 19 | ORS8.OX25| 160
2c48-10L | | 18] 10| M26x15 440 290] 24 | 32| 19| OR15.0x2.0 315 2CA219L 42| 12| msol 560 | 415| 50 | 60| 22 | OR8.OX25| 160
2C-18-12L 18| 12| M26x1.5 440|290] 24 | 32| 22| OR15.0x2.0 315 2Ca215L 42| 15| Mo 580 | 425| 50 | 60| 27 | OR3B.0X25| 160
2C-18-15L 18| 15| M26x1.5 450|300| 24 | 32| 27| OR15.0x2.0| 315 scaztsl | b a2 18 vs2B 560 | 420 | 50 | 60| 32 | OR3B.OX25| 160
2C-22-06L 22| 06| M30x2 470|320] 27 | 36| 14| OR20.0x2.0| 160 2C4299L 42| 22| ol 60.0| 440 50 | 60| 36 | ORB8.0X25| 160
2C-22-08L 22| 08| M30x2 470 320]27 | 36| 17| OR20.0x2.0| 160 2C42.28L 42| 26| Mo 610 | 440 50 | 60| 41 | ORS8.OX25| 160
2C-22-10L 22| 10| M30x2 480)330127 | 36| 19| OR20.0x2.0) 160 2c-420308 | Ls| 42 30| ms2llll 705| 440|50 | 60| 50 | OR38.0Xx25| 160
2C-22-12L 22| 12| M30x2 480[330]27 | 36| 22| OR20.0x2.0| 160 2042350 | L | 42| 35| ms2B 650 | 430 | 50 | 60| 50 | OR3B.0X25| 160
2C-22-15L 22| 15| M30x2 490/340]27 | 36| 27| OR20.0x2.0) 160 2Cc-421-385 | Lis| 42| 38| M52l 76.0 | 45555 | 60| 60 | OR38.0X2.5| 160
2C-22-18L 22| 18] M30x2 500 335|27 | 36| 32| OR20.0x2.0] 160
2C-28-06L 28| 06| M36x2 49034032 | 41| 14| OR26.0x2.0| 160
2C-28-08L 28| 08| M36x2 490|340(32 | 41| 17| OR26.0x2.0| 160
2C-28-10L 28| 10| M36x2 500 350|32 | 41| 19| OR26.0x2.0]| 160
2C-28-12L 28| 12| M36x2 50035032 | 41| 22| OR26.0x2.0] 160
2C-28-15L 28| 15| M36x2 51036032 | 41| 27| OR26.0x2.0]| 160




R £ S

HEEX

ADAPTORS
@-5—% B
A#lFER METRIC THREAD BITE TYPE
a

2C R Rk

------------ REDUCER TUBE ADAPTOR
5 Ehsg | WEIME AHIES
PART @0 D. d1 L1 11 S1 | S2 | S3 ORI
NOMBER MPa DI D2 By
2C-08-06S 08 06 M16x1.5 42.0 27.0 14 19 17 | OR6.5X1.5 630
2C-10-06S 10 06 M18x1.5 42.0 27.5 17 22 17 | OR8.0X1.5 630
2C-10-08S 10 08 M18x1.5 42.0 27.5 17 22 19 | OR8.0X1.5 630
2C-12-06S 12 06 M20x1.5 44.0 29.0 17 24 17 | OR10X1.5 630
2C-12-10S 12 10 M20x1.5 46.0 29.5 19 24 22 | OR10.0X1.5 630
2C-14-06S 14 06 M22x1.5 46.0 315 19 27 17 | OR11.0X2.0 630
2C-14-08S S 14 08 M22x1.5 46.0 31.5 19 27 19 | OR11.0X2.0 630
2C-14-10S 14 10 M22x1.5 47.0 31.0 19 27 22 | OR11.0X2.0 630
2C-14-128 14 12 M22x1.5 47.0 31.0 22 27 24 | OR11.0X2.0 630
2C-16-06S 16 06 M24x1.5 47.0 32.0 22 30 17 | OR13.0X2.0 400
2C-16-08S 16 08 M24x1.5 47.0 32.0 22 30 19 | OR13.0X2.0 400
2C-16-10S 16 10 M24x1.5 48.0 31.5 22 30 22 | OR13.0X2.0 400
2C-16-12S 16 12 M24x1.5 48.0 31.5 22 30 24 | OR13.0X2.0 400
2C-16-14S 16 15 M24x1.5 47.0 32.0 24 30 27 | OR13.0X2.0 315
2C-16S-15L S/L 16 14 M24x1.5 51.0 33.0 24 30 27 | OR13.0X2.0 400
2C-20-06S 20 06 M30- 51.0 36.0 27 36 17 | OR16.3X2.4 400
2C-20-08S 20 08 M30x2 51.0 36.0 27 36 19 | OR16.3X2.4 400
2C-20-10S S 20 10 M30x2 52.0 35.5 27 36 22 | OR16.3X2.4 400
2C-20-12S 20 12 M30x2 52.0 35.5 27 36 24 | OR16.3X2.4 400
2C-20-14S 20 14 M30x2 55.0 37.0 27 36 27 | OR16.3X2.4 400
2C-20-16S 20 16 M30x2 55.0 36.5 27 36 30 | OR16.3X2.4 400
2C-20S-18L S/L 20 18 M30x2 51.0 355 27 36 32 | OR16.3X2.4 315
2C-25-06S 25 06 M36x2 53.0 38.5 32 46 17 | OR20.3X2.4 400
2C-25-08S 25 08 M36x2 53.0 38.5 32 46 19 | OR20.3X2.4 400
2C-25-10S S 25 10 M36x2 54.0 38.0 32 46 22 | OR20.3X2.4 400
2C-25-12S 25 12 M36x2 54.0 38.0 32 46 24 | OR20.3X2.4 400
2C-25-14S 25 14 M36x2 57.0 39.5 32 46 27 | OR20.3X2.4 400

ADAPTORS
&
A#REx, METRIC THREAD BITE TYPE
S, S Ss
® 5

2C WNERE R L
------------ REDUCER TUBE ADAPTOR

RE BT | mese ABIE S

PART %% | QOD. d1 L1 | 11 | S1 | S2 | s3 Ol & i
NOMBER | ypa | D1 D2
2C-25-16S S 25 | 16 | M36X2 57.039.0| 32| 46| 30| OR20.3X2.4 400
2C-25S-18L | S/L | 25| 18 | M36x2 54.0 | 38.0 | 32| 46| 32| OR20.3X2.4 315
2C-25-20S S 25 | 20 | M3 610|390 | 32| 46| 36| OR20.3X2.4 400
2c258-22L | s/iL| 25| 22 | m3cl 560 | 400 | 32| 46| 36| OR20.3X2.4 160
2C-30-06S 30 | 06 | M42x2 590 | 440 | 41| 50| 17 | OR?25.3X2.4 400
2C-30-08S 30 | 08 | M42x2 500|440 | 41| 50| 19| OR25.3X2.4 400
2C-30-10S 30 | 10 | M42x2 60.0 | 435 | 41| 50| 22| OR25.3X2.4 400
2C-30-12S S 30 | 12 | M42x2 60.0 | 435 | 41| 50| 24| OR25.3X2.4 400
2C-30-14S 30 | 14 | M42x2 63.0 | 450 | 41| 50| 27 | OR25.3X2.4 400
2C-30-16S 30 | 16 | M42x2 63.0 | 445| 41| 50| 30| OR25.3X2.4 400
2C-30-20S 30 | 20 | M42x2 66.0 | 445 | 41| 50| 36| OR25.3X2.4 400
2C-30S-22L | S/L | 30| 22 | M42x2 610|455 | 41| 50| 36| OR25.3X2.4 160
2C-30-25S ) 30 | 25 | M42x2 69.0 | 450 | 41| 50 | 46 | OR25.3X2.4 400
2C-30S-28L | S/L | 30| 28 | M42x2 62.0 | 455 | 41| 50| 41| OR25.3X2.4 160
2C-38-06S 38 | 06 | M52x2 62.0 | 475 | 50| 60| 17 | OR33.3X2.4 315
2C-38-08S 38 | 08 | M52x2 62.0 | 475 | 50| 60| 19 | OR33.3X2.4 315
2C-38-10S 38 | 10 | M52x2 63.0 | 47.0| 50| 60| 22| OR33.3X2.4 315
2C-38-12S s 38 | 12 | M52x2 63.0 | 47.0| 50 | 60| 24| OR33.3X2.4 315
2C-38-14S 38 | 14 | M52x2 66.0 | 485 | 50 | 60 | 27 | OR33.3X2.4 315
2C-38-16S 38 | 16 | M52x2 66.0 | 480 | 50 | 60 | 30 | OR33.3X2.4 315
2C-38-20S 38 | 20 | M52x2 70.0 | 48.0 | 50 | 60 | 36| OR33.3X2.4 315
2C-38-25S 38 | 25 | M52x2 73.0 | 485 | 50| 60| 46| OR33.3X2.4 315
2C-38S-28L | S/L | 38| 28 | M52x2 65.0 | 490 | 50 | 60 | 41| OR33.3X2.4 160
2C-38-30S ) 38 | 30 | M52x2 76.0 | 49.0 | 50 | 60 | 50 | OR33.3X2.4 315
2C-38S-35L | S/L | 38| 35| M52x2 69.0 | 48.0| 50 | 60 | 50 | OR33.3X2.4 160




Wi &0 s
A#l+kZEx METRIC THREAD BITE TYPE A#l+&ZExX METRIC THREAD BITE TYPE

S,
Y kﬁ 1 [ EJLqE(_H

=

M

qﬁﬂ_ 7 ! L . D -
-2 L, sl b
s gy e
L g =
6C9
6C 6C9 HARRAEL
6C HEmRLEL e 90°ELBOW BULKHEAD FITTINGS
AS
STRA|G;|'%E;LKHEAD FITTINGS o &5 %iﬁ; %\[J
5 s 7 M A1l PART | %z | JME M | S2|S3|s4|L2| 12 L3 I3 |I5 d2| &
PART B% | lee S1|s2|s4a |1 | 1 |L3| 13| EH NOMBER | \pa ngE 5
NOMBER MPa oD. bar : bar
6C-06L 06 M12x1.5 17 141 171 221 7.0 42 | 2701 315 6C9-06 06 M12x1.5 | 14 |12 |17 |27 | 12.0 |42 | 270 |14 |17 | 315
6C- 08L 08 M14x1.5 19 171 19| 23| 80 42 [ 270 315 6C9-08L 08 M14x1.5 |17 |12 |19 |29 | 14.0 |42 | 270 |17 |19 | 315
6C-10L 10 M16x1.5 22 19| 221 251100 43 | 28.0| 315 6C9-10L 10 M16x1.5 |19 |14 |22 |30 | 150 |43 | 280 | 18 | 22 315
6C-12L 12 M18x1.5 24 221 24| 251|100 44 | 29.0 | 315 6C9-12L 12 M18x1.5 |22 |17 |24 |32 |17.0 |44 | 290 | 20 | 24 315
6C-15L 15 M22x1.5 27 27 301 271120 46 | 31.0| 315 6C9-15L L 15 M22x1.5 |27 |19 |30 |36 |21.0 |46 | 310 | 23 | 27 315
6C-18L L 18 M26x1.5 32| 32| 36| 30| 135 49 | 325| 315 6C9-18L 18 M26x1.5 |32 |24 |36 |40 | 235 |49 | 325 |24 |32 | 315
6C-22L 22 M30x2 36 36| 41 33| 165 51| 34.5| 160 6C9-22L 22 M30x2 36 |27 |41 |44 | 275 |51 | 345 |30 | 36 160
6C-28L 28 M36x2 41 41 46| 35| 185 52 | 355! 160 6C9-28L 28 M36x2 41 |36 |46 |47 | 305 |52 | 355 |34 |42 | 160
6C-35L 35 M45x2 50| 50| 55| 40| 185 58 | 36.5| 160 6C9-35L 35 M45x2 50 |41 |55 |56 | 345 |58 | 365 |39 |50 | 160
6C-42L 42 M52x 2 60 60 65| 421 19.0 59 | 36.0 | 160 6C9-42L 42 M52x2 60 |50 |65 |63 |40.0 |59 |36.0 |43 |60 160
6C-06S 06 M14x1.5 19 17 19| 271120 44 | 290 | 630 6C9-06S 06 M14x1.5 |17 (12 |19 |31 | 16.0 |44 | 290 |17 |19 | 630
6C-08S 08 M16x1.5 22 19| 22| 281|130 44 | 29.0 | 630 6C9-08S 08 M16x1.5 |19 |14 |22 |32 | 170 |44 | 29.0 |18 |22 | 630
6C-10S 10 M18x1.5 24| 22| 24| 31| 145 46 | 295 | 630 6C9-10S 10 M18x1.5 |22 |17 |24 |34 | 175 |46 | 295 |20 |24 | 630
6C-12S 12 M20*1 5 271 24| 27| 31| 145 47 1 305 | 630 6C9-12S 12 M20*1.5 |24 |17 |27 |38 | 215 |47 | 305 |21 |27 | 630
6C-14S 14 M22x1.5 30 27 30 35| 17.0 50 | 32.0 | 630 6C9-14S S 14 M22x1.5 |27 |19 |30 |40 | 220 |50 | 320 |23 |27 | 630
6C-16S S 16 M24x1.5 321 30| 32| 35| 165 50 | 31.5| 400 6C9-16S 16 M24x1.5 |30 |24 |32 |43 | 245 |50 | 315 |24 |30 | 400
6C-20S 20 M30x2 41 36| 41 39 | 175 55 | 33.5 | 400 6C9-20S 20 M30x2 36 |27 |41 |48 | 265 |55 | 335 |30 |36 | 400
6C-25S8 25 M36x2 46| 46| 46| 44| 200 59 | 35.0 | 400 6C9-25S 25 M36x2 46 |36 |46 |54 |30.0 |59 |350 |34 |42 | 400
6C-30S 30 M42x2 50 50| 50| 481|215 64 | 3751 400 6C9-30S 30 M42x2 50 |41 |50 |62 | 355 |64 | 375 |39 |50 | 400
6C-38S 38 M52x2 65| 60| 65! 53220 68| 370 315 6C9-38S 38 M52x2 60 |50 |65 |72 |410 |68 |37.0 |43 |60 | 315




R £ S

ADAPTORS
| e
A#+&%Ex METRIC THREAD BITE TYPE
S, S,
I -
S| O t
] 7 2
T
"
1CH-ED
ICH-ED BBk -A RS EDRY 3 i %5 5t
------------ METRIC THREAD WITH ED CAPTIVE SEALING( 1SO 99741 -1)
K5 EA%ER | WEIZE - TR e | e | e AHIES
PART NOMBER | Mpa | TUBE O D. bar
1CH-06L-10ED 06 M10x1 23| 85 | 8 14| 14| 14 315
1CH-08L-12ED 08 M12x15| 25| 10.0 | 12 17| 17| 17 315
1CH-10L-12ED 10 M12x1.5| 26| 11.0 | 12 19| 17| 17 315
1CH-10L-14ED 10 M14x1.5| 26| 11.0 | 12 19| 19| 19 315
1CH-10L-16ED 10 M16x15 | 24| 125 | 12 19| 22| 22 315
1CH-10L-18ED 10 M18x15 | 27| 125 | 12 19| 24| 24 315
1CH-10L-22ED 10 M22x15 | 29| 14.0 | 14 19| 27| 27 315
1CH-12L-14ED 12 M14x15| 26| 11 |12 22| 19| 19 315
1CH-12L-16ED 12 M16x15 | 27| 125 | 12 22| 22| 22 315
1CH-12L-18ED 12 M18x1.5 | 27| 125 | 12 22| 24| 24 315
1CH-12L-22ED L 12 M22x1.5 | 29| 14.0 | 14 22| 27| 27 315
1CH-15L-16ED 15 M16x15| 28| 13 |12 27| 24| 22 315
1CH-15L-18ED 15 M18x1.5| 29| 135 | 12 27| 24| 24 315
1CH-15L-22ED 15 M22x1.5| 30| 15.0 | 14 27| 27| 27 315
1CH-18L-22ED 18 M22x15 | 31| 145 | 14 32| 27| 27 315
1CH-18L-18ED 18 M18x1.5| 30| 14.0 | 12 32| 27| 24 315
1CH-22L-26ED 22 M26x1.5 | 33| 16.5 | 16 36| 32| 32 160
1CH-22L-22ED 22 M22x1.5 | 33| 16.5 | 14 36| 32| 32 160
1CH-28L-33ED 28 M33x2 341175 |18 | 41| 41| 40 160
1CH-35L-42ED 35 M42x2 39 (175 | 20 50| 50| 50 160
1CH-42L48ED 42 M48x2 42 19.0 | 22 60| 55| 55 160

8w
A#lk2ER METRIC THREAD BITE TYPE

S, S,

|
b —
5| o
B —jh_

—an |_1 —

1CH-ED
1CH-ED BB K- A B MR S EDRY 3 i 25
------------ METRIC THREAD WITH CAPTIVE SEAL(1SO 9974 -1)

=] L 4] &5 b4 A o
RE EASE | NEIZE . ¥ " e e | e AHIES

PART NOMBER Mpa | TUBE OD. bar
1CH-06S-12ED 06 M12x15| 28| 13.0 | 12 17 17| 17 630
1CH-06S-14ED 06 M14x1.5| 30| 15.0 | 12 171 19| 19 630
1CH-08S-14ED 08 M14x15| 30| 15.0 | 12 19| 19| 19 630
1CH-10S-16ED 10 M16x15| 31| 15.0 | 12 22| 22| 22 630
1CH-12S-18ED 12 M18x1.5| 33| 17.0 | 12 24| 24| 24 630
1CH-12S-14ED 12 M14x15| 33| 16.5 | 12 24| 22| 19 630
1CH-12S-22ED S 12 M22x15| 34| 175 | 14 24| 27| 27 630
1CH-14S-20ED 14 M20x1.5| 37| 19.0 | 14 27| 27| 26 630
1CH-16S-22ED 16 M22x15| 371|185 | 14 30| 27| 27 400
1CH-16S-18ED 16 M18x1.5| 36| 18.0 | 12 30| 27| 24 400
1CH-20S-27ED 20 M27x2 42 | 205 | 16 36| 32| 32 400
1CH-25S-33ED 25 M33x2 47 | 23.0 | 18 46| 41| 40 400
1CH-30S-42ED 30 M42x 2 50 | 23.5 | 20 50| 50| 50 400
1CH-38S-48ED 38 M48x 2 57 | 26.0 | 22 60| 55| 55 315




R £ S

R £ S

ADAPTORS
@B
A#&%Ex, METRIC THREAD BITE TYPE
84 Sz

I

S| o A

v

I
-~
1Ch
1Ch BHiR Bk ARG ORI B % £
------------ METRIC THREAD WITH O’ RING SEAL ( ISO 6149-1)
E
ke | N | BE AWIE
PART & e G S1|S2 | L1 | I i d3 OZ!E 71
NOMBER | g T(;JBE bar
Mpa

1Ch-06L 06 M 10x1 14| 14|23.0| 85 | 85 | 140| OR8.1X1.6 315
1Ch-08L 08 M12x1.5 | 17| 17 |25.0|10.0| 11.0| 17.0 | OR9.3X2.2 315
1Ch-10L 10 M14x1.5| 19| 19| 26.0 | 11.0 | 11.0| 19.0 | OR11.3X2.2 | 315
1Ch-12L 12 M16x1.5 | 22| 22|27.0|125| 115|220 | OR13.3X2.2 | 315
1Ch-15L 15 M18x1.5 | 24| 27(29.0|135| 125|240 | OR15.3X2.2 | 315
1Ch-18L . 18 M22x1.5 | 27| 32|31.0|145|13.0|27.0| OR19.3X2.2 | 315
1Ch-22L 22 M27x2 32| 36|33.0|16.5|16.0|32.0| OR23.6X2.9| 160
1Ch-28L 28 M33x2 41| 41|34.0|175|16.0|41.0| OR29.6X2.9 | 160
1Ch-35L 35 M42x2 50| 50|39.0 | 17.5|16.0|50.0 | OR38.6X2.9| 160
1Ch-42L 42 M48x2 55| 60| 42.0|19.0 | 17.5|55.0 | OR44.6X2.9| 160
1Ch-06S 06 M12x1.5| 17| 17| 28.0|13.0 | 11.0| 17.0 | OR9.3X2.2 630
1Ch-08S 08 M14x1.5 | 19| 19[30.0|15.0|11.0| 19.0| OR11.3X2.2 | 630
1Ch-10S 10 M16x1.5 | 22| 22(31.0|15.0| 125|220 | OR13.3X2.2 | 630
1Ch-12S 12 M18x1.5 | 24| 24|33.0|17.0|14.0|24.0| OR15.3X2.2 | 630
1Ch-16S | S | 16 M22x1.5| 27| 30|37.0|185|15.0| 27.0 | OR19.3X2.2 | 400
1Ch-20S 20 M27x2 32| 36420 205|185 32.0| OR23.6X2.9| 400
1Ch-25S 25 M33x2 41| 46|47.0|23.0|185|41.0| OR29.6X2.9 | 400
1Ch-30S 30 M42x2 50| 50| 50.0 | 23.5|19.0|50.0| OR38.6X2.9| 400
1Ch-38S 38 M48x2 55| 60 |57.0|26.0|215|550| OR44.6X2.9| 315

ADAPTORS
| e
A#l+ER METRIC THREAD BITE TYPE
51 Sa
)
1 '_< de dr
a8 0 = I l
B r@é‘)
L \,
OB ORIEP
2Ch
2Ch HiBAGEL— ARG O B % &
------------ METRIC THREAD WITH O’ RING SEAL/FEMALE 24 O’ RING SEALING
E A
re | A 98 i
PART 5 D1 d7 D7 | d9 i L | S1]8s2 ORI & E
NOMBER | g | Sp- 7
Mpa bar
2Ch-06-10L 06 | M10x1 | M12x1.5 | 13.8| 25| 85 |245| 14| 14| OR8.1X1.6 | OR4.5X1.5 | 315
2Ch-08-12L 08 | M12x1.5 | M14x15 | 168 | 4.0 |11.0 | 265| 17| 17 | OR9.3X2.2 | OR6.5X1.5 | 315
2Ch-10-14L 10 | M14x1.5 | M16x1.5 | 188 | 6.0 | 11.0 | 275 | 19| 19| OR11.3X2.2 | OR8X1.5 315
2Ch-12-16L 12 | M16x1.5 | M18x1.5 | 21.8| 8.0 | 115 | 305 | 22| 22| OR13.3X2.2 | OR10X1.5 | 315
2Ch-15-18L 15 | M18x1.5 | M22x1.5 | 23.8 | 10.0 | 125 | 315 | 24| 27 | OR15.3X2.2 | OR12X2 315
2Ch-18-22L - 18 | M22x1.5 | M26x1.5 | 26.8 | 13.0 | 13.0 | 315 | 27| 32| OR19.3X2.2 | OR15X2 315
2Ch-22-27L 22 | M27x2 | M30x2 |31.8|17.0|16.0 |325| 32| 36| OR23.6X2.9 | OR20X2 160
2Ch-28-33L 28 | M33x2 | M36x2 | 408|220 |16.0 |350| 41| 41| OR29.6X2.9 | OR36X2 160
2Ch-35-42L 35 | M42x2 | M45x2 | 49.8|28.0|16.0 [425| 50| 50| OR38.6X2.9 | OR32X2.5 | 160
2Ch-42-48L 42 | M48x2 | M52x2 | 54.8|34.0| 175 |465| 55| 60| OR44.6X2.9 | OR38X2.5 | 160
2Ch-06-12S 06 | M12x1.5 | M14x15 | 168 | 25| 11.0 [270| 17| 17| OR9.3X2.2 | OR4.5X15 | 630
2Ch-08-14S 08 | M14x1.5 | M16x1.5 | 188 | 4.0|11.0 [295| 19| 19| OR11.3X2.2 | OR6.5X15 | 630
2Ch-10-16S 10 | M16x1.5 | M18x1.5 | 21.8| 6.0 | 125 | 32.0 | 22| 22| OR13.3X2.2 | OR8X1.5 630
2Ch-12-18S 12 | M18x1.5 | M20x1.5 | 23.8| 8.0 | 140 | 34.0 | 24| 24| OR15.3X2.2 | OR10X1.5 | 630
2Ch-16-22S | S 16 | M22x1.5 | M24x1.5 | 26.8 | 11.0 | 15.0 | 37.0 | 27| 30| OR19.3X2.2 | OR13X2 400
2Ch-20-27S 20 | M27x2 | M30x2 |31.8|14.0|185 |43.0| 32| 36| OR23.6X2.9 | OR16.3X2.4 | 400
2Ch-25-33S 25 | M33x2 | M36x2 |40.8|18.0|185 [48.0| 41| 46| OR29.6X2.9 | OR20.3X2.4 | 400
2Ch-3042S 30 | M42x2 | M45x2 | 49.8|23.0|19.0 |51.0| 50| 50| OR38.6X2.9 | OR25.3X2.4 | 400
2Ch-38-48S 38 | M48x2 | M52x2 |54.8|30.0|21.5 |600| 55| 60| OR44.6X2.9 | OR33.3X2.4 | 315




8w

R £ S

ADAPTORS

A#lEER METRIC THREAD BITE TYE

A%)EER METRIC THREAD BITE TYPE

§

S,

R £ S

ADAPTORS

i R T OEB
2CH-ED
2CH-ED BHiBH G —AHIRSEDRY 3 P55
------------ METRIC THREAD WITH ED-RING SEALING/FEMALE 24 O’ RING SEALING
E
|
fe | g | TN N
PART 4 | TUBE G d1 L1 i | S1|S2]| d2 OZ! & K7
NOMBER oD bar
Mp '
a
2CH-06L-10ED 06 M10x1.5 M12x1.5 | 245 |8 14 |14 |14 | OR4.5X1.5 315
2CH-08L-12ED 08 M12x1.5 M14x15 | 265 |12 |17 |17 |17 | OR6.5X1.5 315
2CH-10L-14ED 10 M14x1.5 M16x1.5 | 275 |12 [19 |19 |19 | OR08X1.5 315
2CH-12L-16ED 12 M16x1.5 M18x1.5 | 305 |12 |22 |22 |22 | OR10X1.5 315
2CH-12L-22ED 12 B | Vviisx15 | 270 |14 |27 |22 |27 | OR10X1.5 315
2CH-15L-18ED L M18x1.5 M22x1.5 | 315 |12 |24 |27 |24 | OR12X2 315
2CH-15L-22ED 15 M22x1.5 M22x1.5 | 320 |14 |27 |27 |27 | OR12X2 315
2CH-18L-22ED 18 I | V26x15 | 315 |14 |27 |32 |27 | OR15X2 315
2CH-22L-26ED 22 I | V30x2 325 |16 |32 |36 |32 | OR20X2 160
2CH-28L-33ED 28 M33x2 M36x2 350 |18 |41 |41 |40 | OR26X2 160
2CH-35L-42ED 35 I | \45x2 425 |20 |50 |50 |50 | OR32X2.5 160
2CH-42L-48ED 42 M48x2 M52x2 465 |22 |55 |60 |55 | OR38X2.5 160
2CH-06S-12ED 06 I | Vi4x15 | 270 |12 |17 |17 |17 | OR4.5X1.5 630
2CH-08S-14ED 08 B | Vi6x1.5 | 295 |12 |19 |19 |19 | OR6.5X1.5 630
2CH-10S-16ED 10 B | V18x1.5 [320 |12 |22 |22 |22 | OR8X1.5 630
2CH-12S-18ED 12 B | V20x1.5 | 340 |12 |24 |24 |24 | OR10X15 630
2CH-14S-20ED s |14 I | V22x15 | 365 |14 |27 |27 |26 | OR11X2 630
2CH-16S-22ED 16 I | \V24x15 | 370 |14 |27 |30 |27 | OR13X2 400
2CH-20S-27ED 20 I B /30 |16 |32 |36 |32 | OR16.3X2.4 400
2CH-25S-33ED 25 I B /30 |18 |41 |46 | 40 | OR20.3X2.4 400
2CH-30S-42ED 30 I B 50 (20 |5 |50 |50 | OR25.3X2.4 400
2CH-38S-48ED 38 I 522 600 |22 |55 |60 |55 | OR33.3X2.4 315

i | | |
| O t
i =
ZALES
Iy
Ly

1CG-ED
1CG-ED Bk - B S ED R 34 4 8
------------ BSP THREAD STUD ENDS WITH ED-RING SEALING
5 EA%g e G L1 i | S2 | S81 | d7 At
PART NOMBER Mpa TUBE O D. bar
1CG-06L-02ED 06 G1/8A 23 8.5 8 14 14 14 315
1CG-06L-04ED 06 G1/4A 25 10.0 12 14 19 19 315
1CG-06L-06ED 06 G3/8A 26 11.5 12 14 22 22 315
1CG-06L-08ED 06 G1/2A 27 12.0 14 14 27 27 315
1CG-08L-04ED 08 G1/4A 25 10.0 12 17 19 19 315
1CG-08L-06ED 08 G3/8A 26 11.5 12 17 22 22 315
1CG-08L-08ED 08 G1/2A 27 12.0 14 17 27 27 315
1CG-10L-04ED 10 G1/4A 26 11.0 12 19 19 19 315
1CG-10L-06ED 10 G3/8A 27 12.5 12 19 22 22 315
1CG-10L-08ED 10 G1/2A 28 13.0 14 19 27 27 315
1CG-12L-04ED 12 G1/4A 27 12.0 12 22 19 19 315
1CG-12L-06ED 12 G3/8A 27 12.5 12 22 22 22 315
1CG-12L-08ED 12 G1/2A 28 13.0 14 22 27 27 315
1CG-12L-12ED 12 G3/4A 29 14.0 16 22 32 32 315
1CG-15L-06ED 15 G3/8A 29 13.5 12 27 24 22 315
1CG-15L-08ED L 15 G1/2A 29 14.0 14 27 27 27 315
1CG-15L-12ED 15 G3/4A 30 15.0 16 27 32 32 315
1CG-18L-06ED 18 G3/8A 30 14.0 12 32 27 22 315
1CG-18L-08ED 18 G1/2A 31 14.5 14 32 27 27 315
1CG-18L-12ED 18 G3/4A 31 14.5 16 32 32 32 315
1CG-22L-08ED 22 G1/2A 33 16.5 14 36 32 27 160
1CG-22L-12ED 22 G3/4A 33 16.5 16 36 32 32 160
1CG-22L-16ED 22 G1A 34 17.5 18 36 41 40 160
1CG-28L-12ED 28 G3/4A 34 17.5 16 41 41 32 160
1CG-28L-16ED 28 G1A 34 17.5 18 41 41 40 160
1CG-28L-20ED 28 G1-1/4A 35 18.5 | 20 41 50 50 160
1CG-35L-16ED 35 G1A 39 17.5 | 18 50 46 40 160
1CG-35L-20ED 35 G1-1/4A 39 17.5 | 20 50 50 50 160
1CG-35L-24ED 35 G1-1/2A 41 19.5 | 22 50 55 55 160
1CG-42L-16ED 42 G1A 42 19.0 18 60 55 40 160
1CG-42L-20ED 42 G1-1/4A 42 19.0 | 20 60 55 50 160
1CG-42L-24ED 42 G1-1/2A 42 19.0 | 22 60 55 55 160




R, S

ADAPTORS
R L
AH#lRERX, METRIC THREAD BITE TYPE A#lRERX, METRIC THREAD BITE TYPE
81 Sg L | " 81 SZ
| 7L
‘ ] i
5| o :
A =D g g s
i v W AT
i’ P2 B
sk - -— — h -
L4
1CG-ED . ol
1CG-ED BB k- B EDRY 3 2 b 1CT
------------ BSP THREAD STUD ENDS WITH ED RING SEALING 1CT Bk - AR
o
et EA | W % Zi | e | ——— BSPT MALI;
PART NOMBER | %4 | /o G L1 1 | i | s2] 81| a7 bar RE Eh | WES .
! | Hs
Mpa | oD PART | &3 | 2 G L1 N i | s2 | s “T)gfﬁ
1CG-06S-02ED 06 GIBA | 27 | 125 | 8 | 17 | 14 | 14 630 NOMBER | Mpa | op.
1CG-06S-04ED 06 G1/4A 28 13 12 17 19 19 630 1CT-06L-02 06 R1 /8tap. 30 15.0 8 12 14 315
1CG-08S-04ED 08 G14A | 30 | 150 | 12 | 19 | 19 | 19 630
1CG-08S-06ED 08 G3/8A | 30 | 155 |12 |19 | 22 | 22 630 1CT-06L-04 06 Ri/atap. 35 200 | 12 7] 14 315
1CG-08S-08ED 08 G1/2A |33 | 18.0 | 14 |19 | 27 |27 630 1CT-08L-02 08 R1/8tap. 31 16.0 8 17 | 17 315
1CG-10S-04ED 10 G1/4A | 31 | 145 |12 |22 | 19 |19 630 1CT-08L-04 08 R1/4tap. 35 200 | 12 17 | 17 315
1CG-10S-06ED 10 G3/8A 31 [ 15.0 | 12 | 22 22 22 630 1CT-10L-04 10 R1/4tap. 36 21.0 12 17 19 315
1CG-10S-08ED 10 G12A | 34 | 175 |14 |22 | 27 |27 630
1CG-12S-04ED 12 G1/4A |33 | 165 |12 |24 | 22 |19 630 1CT-12L-04 12 R1/4tap. 37 220 | 12 19| 22 315
1CG-12S-06ED 12 G3/8A |33 | 17.0 |12 |24 | 22 |22 630 1CT-12L-06 12 R3/8tap. 37 22.0 12 19 | 22 315
1CG-12S-08ED 12 G12A | 34 | 175 |14 |24 | 27 | 27 630 1CT-12L-08 L 12 R1/2tap. 39 240 | 14 | 24 | 22 315
1CG-14S-98ED 14 G12A |37 | 19.0 |14 |27 | 27 |27 630 1CT-15L-06 15 R3/8tap. 38 230 | 12 o4 | 27 315
1CG-14S-06ED 14 G3/8A | 36 | 185 | 12 |27 | 24 | 22 630
1CG-14S-12ED 14 G3/4A | 39 | 21.0 |16 |27 | 32 |32 630 1CT-15L-08 15 R1/2tap. 40 250 | 14 | 24 | 27 315
1CG-16S-08ED 16 G1/2A |37 | 185 | 14 |30 | 27 |27 400 1CT-18L-08 18 R1/2tap. 42 255 | 14 27 | 32 315
1CG-16S-06ED S 16 G3/8A | 36 | 18.0 | 12 |30 | 27 |22 400 1CT-22L-12 29 R3/4tap. 46 205 | 16 | 32 | 36 160
1CG-16S-12ED 16 G3/4A | 39 | 205 | 16 |30 | 32 |27 400 1CT28L16 28 R1 tap. 49 325 | 18 | 21| a1 160
1CG-20S-12ED 20 G3/4A | 42 | 205 | 16 |36 | 32 | 32 400
1CG-20S-08ED 20 G12A |42 | 205 |14 |36 | 32 |27 400 1CT-35L-20 35 | R1-1/atap. 56 | 345 | 20 | 46 | 50 160
1CG-20S-16ED 20 GIA |44 | 225 |18 |36 | 41 | 40 400 1CT-42L-24 42 R1-1/2tap. 61 380 | 22 55 | 60 160
1CG-25S-20ED 20 G1-1/4A | 44 | 225 | 20 |36 | 50 | 50 400
1CG-25S-16ED 25 GIA |47 | 230 |18 |46 | 41 | 40 400
1CG-25S-08ED 25 G12A | 47 | 230 |14 |46 | 41 |27 400
1CG-25S-12ED 25 G3/4A | 47 | 23.0 |16 |46 | 41 | 32 400
1CG-25S-20ED 25 G1-1/4A | 47 | 23.0 | 20 |46 | 50 | 50 400
1CG-25S-24ED 25 G1-12A | 50 | 26.0 | 22 |46 | 55 | 55 400
1CG-30S-20ED 30 G1-1/4A | 50 | 235 | 20 |50 | 50 | 50 400
1CG-30S-24ED 30 GIA |50 | 235 |18 |50 | 46 | 40 400
1CG-30S-24ED 30 G1-12A | 53 | 265 | 22 |50 | 55 | 55 400
1CG-38S-24ED 38 G1-12A | 57 | 26.0 | 22 |60 | 55 | 55 315
1CG-38S-20ED 38 G1-1/4A | 57 | 26.0 | 20 |60 | 55 | 50 315




R S R S

ADAPTORS ADAPTORS
W5t b it A
Atl=ER METRIC THREAD BITE TYPE Atl<ER METRIC THREAD BITE TYPE
Sy S;
s
: »( ° “rf ;‘ | ‘ h —1
A :MV r M ds| G :
s Lo |l
Bl —
i L |
s Ly \\ ORI — -
— -
2CG-ED 1CO
2CG-ED BRA A k- RS EDRY 35 1 2 1CO B K-SR RS OFY B B 5
------------ BSP THREAD WITH O’ RING SEALING/FEMALE 24 CONE O’ RING SEALING ————————- UN,UNF THREAD STUD ENDS WITH O-RING SEALING
fo EA% | mese AR we | En| A8 At
PART % TUBE O G d1 L1 i S1 | S2 | d2 e bar‘ PART 0% TlIJ%BéE G d3 i 11 L1 | S1 | S2 O &5
NOMBER Mpa D. NOMBER Mpa oD. bar
2CG-06L-02ED 06 G1/8A M12x1.5 24.5 8 14 | 14 | 14 315 1C0-08L-04 08 7/16-20UNF-2A 14.4 9.0 | 10.0 25 17 17 ORB8.92X1.83 315
2CG-08L-04ED 08 G1/4A M14x1.5 29.5 12 19 17 19 315 1CO-10L-04 10 7/16-20UNF-2A 14.4 10.0 | 11.0 26 17 19 OR8.92X1.83 315
2CG-10L-04ED 10 G1/4A M16x15 275 12 1 19 | 19 | 19 315 1CO-12L-06 12 9/16-18UNF-2A 17.6 | 10.0 | 11.0 26 19 22 OR11.9X1.98 315
2CG-10L-06ED 10 G3/8A M16x1.5 29.0 12 | 22 | 19 | 22 315 1CO-12L-08 12 3/4-16UNF-2A 223 | 11.0 | 13.0 28 24 22 OR16.36X2.20 315
1CO-12L-10 12 7/8-14UNF-2A 255 | 127 | 143 29 27 22 OR19.18X2.46 315
2CG-12L-04ED 12 G1/4A M18x1.5 27.5 12 19 22 19 315
1CO-15L-08 15 3/4-16UNF-2A 223 | 11.0 | 14.0 29 24 27 OR16.36X2.20 315
2CG-12L-06ED 12 G3/8A M18x1.5 34 12 122 | 22 | 22 315 1CO-15L-10 15 7/8-14UNF-2A 255 | 12.7 | 153 30 27 27 OR19.18X2.46 315
2CG-12L-08ED L 12 G1/2A M18x1.5 295 14 | 27 | 22 | 27 315 1CO-18L-08 18 3/4-16UNF-2A 223 | 110 | 145 | 31| 27 | 32 | OR16.36X2.20 315
2CG-15L-08ED 15 G1/2A M22x1.5 32.0 14 | 27 | 27 | 27 315 1C0-18L-10 L 18 7/8-14UNF-2A 255 | 127 | 14.8 31 27 32 | OR19.18X2.46 315
2CG-18L-08ED 18 G1/2A M26x1.5 315 14 | 27 | 32 | 27 315 1C0-22L-10 22 7/8-14UNF-2A 255 | 12.7 | 16.8 33 32 36 OR19.18X2.46 160
2CG-18L-12ED 18 G3/4A M26x1.5 29.5 16 | 32 | 32 | 32 160 1C0-22L-12 22 1-1/16-12UN-2A 319 | 15.0 | 165 33 32 36 OR23.47X2.95 160
2CG-22L-12ED 22 G3/4A M30x2 325 16 32 36 32 160 1C0O-22L-16 22 1-5/16-12UN-2A 38.2 15.0 17.5 34 41 36 OR29.74X2.95 160
2CG-28L-16ED 28 G1A M36x2 35.0 18 | 41 | 41 | 40 160 1C0O-28L-12 28 1-1/16-12UN-2A 31.9 | 15.0 | 175 34 41 41 OR23.47X2.95 160
20G-35L-20ED 35 G114 A | Masx2 425 20 | 50 | 50 | 50 160 1C0O-28L-16 28 1-5/16-12UN-2A 382 | 15.0 | 175 34 41 41 OR29.74X2.95 160
1C0-35L-16 35 1-5/16-12UN-2A 382 | 15.0 | 175 39 46 50 OR37.46X2.95 160
2CG-42L-24ED 42 CI-12A | M52x2 46.5 22 | 55 | 60 | 55 160 1C0-35L-20 35 1-5/8-12UN-2A 477 | 150 | 175 39 50 50 OR37.46X3 160
2CG-06S-04ED 06 G1/4A M14x1.5 27.0 12 | 19 | 17 | 19 630 1C0-42L-20 42 1-5/8-12UN-2A 477 | 15.0 | 19.0 42 55 60 OR37.46X3 160
2CG-08S-04ED 08 G1/4A M16x1.5 29.5 12 119 | 19 | 19 630 1C0-085-04 08 7/16-20UNF-2A 16.0 | 90| 150 | 30 | 17 | 19 | OR8.92X1.83 630
2CG-10S-06ED 10 G3/8A M18x1.5 32.0 12 1 22 | 22 | 22 630 1C0O-10S-06 10 9/16-18UNF-2A 17.6 | 10.0 | 145 31 19 22 OR11.9X1.98 630
2CG-12S-04ED 12 G1/4A M20x1.5 315 12 | 19 | 24 | 19 630 1C0-12S-06 12 9/16-18UNF-2A 17.6 | 10.0 | 145 31 22 24 OR11.9X1.98 630
2CG-12S-06ED 12 G3/8A M20x1.5 34 12 | 22 | 24 | 22 630 1C0-125-08 12 3/4-16UNF-2A 223 | 11.0 | 175 34 24 24 OR16.36X2.20 630
2CG-12S-08ED s 12 G1/2A M20x1.5 35.0 14 27 24 27 630 1C0O-16S-08 16 3/4-16UNF-2A 22.3 11.0 15.5 34 24 30 OR16.36X2.20 400
2CG-14S-08ED 14 G1/2A M22x1 5 365 14 | 27 | 27 | 27 630 1CO-16S-10 16 7/8-14UNF-2A 255 | 12.7 | 188 37 27 30 OR19.18X2.46 400
2CG-165-08ED 16 G1/2A M24x1.5 370 12| 27 | 30 | 27 400 1C0-20S-08 s 20 3/4-16UNF-2A 223 | 11.0 | 205 42 32 36 OR16.36X2.20 400
1C0-20S-10 20 7/8-14UNF-2A 255 | 12.7 | 208 42 32 36 OR19.18X2.46 400
2CG-20S-12ED 20 GS3/4A M30x2 43.0 16 | 32 | 36 | 32 400 1C0-20S-12 20 1-1/16-12UN-2A 31.9 | 15.0 | 205 42 32 36 OR23.47X2.95 400
2CG-255-16ED 25 G1A M36x2 48.0 18 | 41 | 46 | 40 400 1C0-258-12 25 1-1/16-12UN-2A 31.9 | 15.0 | 23.0 47 36 46 OR23.47X2.95 400
2CG-30S-20ED 30 G1-1/4A | M42x2 51.0 20 | 50 | 50 | 50 400 1C0-255-16 25 1-5/16-12UN-2A 38.2 | 150 | 230 | 47 41 46 | OR29.74X2.95 400
2CG-38S-24ED 38 G1-1/2 A M52x2 60.0 22 55 60 55 315 1C0-30S-16 30 1-5/16-12UN-2A 38.2 15.0 | 235 50 46 50 OR29.74X2.95 400
1C0-30S-20 30 1-5/8-12UN-2A 477 | 150 | 235 50 50 50 OR37.46X3 400
1C0-38S-20 38 1-5/8-12UN-2A 477 | 150 | 26.0 57 55 60 OR37.46X3 315




HEEX

B-5%s

AEEER METRIC THREAD BITE TYPE

iy :”_.J_L/ p, p ;‘H
NN 2SS )
l4
L J
1CN
1CN HiREL-EHIHET 4
------------ NPT MALE
g | B qese AHIE
PART % TUBE O NPT i 14 L4 S1 S2 |
NOMBER MPa D. bar
1CN-06S-02 06 1/8-27 NPT 10.0 21.0 36 14 17 630
1CN-06S-04 06 1/4-18 NPT 15.0 28.0 43 17 17 630
1CN-06S-06 06 3/8-18 NPT 15.3 | 26.0 41 19 17 630
1CN-06S-08 06 1/2-14 NPT 20.0 35.0 50 22 17 630
1CN-08S-04 08 1/4-18 NPT 15.0 28.0 43 17 19 630
1CN-08S-06 08 3/8-18 NPT 15.3 | 28.0 43 19 19 630
1CN-10S-04 10 1/4-18 NPT 15.0 27.5 44 19 22 630
1CN-10S-06 10 3/8-18 NPT 15.3 27.5 44 19 22 630
1CN-10S-08 10 1/2-14 NPT 200 | 345 51 22 22 630
1CN-10S-12 10 3/4-14 NPT 200 | 365 53 30 22 630
1CN-12S-04 12 1/4-18 NPT 15.0 29.5 46 22 24 630
1CN-12S-06 s 12 3/8-18 NPT 15.3 29.5 46 22 24 630
1CN-12S-08 12 1/2-14 NPT 200 | 345 51 22 24 630
1CN-12S-12 12 3/4-14 NPT 200 | 365 53 30 24 630
1CN-14S-06 14 3/8-18 NPT 15.3 23.0 49 24 27 630
1CN-14S-08 14 1/2-14 NPT 20.0 36.0 54 24 27 630
1CN-16S-06 16 3/8-18 NPT 15.3 30.5 49 27 30 400
1CN-16S-08 16 1/2-14 NPT 20.0 355 54 27 30 400
1CN-16S-12 16 3/4-14 NPT 20.0 375 56 30 30 400
1CN-16S-16 16 1-11.5 NPT 25.0 44.5 63 36 30 400
1CN-20S-08 20 1/2-14 NPT 20.0 37.5 59 32 36 400
1CN-20S-12 20 3/4-14 NPT 20.0 375 59 32 36 400
1CN-20S-16 20 1-11.5 NPT 25.0 445 66 36 36 400
1CN-25S-12 25 3/4-14 NPT 20.0 40.0 64 41 46 400

ADAPTORS
B0 B
A#lEER METRIC THREAD BITE TYPE
s, s;
- - |
1CN
1CN HiEESL-EH T 4
------------ NPT MALE
st , mf’é‘%
PART 134 7 NPT : AHES
i 14 L4 S1 S2
NOMBER MPa TUBE bar
OD.

1CN-06L-02 06 1/8-27TNPT 10.0 17.0 32 12 14 315
1CN-06L-04 06 1/4-18NPT 15.0 23.0 38 17 14 315
1CN-06L-06 06 3/8-18NPT 15.3 23.0 38 19 14 315
1CN-06L-08 06 1/2-14NPT 20.0 29.0 44 22 14 315
1CN-08L-02 08 1/8-27TNPT 10.0 18.0 33 14 17 315
1CN-08L-04 08 1/4-18NPT 15.0 23.0 38 17 17 315
1CN-08L-06 08 3/8-18NPT 15.3 23.0 38 19 17 315
1CN-10L-02 10 1/8-27NPT 10.0 18.0 33 17 19 315
1CN-10L-04 10 1/4-18NPT 15.0 24.0 39 17 19 315
1CN-10L-06 10 3/8-18NPT 15.3 25.0 40 19 19 315
1CN-10L-08 10 1/2-14NPT 20.0 30.0 45 22 19 315
1CN-12L-02 12 1/8-27TNPT 10.0 19.0 34 19 22 315
1CN-12L-04 12 1/4-18NPT 15.0 25.0 40 19 22 315
1CN-12L-06 12 3/8-18NPT 15.3 25.0 40 19 22 315
1CN-12L-08 12 1/2-14NPT 20.0 30.0 45 22 22 315
1CN-15L-06 L 15 3/8-18NPT 15.3 26.0 41 24 27 315
1CN-15L-08 15 1/2-14NPT 20.0 31.0 46 24 27 315
1CN-15L-12 15 3/4-14NPT 20.0 32.0 47 30 27 315
1CN-18L-06 18 3/8-18NPT 15.3 26.5 43 27 32 315
1CN-18L-08 18 1/2-14NPT 20.0 31.5 48 27 32 315
1CN-18L-12 18 3/4-14NPT 20.0 31.5 48 30 32 315
1CN-22L-08 22 1/2-14NPT 20.0 33.5 50 32 36 160
1CN-22L-12 22 3/4-14ANPT 20.0 33.5 50 32 36 160
1CN-22L-16 22 1-11.5NPT 25.0 39.5 56 36 36 160
1CN-28L-12 28 3/4-14NPT 20.0 34.5 51 41 41 160
1CN-28L-16 28 1-11 .5NPT 25.0 39.5 56 41 41 160
1CN-28L-20 28 1-1/4-11.5 25.5 41.5 48 46 41 160
1CN-35L-16 35 1-11 .5NPT 25.0 39.5 61 46 50 160
1CN-35L-20 35 1-1/4-11.5 25.5 40.5 62 46 50 160
1CN-42L-20 42 1-1/4- 11.5 25.5 42.0 65 55 60 160
1CN-42L-24 42 1-1/2-11.5 26.0 42.0 65 55 60 160




R S R £ S

ADAPTORS ADAPTORS
&% B -5 s
A#+&%Ex, METRIC THREAD BITE TYPE A#lEEx METRIC THREAD BITE TYPE
5‘1 S
HITHE
Bl 1— — '| -
L‘—mi- AN
= -l 2CN
2CN BiBH A L-EHHES 5
1ICN NPT MALE//FEMALE 24 CONE O’ RING SEALING
Bk -2 7N
1CN ------ ﬁﬁ%j?ﬁﬂ’@&?& RE K7 ﬁ%; . | %17/;
- PART B2 | {UBE NPT d1 L1 i | S1| S2 ORI 5| & EH
fom EH%E | 442 I\ NOMBER | MPa | oD, bj;r bar
PART NOMBER Mgga TEUg’ AU ! 4 L4 =L 2 %ajrj 2CN-06L-02 06 1/8-27NPT M12x1.5 | 315|100 | 11| 14| OR4.5X15 | 315 | 500
D. 2CN-08L-04 08 1/4-18NPT M14x1.5 | 375|150 | 14| 17| OR6.5X1.5 | 315 | 500
1CN-255-16 25 1-11.5NPT 250 | 450 69 | 41 46 | 400 2CN-10L-04 10 1/4-18NPT M16x1.5 | 38.0 | 150 | 14| 19| OR8X15 315 | 500
1CN-30S-16 30 1-11.5NPT 250 | 455 72 | 46 50 | 400 2CN-12L-06 12 3/8-18NPT M18x1.5 | 40.0 | 153 | 19| 22| OR10X1.5 | 315 | 400
1CN-30S-20 S 30 | 1-1/4-11.5NPT | 255 | 465 73 | 46 50 | 400 2CN-15L-08 . 15 1/2-14NPT M22x1.5 | 495 | 20.0 | 22| 27| OR12X2 315 | 400
1CN-385-16 38 1-11.5 NPT 25.0 | 48.0 79 55 60 | 315 2CN-18L-08 18 1/2-14NPT M26x1.5 | 49.0 | 20.0 | 24| 32| OR15X2 315 | 400
1CN-38S-20 38 | 1-1/4-11.5NPT | 255 | 49.0 80 55 60 | 315 2CN-22L-12 22 3/4-14NPT M30x2 | 52.0|20.0| 27| 36| OR20X2 160 | 250
1CN-385-24 38 | 1-12-11.5NPT | 26.0 | 49.0 80 55 60 | 315 2CN-28L-16 28 1-11.5NPT M36x2 | 61.0|250| 36| 41| OR26X2 160 | 250
2CN-35L-20 35 1-1/4-11.5NPT | M45x2 | 655 | 255 | 46| 50| OR32X2.5 | 160 | 250
2CN-42L-24 42 1-1/2-11.5NPT | M52x2 | 68.5|26.0| 50| 60| OR38X2.5 | 160 | 250
2CN-06S-04 06 1/4-18NPT M14x1.5 | 375|150 | 14| 17| OR4.5X1.5 | 630 | 900
2CN-08S-04 08 1/4-18NPT M16x1.5 | 38.0 | 150| 14| 19| OR6.5X1.5 | 630 | 900
2CN-10S-06 10 3/8-18NPT M18x1.5 | 40.5 | 153 | 19| 22| OR8X15 630 | 900
2CN-12S-06 12 3/8-18NPT M20x1.5 | 42.0 | 153 | 19| 24| OR10X1.5 | 630 | 900
2CN-14S-08 S 14 1/2-14NPT M22x1.5 | 50.5 | 20.0 | 22| 27| OR11X2 630 | 700
2CN-16S-08 16 1/2-14NPT M24x1.5 | 51.0 | 20.0 | 22| 30| OR13X2 400 | 630
2CN-20S-12 20 3/4-14NPT M30x2 | 54.0 | 20.0| 27| 36| OR16.3X2.4 | 400 | 630
2CN-25S-16 25 1-11.5NPT M36x2 | 635|250 | 36| 46| OR20.3X2.4 | 400 | 630
2CN-30S-20 30 11/4-11.5NPT | M42x2 | 705|255 | 46| 50| OR25.3X2.4 | 400 | 420
2CN-38S-24 38 11/2-11.5NPT | M52x2 | 735|26.0| 50| 60| OR33.3X2.4 | 315 | 420




R £ S

B®-5%s

AEEER METRIC THREAD BITE TYPE

1CN9
1CN9 B A k- LR
------------ 90°ELBOW NPT MALE
RE BO% | mesng AHIE
PART % TUBE O NPT 14 | i 2 | L2 | S3 | S2 H
NOMBER MPa D. bar
1CN9-06L-02 06 1/8-27NPT 20| 10.0 | 12.0 27 12 14 315
1CN9-06L-04 06 1/4-18NPT 26| 150 14.0 29 14 14 315
1CN9-08L-02 08 1/8-27NPT 26 | 10.0 | 14.0 29 14 17 315
1CN9-08L-04 08 1/4-18NPT 26 | 15.0 | 14.0 29 14 17 315
1CN9-10L-04 10 1/4-18NPT 27150150 | 30| 17| 19| 315
1CN9-10L-06 10 3/8-18NPT 28153170 | 32| 19| 19| 315
1CN9-12L-04 12 1/4-18NPT 28 | 15.0 | 17.0 32 19 22 315
1CN9-12L-06 L 12 3/8-18NPT 28| 153|170 | 32| 19| 22| 315
1CN9-12L-08 12 1/2-14NPT 341 200| 21.0 36 19 22 315
1CN9-15L-08 15 1/2-14NPT 341 200| 21.0 36 19 27 315
1CN9-18L-08 18 1/2-14NPT 36| 200|235 | 40| 24| 32| 315
1CN9-22L-12 22 3/4-14NPT 42 | 20.0 | 27.5 44 27 36 160
1CN9-28L-16 28 1-11.5NPT 48 | 25.0 | 30.5 47 36 41 160
1CN9-35L-20 35 1-1/4-11.5NPT | 54 | 255|345 | 56| 41| 50| 160
1CN9-42L-24 42 1-1/2-11.5NPT | 61 | 26.0 | 40.0 63 50 60 160

ADAPTORS
| s
A#R%Ex, METRIC THREAD BITE TYPE
T+
T
1CT9

1CT9 B A S-S MR 8L
------------ 90°ELBOW BSPT MALE

RE B msise AR

PART % TUBE O G S2 | S3 | L2 | 12 | 13] i “bar‘

NOMBER MPa D.
1CT9-06L-02 06 R1/8tap. | 14| 12| 27|12.0| 20| 95 315
1CT9-06L-04 06 Ri/4tap. | 14| 14| 29|14.0| 26| 12.0 315
1CT9-08L-02 08 R1/8tap. | 17| 14| 29|14.0| 26| 95 315
1CT9-08L-04 08 Ri/4tap. | 17| 14| 29|14.0| 26| 14.0 315
1CT9-08L-06 08 R3/8tap. | 17| 17| 32|27.0| 28| 14.0 315
1CT9-10L-04 . 10 R1/4tap. | 19| 17| 30| 15.0| 27| 14.0 315
1CT9-10L-06 10 R3/8tap. | 19| 17| 32|17.0| 28| 14.0 315
1CT9-12L-04 12 R1/4tap. | 22| 19| 32|17.0| 27| 14.0 315
1CT9-12L-06 12 R3/8tap. | 22| 19| 32|17.0| 28| 14.0 315
1CT9-12L-08 12 R1/2tap. | 22| 22| 36|21.0|34| 17.0 315
1CT9-15L-08 15 R1/2tap. | 27| 22| 36|21.0| 34| 17.0 315
1CT9-18L-08 18 R1/2tap. | 32| 27| 40|235|36| 17.0 315
1CT9-06S-04 06 R1/4tap. | 17| 14| 31|16.0| 26| 14.0 400
1CT9-08S-04 08 Ri/4tap. | 19| 17| 32|17.0| 27| 14.0 400
1CT9-10S-04 10 R1/4tap. | 22| 19| 34|175| 28| 14.0 400
1CT9-10S-06 10 R3/8tap. | 22| 19| 34|175]| 28| 14.0 400
1CT9-10S-08 S 10 R1/2tap. | 22| 22| 39|225]|32| 17.0 400
1CT9-12S-06 12 R3/8tap. | 24| 22| 38|215| 28| 14.0 400
1CT9-12S-08 12 R1/2tap | 24| 22| 39|225]| 34| 17.0 400
1CT9-14S-08 14 R1/2tap. | 27| 22| 40|220]| 34| 17.0 400
1CT9-16S-08 16 R1/2tap. | 30| 24| 43|245]| 34| 17.0 400




R £ S

R £ S

ADAPTORS
&y B
A%#lEExR METRIC THREAD BITE TYPE
s,
7]
= Tr—
RNy
NETL..
Lz o
1CN9
1CN9 B AEE k- R L
------------ 90°ELBOW NPT MALE
e BN mesie AR
PART % TUBE O NPT 14 | i 2 | L2 | S3 | S2 7
NOMBER MPa D. bar
1CN9-06S-04 06 1/4-18NPT 26|150| 160 | 31| 14| 17| 630
1CN9-08S-04 08 1/4-18NPT 27 1150|170 | 32| 17| 19| 630
1CN9-10S-04 10 1/4-18NPT 281150| 175 | 34| 19| 22| 630
1CN9-10S-06 10 3/8-18NPT 281153175 | 34| 19| 22| 630
1CN9-128-04 12 1/4-18NPT 29|150| 215 | 38| 19| 24| 630
1CN9-12S-06 12 3/8-18NPT 28153225 | 38| 22| 24| 630
1CN9-12S-08 S 12 1/2-14NPT 341200225 | 39| 19| 24| 630
1CN9-14S-08 14 1/2-14NPT 341200|220 | 40| 19| 27| 630
1CN9-16S-08 16 1/2-14NPT 36| 200|245 | 43| 24| 30| 400
1CN9-20S-12 20 3/4-11NPT 42 1200|265 | 48| 27| 36| 400
1CN9-255-16 25 1-11.5NPT 48250 30.0 | 54| 36| 46| 400
1CN9-30S-20 30 1-1/4-11.5NPT | 54 | 255|355 | 62| 41| 50| 400
1CN9-38S-24 38 1-1/2-11.5NPT | 61| 26.0| 410 | 72| 50| 60| 315

ADAPTORS
&8
A#l+ER METRIC THREAD BITE TYPE
-
Sz
S5 J‘
?
|
!
D
1CH9-0G
1CH9-OG  HE AR Mk A IR
------------ 90°ELBOW METRIC MALE ADJUSTABLE STUD ENDS ISO 9974
g a
e | EA b il
PART &% | TUB G L2 | 12 |13 | i D1 | S2| S3 | S4 (oFit::] jj
NOMBER MPa | EO ha
D. )
1CH9-06L-100G 06 M10x1 29 14 20 7 15 14 14 14 ORO08.1X1.6 315
1CH9-08L-120G 08 M12x1.5 31 16 22 10 18 17 14 17 OR09.3X2.4 315
1CH9-10L-140G 10 M14x1.5 32 17 24 10 20 19 19 19 OR11.3X2.4 315
1CH9-12L-160G 12 M16x1.5 34 19 25 10 23 22 19 22 OR13.3X2.4 315
1CH9-15L-180G 15 M18x1.5 36 21 31 1 25 27 22 24 OR15.3X2.4 315
1CH9-18L-220G - 18 M22x1.5 40 24 33 12 28 32 27 27 OR19.3X2.4 250
1CH9-22L-270G 22 M27x2 44 28 36 14 33 36 30 32 OR23.5X3.0 160
1CH9-28L-330G 28 M33x2 47 31 39 14 41 41 36 41 OR29.5X3.0 160
1CH9-35L-420G 35 M42x2 59 38 49 14 51 50 50 50 OR38.5X3.0 160
1CH9-42L-480G 42 M48x2 61 38 50 16 56 60 50 55 OR44.5X3.0 160
1CH9-06S-120G 06 M12x1.5 30 15 22 10 18 17 14 17 ORO09.3X2.4 315
1CH9-08S-140G 08 M14x1.5 32 17 26 10 20 19 19 19 OR11.3X2.4 315
1CH9-10S-160G 10 M16x1.5 34 18 27 1 23 22 19 22 OR13.3X2.4 315
1CH9-12S-180G 12 M18x1.5 38 22 31 12 25 24 22 24 OR15.3X2.4 315
1CH9-16S-220G S 16 M22x1.5 43 25 36 14 28 30 27 27 OR19.3X2.4 250
1CH9-20S-270G 20 M27x2 49 28 39 16 33 36 30 32 OR23.5X3.0 250
1CH9-25S-330G 25 M33x2 54 30 44 16 41 46 36 41 OR29.5X3.0 160
1CH9-30S-420G 30 M42x2 62 36 51 17 51 50 50 50 OR38.5X3.0 160
1CH9-38S-480G 38 M48x2 65 34 54 19 56 60 50 55 OR44.5X3.0 160




R £ S

HEEX

ADAPTORS
&0y B
A#lEER METRIC THREAD BITE TYPE
e
_.__|3 -t I
Sz 8z
—— = ;
o I T
&) S: | T
G
LD
ACHC-0G
ACHC-OG  =@TI Mk -A il 4R L
------------ METRIC MALE ADJUSTABLE STUD ENDS ISO 9974 BRANCH TEE
we B0 48
PART NoMBER | FZ | TUBE G L2 |12 13| i | D1 |S2/S3|S4| OHE E7
MPa | oD. bar
ACHC-06L-100G 06 M10x1 29 | 14 | 20 7 15| 14 | 14 | 14 | OR08.1X1.6 | 315
ACHC-08L-120G 08 M12x1.5 31 (16| 22|10 18 | 17 | 14 | 17 | OR09.3X2.4 | 315
ACHC-10L-140G 10 M14x1.5 32|17 | 25 9 201 19 | 19 | 19 | OR11.3X24 | 315
ACHC-12L-160G 12 M16x1.5 34 119 | 26 9 231 22 | 19 | 22 | OR13.3X24 | 315
ACHC-15L-180G 15 M18x1.5 36 (21|30 11 25| 27 | 22 | 24 | OR15.3X24 | 315
ACHC-18L-220G - 18 M22x1.5 40 | 24 | 33 | 11 28 | 32 | 27 | 27 | OR19.3X24 | 250
ACHC-22L-270G 22 M27x2 44 | 28| 35 | 14 33| 36 | 30 | 32 | OR23.5X3.0 160
ACHC-28L-330G 28 M33x2 47 | 31| 38 | 14 41| 41 | 36 | M1 OR29.5X3.0 160
ACHC-35L-420G 35 M42x2 59| 38| 48 | 14 51| 50 | 50 | 50 | OR38.5X3.0 160
ACHC-42L-480G 42 M48x2 61| 38| 49 | 16 56| 60 | 50 | 55 | OR44.5X3.0 | 160
ACHC-06S-120G 06 M12x1.5 30 (15| 22|10 18 | 17 | 14 | 17 | OR09.3X2.4 | 315
ACHC-08S-140G 08 M14x1.5 32 (17| 26 | 10 201 19 | 19 | 19 | OR11.3X24 | 315
ACHC-10S-160G 10 M16x1.5 34|18 | 27 | 11 23122 | 19 | 22 | OR13.3X24 | 315
ACHC-12S-180G 12 M18x1.5 38 (22| 31|12 25| 24 | 22 | 24 | OR15.3X24 | 315
ACHC-16S-220G S 16 M22x1.5 43 | 25| 35| 14 28 | 30 | 27 | 27 | OR19.3X24 | 250
ACHC-20S-270G 20 M27x2 49 | 28 | 39 | 16 33| 36 | 30 | 32 | OR23.5X3.0 | 250
ACHC-25S-330G 25 M33x2 54 | 30| 44 | 16 41 | 46 | 36 | M1 OR29.5X3.0 160
ACHC-30S-420G 30 M42x2 62| 36| 51| 17 51| 50 | 50 | 50 | OR38.5X3.0 | 160
ACHC-38S-480G 38 M48x2 65 (34|54 |19 56| 60 | 50 | 55 | OR44.5X3.0 160

ADAPTORS
| e
A#lEE=R METRIC THREAD BITE TYPE
{ . ’ s
83 T
. ‘55:
e
ACCH-0G
ACCH-OG  HE= &7 M k- AHIRL
------------ METRIC MALE ADJUSTABLE STUD ENDS ISO 9974 RUN TEE
E
51| BE 2
R5 m | SR )
PART % TUB G L2 12 I3 | i | D1 |SW2|SW3 | Sw4 O /3| E
NOMBER EO |
MP D. bar
a
ACCH-06L-100G 06 M10x1 29 14 8 7 15 14 14 14 OR08.1X1.6 | 315
ACCH-08L-120G 08 M12x1.5 31 16 8 10 18 17 14 17 OR09.3X2.4 | 315
ACCH-10L-140G 10 M14x1.5 32 17 11 9 20 19 19 19 OR11.3X2.4 | 315
ACCH-12L-160G 12 M16x1.5 34 19 14 9 23 22 19 22 OR13.3X2.4 | 315
ACCH-15L-180G 15 M18x1.5 36 21 14 11 25 27 22 24 OR15.3X2.4 | 315
ACCH-18L-220G - 18 M22x1.5 40 24 17 11 28 32 27 27 OR19.3X2.4 | 250
ACCH-22L-270G 22 M27x2 44 28 19 14 33 36 30 32 OR23.5X3.0 | 160
ACCH-28L-330G 28 M33x2 47 31 27 14 41 41 36 41 OR29.5X3.0 | 160
ACCH-35L-420G 35 M42x2 59 38 37 14 51 50 50 50 OR38.5X3.0 | 160
ACCH-42L-480G 42 M48x2 61 38 40 16 56 60 50 55 OR44.5X3.0 | 160
ACCH-06S-120G 06 M12x1.5 30 15 8 10 18 17 14 17 OR09.3X2.4 | 315
ACCH-08S-140G 08 M14x1.5 32 17 10 10 20 19 19 19 OR11.3X2.4 | 315
ACCH-10S-160G 10 M16x1.5 34 18 12 11 23 22 19 22 OR13.3X2.4 | 315
ACCH-12S-180G 12 M18x1.5 38 22 13 12 25 24 22 24 OR15.3X2.4 | 315
ACCH-16S-220G S 16 M22x1.5 43 25 14 14 28 30 27 27 OR19.3X2.4 | 250
ACCH-20S-270G 20 M27x2 49 28 17 16 33 36 30 32 OR23.5X3.0 | 250
ACCH-25S8-330G 25 M33x2 54 30 25 16 41 46 36 41 OR29.5X3.0 | 160
ACCH-30S-420G 30 M42x2 62 36 34 17 51 50 50 50 OR38.5X3.0 | 160
ACCH-38S-480G 38 M48x2 65 34 37 19 56 60 50 55 OR44.5X3.0 | 160




R £ S

B-5ws

AHRERX M

ETRIC THREAD BITE TYPE

S3

Sz

1F

il

ADAPTORS
| e
A#RExX, METRIC THREAD BITE TYPE
/%y
|
= e
i
1CH4-0G
1CH4-OG  45°TTiff [ #E k- AR
------------ 45°€LBOW METRIC MALE ADJUSTABLE STUD ENDS ISO 9974
5 g A
A ;}— 'ﬁg G L2 | 12 | 13 [ D1|S2 |S3 | sS4 OZ! 8 E
PART NOMBER 5 | EO 5
" D. bar
1CH4-06L-100G 06 | M10x1 24 | 9 | 21 7 |15 | 14 | 14 | 14 | OR08.1X1.6 | 315
1CH4-08L-120G 08 |[M12x15 |27 |12 | 19| 10 [18 | 17 | 14 | 17 | OR09.3X2.4 | 315
1CH4-10L-140G 10 | M14x1.5 |27 |12 | 24 9 |20 | 19 | 19 | 19 | OR11.3X2.4 | 315
1CH4-12L-160G 12 | M16x1.5 |28 |14 | 25 9 |23 | 22| 19 | 22 | OR13.3X2.4 | 315
1CH4-15L-180G . 15 | M18x1.5 |32 |17 | 24 | 11 |25 | 27 | 22 | 24 | OR15.3X2.4 | 315
1CH4-18L-220G 18 | M22x1.5 |33 |17 | 31 | 11 |28 | 32| 27 | 27 | OR19.3X2.4 | 250
1CH4-22L-270G 22 |M27x2 |35 |19 | 31| 14 |33 | 36 | 30 | 32 | OR23.5X3.0 | 160
1CH4-28L-330G 28 | M33x2 |40 |23 | 35| 14 |41 | 41| 36 | 41 | OR29.5X3.0 | 160
1CH4-35L-420G 35 |M42x2 |48 |27 | 37| 14 |51 | 50 | 50 | 50 | OR38.5X3.0 | 160
1CH4-42L-480G 42 | M48x2 |49 |26 |37 | 16 |56 | 60 | 50 | 55 | OR44.5X3.0 | 160
1CH4-065-120G 06 |M12x15 |24 | 9 | 19| 10 [18 | 17 | 14 | 17 | OR09.3X2.4 | 315
1CH4-083-140G 08 | M14x15 [27 |12 | 19| 10 |20 | 19 | 19 | 19 | OR11.3X2.4 | 315
1CH4-10S-160G 10 |M16x1.5 |29 |13 | 23| 11 |23 | 22 | 19 | 22 | OR13.3X2.4 | 315
1CH4-125-180G 12 | M18x1.5 |33 |17 | 25 | 12 |25 | 24 | 19 | 24 | OR15.3X2.4 | 315
1CH4-16S220G | S | 16 |M22x15 |34 |16 | 30 | 14 |28 | 30 | 19 | 27 | OR19.3X2.4 | 250
1CH4-20S-270G 20 |M27x2 |38 |16 | 35| 16 |33 | 36 | 27 | 32 | OR23.5X3.0 | 250
1CH4-255-330G 25 | M33x2 |43 |19 | 37| 16 |41 | 46 | 36 | 41 | OR29.5X3.0 | 160
1CH4-30S-420G 30 [M42x2 |50 |24 | 37| 17 |51 | 50 | 50 | 50 | OR38.5X3.0 | 160
1CH4-385480G 38 | M48x2 |52 |21 | 38| 19 |56 | 60 | 50 | 55 | OR44.5X3.0 | 160

1Ch9-0G

1Ch9-0G  E@EF M EL- AR ORIE &S 1SO 6149-1

------------ 90°ELBOW METRIC MALE ADJUSTABLE STUD END WITH O -RING SEALING ISO

6149-1

Py
5 B3 | s sw | sw | sw N
PART &g | TUB| G |L2| 12 | I3 i D1 |5 | 55 | T4 OX! 3 E7
NOMBER MPa | EO bar
D.

1Ch9-061-100G 06 M10 | 29 14 20 7 15 14 14 14 | OR8.1X1.6 315
1Ch9-08L-120G 08 M12 | 31 16 22 10 18 17 14 17 | OR9.3X2.2 315
1Ch9-10L-140G 10 M14 | 32 17 25 10 20 19 19 19 | OR11.3X2.2 315
1Ch9-12L-160G 12 M16 | 34 19 26 10 23 22 19 22 | OR13.3X2.2 315
1Ch9-15L-180G L 15 M18 | 36 21 30 11 25 27 22 24 | OR15.3X2.2 315
1Ch9-18L-220G 18 M22 | 40 24 33 12 28 32 27 27 | OR19.3X2.2 315
1Ch9-22L-270G 22 M27 | 44 28 35 14 33 36 30 32 | OR23.6X2.9 160
1Ch9-28L-330G 28 M33 | 47 31 38 14 41 41 36 41 OR29.6X2.9 160
1Ch9-35L-420G 35 M42 | 59 38 48 14 51 50 50 50 | OR38.6X2.9 160
1Ch9-42L-480G 42 M48 | 61 38 49 16 56 60 50 55 | OR44.6X2.9 160
1Ch9-06S-120G 06 M12 | 30 15 22 10 18 17 14 17 | OR9.3X2.2 400
1Ch9-08S-140G 08 M14 | 32 17 26 10 20 19 19 19 | OR11.3X2.2 400
1Ch9-10S-160G 10 M16 | 34 18 27 11 23 22 19 22 | OR13.3X2.2 400
1Ch9-12S-180G 12 M18 | 38 22 31 12 25 24 22 24 | OR15.3X2.2 400
1Ch9-16S-220G S 16 M22 | 43 25 35 14 28 30 27 27 | OR19.3X2.2 400
1Ch9-20S-270G 20 M27 | 49 28 39 16 33 36 30 32 | OR23.6X2.9 400
1Ch9-25S-330G 25 M33 | 54 30 44 16 41 46 36 41 OR29.6X2.9 315
1Ch9-30S-420G 30 M42 | 62 36 51 17 51 50 50 50 | OR38.6X2.9 250
1Ch9-38S-480G 38 M48 | 65 34 54 19 56 60 50 55 | OR44.6X2.9 200




R £ S

ADAPTORS

R £ S

ADAPTORS

B0 B
A#]EER METRIC THREAD BITE TYPE

8-
AE)EER METRIC THREAD BITE TYPE

= b

T |
o
AChC-0G ACCh-0G
AChC-OG  =@nifmEk-AHMES ORI B % 1SO 6149-1 ACCh-OG  =i#EmI i HEk-AHESOR! B % H1SO 6149-1
------------ METRIC MALE ADJUSTABLE BRANCH TEE - O’ RING SEALING ISO 6149-1 METRIC MALE ADJUSTABLE RUN TEE -O’ RING SEALING ISO 6149-1
VAN
5 ! # 5w o
PART NOMBER | *& | TUBE S LRI R2N RSRIRNAS REAE (=21 (8538 o SNC IR & = m | SME SW | sw | sw n
MPa | oD. % e TUB G L2 12 |13 i | D1 OX! & 5
bar PARTNOMBER | % | 2 | 3| 4 71
AChC-06L-100G 06 M10x 1 29(1420| 7 | 15|14 | 14| 14 | OR8.1X1.6 | 315 M| D ba
AChC-08L-120G 08 M12x15| 3116|2210 | 18|17 | 14 | 17 | OR9.3X2.2 | 315 Pa r
AChC-10L-140G 10 M14x15| 3217|2510 | 20| 19| 19 | 19 | OR11.3X2.2 | 315 ACCh-06L-100G 06 | M10x1 |29 |14 |20 7 |15 | 14 | 14 | 14 | OR8.1X1.6 | 31
AChC-12L-160G 12 M16x15| 34 |19|26|10 | 23|22 | 19|22 | OR13.3X2.2 | 315 ACCh-08L-120G 08 | M12x1.5 |31 |16 | 22|10 |18 | 17 | 14 | 17 | OR9.3X2.2 | 31
AChC-15L-180G | | 15 M18x15| 3621|3011 | 25|27 | 22|24 | OR15.3X2.2 | 315 ACCh-10L-140G 10 | M14x1.5 |32 [ 17 | 25|10 |20 | 19 | 19 | 19 | OR11.3X2.2 | 31
AChC-18L-220G 18 M22x15 | 40|24 |33 |12 | 28| 32| 27| 27| OR19.3X2.2 | 315 ACCh-12L-160G 12 | M16x1.5 | 34 |19 |26 |10 |23 | 22 | 19 | 22 | OR13.3X2.2 | 31
AChC 2212706 2 M27x2 | a2 28135114 | 331 36 | 30 | 32 | OR23.6x2.9 | 160 ACCh-15L-180G | | | 15 | M18x1.5 |36 |21 | 30|11 |25 | 27 | 22 | 24 | OR15.3X2.2 | 31
AChC-28L-330G 28 332 | 27131 38 12 | 21141 36 |21 | OR29.6x29 | 160 ACCh-18L-220G 18 | M22x1.5 | 40 |24 |33 |12 |28 | 32 | 27 | 27 | OR19.3X2.2 | 31
AChC-35L-420G 35 M42x2 59 (38|48 |14 | 51|50 |50 |50 | OR38.6X2.9 | 160 ACCh-22L.-270G 22 (M27x2 |44 128 125114 |33 | 36 | 30 | 32 | OR23.6X2.9 |19
ACCh-28L-330G 28 |M33x2 |47 |31 |38|14 |41 | 41 | 36 | 41 | OR29.6X2.9 | 16
AChC-42L-480G 42 M48x2 6138|4916 | 56| 60 | 50 | 55 | OR44.6X2.9 | 160 ACCh-35L-420G 35 | Ma2x2 |59 |38 |48 14 |51 | 50 | 50 | 50 | OR38.6X2.9 | 16
AChC-06S-120G 06 M12x15| 30| 15|22 | 10 18 | 17 | 14 | 17 | OR9.3X2.2 | 400 ACCh-42L-480G 42 | M48x2 61 138 149|116 |56 | 60 | 50 | 55 | OR44.6X2.9 | 16
AChC-08S-140G 08 M14x15| 32| 17| 26| 10 20| 19| 19 | 19 | OR11.3X2.2 | 400 ACCh-06S-120G 06 | M12x1.5 130 |15 | 22110 |18 | 17 | 14 | 17 | OR9.3X2.2 40
AChC-10S-160G 10 M16x15| 3418|2711 | 23| 22| 19| 22 | OR13.3X2.2 | 400 ACCh-08S-140G 08 | M14x1.5 [32 |17 [26/10 |20 | 19 | 19 | 19 | OR11.3X2.2 | 40
AChC-12S-180G 12 M18x1.5| 38 (22| 31|12 25|24 | 22 | 24 | OR15.3X2.2 | 400 ACCh-10S-160G 10 | M16x1.5 |34 |18 |27 |11 |23 | 22 | 19 | 22 | OR13.3X2.2 | 40
AChC-16S-220G | S | 16 M22x15| 43 |25|35|14 | 28| 30|27 | 27 | OR19.3X2.2 | 400 ACCh-125-180G 12 | M18x1.5 | 38 |22 [31]12 |25 | 24 | 22 | 24 | OR15.3X2.2 | 40
AChC-20S-270G 20 | M27x2 | 49|28|39|16 | 33| 36| 30| 32 | OR23.6X2.9 | 400 288223:5?8@ S ;g mzixf 23 ;g 22 1‘6‘ 52 gg gg g; gi;g-gii: 38
- - X . .
AChC-25S-330G 25 M33x2 54 (30| 44|16 | 41| 46| 36 | 41 | OR29.6X2.9 | 315 ACCh-255.3300 25 Tnano 1 5a T30 Taa 16 a1 | 46 |36 41 | OR29 6x29 | 31
AChC-30S-420G 30 M42x2 6236|5117 | 51| 50|50 | 50 | OR38.6X2.9 | 250 ACCh-305-420G 30 IMaza 162 136 151117 151 | 50 | 50 | 50 | OR38.6x29 | 25
AChC-38S-480G 38 M48x2 65| 34|54/ 19 | 56| 60 | 50 | 55 | OR44.6X2.9 | 200 ACCh-385-480G 38 | Ma8x2 | 65 | 34 154119 |56 | 60 | 50 | 55 | OR44.6X2.9 | 20




®-7%s

AH]EER METRIC THREAD BITE TYPE

R S8

ADAPTORS

R, £ S

\y
#/s, ;
ol
s
Dy
1Ch4-0G
1Ch4-0G AS°T] i [ ek - A MRS OZY B % 3
———————————— 45°ELBOW METRIC MALE ADJUSTABLE FITTINGS - O’RING SEALING ISO 6149-1
Gl
4 A
RS = 2 SW | SW | SW ol
ART NgMBER & S @ L2 2B | i | D155, O &
MPa BE vl
0 bar
D.
1Ch4-06L-100G 06 | M10x1 29 |14 | 20| 7 15 |14 |14 |14 | OR8.1X1.6 315
1Ch4-08L-120G 08 | M12x1.5 3116|2210 |18 |17 |14 |17 | OR9.3X2.2 315
1Ch4-10L-140G 10 | M14x1.5 32 (172510 |20 |19 |19 |19 | OR11.3X2.2 315
1Ch4-12L-160G 12 | M16x1.5 34 (19| 26|10 |23 |22 |19 |22 | OR13.3X2.2 315
1Ch4-15L-180G 15 | M18x1.5 36 (21|30 11 |25 |27 |22 |24 | OR15.3X2.2 315
1Ch4-18L-220G L 18 | M22x1.5 40 | 24 [ 33| 12 |28 |32 |27 |27 | OR19.3X2.2 315
1Ch4-22L-270G 22 | M27x2 44 | 28 [ 35| 14 |33 |36 |30 |32 | OR23.6X2.9 160
1Ch4-28L-330G 28 | M33x2 47 |31 (38| 14 |41 |41 |36 |41 | OR29.6X2.9 160
1Ch4-35L-420G 35 | M42x2 59 | 38 |48 | 14 |51 |50 [50 |50 | OR38.6X2.9 160
1Ch4-42L-480G 42 | M48x2 61|38 |49 | 16 |56 |60 |50 |55 | OR44.6X2.9 160
1Ch4-06S-120G 06 | M12x1.5 3015|2210 |18 |17 |14 |17 | OR9.3X2.2 400
1Ch4-08S-140G 08 | M14x1.5 32 (172610 [20 |19 |19 |19 | OR11.3X2.2 400
1Ch4-10S-160G 10 | M16x1.5 34 (18 |27 11 |23 |22 |19 |22 | OR13.3X2.2 400
1Ch4-12S-180G 12 | M18x1.5 38 22|31 12 |25 |24 |22 |24 | OR15.3X2.2 400
1Ch4-16S-220G S 16 | M22x1.5 43 |25 (35| 14 |28 |30 |27 |27 | OR19.3X2.2 400
1Ch4-20S-270G 20 | M27x2 49 |28 (39| 16 |33 |3 |30 |32 | OR23.6X2.9 400
1Ch4-25S-330G 25 | M33x2 54 |30 | 44 | 16 |41 |46 |36 |41 | OR29.6X2.9 315
1Ch4-30S-420G 30 | M42x2 62 |36 | 51|17 |51 |50 |50 |50 | OR38.6X2.9 250
1Ch4-28S-480G 38 | M48x2 65|34 | 54|19 |56 |60 |50 |55 | OR44.6X2.9 200

ADAPTORS
| e
A#&%Ex, METRIC THREAD BITE TYPE
. |
1,
% I
_. Sy
_ l —
G
oD |
1CG9-0G
1CG9-0G  907a] i 1Bk - HllHB 4L 1SO 1179
------------ 90°ELBOW BSP THREAD ADJUSTABLE STUD ENDS 1S0O 1179
B
| A
s i & G L2 |12 13 i | D1 | S2 | S3 | S4 OZ!E }/AJ:E?;J
PART NOMBER " 'BI'LEJ bar
P| O
a | D
1CG9-06L-020G 06 G1/8A 29 14 19 7 15 14 14 14 OR8X1.88 315
1CG9-08L-040G 08 G1/4A 31 16 | 23 9 20 17 14 19 OR10.77X2.62 315
1CG9-10L-040G 10 G1/4A 32 17 | 25 9 20 19 19 19 OR10.77X2.62 315
1CG9-12L-060G 12 G3/8A 34 19 | 28 9 23 22 19 22 OR13.94X2.62 250
1CG9-15L-080G 15 G1/2A 36 21 30 13 28 27 22 27 OR17.12X2.62 250
1CG9-18L-080G - 18 G1/2A 40 24 | 36 13 28 32 27 27 OR17.12X2.62 250
1CG9-22L-120G 22 G3/4A 44 28 | 36 13 33 36 30 36 OR23.47X2.62 160
1CG9-28L-160G 28 G1A 47 31 44 15 41 41 36 41 OR29.74X3.53 160
1CG9-35L-200G 35 G1-1/4A | 59 38 | 50 15 51 50 50 50 OR37.69X3.53 160
1CG9-42L-240G 42 G1-1/2A | 61 38 | 52 15 56 60 50 55 OR44.04X3.53 160
1CG9-06S-040G 06 G 1/4A 30 15 | 23 9 20 17 14 19 OR10.77X2.62 315
1CG9-08S-040G 08 G 1/4A 32 17 | 27 9 20 19 19 19 OR10.77X2.62 315
1CG9-10S-060G 10 G 3/8A 34 18 | 29 9 23 22 19 22 OR13.94X2.62 250
1CG9-12S-060G 12 G 3/8A 38 22 | 29 9 23 24 22 22 OR13.94X2.62 250
1CG9-16S-080G S | 16 G 1/2A 43 25 | 36 13 28 30 27 27 OR17.12X2.62 250
1CG9-20S-120G 20 G 3/4A 49 28 | 39 12 33 36 30 36 OR23.47X2.62 250
1CG9-258-160G 25 G1A 54 30 | 44 14 41 46 36 41 OR29.74X3.53 250
1CG9-30S-200G 30 G1-1/4A | 62 36 | 49 15 51 50 50 50 OR37.69X3.53 160
1CG9-38S-240G 38 G1-1/2A | 65 34 | 55 15 56 60 50 55 OR44.04X3.53 160




85— B
AEEER METRIC THREAD BITE TYPE

Dy

e Bi ]

R £ S

ADAPTORS

B-5%s

AElEER METRIC THREAD BITE TYPE

ACCG-0G
ACCG-OG  =i@m[iim#ek-JEHIRa 1SO 1179
------------ BSP THREAD ADJUSTABLE STUD END WITH O -RING SEALING RUN TEE
AN
RS E5%% m?‘? %@J
PART NOMBER o TUBE G L2 |12 | 13| i |D1|S2|S3|s4 OZ!E %
OD. bar
ACCG-06L-020G 06 G 1/8A 29 14 19 7 15 14 14 14 OR8X1.88 315
ACCG-08L-040G 08 G 1/4A 31 16 23 9 20 17 14 19 OR10.77X2.62 | 315
ACCG-10L-040G 10 G 1/4A 32 17 25 9 20 19 19 19 OR10.77X2.62 | 315
ACCG-12L-060G 12 G 3/8A 34 19 28 9 23 22 19 22 OR13.94X2.62 | 250
ACCG-15L-080G 15 G 1/2A 36 21 30 13 28 27 22 27 OR17.12X2.62 | 250
ACCG-18L-080G - 18 G 1/2A 40 24 36 13 28 32 27 27 OR17.12X2.62 | 250
ACCG-22L-120G 22 G 3/4A 44 28 36 13 33 36 30 36 OR23.47X2.62 | 160
ACCG-28L-160G 28 G1A 47 31 44 15 41 41 36 41 OR29.74X3.53 | 160
ACCG-35L-200G 35 G1-1/4A | 59 38 50 15 51 50 50 50 OR37.69X3.53 | 160
ACCG-42L-240G 42 G1-1/2A | 61 38 52 15 56 60 50 55 OR44.04X3.53 | 160
ACCG-06S-040G 06 G 1/4A 30 15 23 9 20 17 14 19 OR10.77X2.62 | 315
ACCG-08S-040G 08 G 1/4A 32 17 27 9 20 19 19 19 OR10.77X2.62 | 315
ACCG-10S-060G 10 G 3/8A 34 18 29 9 23 22 19 22 OR13.94X2.62 | 250
ACCG-12S-060G 12 G 3/8A 38 22 29 9 23 24 22 22 OR13.94X2.62 | 250
ACCG-16S-080G S 16 G 1/2A 43 25 36 13 28 30 27 27 OR17.12X2.62 | 250
ACCG-20-120G 20 G 3/4A 49 28 39 12 33 36 30 36 OR23.47X2.62 | 250
ACCG-25S-160G 25 G 1A 54 30 44 14 41 46 36 41 OR29.74X3.53 | 250
ACCG-30S-200G 30 G1-1/4A | 62 36 49 15 51 50 50 50 OR37.69X3.53 | 160
ACCG-38S-240G 38 G1-1/2A | 65 34 55 15 56 60 50 55 OR44.04X3.53 | 160

ACGC-OG
ACGC-OG  =i@m M #ek-JEHIIRE 1SO 1179
------------ BSP THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING BRANCH TEE

4} #

5 ART'“,E?M BER j ﬁ, G L2 |12 | 13| i | DI |sS2|8s3]|s4 O B ijj
uP | 5 v

a | D

ACGC-06L-020G 06 G 1/8A 29 14 19 7 15 14 14 14 OR8X1.88 315
ACGC-08L-040G 08 G 1/4A 31 16 23 9 20 17 14 19 OR10.77X2.62 | 315
ACGC-10L-040G 10 G 1/4A 32 17 25 9 20 19 19 19 OR10.77X2.62 | 315
ACGC-12L-060G 12 G 3/8A 34 19 28 9 23 22 19 22 OR13.94X2.62 | 250
ACGC-15L-080G 15 G 1/2A 36 21 30 13 28 27 22 27 OR17.12X2.62 | 250
ACGC-18L-080G - 18 G 1/2A 40 24 36 13 28 32 27 27 OR17.12X2.62 | 250
ACGC-22L-120G 22 G 3/4A 44 28 36 13 33 36 30 36 OR23.47X2.62 | 160
ACGC-28L-160G 28 G1A 47 31 44 15 41 41 36 41 OR29.74X3.53 | 160
ACGC-35L-200G 35 | G1-1/4A 59 38 50 | 15 51 50 50 50 | OR37.69X3.53 | 160
ACGC-42L-240G 42 G1-1/2A 61 38 52 15 56 60 50 55 | OR44.04X3.53 | 160
ACGC-06S-040G 06 | G1/4A 30 15 23 9 20 17 14 19 | OR10.77X2.62 | 315
ACGC-08S-040G 08 | G1/4A 32 17 27 9 20 19 19 19 | OR10.77X2.62 | 315
ACGC-10S-060G 10 G 3/8A 34 18 29 9 23 22 19 22 OR13.94X2.62 | 250
ACGC-12S-060G 12 G 3/8A 38 22 29 9 23 24 22 22 OR13.94X2.62 | 250
ACGC-16S-080G S 16 G 1/2A 43 25 36 13 28 30 27 27 OR17.12X2.62 | 250
ACGC-20-120G 20 G 3/4A 49 28 39 12 33 36 30 36 OR23.47X2.62 | 250
ACGC-25S5-160G 25 G1A 54 30 44 14 41 46 36 41 OR29.74X3.53 | 250
ACGC-30S-200G 30 G1-1/4A 62 36 49 15 51 50 50 50 OR37.69X3.53 | 160
ACGC-38S-240G 38 G1-1/2A 65 34 55 15 56 60 50 55 | OR44.04X3.53 | 160




R £ S

-5 %s

AHE]EER METRIC THREAD BITE TYPE

Sz
Sa |

ADAPTORS
| e
A#&%Ex, METRIC THREAD BITE TYPE
1CG4-0G A5°H] A ) Be 3k -TEHINR 4L
------------ 45°ELBOW BSP TH READ ADJUSTABLE STUD ENDS ISO 1179
ME A
s i_z 'ﬁjé G L2 |12 |13 i |D1|S2|S3| s4 OFY E
PART NOMBER  Eo h
D. bar
1CG4-06L-020G 06 G 1/8A 24 9 21 7 15 14 14 14 | OR8X1.88 315
1CG4-08L-040G 08 G 1/4A 27 12 20 9 20 17 14 19 | OR10.77X2.62 | 315
1CG4-10L-040G 10 G 1/4A 27 12 25 9 20 19 19 19 | OR10.77X2.62 | 315
1CG4-12L-060G 12 G 3/8A 28 14 28 9 23 22 19 22 | OR13.94X2.62 | 250
1CG4-15L-080G 15 G 1/2A 32 17 26 | 13 28 27 22 27 | OR17.12X2.62 | 250
1CG4-18L-080G - 18 G 1/2A 33 17 32 | 13 28 32 27 27 | OR17.12X2.62 | 250
1CG4-22L-120G 22 G 3/4A 35 19 37 | 13 33 36 30 36 | OR23.47X2.62 | 160
1CG4-28L-160G 28 G1A 40 23 37 | 15 41 41 36 41 OR29.74X3.53 | 160
1CG4-35L-200G 35 G1-1/4A | 48 27 39 | 15 51 50 50 50 | OR37.69X3.53 | 160
1CG4-42L-240G 42 G1-1/2A | 49 26 39 | 15 56 60 50 55 | OR44.04X3.53 | 160
1CG4-06S-040G 06 G1/4 24 9 19 9 20 17 14 19 | OR10.77X2.62 | 315
1CG4-08S-040G 08 G 1/4A 27 12 23 9 20 19 19 19 | OR10.77X2.62 | 315
1CG4-10S-060G 10 G 3/8A 29 13 25 9 23 22 19 22 | OR13.94X2.62 | 250
1CG4-125-060G 12 G 3/8A 33 17 25 9 23 24 19 22 | OR13.94X2.62 | 250
1CG4-16S-080G S 16 G 1/2A 34 16 31 13 28 30 19 27 | OR17.12X2.62 | 250
1CG4-20S-120G 20 G 3/4A 38 16 34 | 12 33 36 27 36 | OR23.47X2.62 | 250
1CG4-255-160G 25 G1A 43 19 37 | 14 41 46 36 41 OR29.74X3.53 | 250
1CG4-30S-200G 30 G1-1/4A | 50 24 38 | 15 51 50 50 50 | OR37.69X3.53 | 160
1CG4-38S-240G 38 G1-1/2A | 52 21 38 | 15 56 60 50 55 | OR44.04X3.53 | 160

1
1C09-0G
1C09-0G BRI m 8k -E HIE L ORI B %4 1SO 11962
------------ 90°ELBOW UN, UNF THRE AD ADJUSTABLE STUD ENDS WITH O’ RING SEALING

i "
B L
A iz g G L2 | 12 | 13 ] i D1 | S2|S3| s4 OZIE f‘g
PART NOMBER :
MPa | TUB 71
EO bar

D.
1C09-06L-040G 06 7/16-20 UNF 29 14 19 10 16.5 14 14 14 OR9.17X1.83 315
1C09-08L-040G 08 | 7/16-20 UNF 31 16 19 10 18.3 17 14 14 | OR9.17X1.83 315
1C09-10L-060G 10 | 9/16-18 UNF 32 17 24 10 20.2 19 19 17 | OR11.89X1.98 | 315
1C0O9-12L-060G 12 9/16-18 UNF 34 19 25 11 25.7 22 19 17 OR11.89X1.98 | 315
1C09-12L-080G 12 | 3/4-16 UNF 34 19 25 13 25.7 22 19 22 | OR16.36X2.21 | 315
1C09-15L-080G 15 3/4-16 UNF 36 21 28 13 29.3 27 22 22 OR16.36X2.21 | 315
1C0O9-15L-100G L 15 7/8-14 UNF 36 21 28 15 29.3 27 22 27 OR19.18X2.46 | 315
1C09-18L-100G 18 7/8-14 UNF 40 24 32 15 29.3 32 27 27 OR19.18X2.46 | 315
1C09-18L-120G 18 1-1/16UN 40 24 32 17 29.3 32 30 32 OR23.47X2.95 | 315
1C09-22L-120G 22 1-1/16UN 44 28 35 17 36.7 36 30 32 OR23.47X2.95 | 160
1C09-28L-160G 28 1-5/16UN 47 31 42 17 44.0 41 36 41 OR29.74X2.95 | 160
1C09-35L-200G 35 1-5/8UN 59 38 46 17 55.0 50 50 50 | OR37.47X3 160
1C09-42L-240G 42 1-7/8UN 61 38 47 17 55.0 60 50 55 OR43.69X3 160
1C09-06S-040G 06 7/16-20 UNF 30 15 20 12 16.5 17 14 14 OR9.17X1.83 400
1C09-08S-060G 08 | 9/16-18 UNF 32 17 25 12 18.3 19 19 17 | OR11.89X1.98 | 400
1C09-10-060G 10 9/16-18 UNF 34 18 26 12 20.2 22 19 17 OR11.89X1.98 | 400
1C09-12-080G 12 3/4-16 UNF 38 22 30 14 25.7 24 22 22 OR16.36X2.21 | 400
1C09-16S-100G S 16 | 7/8-14 UNF 43 25 34 16 29.3 30 27 27 | OR19.18X2.46 | 400
1C09-20S-120G 20 1-1/16UN 49 28 37 19 36.7 36 30 32 OR23.47X2.95 | 400
1C09-258-160G 25 1-5/16UN 54 30 50 19 44.0 46 36 32 OR23.47X2.95 | 400
1C09-30S-200G 30 1-5/8UN 62 36 50 19 55.0 50 50 50 OR37.47X3 250
1C09-38S-240G 38 1-7/8UN 65 34 51 19 55.0 60 50 55 OR43.69X3 250




BB
A#EER METRIC THREAD BITE TYPE

Sz

R £ S

ADAPTORS

-5 %s

AHE]EER METRIC THREAD BITE TYPE

R, £ S

ADAPTORS

ACOC-0G
ACOC-OG  =i@#m M HEk-E MRS ORI % £SO 11962
------------ UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING BRANCH TEE
RE o4 . w |
PART NOMBER 2 T,Ei G L2 [ 12 |13 i D1 | S2 | S3 | sS4 ORE lji;
VPa EO bar
D.

ACOC-06L-040G 06 7/16-20 UNF | 29 14 19 10 16.5 14 14 14 OR9.17X1.83 315
ACOC-08L-040G 08 7/16-20 UNF | 31 16 19 10 18.3 17 14 14 OR9.17X1.83 315
ACOC-10L-040G 10 9/16-18 UNF | 32 17 24 10 20.2 19 19 17 OR11.89X1.98 | 315
ACOC-12L-060G 12 9/16-18 UNF | 34 19 25 11 25.7 22 19 17 OR11.89X1.98 | 315
ACOC-12L-080G 12 3/4-16 UNF 34 19 25 13 25.7 22 19 22 OR16.36X2.21 | 315
ACOC-15L-080G 15 3/4-16 UNF 36 21 28 13 29.3 27 22 22 OR16.36X2.21 | 315
ACOC-15L-100G L 15 7/8-14 UNF 36 21 28 15 29.3 27 22 27 OR19.18X2.46 | 315
ACOC-18L-100G 18 7/8-14 UNF 40 24 32 15 29.3 32 27 27 OR19.18X2.46 | 315
ACOC-18L-120G 18 1-1/16UN 40 24 32 17 29.3 32 30 32 OR23.47X2.95 | 315
ACOC-22L-120G 22 1-1/16UN 44 28 35 17 36.7 36 30 32 OR23.47X2.95 | 160
ACOC-28L-160G 28 1-5/16UN 47 31 42 17 44.0 41 36 41 OR29.74X2.95 | 160
ACOC-35L-200G 35 1-5/8UN 59 38 46 17 55.0 50 50 50 OR37.47X3 160
ACOC-42L-240G 42 1-7/8UN 61 38 47 17 55.0 60 50 55 OR43.69X3 160
ACOC-06S-040G 06 7/16-20 UNF | 30 15 20 12 16.5 17 14 14 OR9.17X1.83 400
ACOC-08S-060G 08 9/16-18 UNF | 32 17 25 12 18.3 19 19 17 OR11.89X1.98 | 400
ACOC-10-060G 10 9/16-18 UNF | 34 18 26 12 20.2 22 19 17 OR11.89X1.98 | 400
ACOC-12-080G 12 3/4-16 UNF 38 22 30 14 25.7 24 22 22 OR16.36X2.21 | 400
ACOC-16S-100G S 16 7/8-14 UNF 43 25 34 16 29.3 30 27 27 OR19.18X2.46 | 400
ACOC-20S-120G 20 1-1/16UN 49 28 37 19 36.7 36 30 32 OR23.47X2.95 | 400
ACOC-25S-160G 25 1-5/16UN 54 30 50 19 44.0 46 36 32 OR23.47X2.95 | 400
ACOC-30S-200G 30 1-5/8UN 62 36 50 19 55.0 50 50 50 OR37.47X3 250
ACOC-38S-240G 38 1-7/8UN 65 34 51 19 55.0 60 50 55 OR43.69X3 250

|2
ACCO-0G
ACCO-0G  =i@w ifi#e:k-3% RS ORY B &t
------------ UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING RUN TEE

B

IR ,A\

% 7 41
ARy o @] B G L2 12 |13 i | DI S2|8S3|S4 OHRME Jj‘r;

M| BE bar

P (0)

a D.
ACCO-06L-040G 06 7/16-20 UNF 29 14 19 10 16.5 14 14 14 OR9.17X1.83 315
ACCO-08L-040G 08 7/16-20 UNF 31 16 19 10 18.3 17 14 14 OR9.17X1.83 315
ACCO-10L-040G 10 9/16-18 UNF 32 17 24 10 20.2 19 19 17 OR11.89X1.98 | 315
ACCO-12L-060G 12 9/16-18 UNF 34 19 25 11 25.7 22 19 17 OR11.89X1.98 | 315
ACCO-12L-080G 12 3/4-16 UNF 34 19 25 13 25.7 22 19 22 OR16.36X2.21 | 315
ACCO-15L-080G 15 3/4-16 UNF 36 21 28 13 29.3 27 22 22 OR16.36X2.21 | 315
ACCO-15L-100G L |15 7/8-14 UNF 36 21 28 15 29.3 27 22 27 OR19.18X2.46 | 315
ACCO-18L-100G 18 7/8-14 UNF 40 24 32 15 29.3 32 27 27 OR19.18X2.46 | 315
ACCO-18L-120G 18 1-1/16UN 40 24 32 17 29.3 32 30 32 OR23.47X2.95 | 315
ACCO-22L-120G 22 1-1/16UN 44 28 35 17 36.7 36 30 32 OR23.47X2.95 | 160
ACCO-28L-160G 28 1-5/16UN 47 31 42 17 44.0 41 36 41 OR29.74X2.95 | 160
ACCO-35L-200G 35 1-5/8UN 59 38 46 17 55.0 50 50 50 OR37.47X3 160
ACCO-42L-240G 42 1-7/8UN 61 38 47 17 55.0 60 50 55 OR43.69X3 160
ACCO-06S-040G 06 7/16-20 UNF 30 15 20 12 16.5 17 14 14 OR9.17X1.83 400
ACCO-08S-060G 08 9/16-18 UNF 32 17 25 12 18.3 19 19 17 OR11.89X1.98 | 400
ACCO-10S-060G 10 9/16-18 UNF 34 18 26 12 20.2 22 19 17 OR11.89X1.98 | 400
ACCO-12S-080G 12 3/4-16 UNF 38 22 30 14 25.7 24 22 22 OR16.36X2.21 | 400
ACCO-16S-100G S| 16 7/8-14 UNF 43 25 34 16 29.3 30 27 27 OR19.18X2.46 | 400
ACCO-20S-120G 20 1-1/16UN 49 28 37 19 36.7 36 30 32 OR23.47X2.95 | 400
ACCO-25S-160G 25 1-5/16UN 54 30 50 19 44.0 46 36 32 OR23.47X2.95 | 400
ACCO-30S-200G 30 1-5/8UN 62 36 50 19 55.0 50 50 50 OR37.47X3 250
ACCO-38S-240G 38 1-7/8UN 65 34 51 19 55.0 60 50 55 OR43.69X3 250




ADAPTORS ADAPTORS
it il =
A#REFR, METRIC THREAD BITE TYPE A#l<ER, METRIC THREAD BITE TYPE
o
B :
5/ J Y N
¥ - m_[ ] M = — i
MBI (s
_ — N
= “ | _..G \\\
1Cl
1C04-0G 1CI o e A Sk - A R 8L
1C04-0G Y GIN NE:  iilL-E Q@ i | - N —— METRIC BANJO
———————————— 45° ELBOW UN, UNF THREAD ADJUSTABLE STUD ENDS WITH O’ RING SEALING E N
i | A
1 N K5 Z | % _ il
R EH | 5 & PART 5 | TU G S2 [S3 |86 |L2| I2 L3 3 |d3| i | h | E
PART o ﬁ G 2|12 | 3| i | DI |s2|s3|s4| OHE E NOMBER BE 2
NOMBER | ypa | o 5 MP | 5 bar

o bar a D.

D. 1CI-06L-10 06 | M 10x1 14 |17 |17 |27 [120 |240 |105 |14 |8 |25 | 315
1C04-06L-040G 06 | 7/16-20UNF |24 | 9 19 [10 | 165 |14 |14 |14 | OR9.17X1.83 | 315 1CI-08L-12 08 | Mi2x15 |17 |22 |19 |29 |145 |300 |140 |17 |12 |30 | 3¢5
1C04-08L-040G 08 7/16-20UNF | 27 12 19 10 18.3 17 14 14 OR9.17X1.83 315 1CI-10L-14 10 | M 14x1.5 19 22 19 30 15.5 30.0 14.0 19 12 3.0 | 315
1C04-10L-060G 10 | 9/16-18UNF |27 |12 |24 |10 | 202 |19 |19 |17 | OR11.89X1.98 | 315 1CI12L-16 12 | Miexis |22 |27 |24 |33 |180 | 360 | 165 |21 |12 |30 | a1s
1C04-12L-060G 12 | 9/16-18UNF | 28 |14 |24 |11 |257 |22 |19 |17 | OR11.89X1.98 | 315 T 15 |M1sx15 |27 |30 |30 |37 | 215 | 395 | 185 |23 |12 |30 | 515
1C04-12L-080G 12 | 3/4-16UNF |28 |14 |24 |13 |257 |22 |19 |22 | OR16.36X2.21 | 315 L
1C04-15L-080G 15 | 3/4-16UNF |32 |17 |24 |13 | 293 |27 |22 |22 | OR16.36X2.21 | 315 1CI-18L-22 18 | M22x15 |32 |32 |30 |37 | 210 |450 |215 |27 |14 |45 | 315
1C04-15L-100G | L |15 | 7/814UNF |32 |17 |24 |15 | 203 |27 |22 |27 | OR19.18X2.46 | 315 1C1-22L-26 22 | mM26x1.5 |36 |41 |36 |44 1275 530 | 240 |31 |16 |35 | 315
1C04-18L-100G 18 | 7/8-14UNF |33 |17 |30 |15 |293 |32 |27 |27 | OR19.18X2.46 | 315 1CI-28L-33 28 | M33x15 |41 |50 |46 |49 |320 |66.0 |305 |39 |18 |35 | 315
1C04-18L-120G 18 | 1-1/16UN 33 |17 |30 |17 | 293 |32 |30 |32 | OR23.47X2.95 | 315 1CI-35L-42 35 | M42x2 50 |60 |55 |58 |36.0 |76.0 |355 |49 |20 |35 | 35
1C04-22L-120G 22 1-1/16UN 35 19 33 17 36.7 36 30 32 OR23.47X2.95 | 160 1Cl-42L-48 42 | M 48x2 60 70 60 63 40.5 87.0 40.5 55 22 35 | 160
1C04-28L-160G 28 | 1-5/16UN 39 |23 |35 |17 |440 |41 |36 |41 | OR29.74X2.95 | 160 1C1-065-12 06 | m12x1s |17 |22 |19 |31 |165 | 300 | 140 |17 |12 |30 | 469
1C04-35L-200G 35 | 1-5/8UN 48 |27 |37 |17 |550 |50 |50 |50 | OR37.47X3 160 10108514 08 | miaxis |19 |22 |19 |31 | 165 | 300 | 140 |19 |12 |30 | 16
1C04-42L-240G 42 | 1-7/8UN 49 |26 |37 |17 |550 |60 |50 |55 | OR43.69X3 160 1ol10516 10 miects |22 127 |2 |35 185 |30 165 |20 |12 |30 | 160
1C04-06S-040G 06 | 7/16-20UNF |24 |9 18 |12 | 165 |17 |14 |14 | OR9.17X1.83 | 400 :
1C04-08S-060G 08 | 9/16-18UNF |27 |12 |21 |12 |183 |19 |19 |17 | OR11.89X1.98 | 400 1CI-125-18 12 [m18x15 |24 |27 |27 |36 |200 395 |185 |23 |12 |30 | 490
1C04-108-060G 10 | 9M16-18UNF |29 |13 |21 [12 |202 |22 |19 |17 | OR11.89X1.98 | 400 1C1-14S-20 | | 14 | M20x15 |27 |32 |30 |40 | 225 |435 1200 |25 |14 |30 | 400
1C04-12S-080G 12 | 3/4-16UNF |33 |17 |22 |14 |257 |24 |22 |22 | OR16.36X2.21 | 400 1CI-16S-22 16 [ M22x15 |30 |32 [30 |40 [220 [450 |215 |27 |14 |45 | 40
1C04-16S-100G | S |16 | 7/8-14UNF |34 |16 |29 |16 [293 |30 |27 |27 | OR19.18X2.46 | 400 1CI-208-27 20 | M 27x2 36 |41 |36 |48 [265 |530 [240 |32 |16 |35 | 40
1C04-208-120G 20 1-1/16UN 38 |16 | 31 19 |36.7 36 | 30 |32 | OR23.47X2.95 | 400 1CI-25S-33 25 | M 33x2 46 |50 |46 |56 | 315 66.0 305 39 18 | 3.5 | 400
1C04-25S8-160G 25 | 1-5/16UN 54 |30 |33 |19 |440 |46 |36 |32 | OR23.47X2.95 | 400 1C1-30542 30 | Mano 50 |60 |55 |64 |37.0 | 760 |355 |49 |20 |35 | 400
1C04-30S-200G 30 | 1-5/8UN 50 |24 |35 |19 |550 |50 |50 |50 | OR37.47X3 250 1138548 38 | M e 60 |70 |60 |72 | 415 | 870 | 405 |55 |22 |35 | a0
1C04-38S-240G 38 | 1-7/8UN 52 |21 |35 |19 |550 |60 |50 |55 | ORA43.69X3 250




R £ S

B-5ws

A#]EER METRIC THREAD BITE TYPE

ADAPTORS
| e
A#&%Ex, METRIC THREAD BITE TYPE
g
'? i
| |
" (BIN 3952, 1
ACI
ACI BERER ZEEL-AHIBL
------------ METRIC RUN TEE BANJO
I x
Jrest 5 | WES T
PART s @ G S2 [S3 |86 |L2| I2 L3 3 |d3 | i | h | 4k
NOMBER | 4 Tg[B)E E
' 7
MPa bar
ACI-06L-10 06 M 10x1 14 17 17 27 12.0 24.0 10.5 14 8 2.5 315
ACI-08L-12 08 M12x1.5 17 22 19 29 14.5 30.0 14.0 17 12 3.0 315
ACI-10L-14 10 M14x1.5 19 22 19 30 15.5 30.0 14.0 19 12 3.0 315
ACI-12L-16 12 M16x1.5 | 22 27 24 33 18.0 36.0 16.5 21 12 3.0 | 315
ACI-15L-18 15 M18x1.5 | 27 30 30 37 21.5 39.5 18.5 23 12 3.0 | 315
ACI-18L-22 - 18 M22x1.5 32 32 30 37 21.0 45.0 21.5 27 14 4.5 315
ACI-22L-26 22 M26x1.5 36 41 36 44 27.5 53.0 24.0 31 16 3.5 160
ACI-28L-33 28 M 33x2 41 50 46 49 32.0 66.0 30.5 39 18 3.5 160
ACI-35L-42 35 M 42x2 50 60 55 58 36.0 76.0 35.5 49 20 3.5 160
ACI-42L-48 42 M 48x2 60 70 60 63 40.5 87.0 40.5 55 22 3.5 160
ACI-06S-12 06 M12x1.5 17 22 19 31 16.5 30.0 14.0 17 12 3.0 400
ACI-08S-14 08 M14x1.5 19 22 19 31 16.5 30.0 14.0 19 12 3.0 400
ACI-10S-16 10 M16x1.5 22 27 24 35 18.5 36.0 16.5 21 12 3.0 400
ACI-12S-18 12 M18x1.5 24 27 27 36 20.0 39.5 18.5 23 12 3.0 400
ACI-14S-20 s 14 M20x1.5 27 32 30 40 22.5 43.5 20.0 25 14 3.0 400
ACI-16S-22 16 M22x1.5 30 32 30 40 22.0 45.0 21.5 27 14 4.5 400
ACI-20S-27 20 M 27x2 36 41 36 48 26.5 53.0 24.0 32 16 3.5 250
ACI-25S-33 25 M 33x2 46 50 46 56 315 66.0 30.5 39 18 3.5 250
ACI-30S-42 30 M 42x2 50 60 55 64 37.0 76.0 355 49 20 3.5 250
ACI-38S-48 38 M 48x2 60 70 60 72 41.5 87.0 40.5 55 22 3.5 | 250

A EHERTE DKA
(DIN 3852, d, /I1)
1CI-B
{CLB B Bk FEBIRA
------------ BSP BANJO
s
ks | B4 | A T4
PART &% | TUB G S2 | S3 | S6 | L2 12 L3 13 d3 i h K5
NOMBER | ypa | EO bar
D.

1CI-06L-02B 06 G1/8 A 14 17 17 27 12.0 24 10.5 14 8 25 315
1CI-08L-04B 08 G1/4 A 17 22 19 29 14.5 30 14.0 18 12 3.0 315
1CI-10L-04B 10 G114 A 19 22 19 30 15.5 30 14.0 18 12 3.0 315
1CI-12L-02B 12 G3/8A 22 27 24 33 18.0 36 16.5 22 12 3.0 315
1CI-15L-08B 15 G1/2A 27 32 30 37 21.5 45 21.5 26 14 4.5 315
1CI-18L-08B L 18 G1/2 A 32 32 30 37 21.0 45 21.5 26 14 4.5 315
1CI-22L-12B 22 G3/4 A 36 41 36 44 27.5 53 24.0 32 16 3.5 160
1CI-28L-16B 28 G1A 41 50 46 49 32.0 66 30.5 39 18 3.5 160
1CI-35L-20B 35 G114A | 50 60 55 58 36.0 76 355 49 20 3.5 160
1Cl-42L-24B 42 G11/2A | 60 70 60 63 40.5 87 40.5 55 22 3.5 160
1CI-06S-04B 06 G1/4 A 17 22 19 31 16.5 30 14.0 18 12 3.0 400
1CI-08S-04B 08 G1/4 A 19 22 19 31 16.5 30 14.0 18 12 3.0 400
1CI-10S-06B 10 G3/8A 22 27 24 35 18.5 36 16.5 22 12 3.0 400
1CI-12S-06B 12 G3/8 A 24 27 24 35 18.5 36 16.5 22 12 3.0 400
1CI-14S-08B 14 G1/2A 27 32 30 40 225 45 21.5 26 14 45 400
1CI-16S-08B S 16 G1/2A 30 32 30 40 22.0 45 21.5 26 14 45 400
1CI-20S-12B 20 G3/4 A 36 41 36 48 26.5 53 24.0 32 16 3.5 250
1CI-25S-16B 25 G1A 46 50 46 56 315 66 30.5 39 18 3.5 250
1CI-30S-20B 30 G114 A | 50 60 55 64 37.0 76 345 49 20 3.5 250
1CI-38S-24B 38 G1-1/2A | 60 70 60 72 41.5 87 40.5 55 22 3.5 250




R S

ADAPTORS
@5 | i)
A#)EER METRIC THREAD BITE TYPE A#l£EXX METRIC THREAD BITE TYPE

- - I ' 2
- ! f2
ACI-B *_*'.—"ngj

ACI-B i PR = Sk BB :
------------ BSP RUN TEE BANJO SCM
o T 5CM BEM B A IR
s EZJ ?{J% G S2 | S3 | S6 | L2 12 L3 13 d3 [ h E ____________ MER TEMALE Iy
NOPQE-II;R ﬁi EO | g; 5 08 mg% d1 % ?2’;
D. PART &% d5 | L5 15 2 | S1]82| &

: NOMBER | ypg | oBE B | BA

ACI-06L-02B 06 G 1/8A 14 |17 |17 |27 | 120 24 1105 14 |8 25 | 315 OD. e bar
ACI-08L-04B 08 G 1/4A 17 |22 |19 |29 | 145 30 | 14.0 18 |12 | 3.0 | 315 5CM-06L-10 06 M10x1 | 4 34 1195 | 125114 | 14 | 315 | 500
ACI-10L-04B 10 G 1/4A 19 | 22 19 | 30 15.5 30 14.0 18 12 3.0 | 315 5CM-08L-12 08 M12X1.5- 6 390 1240 | 170117 | 17 | 315 | 500
ACI-12L-02B 12 G 3/8A 22 |27 |24 |33 18.0 36 16.5 22 |12 | 3.0 | 315 5CM-10L-14 10 M14X1.5- 8 40 | 250 | 1701 19 | 19 | 315 | 500
ACI-15L-08B L 15 G 1/2A 27 |32 |30 |37 |215 45 | 215 26 |14 |45 | 315 5CM-12L-16 12 M16X1.5- 10 1411260 | 1701 22 | 22 | 315 | 400
ACI-18L-08B 18 G 1/2A 32 |32 |30 |37 |210 45 | 215 26 |14 |45 | 315 5CM-15L-18 15 M18X1.5- 12 1431280 | 170124 | 27 | 315 | 400
ACI-22L-12B 22 G 3/4A 36 | 41 36 |44 | 275 53 | 24.0 32 |16 |35 | 160 5CM-18L-22 L 18 M22x1 '5- 15 | 46 | 295 | 190! 30 | 32 | 315 | 400
ACI-28L-16B 28 G1A 41 50 |46 |49 | 320 66 | 30.5 39 |18 |35 | 160 5CM-=22L-26 22 M26x1 _5- 19 | 511345 | 210132 |36 | 160 | 250
ACI-35L-20B 35 G1-1/4A |50 |60 |55 |58 |36.0 76 | 355 49 |20 |35 | 160 5CM-28L-33 28 M33x2 [ 24 | 541375 | 240! 41 | 41 | 160 | 250
ACI-42L-24B 42 G112 A 60 |70 |60 |63 |405 87 | 40.5 55 |22 |35 | 160 5CM-35L-42 35 M42x2 | 30 |62 | 405 | 260! 55|50 | 160 | 250
ACI-06S-04B 06 G 1/4A 17 |22 |19 | 31 16.5 30 | 14.0 18 |12 | 3.0 | 400 5CM-42L-48 42 M4sx2 36 | 651|420 | 280160 | 60 | 160 | 250
ACI-108S-04B 08 G 1/4A 19 (22 |19 | 31 16.5 30 | 14.0 18 |12 | 3.0 | 400 5CM-06S-12 06 M12X1.5- 4 41 1260 | 1701 17 | 17 | 400 | 630
ACI-10S-06B 10 G 3/8A 22 |27 |24 |35 |185 36 | 16.5 22 |12 | 3.0 | 400 5CM-08S-14 08 M14x1 _5- 5 41 1 26.0 | 1701 17 | 19 | 400 | 630
ACI-128-06B 12 G 3/8A 24 |27 |24 |35 | 185 36 | 16.5 22 |12 | 3.0 | 400 5CM-10S-16 10 M16x1 _5- 7 43 | 265-| 17.0 ] 22 | 22 | 400 | 630
ACI-14S-08B S 14 G 1/2A 27 |32 |30 |40 |225 45 | 215 26 |14 |45 | 400 5CM-12S-18 12 M18x1 _5- 8 44 | 275 |1 1701 24 | 24 | 400 | 630
ACI-16S-08B 16 G 1/2A 30 |32 |30 |40 | 220 45 | 215 26 |14 |45 | 400 5CM-14S-20 14 M20x1 _5- 10 | 491|310 | 190 27 | 27 | 400 | 630
ACI-20S-12B 20 G 3/4A 36 | 41 36 |48 | 265 53 | 24.0 32 |16 | 3.5 | 250 5CM-16S-22 S 16 M22x1 _5- 12 149|305 | 190! 30 | 30 | 400 | 630
ACI-25S5-16B 25 G1A 46 50 46 56 315 66 30.5 39 18 3.5 | 250 5CM-20S-27 20 M27X2- 16 |56 | 345 | 220136 |36 | 315 | 400
ACI-30S-20B 30 G1-1/4A |50 |60 |55 |64 |37.0 76 | 345 49 |20 |35 |250 5CM-25S-33 25 M33x2 [ 20 | 61137.0 | 240! 41 | 46 | 315 | 400
ACI-38S-24B 38 G1-1/2A |60 |70 |60 |72 |415 87 | 405 55 |22 |35 | 250 5CM-30S-42 30 M42x2 | 25 |68 1415 | 260155 | 50 | 315 | 400
5CM-38S-48 38 M4sx2 Il 32 |74 | 430 | 28.0| 60 | 60 | 250 | 315




R £ S

HEEX

ADAPTORS
8w
A|-EER METRIC THREAD BITE TYPE
s, S,
| |
5| h{ -
e
A S
e
e &8
Ls
5CB
5CB BB WIRGUE k- TEHIIRLL
------------ BSP FEMALE
[=) o
P/FEIgT A5 ?rﬂugsﬁﬁoé A1 45| 5| 15 | 12 | s1 | 52| AEZ
NOMBER MPa D. ol
5CB-06L-02 06 G1/4 4 34 19.0 12.0 14 14 315
5CB-06L-04 06 G1/4 4 39 24.0 17.0 19 14 315
5CB-08L-04 08 G1/4 6 39 24.0 17.0 19 17 315
5CB-08L-06 08 G3/8 6 40 25.0 17.0 24 17 315
5CB-08L-08 08 G1/2 6 44 29.0 20.0 27 17 315
5CB-10L-04 10 G1/4 8 40 25.0 17.0 19 19 315
5CB-10L-06 10 G3/8 8 41 26.0 17.0 24 19 315
5CB-10L-08 10 G1/2 8 45 30.0 20.0 27 19 315
5CB-12L-06 L 12 G3/8 10 41 26.0 17.0 24 22 315
5CB-12L-08 12 G1/2 10 45 30.0 20.0 27 22 315
5CB-15L-08 15 G1/2 12 46 31.0 20.0 27 27 315
5CB-18L-08 18 G1/2 15 47 30.5 20.0 27 32 315
5CB-18L-06 18 G3/8 15 43 26.5 17.0 27 32 315
5CB-22L-12 22 G3/4 19 52 35.5 22.0 36 36 160
5CB-28L-16 28 G1 24 55 38.0 24.5 41 41 160
5CB-35L-20 35 G11/4 30 63 41.0 26.5 55 50 160
5CB-42L-24 42 G11/2 36 65 42.5 28.5 60 60 160
5CB-06S-04 06 G1/4 4 41 26.0 17.0 19 17 400
5CB-08S-04 08 G1/4 5 41 26.0 17.0 19 19 400
5CB-10S-04 10 G3/8 7 43 26.5 17.0 24 22 400
5CB-12S-04 12 G3/8 8 43 26.5 17.0 24 24 400
5CB-12S-04 12 G1/2 8 47 30.5 20.0 30 24 400
5CB-14S-04 S 14 G1/2 10 50 32.0 20.0 30 27 400
5CB-16S-04 16 G1/2 12 50 31.5 20.0 30 30 400
5CB-20S-04 20 G3/4 16 56 345 22.0 36 36 315
5CB-25S-04 25 G1 20 62 375 24.5 41 46 315
5CB-30S-04 30 G11/4 25 69 42.0 26.5 55 50 315
5CB-38S-04 38 G11/2 32 74 43.5 28.5 60 60 250

ADAPTORS

Wi ws
A#+REx, METRIC THREAD BITE TYPE

r

_lm

2C9
2C9 HAHAGEL
------------ 90°ELBOW REDUCER TUBE ADAPTOR WITH SWIVEL NUT
o Eh | WE
P'fE\IZ?T gy | B el L1 1 | 12 |S2 83| ORE AR
NOMBER | vpa TUBE bar
O D.

2C9-06L 06 | M12x1.5 27 | 12.0]26.0| 14 | 12 | OR4.5x1.5 315
2C9-08L os | 2° 140 275]| 17 | 12 | OR6.5x1.5 315
2C9-10L 10 | 30 | 150 29.0| 19 | 14 | OR8x1.5 315
2C9-12L 12 | M18x1.5 32 | 17.0| 295 | 22 | 17 | OR10x1.5 315
2C9-15L 15 | M22x1.5 36 | 21.0| 325 | 27 | 19 | OR12x2 315
2C9-18L - 18 | M26x1.5 40 | 235|355 32 | 24 | OR15x2 315
2C9-22L 22 | M30x2 44 | 275|385 | 36 | 27 | OR20x2 160
2C9-28L 28 | M36x2 47 1 305 | 415 41 | 36 | INEGEGE 160
2C9-35L 35 | M45x2 56 | 34.5| 51.0| 50 | 41 | OR32x2.5 160
2C9-42L 42 | M52x2 63 | 40.0 | 56.0 | 60 | 50 | OR38x2.5 160
2C9-06S 06 | M14x1.5 31 [16.0|27.0| 17 | 12 | OR4.5x1.5 630
2C9-08S 08 | M16x1.5 32 [ 17.0| 275| 19 | 14 | OR6.5x1.5 630
2C9-10S 10 | M18x1.5 34 | 175|30.0| 22 | 17 | OR8x1.5 630
2C9-12S 12 | M20x1.5 38 | 215|31.0| 24 | 17 | OR10x1.5 630
2C9-14S S 14 | M22x1.5 40 | 22,0350 27 | 19 | OR11x2 630
2C9-16S 16 | M24x1.5 43 | 245|365 | 30 | 24 | OR13x2 400
2C9-20S 20 | M30x2 48 | 265 | 445 | 36 | 27 | OR16.3x2.4 400
2C9-25S 25 | M36x2 54 | 30.0 | 50.0 | 46 | 36 | OR20.3x2.4 400
2C9-30S 30 | M42x2 62 | 355 | 55.0 | 50 | 41 | OR25.3x2.4 400
2C9-38S 38 | M52x2 72 | 41.0| 63.0| 60 | 50 | OR33.3x2.4 315




UL S

R £ S

ADAPTORS
| s
A#lEE=R METRIC THREAD BITE TYPE
Ny
i
|t
-
B
g
2C4
2C4 A5 Ak
----------- 45€L.BOW REDUCER TUBE ADAPTOR WITH SWIVEL NUT
wg | En | WER N
PART my | B e L1 | 1 2 |s2/s3| oHE | EAH
NOMBER MPa TUBE bar
O D.
2C4-06L 06 M12x1.5 |27 | 120 |260 |14 |12 | OR4.5x15 | 315
2C4-08L 08 M14xl 29 | 140 |[275 |17 | 12 | OR6.5x15 | 315
2C4-10L 10 M16xIIIIl 30 | 150 | 290 |19 | 14 | OR8x15 315
2C4-12L 12 M18x1.5 |32 |17.0 [295 |22 |17 | OR10x1.5 | 315
2C4-15L ] 15 M22x15 |36 | 210 |325 |27 |19 | OR12x2 315
2C4-18L 18 M26x1.5 |40 | 235 |355 |32 |24 | OR15x2 315
2C4-22L 22 M30x2 44 | 275 | 385 |36 |27 | OR20x2 160
2C4-28L 28 M36x2 47 1305 (415 |41 |36 | 160
2C4-35L 35 M45x2 56 | 345 |51.0 |50 |41 | OR32x2.5 | 160
2C4-42L 42 M52x2 63 | 40.0 |56.0 |60 |50 | OR38x2.5 | 160
2C4-06S 06 M14x15 |31 | 160 |27.0 |17 |12 | OR4.5x1.5 | 630
2C4-08S 08 M16x1.5 |32 |17.0 [275 |19 | 14 | OR6.5x1.5 | 630
2C4-10S 10 M18x1.5 |34 | 175 | 300 |22 |17 | OR8x15 630
2C4-12S 12 M20x1.5 |38 |215 |31.0 |24 |17 | OR10x1.5 | 630
2C4-14S 14 M22x1.5 |40 |22.0 [350 |27 |19 | OR11x2 630
2C4-16S S 16 M24x15 |43 | 245 | 365 |30 |24 | OR13x2 400
2C4-20S 20 M30x2 48 | 265 |445 |36 |27 | OR16.3x2.4 | 400
2C4-25S 25 M36x2 54 | 30.0 |50.0 |46 |36 | OR20.3x2.4 | 400
2C4-30S 30 M42x2 62 | 355 | 550 |50 |41 | OR25.3x2.4 | 400
2C4-38S 38 M52x2 72 | 410 |63.0 |60 |50 | OR33.3x2.4 | 315

ADAPTORS
| e
A#EER METRIC THREAD BITE TYPE
BC

BC =iEAAEL
------------ BRANCH TEE FITTINGS WITH SWIVEL NUT

fs | EH | BTH N

PART my | B eh L1 | 1| 12 |s2/s3| omE | EAH
NOMBER MPa TUBEO bar

D.

BC-06L 06 M12x1.5 27 | 120]26.0/| 14 | 12 | OR4.5x15 | 315
BC-08L 08 M14xEE | 29 | 14.0| 275| 17 | 12 | OR6.5x1.5 | 315
BC-10L 10 Mi6x Bl | 30 | 150|290 | 19 | 14 | OR8x1.5 315
BC-12L 12 M18x1.5 32 | 17.0]295| 22 | 17 | OR10x1.5 | 315
BC-15L ] 15 M22x1.5 36 | 21.0]325/|27 | 19 | OR12x2 315
BC-18L 18 M26x1.5 40 | 235|355]| 32 | 24 | OR15x2 315
BC-22L 22 M 30x2 44 | 275|385 | 36 | 27 | OR20x2 160
BC-28L 28 M 36x2 47 |1 305|415|41 | 36 | I | 160
BC-35L 35 M 45x2 56 | 345|51.0| 50 | 41 | OR32x2.5 | 160
BC-42L 42 M 52x2 63 | 40.0| 56.0 | 60 | 50 | OR38x2.5 | 160
BC-06S 06 M14x1.5 31 | 16.0|27.0| 17 | 12 | OR4.5x1.5 | 630
BC-08S 08 M16x1.5 32 | 17.0]275| 19 | 14 | OR6.5x1.5 | 630
BC-10S 10 M18x1.5 34 | 175|30.0| 22|17 | OR8x15 630
BC-12S 12 M20x1.5 38 |215|310/|24 | 17 | OR10x1.5 | 630
BC-14S 14 M22x1.5 40 | 22.0|35.0|27 | 19 | OR11x2 630
BC-16S S 16 M24x1.5 43 | 245 365| 30 | 24 | OR13x2 400
BC-20S 20 M 30x2 48 | 26.5|44.5| 36 | 27 | OR16.3x2.4 | 400
BC-25S 25 M 36x2 54 | 30.0| 50.0 | 46 | 36 | OR20.3x2.4 | 400
BC-30S 30 M 42x2 62 | 355|550/ 50 | 41 | OR25.3x2.4 | 400
BC-38S 38 M 52x2 72 | 410 63.0| 60 | 50 | OR33.3x2.4 | 315




R S

UR £ S8

ADAPTORS

W0
A#+&%Ex, METRIC THREAD BITE TYPE
cC BER=@EHAEGEL
------------ RUN TEE FITTINGS WITH SWIVEL NUT

e I A

PART sy | MEIE el L1 1 | 12 |s2|s3 omE | Eh
NOMBER MPa HEEE @ bar
CC-06L 06 M12x1.5 27 | 12.0|26.0| 14 | 12 | OR4.5x1.5 | 315
CC-08L 08 M14xI | 29 | 14.0 | 275 |17 | 12 | OR6.5x1.5 | 315
CC-10L 10 M16x[ Il | 30 | 150 29.0| 19 | 14 | OR8x1.5 315
CC-12L 12 M18x1.5 32 | 17.0|295(22 | 17 | OR10x1.5 | 315
CC-15L . 15 M22x1.5 36 | 21.0 | 32.5| 27 | 19 | OR12x2 315
CC-18L 18 M26x1.5 40 | 235|355 |32 | 24 | OR15x2 315
CC-22L 22 M 30x2 44 | 275|385 |36 |27 | OR20x2 160
CC-28L 28 M 36x2 47 | 305|415|41 |36 | I 160
CC-35L 35 M 45x2 56 | 34.5|51.0|50 | 41 | OR32x2.5 | 160
CC-42L 42 M 52x2 63 | 40.0 | 56.0 | 60 | 50 | OR38x2.5 | 160
CC-06S 06 M14x1.5 31 | 16.027.0| 17 | 12 | OR4.5x1.5 | 630
CC-08S 08 M16x1.5 32 | 17.0[275|19 | 14 | OR6.5x1.5 | 630
CC-10S 10 M18x1.5 34 | 175|300 |22 | 17 | OR8x1.5 630
CC-12S 12 M20x1.5 38 | 215(31.0| 24 | 17 | OR10x1.5 | 630
CC-14S S 14 M22x1.5 40 | 22.0|35.0|27 | 19 | OR11x2 630
CC-16S 16 M24x1.5 43 | 245|365 |30 | 24 | OR13x2 400
CC-20S 20 M 30x2 48 | 265|445 |36 | 27 | OR16.3x2.4 | 400
CC-25S 25 M 36x2 54 | 30.0 | 50.0 | 46 | 36 | OR20.3x2.4 | 400
CC-30S 30 M 42x2 62 | 355|55.0 | 50 | 41 | OR25.3x2.4 | 400
CC-38S 38 M 52x2 72 | 41.0 | 63.0 |60 | 50 | OR33.3x2.4 | 315

ADAPTORS
Wi
A#l%R METRIC THREAD BITE TYPE
3C
3C HEAAEL
------------ STRAIGHT TUBE ADAPTERS WITH SWIVEL NUT
ke |BEA WER gia .
PART | &% | pwlgg | L1 L2 | sw | D omm | AMES
NOMBER | \pa ar
OD.
3C-06L 06 M12x15 |33 [32 |14 |25 | OR4.5X15 |315
3C-08L 08 M14xI 33 |32 |17 |40 OR6.5X1.5 | 315
3C-10L 10 MioxBllll 34 |33 |19 [60 |OR8X15 |315
3c-12L 12 M18x1.5 |34 |33 |22 |80 | OR1OX15 |315
3c15L | 15 M22x1.5 |39 |38 |27 |100 |ORI2x2 |315
3C-18L 18 M26x1.5 |38 |36 |32 |130 |ORI5X2 | 315
3C-22L 22 M30x2 |44 |42 |36 |17.0 | OR20X2 | 160
3C-28L 28 M36x2 |48 |46 |41 220 | OR26X2 | 160
3C-35L 35 M45x2 |52 |48 |50 |280 | OR32X25 | 160
3C-42L 42 M52x2 |57 |52 |60 |340 | OR38X25 | 160
3C-06S 06 M14x1.5 |33 |32 |17 |25 | OR4.5X15 | 630
3C-08S 08 M16x1.5 |34 [33 |19 |40 | OR6.5X15 | 630
3C-10S 10 M18x1.5 |35 |33 |22 |60 | OR8X15 | 630
3C-12S 12 M20x1.5 |38 |36 |24 |80 | ORIOX15 | 630
3C-14S 14 M22x1.5 |41 |39 |27 |90 |OR11X2 | 630
sc16s |0 |16 M24x1.5 |42 |39 |30 |11.0 |OR13X2 | 400
3C-20S 20 M30x2 |48 |44 |36 |140 | OR16.3X2.4 | 400
3C-25S 25 M36x2 |53 |46 |46 | 180 | OR20.3X2.4 | 400
3C-30S 30 M42x2 |62 |52 |50 |230 | OR25.3X2.4 | 400
3C-38S 38 M52x2 |67 |52 |60 |30.0 | OR33.3X24 |315




HEEX

ADAPTORS
B0 B B0 B
A#lkER, METRIC THREAD BITE TYPE A#lRER, METRIC THREAD BITE TYPE

ds

AL

1y :11 ‘ Y K ‘/

5CB-GDK h
5CB-GDK  EAhARHAEEL L4
------------ BSP PRESSURE GAUGE CONNECTOR WITH DKI SAELING - o
. E mg&r » A 1CW
=3 5 ) N
PART NOMBER &% TUBE O L1 [ d5 | I t3 |S1|S2 | h3 | EA 1CW fEe sk
MPa D. bar WELD FITTINGS
5CB-06L-04GDK 06 Glua |37 |25 |75 | 145 |19 |14 |45 315 Re EAEER | wEne P . - = - ANEIE S
5CB-08L-04GDK L 08 G1/4 | 37 55 | 7.5 145 | 19 17 4.5 315 PART NOMBER MPa TUBE O D. bar
5CB-10L-04GDK 10 G1/4 38 55 8.5 14.5 19 19 4.5 315 1CW-06L 06 29 14.0 12 14 10 315
5CB12L6-04GDK 12 G1/4 38 55 8.5 14.5 19 22 4.5 315
5CB-06S-08GDK 06 G12 |46 |35 | 110 | 200 |27 |17 5.0 630 1CW-08L 08 31 16.0 14 17 12 315
5CB-08S-08GDK s 08 G1/2 46 3.5 11.0 20.0 27 19 5.0 630 1CW-10L 10 33 18.0 17 19 14 315
5CB-10S-08GDK 10 G12 |47 |75 |105 |200 |27 |22 5.0 630 1CW-12L 12 33 | 18.0 19 22 16 315
5CB-12S-08GDK 12 G1/2 47 7.5 10.5 20.0 27 24 5.0 630 1CW-15L ] 15 37 220 22 27 19 315
1CW-18L 18 40 23.5 27 32 22 315
1CW-22L 22 45 28.5 32 36 27 160
® 1CW-28L 28 47 | 305 41 41 32 160
1CW-35L 35 54 325 46 50 40 160
1CW-42L 42 58 35.0 55 60 46 160
1CW-06S 06 34 19.0 14 17 11 630
7CB-GDK 1CW-08S 08 36 | 21.0 | 17 | 19 | 13 630
7CB-GDK  EHRMEEEL 1CW-10S 10 39 | 225 | 19 | 22 | 15 630
------------ BSP PRESSURE GAUGE CONNECTOR WITH DKI SAELING 1CW-128 12 41 | 245 | 22 24 17 630
e E s » AT 1CW-14S s 14 45 27.0 24 27 19 630
PART =3 R h3 | t3 | I5 | d5 | s1 | s2 OB AL 1CW-16S 16 45 26.5 27 30 21 400
TUBE O D. bar
NOMBER MPa 1CW-20S 20 51 | 295 | 32 36 26 400
7CB-06L-04GDK 06 G1/4 |45 | 145|355 |25 |19 |14 | OR45X15 | 315 1CW-25S8 25 56 32.0 41 46 31 400
7CB-08L-04GDK | 08 G1/4 |45 | 145|355 |40 |19 |17 | OR6.5X15 | 315 1CW-30S 30 62 35.5 46 50 36 400
7CB-10L-04GDK 10 G1/4 4.5 145 | 36.0 | 55 19 19 OR8X1.5 315 1CW-38S 38 69 38.0 55 60 44 315
7CB12L6-04GDK 12 G1/4 4.5 145 | 36.0 | 5.5 19 22 OR10X1.5 315
7CB-06S-08GDK 06 G1/2 5.0 20.0 | 425 | 25 27 17 OR4X1.5 630
7CB-06S-04GDK 06 G1/4 4.5 145 | 3565 | 25 19 17 OR4X1.5 630
7CB-08S-08GDK 08 G1/2 5.0 20.0 | 43.0 | 4.0 27 19 OR6.5X1.5 630
7CB-08S-04GDK s 08 G1/4 4.5 145 | 35,5 | 4.0 19 19 OR6.5X1.5 630
7CB-10S-08GDK 10 G1/2 5.0 20.0 | 435 | 6.0 27 22 OR8X1.5 630
7CB-10S-04GDK 10 G1/4 4.5 145 | 39.0 | 7.0 19 22 OR8X1.5 630
7CB-12S-08GDK 12 G1/2 5.0 20.0 | 450 | 7.0 27 24 OR10X1.5 630
7CB-12S-04GDK 12 G1/4 4.5 145 | 39.0 | 7.0 19 24 OR10X1.5 630




B4 B B0 B

A#lEER, METRIC THREAD BITE TYPE A#lEEZR METRIC THREAD BITE TYPE
S,
Ss b eLit]=]
i o {
| : Lt
J_l /L ST L : }*
i 5 NNy T I . Ik ) B
&7\ — 9 i |
Y 3 77,
I—- |2 _ —-g L -—
- L
- ~ 2CW
1CW9 2CW BERE
1CW9 meEREAEL WELD FIFTTING WITH 24 CONE 0-RING SEALING
------------ 90°WELD FITTINGS Eh nE
&5 R5 S 543 Al
RE MESMZ NEIEH PART &% | TuB | e D D1 L L1 OZY E5
FH L2 12 L3 | S2 | S3 | D8 NOMBER E oy
PART NOMBER TUBE O D. bar MPa
MPa oD
1CW9-06L 06 27 | 120 19 | 14 | 12 | 10 315 2CW-06X15 | L/S | 06 6X1.5 6 3.0 31
1CW9-08L 08 20 | 140 23 |17 [ 12| 12 315 2ON-08X1.5 % 8L 0 25 o
2CW-08X2 08 8X2 8 4.0 31
1CW9-10L 10 30 150 | 24 | 19 | 14 14 315 2CW-10X1.5 10 10X1.5 10 7.0 325
1CW9-12L 12 32 170 | 25 | 22 | 17 16 315 2CW-10X2 10 10X2 10 6.0 325
1CW9-15L L 15 36 21.0 | 30 | 27 | 19 19 315 2CW-12X2 12 12X2 12 8.0 325
1CW9-18L 18 40 235 | 33 | 32 | 24 22 315 2CW-12X2.5 12 12X2.5 12 7.0 32.5
1CW9-22L 22 44 27.5 37 36 27 27 160 2CW-15X2 L 15 15X2 15 11 34
1CW9-28L 28 47 | 305 | 42 | 41 |36 | 32 160 2CW-15X2.5 15 15X2.5 15 10 34
1CW9-35L 35 56 | 345 | 49 | 50 | 41 | 40 160 2CW-18X2.5 18| 16X25 18 13 355
1CW9-42L 42 63 | 400 | 57 | 60 | 50 46 160 2CW-22X2.5 22 22X2.5 22 17 %85
: 2CW-28X2.5 28 28X2.5 28 23 41.5
1CW9-06S 06 31 16.0 | 23 | 17 | 12 11 630 2CW-3.5X3.5 35 35X3.5 35 28 475
1CW9-08S 08 32 1701 24 | 19 | 14 13 630 2CW-42X4 42 42X4 42 34 47.5
1CW9-10S 10 34 175 | 25 | 22 | 17 15 630 2CW-16X2.5 S 16 16X2.5 16 11 39
1CW9-12S 12 38 | 215 | 29 | 24 | 17 17 630 2CW-16X3 16 16X3 16 10 39
1CW9-14S g | 14 40 | 220 30 | 27 |19 | 19 630 2CW-20X2.5 20 20X2.5 20 16 45
1CW9-16S 2CW-20X3 20 20X3 20 15 45
16 43 | 245 ] 33 | 30 | 24 21 400 2CW-25X3 25 25X3 25 19 49.5
1CW9-20S 20 48 265 | 37 | 36 | 27 26 400 2CW-25X3.5 25 25X3.5 25 18 49.5
1CW9-258 25 54 30.0 | 42 | 46 | 36 31 400 2CW-30X3 30 30X3 30 24 52
1CW9-30S 30 62 355 | 49 | 50 | 41 36 400 2CW-30X4 30 30X4 30 22 52
1CW9-38S 38 72| 410| 57 | 60 | 50 44 315 2CW-38X3 38 38X3 38 32 56.5
2CW-38X4 38 38X4 38 30 56.5




ADAPTORS
Wi us
A#RER METRIC THREAD BITE TYPE
i
: Al
OnB
ot L —
9C

oC HLHEL

------------ FEMALE PLUG
r5 ENSR | @EsG L —_ ARIES

PART NOMBER MPa TUBE O D. bar

9C-06L 06 18.5 OR4.5X1.5 315
9C-08L 08 18.5 OR6.5X1.5 315
9C-10L 10 20.0 OR8X1.5 315
9C-12L 12 20.5 OR10X1.5 315
9C-15L L 15 20.5 OR12X2 315
9C-18L 18 22.5 OR15X2 315
9C-22L 22 25.0 OR20X2 160
9C-28L 28 25.5 OR26X2 160
9C-35L 35 30.0 OR32X2.5 160
9C-42L 42 30.0 OR38X2.5 160
9C-06S 06 18.5 OR4.5X1.5 630
9C-08S 08 18.5 OR6.5X1.5 630
9C-10S 10 20.0 OR8X1.5 630
9C-128 12 20.5 OR10X1.5 630
9C-14S 14 22.5 OR11X2 630
9C-16S S 16 23.5 OR13X2 400
9C-20S 20 28.5 OR16.3X2.4 400
9C-25S 25 29.0 OR20.3X2.4 400
9C-30S 30 30.5 OR25.3X2.4 400
9C-38S 38 33.0 OR33.3X2.4 315

®-7%s

AH]EER METRIC THREAD BITE TYPE

s,

|

Sz

4C

4c B

------------ WELD FIFTTING

2 EA%R | @8R | o | o L | o1 | ABED
PART NOMBER MPa TUBE O D. bar

4C-06L 06 12 14| 22| 70 315
4C-08L 08 14 17 | 23| 8.0 315
4C-10L 10 17 19| 24| 90 315
4C-12L 12 19 22| 25| 100 315
4C-15L 15 24 27| 26| 110 315
4C-18L - 18 27 32| 28| 115 315
4C-22L 2 32 36| 30| 135 160
4C-28L 28 41 41| 31| 145 160
4C-35L 35 46 50 | 36 | 145 160
4C-42L 42 55 60 | 39| 16.0 160
4C-06S 06 14 17 | 26| 11.0 630
4C-08S 08 17 19 | 28 13.0 630
4C-10S 10 19 22| 29| 125 630
4C-12S 12 22 24 | 31| 145 630
4C-14S < 14 24 27| 34| 160 630
4C-16S 16 27 30| 34| 155 400
4C-20S 20 32 36| 39| 175 400
4C-25S 25 41 46 | 44 | 200 400
4C-30S 30 46 50 | 47 | 205 400
4C-38S 38 55 60 | 54 | 23.0 315




B-nws
AE]EER METRIC THREAD BITE TYPE

™

R £ S

ADAPTORS
8-us
A#1-EERx METRIC THREAD BITE TYPE
L
| —-—i
| '—-i-—1
l |
Is s
|
C‘! | . wi
* N
OME
40N
40N EH A AM OEL-ORE %R 1SO 11926
------------ SAE O-RING BOSS HOLLOW HEX PLUG
\&
Re iR . Bk THERE 77
PART NOMBER THRGEAD D L i | S6 OR4 bar
40N-04 7/16-20UNF | 14.4 | 115 | 91 | 5 | OR8.92X1.83 630
40N-05 1/2-20UNF 13 |115] 9.1 | 5 | OR10.52X1.83 630
40N-06 9/16-18UNF | 176 | 122 | 99 | 6 | OR11.89X1.98 630
40N-08 3/4-16UNF 2231143 | 111 | 8 | OR16.36X2.21 630
40N-10 7/8-14UNF 255 | 16 | 127 | 10 | OR19.18X2.46 630
40N-12 1-1.1/4-12UN | 32 | 19 | 15 | 14 | OR23.47X2.95 630
40N-16 1-5/16-12UN | 382 | 19 | 15 | 16 | OR29.74X2.95 400
40N-20 1-5/8-12UN 477 | 19 | 15 | 19 | OR37.46X3.00 400

X1)
ED&IFH
4H/4G-ED
AHIAG-ED I OBk -EDRI B e A
------------ CAPTIVE SEAL HOLLOW HEX PLUG
= =
s PR Noveen | AWEBE | EWES | | | op | RATHEES
N D F IR € € 2
4H-10ED 4G-02ED M 10 x1 G1/8 A 14.0 | 12.0 8.0 5 400
4H-12ED M 12 x1.5 17.0 | 17.0 | 12.0 6 400
4H-14ED 4G-02ED M 14 x1.5 G1/4 A 19.0 17.0 12.0 6 400
4H-16ED 4G-02ED M 16 x1.5 G 3/8 A 220 | 17.0 | 12.0 8 400
4H-18ED M 18 x1.5 239 | 17.0 | 12.0 8 400
4H-20ED M 20 x1.5 25.9 19.0 14.0 10 400
4H-22ED 4G-02ED M 22 x1.5 G1/2 A 27.0 19.0 14.0 10 400
4H-26ED M 26 x1.5 319 | 21.0 | 16.0 12 400
4H-27ED 4G-02ED M 27 x2 G3/4 A 400 21.0 16.0 12 32.0
4H-33ED 4G-02ED M 33 x2 G1A 400 225 16.0 17 39.9
4H-42ED 4G-02ED M 42 x2 G11/4 A 499 | 225 | 16.0 22 250
4H-48ED 4G-02ED M 48 x2 G11/2 A 55.0 | 225 | 16.0 24 250
.
°t
‘ORE
4h
A 7S A O35 3L-ORI B %3 1SO 6149
------------ METRIC MALE HOLLOW HEX PLUG
RE AWERE | o | | | ss| omm Bk TIEE S
PART NOMBER G bar
4h-08 M8*1 12 13.0 9.5 4 OR6.1X1.6 630
4h-10 M10*1 13 13.5 9.5 5 ORB8.1X1.6 630
4h-12 M12*1.5 17 16 11 6 OR9.3X2.2 630
4h-14 M14*1.5 19 16 11 6 OR11.3X2.2 630
4h-16 M16*1.5 21 17.5 125 8 OR13.3X2.2 630
4h-18 M18*1.5 23 19 14 8 OR15.3X2.2 630
4h-22 M22*1.5 27 20 15 10 OR19.3X2.2 400
4h-26 M26*1.5 31 21 16 12 OR22.7X2.8 400
4h-27 M27*2 32 23.5 18.5 12 OR23.7X2.9 400
4h-33 M33*2 38 25 18.5 17 0OR29.6X2.9 400
4h-42 M42*2 48 25.5 19 22 OR38.6X2.9 400
4h-48 M48*2 55 28 21.5 24 OR44.6X2.9 315




| !

HHBLSr BSP THREAD

>

/\I%%
\

60°

R £ S

ADAPTORS

B-5%s

HHBLSr BSP THREAD

R, £ S

ADAPTORS

60"
-
be
-
;
qf@ @
60"| W |J =
Ls
1B9
1B9 90° HEEHMRLL 60 & N HE
------------ 90ELBOW BSPMALE 60SEAT
K5 124 THREAD JR~F DIMENSIONS
PART NO. E F A B S1
1B9-02 G1/8"X28 G1/8"X28 19.8| 19.8] 11
1B9-02-04 G1/8"X28 G1/4"X19 23| 25 14
1B9-04 G1/4"X19 G1/4"X19 245 245 14
1B9-04-06 G1/4"X19 G3/8"X19 265 275 16
1B9-06 G3/8"X19 G3/8"X19 275 275 16
1B9-06-08 G3/8"X19 G1/2"X14 31| 345 22
1B9-08 G1/2"X14 G1/2"X14 345 345 22
1B9-08-12 G1/2"X14 G3/4"X14 375 40 27
1B9-10 G5/8"X14 G5/8"X14 35| 35 22
1B9-10-12 G5/8"X14 G3/4"X14 375/ 39 30
1B9-12 G3/4"X14 G3/4"X14 40 | 40 27
1B9-12-16 G3/4"X14 G1"X11 435 46 33
1B9-16 G1"X11 G1"X11 46 | 46 33
1B9-16-20 G1"X11 G1.1/4"X11 50.5 505 41
1B9-20 G1.1/4"X11|  G1.1/4"X11 505 50.5 41
1B9-20-24 G1.1/4"X11|  G1.1/2"X11 545 575 48
1B9-24 G1.1/2"X11|  G1.1/2"X11 575 575 48
1B9-32 G2"X11 G2"X11 68 68 63

S1
1B
1B HE MRS 60 FF N
------------ BSP MALE DOUBLE USE FOR 60°SEAT
R5 B4 THREAD R~ DIMENSIONS
PART NO. E = B L
1B-02 G1/8"X28 G1/8"X28 10 10 26 14
1B-02-04 G1/8"X28 G1/4"X19 10 12 28 19
1B-02-Q6 G1/8"X28 G3/8"X19 10 13.5 31.5 22
1B-02-08 G1/8"X28 G1/2"X14 10 16 36 27
1B-04 G1/4"X19 G1/4"X19 12 12 30 19
1B-04-06 G1/4"X19 G3/8"X19 12 13.5 33.5 22
1B-04-08 G1/4"X19 G1/2"X14 12 16 38 27
1B-04-10 G1/4"X19 G5/8"X14 12 17.5 39.5 30
1B-06 G3/8"X19 G3/8"X19 13.5 13.5 33 22
1B-06-08 G3/8"X19 G1/2"X14 13.5 16 39.5 27
1B-06-10 G3/8"X19 G5/8"X14 13.5 17.5 42 30
1B-06-12 G3/8"X19 G3/4"X14 13.5 18.5 43 32
1B-08 G1/2"X14 G1/2"X14 16 16 42 27
1B-08-10 G1/2"X14 G5/8"X14 16 17.5 43.5 30
1B-08-12 G1/2"X14 G3/4"X14 16 18.5 455 32
1B-10 G5/8"X14 G5/8"X14 17.5 17.5 45 30
1B-10-12 G5/8"X14 G3/4"X14 17.5 18.5 47 32
1B-10-16 G5/8"X14 G1"X11 17.5 20.5 51.5 41
1B-12 G3/4"X14 G3/4"X14 18.5 18.5 48 32
1B-12-16 G3/4"X14 G1"X11 18.5 20.5 52.5 41
1B-12-20 G3/4"X14 G1.1/4"X11 18.5 20.5 56 50
1B-16 G1"X11 G1"X11 20.5 20.5 54 41
1B-16-20 G1"X11 G1.1/4"X11 20.5 20.5 58 50
1B-16-24 G1"X11 G1.1/2"X11 20.5 23 60.5 55
1B-20 G1.1/4"X11 G1.1/4"X11 20.5 20.5 58 50
1B-20-24 G1.1/4"X11 G1.1/2"X11 20.5 23 60.5 55
1B-24 G1.1/2"X11 G1.1/2"X11 23 23 63 55
1B-24-32 G1.1/2"X11 G2"X11 23 25.5 66.5 70
1B-32 G2"X11 G2"X11 25.5 25.5 68 70
1B-40 G2.1/2"X11 G2.1/2"X11 32 32 81 90
1B-48 G3"X11 G3"X11 36 36 92 100




B-5%s

HHBLSr BSP THREAD

UL S

ADAPTORS

8-
HHELS: BSP THREAD

60°

VAN

R £ S

ADAPTORS

AB
AB HE MRS 60 FHE=E
------------ BSP MALE 60°SEAT TEE

RE #84r THREAD R~} DIMENSIONS
PART NO. E F G A B C S1
AB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 19.8| 19.8| 19.8| 11
AB-04 G1/4"X19 | G1/4"X19 | G1/4"X19 245 245 245| 14
AB-04-06-04 | G1/4"X19 | G3/8"X19 | G1/4"X19 265 275 265| 16
AB-06-04-06 | G3/8"X19 | G1/4"X19 | G3/8"X19 275 265 275| 16
AB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 275 275 275| 16
AB-06-08-06 | G3/8"X19 | G1/2"X14 | G3/8"X19 31| 345 31 22
AB-08-06-08 | G1/2"X14 | G3/8"X19 | G1/2"X14 345 31| 345 22
AB-08 G1/2"X14 | G1/2"X14 | G1/2"X14 345| 345 345| 22
AB-10 G5/8"X14 | G5/8"X14 | G5/8"X14 35 35 35 22
AB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 40 40 40 27
AB-12-16-12 | G3/4"X14 | G1"X11 G3/4"X14 435 46| 435| 33
AB-16-12-16 | G1"X11 G3/4"X14 G1"X11 46 | 435 46 33
AB-16 G1"X11 G1"X11 G1"X11 46 46 46 33
AB-20 G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 505 50.5| 505| 41
AB-24 G1.1/2"X11 | G1.1/2"X11 | G1.1/2"X11 575| 575 575 48
AB-32 G2"X11 G2"X11 G2"X11 725| 725 725 63

2B LB HMBLL 60° PAHEBRSS A i T F 4 & 28 B 28 P RS 60° S
------------ BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL/BSP FEMALE
60CONE
fRE 24 THREAD R~ DIMENSIONS
PART NO. E F A B L S1 S2
2B-02 G1/8"X28 G1/8"X28 10 5.5 25 14 14
2B-02-04 G1/8"X28 G1/4"X19 10 5.5 27 14 19
2B-04 G1/4"X19 G1/4"X19 12 5.5 29 19 19
2B-04-06 G1/4"X19 G3/8"X19 12 6.3 30.5 19 22
2B-04-08 G1/4"X19 G1/2"X14 12 7.5 32 19 27
2B-06 G3/8"X19 G3/8"X19 13.5 6.3 34 22 22
2B-06-08 G3/8"X19 G1/2"X14 13.5 7.5 35.5 22 27
2B-06-10 G3/8"X19 G5/8"X14 13.5 9.5 36 22 30
2B-08 G1/2"X14 G1/2"X14 16 7.5 40 27 27
2B-08-06 G1/2"X14 G3/8"X19 16 6.3 38.5 27 22
2B-08-12 G1/2"X14 G3/4"X14 16 10.9 41 27 32
2B-10 G5/8"X14 G5/8"X14 17.5 9.5 42 30 30
2B-10-08 G5/8"X14 G1/2"X14 17.5 7.5 41.5 30 27
2B-10-12 G5/8"X14 G3/4"X14 17.5| 10.9] 425 30 32
2B-12 G3/4"X14 G3/4"X14 18.5| 10.9| 445 32 32
2B-12-10 G3/4"X14 G5/8"X14 18.5 9.5 44 32 30
2B-12-16 G3/4"X14 G1"X11 185 117 46 32 41
2B-16 G1"X11 G1"X11 205 117 50 41 41
2B-16-12 G1"X11 G3/4"X14 205 109 49 41 32
2B-16-20 G1"X11 G1.1/4"X11 205 11 53 41 50
2B-20 G1.1/4"X11 G1.1/4"X11 205 11 55 50 50
2B-20-16 G1.1/4"X11 G1"X11 205 117 52 50 41
2B-20-24 G1.1/4"X11 G1.1/2"X11 20.5 13 55.5 50 55
2B-24 G1.1/2"X11 G1.1/2"X11 23 13 58 55 55
2B-32 G2"X11 G2"X11 255 16 63.5 70 70




-f': m— B

HHNELS: BSP THREAD

R S8

ADAPTORS

®-7us

HHELS: BSP THREAD

R £ S

ADAPTORS

{b 2
S2 A\BBO
A :
¥ 0 | K —. ¥
I
A S1
2B4
2B4 A5 RE HMRLL 60° P HE/DLE NIRSL 60° S
------------ 45°ELBOW BSP MALE 60SEAT / BSP FE MALE 60°CONE
(A=2 #24 THREAD R~} DIMENSIONS

PART NO. E F A B S1 S2

2B4-04 G1/4"X19 G1/4"X19 203 55 14 19
2B4-04-06 G1/4"X19 G3/8"X19 203| 6.3 14 22

2B4-06 G3/8"X19 G3/8"X19 22| 63 16 22
2B4-06-04 G3/8"X19 G1/4"X19 22| 55 16 19

2B4-08 G1/2"X14 G1/2"X14 27| 75 22 27
2B4-08-06 G1/2"X14 G3/8"X19 27| 6.3 22 22

2B4-10 G5/8"X14 G5/8"X14 285/ 95 22 30
2B4-10-08 G5/8"X14 G1/2"X14 285 75 22 27

2B4-12 G3/4"X14 G3/4"X14 31| 109 27 32

2B4-16 G1"X11 G1"X11 35| 117 33 41

2B4-20 G1.1/4"X11|  G1.1/4"X11 385/ 11 41 50

2B4-24 G1.1/2"X11|  G1.1/2"X11 44 13 48 55

2B4-32 G2"X11 G2"X11 51 16 63 70

BB
BB TEEHMBL 60° N4 | FE NIRGL 60 X =38
--------- - BSP MALE 60? SEAT | BSP FEMALE 60? CONE BRANCH TEE
= PART 24 THREAD R~ DIMENSIONS
NO. E F G A B c S1 | s2
BB-02 | G1/8"X28 | G1/8"X28 | G1/8"X28 198 | 55 | 19.8 | 11 14
BB-04 | G1/4"X19 | G1/4"X19 | G1/4"X19 245 | 55 | 245 | 14 | 19
BB-06 | G3/8"X19 | G3/8"X19 | G3/8"X19 275 | 63 | 275 | 16 | 22
BB-08 | G1/2"X14 | G1/2"X14 | G1/2"X14 345 | 75 | 345 | 22 | 27
BB-12 | G3/4"X14 | G3/4"X14 | G3/4"X14 40 | 109 | 40 | 27 | 32
BB-16 G1"X11 | G1"X11 | G1"X11 46 | 117 | 46 | 33 | 41
BB-20 |G1.1/4"X11|G1.1/4"X11|G1.1/4"X11 505 | 11 | 505 | 41 50
BB-24 |G1.1/2"X11|G1.1/2"X11|G1.1/2"X11 575 | 13 | 575 | 48 | 55
BB-32 G2"X11 | G2"X11 | G2"X11 725 | 16 | 725 | 63 | 70
60
_h
CB
CB FEE MBS 60° AHESEE NIRLL 60°SMEF X =8
------------ BSP MALE 60°SEAT / BSP FEMALE 60°CONE RUN TEE
85 PART NO. #84 THREAD JR~F DIMENSIONS
E F G A B c S1 | s2
CB-02 G1/8"X28 | G1/8"X28 G1/8"X28 19.8| 19.8| 55 | 11 14
CB-04 G1/4"X19 | G1/4"X19 G1/4"X19 25 | 25 | 55| 14 19
CB-06 G3/8"X19 | G3/8"X19 G3/8"X19 275| 275 63| 16 | 22
CB-08 G1/2"X14 | G1/2"X14 G1/2"X14 345| 345 75| 22 | 27
CB-10 G5/8"X14 | G5/8"X14 G5/8"X14 345| 345 95| 22 | 30
CB-12 G3/4"X14 | G3/4"X14 G3/4"X14 40 | 40 | 109| 27 | 32
CB-16 G1"X11 G1"X11 G1"X11 46 | 46 | 117| 33 | 41
CB-20 G1.1/4"X11| G1.1/4"X11 G1.1/4"X11 505| 50.5| 11 41 50
CB-24 G1.1/2"X11|  G1.1/2"X11 G1.1/2"X11 575| 575| 13 | 48 | 55
CB-32 G2"X11 G2"X11 G2"X11 725| 725/ 16 | 63 | 70




B-5—% B

HHBLSr BSP THREAD

B-5—% B
HHBLSr BSP THREAD

R £ S

ADAPTORS

9B
9B BB NIBSL 60°4MfEEE 3k
............ BSP FEMALE 60? CONE PLUG
KE PART 85 THREAD R~} DIMENSIONS

NO. E A L S2
9B-02 G1/8"X28 55 | 115| 14
9B-04 G1/4"X19 55 | 135| 19
9B-06 G3/8"X19 63 | 145| 22
9B-08 G1/2"X14 75 | 16 27
9B-10 G5/8"X14 95 | 165 30
9B-12 G3/4"X14 109| 175| 32
9B-16 G1"X11 11.7] 19 41
9B-20 G1.1/4"X11 11 | 215| 50
9B-24 G1.1/2"X11 13 | 22 55
9B-32 G2"X11 16 | 265| 70

HiEE LOCK NUT
N
[ I
\s2
6B 6B-LN
6B
6B BREIMEL 60° ALETAREE L
------------ BSP MALE 60°SEAT BULKHEAD
S PART #24r THREAD R~} DIMENSIONS
NO.
E F A B L S1 S2
6B-02 G1/8"X28 G1/8"X28 10 33| 49 14 14
6B-04 G1/4"X19 G1/4"X19 12 35| 53 19 19
6B-06 G3/8"X19 G3/8"X19 13.5 35| 565 22 22
6B-08 G1/2"X14 G1/2"X14 16 39| 65 27 27
6B-10 G5/8"X14 G5/8"X14 17.5 40| 675| 30 30
6B-12 G3/4"X14 G3/4"X14 18.5 42| 715| 32 32
6B-16 G1"X11 G1"X11 20.5 50| 84 41 41
6B-20 G1.1/4"X11|  G1.1/4"X11 20.5 52| 895| 50 50
6B-24 G1.1/2"X11|  G1.1/2"X11 23 55| 93 55 55
6B-32 G2"X11 G2"X11 255 55| 975| 70 70
;’ S2
6B9-LN
6B9
6B9 Q07 FE SMEBLL 60° 4T iRk
———— 90? ELBOW BSP MALE 60? SEAT BULKHEAD
A=2 #24 THREAD R~ DIMENSIONS
PART NO.
E F A B S1 S2
6B9-04 G1/4"X19 G1/4"X19 25 51 16 19
6B9-06 G3/8"X19 G3/8"X19 29 535| 19 22
6B9-08 G1/2"X14 G1/2"X14 345| 585| 22 22
6B9-12 G3/4"X14 G3/4"X14 41 64 30 32
6B9-16 G1"X11 G1"X11 475| 71 33 41




R £ S

ADAPTORS
®-5—% B
FEHIRL BSP THREAD
L
A B
|
K /A
60° |_1_j___|_l = ._%_l_

/(_._/F
S1

1BT-SP

R £ S

1BT-SP YL AR S 60° P HE SN F o T F 4 & R B /IS SRS
S BSP MALE DOUBLE USE FOR 60? SEAT OR BONDED SEAL / BSPT MALE
RE PART #2450 THREAD R~} DIMENSIONS
NO. E F A B L S1

1BT-02SP G1/8"X28 R1/8"X28 10 10 26 14
1BT-02-04SP G1/8"X28 R1/4"X19 10 14.5 30.5 14

1BT-04SP G1/4"X19 R1/4"X19 12 14.5 32 19
1BT-04-02SP G1/4"X19 R1/8"X28 12 10 28 19
1BT-04-06SP G1/4"X19 R3/8"X19 12 15 32 19
1BT-04-08SP G1/4"X19 R1/2"X14 12 20 40 24

1BT-06SP G3/8"X19 R3/8"X19 13.5 15 355 22
1BT-06-04SP G3/8"X19 R1/4"X19 13.5 14.5 355 22
1BT-06-08SP G3/8"X19 R1/2"X14 13.5 20 40.5 24

1BT-08SP G1/2"X14 R1/2"X14 16 20 45 27
1BT-08-04SP G1/2"X14 R1/4"X19 16 14.5 40.5 27
1BT-08-06SP G1/2"X14 R3/8"X19 16 15 40 27
1BT-08-12SP G1/2"X14 R3/4"X14 16 20 45 30
1BT-10-06SP G5/8"X14 R3/8"X19 17.5 15 41.5 30
1BT-10-08SP G5/8"X14 R1/2"X14 17.5 20 46.5 30
1BT-10-12SP G5/8"X14 R3/4"X14 17.5 20 46.5 30
1BT-10-16SP G5/8"X14 R1"X11 17.5 25.5 54 36

1BT-12SP G3/4"X14 R3/4"X14 18.5 20 48.5 32
1BT-12-08SP G3/4"X14 R1/2"X14 18.5 20 49.5 32
1BT-12-16SP G3/4"X14 R1"X11 18.5 25.5 53.5 36
1BT-12-20SP G3/4"X14 R1.1/4"X11 18.5 26.5 58 46

1BT-16SP G1"X11 R1"X11 20.5 255 58 41
1BT-16-12SP G1"X11 R3/4"X14 20.5 20 53 41
1BT-16-20SP G1"X11 R1.1/4"X11 20.5 26.5 60 46

1BT-20SP G1.1/4"X11 R1.1/4"X11 20.5 26.5 62 50
1BT-20-12SP G1.1/4"X11 R3/4"X14 20.5 20.5 56 50
1BT-2Q-16SP G1.1/4"X11 R1"X11 20.5 255 61 50
1BT-2Q-24SP G1.1/4"X11 R1.1/2"X11 20.5 26.5 62 50

1BT-24SP G1.1/2"X11 R1.1/2"X11 23 26.5 64.5 55
1BT-24-16SP G1.1/2"X11 R1"X11 23 255 63.5 55
1BT-24-20SP G1.1/2"X11 R1.1/4"X11 23 26.5 64.5 55
1BT-24-32SP G1.1/2"X11 R2"X11 23 30 70 65

ADAPTORS
B ER
5 PART B4 THREAD Rt DIMENSIONS
e E F A | B L S1
1BT-32SP G2"X11 R2"X11 25.5 30 72.5 70
1BT-32-20SP G2"X11 R1.1/4"X11 25.5 27 68.5 70
1BT-32-24SP G2"X11 R1.1/2"X11 25.5 26.5 68.5 70
1BT-40SP G2.1/2"X11 G2.1/2"X11 32 34 83 90
1BT-48SP G3"X11 R3"X11 36 38 94 100
ol
» AN\,
LT
60\|.u —17 ‘[,._/ >
\\ \
A \ 81
1BT4-SP
1BT4-SP  AS7BIEESMREL 60° A HE/ZEHEE SMRLL
............ 45?7 ELBOW BSP MALE 60 ° SEAT / BSPT MALE
RE PART ¥E4 THREAD R~ DIMENSIONS
NO. E F A B S1
1BT4-02SP G1/8"X28 R1/8"X28 17 17 11
1BT4-04SP G1/4"X19 R1/4"X19 20.3 21 14
1BT4-04-06SP G1/4"X19 R3/8"X19 20.5 23 16
1BT4-06SP G3/8"X19 R3/8"X19 22 23 16
1BT4-06-04SP G3/8"X19 R1/4"X19 22 21 16
1BT4-06-08SP G3/8"X19 R1/2"X14 24 29.5 22
1BT4-06-12SP G3/8"X19 R3/4"X14 255 30.5 27
1BT4-08SP G1/2"X14 R1/2"X14 27 29.5 22
1BT4-08-06SP G1/2"X14 R3/8"X19 27 25 22
1BT4-08-12SP G1/2"X14 R3/4"X14 28.5 30.5 27
1BT4-10-08SP G5/8"X14 R1/2"X14 28.5 29.5 22
1BT4-10-12SP G5/8"X14 R3/4"X14 29 35 27
1BT4-12SP G3/4"X14 R3/4"X14 31 30.5 27
1BT4-12-08SP G3/4"X14 R1/2"X14 31 30.5 27
1BT4-12-16SP G3/4"X14 R1"X11 32.5 38 33
1BT4-16SP G1"X11 R1"X11 35 38 33
1BT4-16-12SP G1"X11 R3/4"X14 35 325 33
1BT4-16-20SP G1"X11 R1.1/4"X11 38.5 43 41
1BT4-20SP G1.1/4"X11 R1.1/4"X11 38.5 43 41
1BT4-20-16SP G1.1/4"X11 R1"X11 38.5 42 41
1BT4-20-24SP G1.1/4"X11 R1.1/2"X11 41.5 47.5 48
1BT4-24SP G1.1/2"X11 R1.1/2"X11 44 47.5 48
1BT4-24-20SP G1.1/2"X11 R1.1/4"X11 44 45.5 48
1BT4-24-32SP G1.1/2" X1 R2"X11 51 60.5 63
1BT4-32SP G2"X11 R2"X11 49.5 55.5 63
1BT4-32-24SP G2"X11 R1.1/2"X11 51 525 63




-an—% B
HHNELS: BSP THREAD

60 °

-

W a—

T

=
|
|

A

1BT9-SP  90°Z A& SMBRLL 60° N 4 | ZEHEE SMBRLL

----------- 907 ELBOW BSP MALE 60?7 SEAT | BSPT MALE

R S8

ADAPTORS

R £ S

ADAPTORS
| e
HEHIEL BSP THREAD
L,
1BG
1BG Y SMRLL 60° ARSI M S T AL A R B /3E SMRL O AL 1SO1179
------------ BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL / BSP MALE O- RING
K5 #24r THREAD oFi ]
PART NO. O-RING R~} DIMENSIONS
E ? F 35 A B L S1
1BG-02 G1/8"X28 G1/8"X28 0011 10| 95| 27 14
1BG-04 G1/4"X19 G1/4"X19 0111 12| 11 31 19
1BG-04-06 G1/4"X19 G3/8"X19 0113 12| 115 32 22
1BG-06 G3/8"X19 G3/8"X19 0113 135 11.5 33 22
1BG-06-04 G3/8"X19 G1/4"X19 0111 135/ 11| 325/ 22
1BG-06-08 G3/8"X19 G1/2"X14 0115 135/ 14| 385 27
1BG-08 G1/2"X14 G1/2"X14 0115 16| 14| 41 27
1BG-08-06 G1/2"X14 G3/8"X19 0113 16| 115 36 27
1BG-08-12 G1/2"X14 G3/4"X14 0119 16 | 155 455 32
1BG-10-08 G5/8"X14 G1/2"X14 0115 175 14| 445 30
1BG-12 G3/4"X14 G3/4"X14 0119 18.5| 155 46 32
1BG-12-08 G3/4"X14 G1/2"X14 0115 185 14| 455/ 32
1BG-16-08 G1"X11 G1/2"X14 0115 205 14| 505 41
1BG-16 G1"X11 G1"X11 0217 205 18 53 41
1BG-16-12 G1"X11 G3/4"X14 0119 205 155 52 41
1BG-20 G1.1/4"X11 | G1.1/4"X11 0222 205 20| 585/ 50
1BG-24 G1.1/2"X11 | G1.1/2"X11 0224 23| 215 625 55

X5 PART NO. Y24 THREAD JR~F DIMENSIONS

E F A B S1
1BT9-02SP G1/8"X28 R1/8"X28 20 21 11
1BT9-02-04SP G1/8"X28 R1/4"X19 22.3 255 14
1BT9-04SP G1/4"X19 R1/4"X19 24.5 255 14
1BT9-04-02SP G1/4"X19 R1/8"X28 25 23.5 14
1BT9-04-06SP G1/4"X19 R3/8"X19 25 28.5 16
1BT9-04-08SP G1/4"X19 R1/2"X14 30 36 22
1BT9-06SP G3/8"X19 R3/8"X19 27.5 28.5 16
1BT9-06-04SP G3/8"X19 R1/4"X19 27.5 26.5 16
1BT9-06-08SP G3/8"X19 R1/2"X14 31 36 22
1BT9-08SP G1/2"X14 R1/2"X14 34.5 36 22
1BT9-08-04SP G1/2"X14 R1/4"X19 34.5 30.5 22
1BT9-08-06SP G1/2"X14 R3/8"X19 34.5 32.5 22
1BT9-08-12SP G1/2"X14 R3/4"X14 37.5 43.5 27
1BT9-08-16SP G1/2"X14 R1"X11 41 50 33
1BT9-10-08SP G5/8"X14 R1/2"X14 35 36 22
1BT9-10-12SP G5/8"X14 R3/4"X14 39 43.5 27
1BT9-12SP G3/4"X14 R3/4"X14 40 43 27
1BT9-12-06SP G3/4"X14 R3/8"X19 40 36 27
1BT9-12-08SP G3/4"X14 R1/2"X14 40 39.5 27
1BT9-12-16SP G3/4"X14 R1"X11 43.5 50 33
1BT9-12-20SP G3/4"X14 R1.1/4"X11 48 56.5 41
1BT9-16SP G1"X11 R1"X11 46 50 33
1BT9-16-08SP G1"X11 R1/2"X14 46 43 33
1BT9-16-12SP G1"X11 R3/4"X14 46 47.5 33
1BT9-16-20SP G1"X11 R1.1/4"X11 50.5 56.5 41
1BT9-20SP G1.1/4"X11 R1.1/4"X11 52 59 41
1BT9-20-12SP G1.1/4"X11 R3/4"X14 50.5 54 41
1BT9-20-16SP G1.1/4"X11 R1"X11 52 56.5 41
1BT9-20-24SP G1.1/4"X11 R1.1/2"X11 54.5 62.5 48
1BT9-24SP G1.1/2"X11 R1.1/2"X11 57.5 62 48
1BT9-24-20SP G1.1/2"X11 R1.1/4"X11 57.5 61 48
1BT9-24-32SP G1.1/2"X11 R2"X11 66 75 63
1BT9-32SP G2"X11 R2"X11 67 75 63
1BT9-32-24SP G2"X11 R1.1/2"X11 68 72 63




UL S

ADAPTORS

B-n—ws
HHBLSr BSP THREAD

1BG4-0G

1BG4-0OG  45° BB IMRE 60° A HEATESMRLL O BB AT A i 1ISO1179
----------- 45? ELBOW BSP MALE 60? SEAT | BSP MALE O-RING ADJUSTABLE STUD END

R £ S8

ADAPTORS

B-usB
HHBLSr BSP THREAD

ISO1179

5 PART NO. P24 THREAD O B O-RING JR~F DIMENSIONS
E F F ¥ A B S1 S2

1BG4-040G G1/4"X19 G1/4"X19 o111 22 28 14 19
1BG4-04-060G G1/4"X19 G3/8"X19 0113 21 30 16 22
1BG4-04-08QG G1/4"X19 G1/2"X14 0115 22.5 36 22 27
1BG4-060G G3/8"X19 G3/8"X19 0113 21 30 16 22
1BG4-06-080G G3/8"X19 G1/2"X14 0115 23.5 36 22 27
1BG4-080G G1/2"X14 G1/2"X14 0115 27 36 22 27
1BG4-120G G3/4"X14 G3/4"X14 0119 32 42 27 32
1BG4-12-160G G3/4"X14 G1"X11 0217 32.5 44 33 41
1BG4-160G G1"X11 G1"X11 0217 34 44 33 41
1BG4-200G G1.1/4"X11 G1.1/4"X11 0222 38.5 47.5 41 50
1BG4-240G G1.1/2"X11 G1.1/2"X11 0224 44 51.5 48 55

1BG9-0G

1BG9-OG 907 HMEBELL 60° N/ B HMESL O B 0 7 B vl M A 1SO1179
----------- 90° ELBOW BSP MALE 60? SEAT | BSP MALE O-RING ADJUSTABLE STUD END

1BH

1BH B HMEBL60° N HE S A o T A A A B JH AR FMBESUR &5 1S09974

—— BSP MALE DOUBLE USE FOR 60?SEAT OR BONDED SEALMETRIC MALE L -SERIES

1S09974

RE PART 484 THREAD O Zi@ O-RING R~ DIMENSIONS
NO. E F F 3 A B s1 ] L

1BH-02-10 G1/8"X28 M10X1 008.1X1.6 | 10 | 85 | 14 | 25
1BH-02-12 G1/8"X28 M12X1.5 009.3x2.4 | 10 | 11 17 | 28
1BH-04-12 G1/4"X19 M12X1.5 009.3x2.4 | 12 | 11 19 | 30
1BH-04-14 G1/4"X19 M14X1.5 011.3X2.4 | 12 11 19 | 315
1BH-04-16 G1/4"X19 M16X1.5 013.3Xx24 | 12 | 115] 22 | 315
1BH-06-14 G3/8"X19 M14X1.5 011.3x2.4 | 135 11 | 22 | 35
1BH-06-16 G3/8"X19 M16X1.5 013.3X2.4 | 135| 115 22 | 33
1BH-06-18 G3/8"X19 M18X1.5 015.3X2.4 | 135| 125 24 | 365
1BH-08-18 G1/2"X14 M18X1.5 015.3X2.4 | 16 | 125 27 | 41
1BH-08-22 G1/2"X14 M22X1.5 019324 | 16 | 13 | 27 | 415
1BH-10-22 G5/8"X14 M22X1.5 019.3x2.4 | 175 13 | 30 | 43
1BH-12-16 G3/4"X14 M16X1.5 013.3X2.4 | 185| 115 32 | 435
1BH-12-22 G3/4"X14 M22X1.5 019.3X2.4 | 185| 13 | 32 | 45
1BH-12-27 G3/4"X14 M27X2 0235X3.0 | 185| 16 | 32 | 455
1BH-16-27 G1"X11 M27X2 023.5X3.0 | 205| 16 | 41 | 49
1BH-16-33 G1"X11 M33X2 029.5X3.0 | 205| 16 | 41 | 495
1BH-20-42 G1.1/4"X11|  M42x2 038.5X3.0 | 205| 16 | 50 | 515
1BH-24-48 G1.12"°X11|  M48X2 044.5X3.0 | 23 175 55 | 555

1ISO1179
RE PART #24r THREAD O P O-RING R~} DIMENSIONS
NO. E F F i A B S1 | Ss2
1BG9-040G G1/4"X19 G1/4"X19 o111 25 31.5 14 19
1BG9-04-060G G1/4"X19 G3/8"X19 0113 26.5 36.8 16 22
1BG9-060G G3/8"X19 G3/8"X19 0113 28 36.8 16 22
1BG9-06-080G G3/8"X19 G1/2"X14 0115 31 43.2 22 27
1BG9-080G G1/2"X14 G1/2"X14 0115 34.5 43.2 22 27
1BG9-08-120G G1/2"X14 G3/4"X14 0119 40 49.3 27 32
1BG9-120G G3/4"X14 G3/4"X14 0119 40 49.3 27 32
1BG9-12-160G G3/4"X14 G1"X11 0217 45 53 33 41
1BG9-160G G1"X11 G1"X11 0217 46 53 33 41
1BG9-20-160G G1.1/4"X11 G1"X11 0217 50.5 58 41 41
1BG9-200G G1.1/4"X11 G1.1/4"X11 0222 51.5 58 41 50
1BG9-240G G1.1/2"X11 G1.1/2"X11 0224 58.5 63 48 55




R £ S

ADAPTORS

R £ S

ADAPTORS
8- &2
HH|ES: BSP THREAD HHES. BSP THREAD

1BH4-0G
1BH4-OG  45°EESMRLL 60° 4/ A SMELSER R 5] 1S09974 1BH9-0G
------------ 45°ELBOW BSP MALE 60°SEAT / METRIC ~MALE L -SERIES 1809974 1BHO-OG  90°Z5 i/ SMELL 60° P4t/ A SME L2 & 5| 1SO9974
5 PART NO. 24 THREAD O % O-RING R~F DIMENSIONS | s - 90? ELBOW BSP MALE 60? SEAT / METRIC MALE L -SERIES 1S09974

E F F % A B S1| S2 KRE PART 124 THREAD O Zi[E O-RING R~} DIMENSIONS

1BH4-02-100G G1/8"X28 M10X1 008.1X1.6 17 | 235 11| 14 NO. E F F % A B S1 S2
1BH4-02-120G G1/8"X28 M12X1.5 009.3X2.4 17 | 275 11| 17 1BH9-02-100G G1/8"X28 M10X1 008.1X1.6| 20 265 11 14
1BH4-04-120G G1/4"X19 M12X1.5 009.3X2.4 203| 283| 14 | 17 1BH9-02-120G G1/8"X28 M12X1.5 009.3X2.4| 20 305 11 17
1BH4-04-140G G1/4"X19 M14X1.5 011.3X2.4 20.3| 283| 14 | 19 1BH9-04-120G G1/4"X19 M12X1.5 009.3X2.4| 245| 32 14 17
1BH4-04-160G G1/4"X19 M16X1.5 013.3X2.4 20.8| 293| 16 | 22 1BH9-04-140G G1/4"X19 M14X1.5 011.3X2.4| 245| 325| 14 19
1BH4-06-140G G3/8"X19 M14X1.5 011.3X2.4 223| 288| 16 | 19 1BH9-04-160G G1/4"X19 M16X1.5 013.3X2.4| 265| 348| 16 22
1BH4-06-160G G3/8"X19 M16X1.5 013.3X2.4 223| 293| 16 | 22 1BH9-06-140G G3/8"X19 M14X1.5 011.3X2.4| 275| 34 16 19
1BH4-06-180G G3/8"X19 M18X1.5 015.3X2.4 23 | 31 19 | 24 1BH9-06-160G G3/8"X19 M16X1.5 013.3X2.4| 275| 348| 16 22
1BH4-08-180G G1/2"X14 M18X1.5 015.3X2.4 273| 333| 22| 24 1BH9-06-180G G3/8"X19 M18X1.5 015.3X2.4| 285| 37 19 24
1BH4-08-220G G1/2"X14 M22X1.5 019.3X2.4 27.3| 333| 22| 27 1BH9-08-180G G1/2"X14 M18X1.5 015.3X2.4| 345| 395| 22 24
1BH4-10-220G G5/8"X14 M22X1.5 019.3X2.4 278| 333| 22| 27 1BH9-08-220G G1/2"X14 M22X1.5 019.3X2.4| 345| 402| 22 27
1BH4-12-220G G3/4"X14 M22X1.5 019.3X2.4 31 | 345| 27| 27 1BH9-10-220G G5/8"X14 M22X1.5 019.3X2.4| 35 402 | 22 27
1BH4-12-270G G3/4"X14 M27X2 023.5X3.0 31 | 395| 27| 32 1BH9-12-220G G3/4"X14 M22X1.5 019.3X2.4 | 40 435| 27 27
1BH4-16-270G G1"X11 M27X2 023.5X3.0 345| 405| 33| 32 1BH9-12-270G G3/4"X14 M27X2 023.5X3.0| 40 485| 27 32
1BH4-16-330G G1"X11 M33X2 029.5X3.0 345 41 33 | 41 1BH9-16-270G G1"X11 M27X2 023.5X3.0| 46 52 33 32
1BH4-20-420G G1.1/4"X11 M42X2 038.5X3.0 39 | 455| 41| 50 1BH9-16-330G G1"X11 M33X2 029.5X3.0| 46 525| 33 41
1BH4-24-480G G1.1/2"X11 M48X2 044.5X3.0 44 | 495| 48 | 55 1BH9-20-420G G1.1/4"X11 M42X2 038.5X3.0| 505| 572| 41 50
1BH9-24-480G G1.1/2"X11 M48X2 044.5X3.0| 575| 625| 48 55




R S8

ADAPTORS

R, £ S

ADAPTORS

@0 ve i

HHNBLS: BSP THREAD

1BO
11926-3

L-SERIES I1SO 11926-3

60‘[ w

\s1

1BO

FEEHMRL 60° P HE BN A T 4 & 3% B /3] SAE SMREUH O BB R R 51 1ISO

BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL /SAE O-RING BOSS

HHBLSr BSP THREAD

1B-ED LB HMRAL 60° P4 HEERS M I T F 40 & 288 B 38 SMRSUR B &

BSP MALE DOUBLE USE FOR 6 0°SEAT OR BONDED SEAL / BSP MALE CAPTIVE

SEAL
RS PART #84r THREAD & # CAPTIVE R~} DIMENSIONS
NO. E F F 3 A B L S1
1B-04ED | G1/4"X19 | G1/4"X19 ED-B04 12 12 32 19
1B-04-06ED | G1/4"X19 | G3/8"X19 ED-B06 12 12 345 22
1B-04-08ED | G1/4"X19 | G1/2"X14 ED-BOS 12 14 39 27
1B-06ED | G3/8"X19 | G3/8"X19 ED-B06 13.5 12 34 22
1B-06-08ED | G3/8"X19 | G1/2"X14 ED-B08 13.5 14 40.5 27
1B-08ED | G1/2"X14 | G1/2"X14 ED-BOS 16 14 43 27
1B-08-12ED | G1/2"X14 | G3/4"X14 ED-B12 16 16 46 32
1B-12ED | G3/4"X14 | G3/4"X14 ED-B12 18.5 16 46.5 32
1B-12-16ED | G3/4"X14 | G1"X11 ED-B16 18.5 18 52.5 41
1B-16ED | G1"X11 G1"X11 ED-B16 20.5 18 545 41
1B-16-20ED | G1"X11 G1.1/4"X11 ED-B20 20.5 20 58.5 50
1B-20ED | G1.1/4"X11| G1.1/4"X11 ED-B20 20.5 20 58.5 50

RE PART ¥84. THREAD 0@ O-RING R~F DIMENSIONS
NO. E F F 3 A B L S1
1BO-04 G1/4"X19 7/16"X20 0904 12 | 91 | 295| 19
1BO-04-05 G1/4"X19 1/2"X20 0905 12 | 91 | 295| 19
1B0-04-06 G1/4"X19 9/16"X18 0906 12 | 99 | 32 19
1BO-04-08 G1/4"X19 3/4"X16 0908 12 11.1] 31 22
1BO-06 G3/8"X19 9/16"X18 0906 135| 9.9 | 335| 22
1BO-06-04 G3/8"X19 7/16"X20 0904 135| 9.1 | 33 22
1BO-06-08 G3/8"X19 3/4"X16 0908 135| 11.1| 36 24
1BO-06-10 G3/8"X19 7/8"X14 0910 135| 127| 395| 27
1BO-08 G1/2"X14 3/4"X16 0908 16 11.1| 38 27
1BO-08-06 G1/2"X14 9/16"X18 0906 16 | 99 | 36 27
1BO-08-10 G1/2"X14 7/8"X14 0910 16 127 | 42 27
1BO-08-12 G1/2"X14 1.1/16"X12 0912 16 151 | 425| 36
1BO-10 G5/8"X14 7/8"X14 0910 175| 127| 435| 30
1BO-10-08 G5/8"X14 3/4"X16 0908 175| 111| 415| 30
1BO-10-12 G5/8"X14 1.1/16"X12 0912 175| 154 | 47 34
1BO-12 G3/4"X14 1.1/16"X12 0912 185| 151 | 48 34
1BO-12-08 G3/4"X14 3/4"X16 0908 185| 11.1| 405| 32
1BO-12-10 G3/4"X14 7/8"X14 0910 185| 12.7| 455| 32
1BO-12-14 G3/4"X14 1.3/16"X12 0914 185| 151 | 48 38
1BO-12-16 G3/4"X14 1.5/16"X12 0916 185| 154 | 507 | 41
1BO-16 G1"X11 1.5/16"X12 0916 205| 151| 52.6| 41
1BO-16-10 G1"X11 7/8"X14 0910 205| 127 495| 41
1BO-16-12 G1"X11 1.1/16"X12 0912 205| 151 52 41
1BO-16-14 G1"X11 1.3/16"X12 0914 205| 151 52 41
1BO-16-20 G1"X11 1.5/8"X12 0920 205| 151| 547 50
1BO-20 G1.1/4"X11|  1.5/8"X12 0920 205| 151| 547 50
1BO-20-16 G1.1/4"X11|  1.5/16"X12 0916 205| 151| 547 50
1BO-24 G1.1/2"X11|  1.7/8"X12 0924 23 15.1| 57 55




®-7%s

HHNBLS: BSP THREAD

4G-ED T IMESUR B B NS Ak
BSP MALE CAPTIVE SEAL HOLLOW HEX PLUG

i

4G-ED

R S8

ADAPTORS

8-
HHELS: BSP THREAD

R £ S

ADAPTORS

RS PART ¥2 4 THREAD g CAPTIVE JR~F DIMENSIONS
NO. E E 3% A L S1

4G-02ED G1/8"X28 ED-B02 8 122 5
4G-04ED G1/4"X19 ED-B04 12 | 172| 6
4G-06ED G3/8"X19 ED-B06 12 | 172| 8
4G-08ED G1/2"X14 ED-B08 14 | 192 10
4G-12ED G3/4"X14 ED-B12 16 | 21.2] 12
4G-16ED G1"X11 ED-B16 16 | 22.8| 17
4G-20ED G1.1/4"X11 ED-B2Q 20 | 268 22
4G-24ED G1.1/2"X11 ED-B24 22 | 288| 24

I’

S1
T I
N
4B-ED
4B-ED W IME LU B Bk
--------- - BSP MALE CAPTIVE SEAL PLUG
RS ¥4 THREAD JE# CAPTIVE R~ DIMENSIONS

PART NO. E E ¥ A L S1
4B-02ED G1/8"X28 ED-B02 8 15.5| 14
4B-04ED G1/4"X19 ED-B04 12 19.6| 19
4B-06ED G3/8"X19 ED-B06 12 225 22
4B-08ED G1/2"X14 ED-B08 14 25 27
4B-12ED G3/4"X14 ED-B12 16 29 32
4B-16ED G1"X11 ED-B16 18 35 41_
4B-20ED G1.1/4"X11 ED-B20 20 37 50
4B-24ED G1.1/2"X11 ED-B24 22 40 55

MRS
7B9-PK
7B9-PK 90°% T NIRLL
--------- - 90? ELBOW BSP FEMALE
RE PART ¥E4 THREAD R~ DIMENSIONS
NO. E F A B S1
7B9-02PK G1/8"X28 G1/8"X28 20 20 16
7B9-04PK G1/4"X19 G1/4"X19 225 225/ 19
7B9-06PK G3/8"X19 G3/8"X19 26 26 24
7B9-08PK G1/2"X14 G1/2"X14 31 31 27
7B9-12PK G3/4"X14 G3/4"X14 34 34 33
7B9-16PK G1"X11 G1"X11 42 42 41
7B9-20PK G1.1/4"X11|  G1.1/4"X11 48 48 50
7B9-24PK G1.1/2"X11|  G1.1/2"X11 53 53 60
7B9-32PK G2"X11 G2"X11 62 62 70
F
|
.A. 4 c
GB-PK
GB-PK W IR =8
--------- - BSP FEMALE TEE
RE #24 THREAD R~ DIMENSIONS
PART NO. E F © A B C S1
GB-02PK | G1/8"X28 G1/8"X28 G1/8"X28 20 20 20 16
GB-04PK | G1/4"X19 G1/4"X19 G1/4"X19 225 225 225/ 19
GB-06PK | G3/8"X19 G3/8"X19 G3/8"X19 26 26 26 24
GB-08PK | G1/2"X14 G1/2"X14 G1/2"X14 31 31 31 27
GB-12PK | G3/4"X14 G3/4"X14 G3/4"X14 34 34 34 33
GB-16PK G1"X11 G1"X11 G1"X11 42 42 42 41
GB-20PK | G1.1/4"X11 | G1.1/4"X11 | G1.1/4"X11 48 48 48 50
GB-24PK | G1.1/2"X11 | G1.1/2"X11 | G1.1/2"X11 53 53 53 60
GB-32PK G2"X11 G2"X11 G2"X11 62 62 62 70




R £ S

ADAPTORS

8-
HHELS: BSP THREAD

B-n—ws
HHBLSr BSP THREAD

L

A B
Sy,

FR—
LI
| p | I A
£/ 51, Ef 1T9-SP
1T-SP 1T9-SP 90°25 L4k E SMRLL
1T-SP FEAMEEL - 90° ELBOW BSPT MALE
............ BSPT MALE 5 PART ¥24r THREAD Rt DIMENSIONS
K2 PART #25; THREAD R~} DIMENSIONS NO. E F A B S1
NO. E F A B L sS1 1T9-02SP R1/8"X28 R1/8"X28 21 21 11
1T-02SP R1/8"X28 R1/8"X28 10 10 26 12 1T9-02-04SP R1/8"X28 R1/4"X19 23.5 25.5 14
” . 1T9-04SP R1/4"X19 R1/4"X19 25.5 25.5 14
1T-02-04SP R1/8"X28 R1/4"X 19 10 145 305| 14 1T9-04.06SP R1/4™X19 R3/8™19 65 | 285 | 16
1T-02-06SP R1/8"X28 R3/8"X19 10 15 31 17 1T9-04-08SP R1/4"X19 R1/2"X14 30.5 36 22
1T-04SP R1/4"X19 R1/4"X19 145| 145| 34 14 1T9-06SP R3/8"X19 R3/8"X19 285 | 285 | 16
1T7-04-06SP R1/4"X19 R3/8"X19 145| 15 | 35 | 17 179-06-085P R3/8"XA9 R12X14 25 36 | 2
- - 1T9-08SP R1/2"X14 R1/2"X14 36 36 22
1T-04-08SP R1/4"X19 R1/2"X14 15 20 43 22 1T7T9-08-12SP R1/2"X14 R3/4"X14 39.5 43.5 27
1T-06SP R3/8"X19 R3/8"X19 15 15 36 17 1T9-12SP R3/4"X14 R3/4"X14 435 | 435 | 21
1T-06-08SP R3/8"X19 R1/2"X14 15 20 43 22 179-12-16SP R3/4"X14 R1"X11 48 50 33
" " 1T9-16SP R1"X11 R1"X11 50 50 33
1T-085P R1/2°X14 R1/2°X14 20 20 46 22 1T9-16-20SP R1"X11 R1.1/4"X11 56.5 57.5 41
1T-08-12SP R1/2"X14 R3/4"X14 20 20 48 30 1T9-20SP R1.1/4"X11 R1.1/4"X11 575 | 575 | 41
1T-12SP R3/4"X14 R3/4"X14 20 20 48 30 1T9-24SP R1.1/2"X11 R1.1/2"X11 62.5 62.5 48
1T-12-16SP R3/4"X14 R1"X11 20 255| 555| 36 1T9-32SP R2"X11 R2"X11 1 68 75 63
1T-16SP R1"X11 R1"X11 255| 255| 61 36 '
1T-16-20SP R1"X11 R1.1/4"X11 255| 265| 645| 46
1T-20SP R1.1/4"X11|  R1.1/4"X11 265| 265| 655| 46
1T-20-24SP R1.1/4"X11|  R1.1/2"X11 265 265| 67 50
1T-24SP R1.1/2"X11|  R1.1/2"X11 265| 265| 67 50
1T-24-32SP R1.1/2"X11|  R2"X11 265 30 715| 65
1T-32SP R2"X11 R2"X11 30 30 75 65 N .
4T-SP B E SNBSS L
--------- - BSPT MALE PLUG
5 PART 124 THREAD JR~F DIMENSIONS
NQ. E A L S1
4T-02SP R1/8"X28 10 16 12
4T-04SP R1/4"X19 14.5 20 14
4T-06SP R3/8"X19 15 21 17
4T-08SP R1/2"X14 20 27 22
4T-12SP R3/4"X14 20 29 27
4T-16SP R1"X11 25.5 36.5 36
4T-20SP R1.1/4"X11 26.5 38.5 46
4T-24SP R1.1/2"X11 26.5 42 50
4T-32SP R2"X11 30 47 65




R, S

ADAPTORS

R £ S

ADAPTORS

8-
£ #4824 JIC THREAD

B-n—ws
HHBLSr BSP THREAD

o s B
7T9-PK 90° 25 YL HE B PV RLL 1N
____________ ?
d 90?7 ELBOW BSPT FEMALE 1N 2 A S S B
K5 PART B4 THREAD R~ DIMENSIONS | NPT MALE
NO.
© E F A B S1 RE 840 THREAD R~ DIMENSIONS
7T9-02PK Rc1/8"X28 Rc1/8"X28 20 20 16 PART NO. E F A B L S1
7T9-02-04PK Rc1/8"X28 Rc1/4"X19 20 225 19 1N-02 Z1/8"X27 Z1/8"X27 10.5 105 27 12
7T9-04PK Rc1/4"X19 Rc1/4"X19 225 225 19 1N-02-04 Z1/8"X27 Z1/4"X18 105 15 31 17
7T9-06PK Rc3/8"X19 Rc3/8"X19 26 26 24 1N-02-06 Z1/8"X27 Z3/8"X18 105| 16 32 19
7T9-08PK Rc1/2"X14 Rc1/2"X14 31 31 27 1N-04 Z1/4"X18 Z1/4"X18 15 15 35 17
7T9-12PK Rc3/4"X14 Rc3/4"X14 34 34 33 1N-04-06 Z1/4"X18 Z3/8"X18 15 16 37 19
7T9-16PK Rc1"X11 Rc1"X11 42 42 41 1N-04-08 Z1/4"X18 Z1/2"X14 15 195| 415 22
7T9-20PK Rc1.1/4"X11 Rc1.1/4"X11 48 48 50 1N-06 Z3/8"X18 Z3/8"X18 16 16 38 19
7T9-24PK Rc1.1/2"X11 Rc1.1/2"X11 53 53 60 1N-06-08 Z3/8"X18 Z1/2"X14 16 195 435 22
7T9-32PK Rc2"X11 Rc2"X11 62 62 70 1N-06-12 Z3/8"X18 Z3/4"X14 16 195| 455 27
IFF 1N-08 Z21/2"X14 Z1/2"X14 19.5 19.5 47 22
s | 1N-08-12 Z1/2"X14 Z3/4"X14 195 195 49 27
! > @ 1N-08-16 Z21/2"X14 Z1"X11.5 19.5 255 56 36
N/ 1N-12 Z3/4"X14 Z3/4"X14 195 195 49 27
] & 1N-12-16 Z3/4"X14 Z1"X11.5 195| 255 55 36
A [ 1N-12-20 Z23/4"X14 Z21.1/4"X11.5 19.5 26.5 59 46
1N-16 Z1"X11.5 Z1"X11.5 255| 255 61 36
e GT-PK 1N-16-20 Z1"X115 | Z1.0/4'X115 255| 265| 64 | 46
(BBQI;:'KF::/I%,%I_%EV:]F%I; = 1N-16-24 Z1"X11.5 Z21.1/2"X11.5 255 27.5 68 50
1N-20 Z1.1/4"X11.5 Z1.1/4"X11.5 26.5 26.5 65 46
e L THRIEAD R DIMENSIONS 1N-20-24 Z1.1/4"X11.5 Z21.1/2"X11.5 26.5 275 69 50
PR e E F G A | B | c | s : : : : : :
1N-24 Z1.1/2"X11.5 Z21.1/2"X11.5 27.5 27.5 69 50
GT-02PK Rc1/8"X28 Rc1/8"X28 Rc1/8"X28 20 20 20 16
1N-24-32 Z1.1/2"X11.5 Z2"X11.5 27.5 27.5 72 65
GT-04PK Rc1/4"X19 Rc1/4"X19 Rc1/4"X19 225 22.5 225 19
1N-32 Z22"X11.5 Z2"X11.5 27.5 27.5 71 65
GT-06PK Rc3/8"X19 Rc3/8"X19 Rc3/8"X19 26 26 26 24
GT-08PK Rc1/2"X14 Rc1/2"X14 Rc1/2"X14 31 31 31 27
GT-12PK Rc3/4" X14 Rc3/4"X14 Rc3/4"X14 34 34 34 33
GT-16PK Rc1"X11 Rc1"X11 Rc1"X11 42 42 42 41
GT-20PK Rc1.1/4"X11 Rc1.1/4"X11 Rc1.1/4"X11 48 48 48 50
GT-24PK Rc1.1/2"X11 | Rec1.1/2"X11| Rc1.1/2"X11 53 53 53 60
GT-32K Rc2"X11 Rc2"X11 Rc2"X11 62 62 62 70




THREAD

B0 B
EHIMEL JIC

A

E
\
K

il

R £ S

ADAPTORS

5N
5N S il A R B AMB SR HEE PR S
----------- NPT MALE / NPT FEMALE

rRE #84 THREAD Rt DIMENSIONS
PART NO. E F A L S1
5N-02 Z1/8"X27 Z1/8"X27 10.5 25.5 17
5N-02-04 Z1/8"X27 Z1/4"X18 10.5 31 19
5N-02-06 Z1/8"X27 Z3/8"X18 11 31 24
5N-04-02 Z1/4"X18 Z1/8"X27 15 22 17
5N-04 Z1/4"X18 Z1/4"X18 15 35.3 19
5N-04-06 Z1/4"X18 Z3/8"X18 15 36.6 24
5N-04-08 Z1/4"X18 Z1/2"X14 15 43 30
5N-06-02 Z3/8"X18 Z1/8"X27 16 22 19
5N-06-04 Z3/8"X18 Z1/4"X18 16 22 19
5N-06 Z3/8"X18 Z3/8"X18 16 37.6 24
5N-06-08 Z3/8"X18 Z1/2"X14 17 43.7 30
5N-06-12 Z3/8"X18 Z3/4"X14 17 47 36
5N-08-04 Z1/2"X14 Z1/4"X18 19.5 28 24
5N-08-06 Z1/2"X14 Z3/8"X18 19.5 28.5 24
5N-08 Z1/2"X14 Z1/2"X14 19.5 47.5 30
5N-08-12 Z1/2"X14 Z3/4"X14 19.5 49 36
5N-12-06 Z3/4"X14 Z3/8"X18 19.5 30.5 27
5N-12-08 Z3/4"X14 Z1/2"X14 19.5 30.5 27
5N-12 Z3/4"X14 Z3/4"X14 19.5 49 36
5N-12-16 Z3/4"X14 Z1"X11.5 19.5 55.4 41
5N-16-08 Z1"X11.5 Z1/2"X14 25.5 35.5 36
5N-16-12 Z1"X11.5 Z3/4"X14 255 36.5 36
5N-16 Z1"X11.5 Z1"X11.5 25.5 60.7 41
5N-16-20 Z1"X11.5 Z1.1/4"X11.5 25.5 63.5 50
5N-20-12 Z1.1/4"X11.5 Z3/4"X14 26.5 38.5 46
5N-20-16 Z1.1/4"X11.5 Z1"X11.5 26.5 41 46
5N-20 Z21.1/4"X11.5 Z1.1/4"X11.5 26.5 61.5 50
5N-20-24 Z1.1/4"X11.5 Z1.1/2"X11.5 26.5 62.5 60
5N-24-16 Z1.1/2"X11.5 Z1"X11.5 27.5 41.5 50
5N-24-20 Z1.1/2"X11.5 Z1.1/4"X11.5 27.5 41 50
5N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 27.5 62.5 65
5N-24-32 Z1.1/2"X11.5 Z22"X11.5 27.5 66.5 70
5N-32-20 Z22"X11.5 Z1.1/4"X11.5 27.5 44.5 65
5N-32-24 Z2"X11.5 Z1.1/2"X11.5 27.5 45 65
5N-32 Z2"X11.5 Z2"X11.5 27.5 62.5 70

8-
EHIESC JIC THREAD
1N9
1N9 90° % e | A5 4 AN ELL
............ 90? ELBOW NPT MALE
RS ¥84r THREAD R~ DIMENSIONS
PART NO. E F A B S1
1N9-02 71/8"X27 Z1/8"X27 21 21 11
1N9-02-04 Z21/8"X27 Z1/4"X18 23.5 25.5 14
1N9-04 Z1/4"X18 Z1/4"X18 25.5 25.5 14
1N9-04-06 Z1/4"X18 Z3/8"X18 28 31 19
1N9-04-08 Z1/4"X18 Z1/2"X14 30.5 36.5 22
1N9-06 Z3/8"X18 Z3/8"X18 31 31 19
1N9-06-08 73/8"X18 Z1/2"X14 33.8 37.3 22
1N9-08 Z1/2"X14 Z1/2"X14 37.3 37.3 22
1N9-08-12 Z1/2"X14 Z3/4"X14 40 44 27
1N9-12 723/4"X14 Z3/4"X14 44 44 27
1N9-12-16 Z23/4"X14 Z1"X11.5 46.5 50 33
1N9-16 Z1"X11.5 Z1"X11.5 50 50 33
1N9-20 Z1.1/4"X11.5 Z1.1/4"X11.5 54 54 41
1N9-24 Z1.1/2"X11.5 Z1.1/2"X11.5 63 63 48
1N9-32 Z2"X11.5 Z2"X11.5 68 68 63
L
5‘
S1
4N
4N S 1] A 4B AN RS0 K
............ NPT MALE PLUG
RE PART #24; THREAD R~ DIMENSIONS
1E E A L S1
4N-02 Z21/8"X27 10.5 16 12
4N-04 Z1/4"X18 15 20 17
4N-06 Z3/8"X18 16 21 19
4N-08 Z1/2"X14 19.5 27 22
4N-12 723/4"X14 19.5 29.5 27
4N-16 Z1"X11.5 25.5 36.5 36
4N-20 Z1.1/4"X11.5 26.5 38.5 46
4N-24 Z1.1/2"X11.5 27.5 43 50
4N-32 Z2"X11.5 27.5 43.5 65




B-5%s

ZHMRL JIC THREAD

5N9

5N9 90°25 |47 HEE MRS | AT WIS

907ELBOW NPT MALE / NPT FE MALE

UL S

ADAPTORS

RE PART 84 THREAD R~ DIMENSIONS

NO. E F A B S1
5N9-02 71/8"X27 71/8"X27 245| 178 16
5N9-04-02 71/4"X18 Z1/8"X27 265| 16.8| 16
5N9-04 71/4"X18 71/4"X18 28 | 224 19
5N9-04-06 71/4"X18 73/8"X18 31 | 25 | 24
5N9-06-04 73/8"X18 Z1/4"X18 31 | 224| 19
5N9-06 73/8"X18 73/8"X18 335| 25 | 24
5N9-08 Z1/2"X14 Z1/2"X14 412 312| 30
5N9-12-08 73/4"X14 Z1/2"X14 45 | 312| 30
5NO-12 73/4"X14 73/4"X14 452 345| 33
5N9-16 Z1"X115 Z1"X115 545| 411 41
5N9-20 71.1/4"X115 71.1/4"X115 63 | 432 48
5N9-24 Z1.1/2"X11.5 Z1.1/2"X11.5 715| 528| 63
5N9-32 72"X115 72"X115 735| 62 | 65

8-
ZHHBL JIC THREAD

R S

ADAPTORS

.
S1
7N
7N S A 4R N IR AL
--------- - NPT FEMALE
1922 #8420 THREAD R~ DIMENSIONS
PART NO. E F L S1
7N-02 71/8"X27 Z1/8"X27 24 17
7N-02-04 71/8"X27 Z1/4"X18 27 19
7N-02-06 Z1/8"X27 Z3/8"X18 30 22
7N-04 Z1/4"X18 Z1/4"X18 29 19
7N-04-06 Z1/4"X18 Z3/8"X18 31 22
7N-04-08 Z1/4"X18 Z1/2"X14 35 30
7N-06 Z3/8"X18 Z3/8"X18 29 22
7N-06-08 73/8"X18 Z1/2"X14 38 30
7N-06-12 73/8"X18 Z3/4"X14 40 36
7N-08 Z1/2"X14 Z1/2"X14 38 30
7N-08-12 Z1/2"X14 Z3/4"X14 43 36
7N-12 Z23/4"X14 Z3/4"X14 39 36
7N-12-16 73/4"X14 Z1"X11.5 45.5 41
7N-16 Z1"X11.5 Z1"X11.5 48 41
7N-20 Z1.1/4"X11.5 Z1.1/4"X11.5 49 50
7N-24 Z1.1/2"X11.5 Z1.1/2"X11.5 49 60
7N-32 Z2"X11.5 Z2"X11.5 50 70
2 F
s1 ‘ f
\ ‘
Y ; fos)
B G
A ‘ C
GN-PK
GN-PK Rl HENBL=E
------------ NPT FEMALE TEE
RE ¥24r THREAD R~} DIMENSIONS
PART NO. E F G A B c S1
GN-02PK Z1/8"X27 Z1/8"X27 Z1/8"X27 20 20 20 16
GN-04PK Z1/4"X18 Z1/4"X18 Z1/4"X18 22.5 22.5 22.5 19
GN-06PK Z3/8"X18 Z3/8"X18 Z3/8"X18 26 26 26 24
GN-08PK Z1/2"X14 Z1/2"X14 Z1/2"X14 31 31 31 27
GN-12PK Z3/4"X14 Z3/4"X14 Z3/4"X14 34 34 34 33
GN-16PK Z1"X11.5 Z1"X11.5 Z1"X11.5 42 42 42 41
GN-20PK Z1.1/4"X11.5 Z1.1/4"X11.5 Z1.1/4"X11.5 48 48 48 50
GN-24PK Z1.1/2"X11.5 Z1.1/2"X11.5 Z1.1/2"X11.5 53 53 53 60
GN-32PK Z2"X11.5 Z2"X11.5 Z2"X11.5 62 62 62 70




R £ S R £ S

ADAPTORS

8-
E #4824 JIC THREAD

74°(> w

4 SLEEVE

1J4 45°KHIJICHMRLGL 740 S
------------ 45°ELBOW JIC MALE 74°CONE
R5 124 THREAD R~} DIMENSIONS

PART NO. E F A B X
1J4-04 7/16"X20 7/16"X20 215| 215| 11
1J4-05 1/2"X20 1/2"X20 23 23 14
1J4-06 9/16"X18 9/16"X18 228 | 228| 14
1J4-08 3/4"X16 3/4"X16 268 | 26.8| 19
1J4-10 7/8"X14 7/8"X14 31 31 22
1J4-12 1.1/16"X12 1.1/16"X12 355| 355 | 27
1J4-16 1.5/16"X12 1.5/16"X12 385| 385| 33

ADAPTORS
@-5—% B
EHI¥ELC JIC THREAD
" L a
T A qZE B wzsLEeve SRENUT
74'(>< , —\I-L><)ﬂ*
;S1
1J
1J £l JIC SMBRLL 74° S
———— JIC MALE 74?7 CONE
K5 124 THREAD R~ DIMENSIONS
PART E F A B L S1
1J-02 5/16"X24 5/16"X24 11.4 1.4 29 12
1J-02-03 5/16"X24 3/8"X24 1.4 12.2 29.5 12
1J-03 3/8"X24 3/8"X24 12.2 12.2 30.5 12
1J-04 7/16"X20 7/16"X20 14 14 34 12
1J-04-05 7/16"X2Q 1/2"X20 14 14 34 14
1J-04-06 7/16"X20 9/16"X18 14 141 341 17
1J-04-08 7/16"X20 3/4"X16 14 16.7 38.5 22
1J-05 1/2"X20 1/2"X20 14 14 34 14
1J-05-06 1/2"X20 9/16"X18 14 141 34 17
1J-05-08 1/2"X20 3/4"X16 14 16.7 38.5 22
1J-05-10 1/2"X20 7/8"X14 14 19.3 41 24
1J-06 9/16"X18 9/16"X18 14.4 14.1 34.2 17
1J-06-08 9/16"X18 3/4"X16 14.1 16.7 38.5 22
1J-06-10 9/16"X18 7/8"X14 14.1 19.3 41.5 24
1J-06-12 9/16"X18 1.1/16"X12 14.1 21.9 46 30
1J-08 3/4"X16 3/4"X16 16.7 16.7 42 22
1J-08-10 3/4"X16 7/8"X14 16.7 19.3 44 24
1J-08-12 3/4"X16 1.1/16"X12 16.7 21.9 48.5 30
1J-08-16 3/4"X16 1.5/16"X12 16.7 23.1 51 36
1J-10 7/8"X14 7/8"X14 19.3 19.3 46.5 24
1J-10-12 7/8"X14 1.1/16"X12 19.3 21.9 51 30
1J-10-16 7/8"X14 1.5/16"X12 19.3 23.1 53.5 36
1J-12 1.1/16"X12 1.1/16"X12 21.9 21.9 54 30
1J-12-14 1.1/16"X12 1.3/16"X12 21.9 22.6 55.5 32
1J-12-16 1.1/16"X12 1.5/16"X12 21.9 23.1 56 36
1J-14 1.3/16"X12 1.3/16"X12 22.6 22.6 56 32
1J-14-16 1.3/16"X12 1.5/16"X12 22.6 23.1 56.5 36
1J-16 1.5/16"X12 1.5/16"X12 23.1 23.1 57 36
1J-16-20 1.5/16"X12 1.5/8"X12 23.1 24.3 60.5 46
1J-16-24 1.5/16"X12 1.7/8"X12 23.1 27.5 65.5 50
1J-20 1.5/8"X12 1.5/8"X12 24.3 24.3 62 46
1J-20-24 1.5/8"X12 1.7/8"X12 24.3 27.5 67 50
1J-20-32 1.5/8"X12 2.1/2"X12 24.3 33.9 75 65
1J-24 1.7/8"X12 1.7/8"X12 27.5 27.5 70 50
1J-24-32 1.7/8"X12 2.1/2"X12 27.5 33.9 78.5 65
1J-32 2.1/2"X12 2.1/2"X12 33.9 33.9 85 65




-5 %s

ZHMRL JIC THREAD

8-
E #4824 JIC THREAD

r. A
74D ‘]ﬁ—ﬂo

74

R £ S

ADAPTORS

A C
AJ
£l JIC SMELL 74° SME=IE
------------ JIC MALE 74CONE TEE
RE #84r THREAD R~} DIMENSIONS
PART NO. E F G A B C S1
AJ-04 7/16"X20 7/16"X20 7/116"X2Q 245| 245| 245| 11
AJ-04-06-04 | 7/16"X2Q 9/16"X18 7/16"X20 266| 269 266| 14
AJ-05 1/2"X20 1/2"X20 1/2"X20 26 26 | 26 14
AJ-06-04-06 | 9/16"X18 7/16"X2Q 9/16"X18 269| 266| 269| 14
AJ-06 9/16"X18 9/16"X18 9/16"X18 269| 269| 269| 14
AJ-08 3/4"X16 3/4"X16 3/4"X16 32 32 | 32 19
AJ-08-06-08 | 3/4"X16 9/16"X18 3/4"X16 32 30 | 32 19
AJ-10 7/8"X14 7/8"X14 7/8"X14 378| 37.8| 37.8| 22
AJ-12 1.1/16"X12 1.1/16"X12 | 1.1/16"X12 442 442| 442| 27
AJ-16 1.5/16"X12 1.5/16"X12 | 1.5/16"X12 49 | 49 | 49 33
AJ-16-12-16 |  1.5/16"X12 1.1/16"X12 | 1.5/16"X12 49 | 48 | 49 33
AJ-20 1.5/8"X12 1.5/8"X12 1.5/8"X12 56.5| 565 56.5| 41
AJ-24 1.7/8"X12 1.7/8"X12 1.7/8"X12 63 63 | 63 48
AJ-32 2.1/2"X12 2.1/2"X12 2.1/2"X12 78 78 | 78 63

1J9 90° £l JIC SMREL 74° HhE
------------ 90°ELBOW JIC MALE 74°CONE
K5 124 THREAD R~} DIMENSIONS
PART NO. E F A B 31
1J9-02 5/16"X24 5/16"X24 205| 205 11
1J9-03 3/8"X24 3/8"X24 22 22 11
1J9-04 7/16"X20 7/16"X20 245| 245| 11
1J9-05 1/2"X20 1/2"X20 266| 266| 14
1J9-05-06 1/2"X20 9/16"X18 266| 269| 14
1J9-06 9/16"X18 9/16"X18 269| 269| 14
1J9-06-08 9/16"X18 3/4"X16 30 32 19
1J9-06-10 9/16"X18 7/8"X14 32 378 | 22
1J9-08 3/4"X16 3/4"X16 32 32 19
1J9-08-10 3/4"X16 7/8"X14 348 | 378| 22
1J9-10 7/8"X14 7/8"X14 378 | 378| 22
1J9-10-12 7/8"X14 1.1/16"X12 41 442 | 27
1J9-12 1.1/16"X12|  1.1/16"X12 442 | 442| 27
1J9-14 1.3/16"X12|  1.3/16"X12 475| 475| 30
1J9-16 1.5/16"X12|  1.5/16"X12 49 49 33
1J9-20 1.5/8"X12 1.5/8"X12 555| 555 | 41
1J9-24 1.7/8"X12 1.7/8"X12 625| 625| 48
1J9-32 2.1/2"X12 2.1/2"X12 78 78 63




R £ S

ADAPTORS

8-
ZHHB4 JIC THREAD

B-nus
EHHEL JIC THREAD

2J
2J Xt JIC SMBEL 74° SMEEJIC RS 74° 2J9

------------ JIC MALE 74TONE / JIC FEMALE 74°SEAT

2J9 90° S JIC SMERLL 74° 414/ JIC IBLL 74° 4

g
= A/Frfﬁ\j o. EWI THREADF A Rg D'M'IE_NS'ON; =0 — 90°ELBOW JIC MALE 74°CONE /JIC FEMALE 74°SEAT
5 $B4 THREAD R~} DIMENSIONS
2J-04 7/16"X20 7/16"X20 14 9 28 12 15 PART NO. = = B = a1 =
2J-04-05 7/16:X20 1/2“):20 14 95 | 285| 12 17 219-02 5/16"X24 516"X24 o1 56 | 11 12
2J-04-06 7/16"X20 9/1? X18 14 10.5| 285| 14 19 21903 3/8"24 3/8"X24 o s 11 14
2J-04-08 7/1? X20 3/4“X16 14 11 | 305| 19 24 219-04 2116"X20 2116"X20 2451 9 11 15
205 1/2")(20 12 >f20 14 95 | 29 14 7 2J9-05 1/2"X20 1/2"X20 265| 95 | 14 17
2J-05-06 1/2“x20 9/1? X18 14 10.5| 285| 14 19 21906 916"X18 9/16"X18 2691 105 12 19
2J-05-08 172 >f20 314 >f16 14 " | 305 19 | 24 2J9-06-08 9/16"X18 3/4"X16 285| 11 16 | 24
2J-06 9/16"X18 9/1,6 X18 14.1| 105 29 17 19 219-08-06 34716 9/16"X18 3 105 19 19
2J-06-08 9/16"X18 3/4“)(16 141 11 | 31 19 24 219-08 3416 314716 3 11 19 o4
2J-06-10 9/1? X18 7/8"X14 141| 13 | 335 22 27 2190810 3416 28X 14 3 13 19 P
2.-08 3’4"X16 314 )f16 ter] 11 | 36 22 24 2J9-10 7/8"X14 7/8"X14 378| 13 22 27
2J-08-06 3/4"X16 9/1? X18 16.7| 105 34 22 19 219-10-08 2814 34716 3781 11 o o4
2J-08-10 3/4"X16 78 X1"4 16.7) 13 | 365 22 27 2J9-10-12 7/8"X14 1.1/16"X12 395| 15 24 32
2J-08-12 3/4"X16 1.1{'16 X12 16.7| 15 | 395 | 27 32 21912 11165121 111612 12| 15 7 3
2J-10 7/8"X14 7/8"X14 193] 13 | 39 24 27 2J9-12-10 1.1/16"X12|  7/8"X14 442 | 13 27 27
2J-10-08 7/8"X14 3/4 X1"6 193, 1 | 38 24 24 2J9-12-16 1.1/16"X12|  1.5/16"X12 46 16 30 41
20-10-12 718 X1"4 147 16"X12 193] 15 | 42 27 32 2J9-14 1.3/16"X12|  1.3/16"X12 475| 15 30 36
2J-12 1.1/16"X12 1.1{'16 X12 21.9| 15 | 445| 30 32 21916 1516 %12 1516"X12 88| 16 33 At
2J-12-10 1.1/16"X1 2| 7/8 x1“4 21.9| 13 | 435| 30 27 219-16.20 151612 15812 52 17 Y 50
2J-12-16 1.1/16"X12 1.5/16"X12 21.9| 16 | 455| 36 41 219-20-16 1 5/8"12 1 516"X12 555 16 a1 a1
2J-16 1.5/16"X12 1.5/1? X12 231| 16 | 465| 36 41 21920 1 58712 1 58712 555 17 41 50
2J-16-20 1.5/1? X12 1.5/8"X12 231| 17 | 53 41 50 219-20-24 1 5/8"%12 1 7/8%12 595 20 18 55
2J-20 1.5/8"X12 1.5/8"X12 243 | 17 | 545| 46 50 219-24.20 1778712 1 58712 625 17 18 50
2J-20-24 1.5/8"X12 1.7/8"X12 243| 20 | 555| 46 55 21924 1 7/8"12 1 7/8"12 625 20 18 55
2J-24 1.7/8°X12 1.7/8°X12 275 20 | 61 50 55 2J9-32 2.1/2"X12 2.1/2"X12 755| 245 63 75
2J-24-32 1.7/8"X12 2.1/2"X12 275| 245 63 65 75
2J-32 2.1/2"X12 2.1/2"X12 33.9| 245 695| 65 75




W-iwe ®novs
24184 JIC THREAD ZH|HEZC JIC THREAD

42 ) AT NUT

ES /ONUT H £ SLEEVE

SLEEVE | :
O+ i {
Li ] 1
1JN
4J 1JN JIC FMBLL 74° 51t/ A4 E SMBRSL

4J X JIC SMBL 74 SMERES JIC MALE 74°CONE / NPT MALE

"""" ——___JIC MALE 74°CONE PLUG RE ¥4, THREAD R~F DIMENSIONS
NO.
E A L S1

- 1IN-02 5/16"X24 Z1/8"X27 114 | 105 | 28 12
4J-04 7116"X20 14 20 12 1JN-04-02 7/16"X20 Z1/8"X27 14 105 | 305 | 12
4J-05 1/2"X20 14 20 14 1JN-04 7/16"X20 Z1/4"X18 14 15 35 17
4J-06 9/16"X18 141 | 20 17 1JN-04-06 7/16"X20 73/8"X18 14 16 36 19
4J-08 3/4"X16 16.7 | 25 22 1JN-04-08 7/16"X20 Z1/2"X14 14 195 | 415 | 24
4J-10 7/8"X14 19.3 275 24 1JN-05-04 1/2"X20 Z1/4"X18 14 15 35 17
4J12 1116"X12 219| 32 30 1JN-05-06 1/2"X20 Z3/8"X18 14 16 36 19
214 1 316"X12 226| 335] 32 1JN-05-08 1/2"X20 Z1/2"X14 14 195 | 415 | 24
. 1JN-06-04 9/16"X18 Z1/4"X18 141 | 15 345 | 17
4J-16 1.5/16°X12 231] 34 36 1JN-06 9/16"X18 Z3/8"X18 141 | 16 36 19
4J-20 1.5/8"X12 243| 38 46 1JN-06-08 9/16"X18 Z1/2"X14 141| 195 | 415 24
4J-24 1.7/8"X12 275 | 445 50 1JN-08-04 3/4"X16 Z1/4"X18 16.7 | 15 39 22
44-32 2.1/2"X12 33.9 51 65 1JN-08-06 3/4"X16 Z3/8"X18 16.7 16 40 22
1JN-08 3/4"X16 Z1/2"X14 16.7 | 195 | 44 24
1JN-08-12 3/4"X16 Z3/4"X14 16.7 | 195 | 465 | 30
1JN-10-06 7/8"X14 Z3/8"X18 193 | 16 435 | 24
1JN-10-08 7/8"X14 Z1/2"X14 193 | 195 | 47 24
1IN-10-12 7/8"X14 Z3/4"X14 19.3 | 195 | 49 30
1JN-12-08 1.1/16"X12 Z1/2"X14 219 | 195 | 51 30
1IN-12 1.1/16"X12 Z3/14"X14 219 | 195 | 515 | 30
1IN-12-16 1.1/16"X12 Z1"X11.5 219 | 255 | 585 | 36
1JN-12-20 1.1/16"X12 Z1.1/4"X11.5 219 | 265 | 615 | 46
1IN-14-12 1.3/16"X12 Z3/14"X14 226| 195 | 53 32
1JN-16-12 1.5/16"X 12 Z3/14"X14 231| 195 | 535 | 36
1IN-16 1.5/16"X12 Z1"X11.5 231| 255 | 585 | 36
1JN-16-20 1.5/16"X12 Z1.1/4"X11.5 231| 265 | 625 | 46
1JIN-16-24 1.5/16"X12 Z1.1/2"X11.5 231| 275| 655 | 50
1JN-20-16 1.5/8"X12 Z1"X11.5 243 | 255 | 63 46
1JN-20 1.5/8"X12 Z1.1/4"X11.5 243 | 265 | 635 | 46
1JN-20-24 1.5/8"X12 Z1.1/2"X11.5 243 | 275 | 67 50
1JN-24-20 1.7/8"X12 Z1.1/4"X11.5 275| 265 | 69 50
1JN-24 1.7/8"X12 Z1.1/2"X11.5 275| 275 70 50
1JN-24-32 1.7/8"X12 72"X11.5 275| 275 | 72 65
1JIN-32 2.1/2"X12 Z2"X11.5 339 | 275| 785| 65
1JN-32-24 2.1/2"X12 Z1.1/2"X11.5 339 | 275| 785| 65




B-—uB
ZH48Z JIC THREAD

74° (><\ -

R £ S

ADAPTORS

8-
ZHHB4 JIC THREAD

R £ S

ADAPTORS

1JN4
1JN4 45°)IC HMBEL 74° ANEATHE B SRS
------------ 45°ELBOW JIC MALE 74°CONE / NPT MALE
RS #24r THREAD R~} DIMENSIONS
PART NO. E F A B S1
1JN4-02 5/16"X24 Z1/8"X27 18 17 11
1JN4-03-02 3/8"X24 Z1/8"X27 19 17 11
1JN4-04-02 7/16"X20 Z1/8"X27 215| 17 11
1JN4-04 7/16"X20 Z1/4"X18 223 | 21 14
1JN4-04-06 7/16"X20 Z3/8"X18 23 24 19
1JN4-04-08 7/16"X20 Z1/2"X14 245| 295| 22
1JN4-05-02 1/2"X20 Z1/8"X27 223| 18 14
1JN4-05-04 1/2"X20 Z1/4"X18 223 | 21 14
1JN4-06-02 9/16"X18 Z1/8"X27 228| 17.3| 14
1JN4-06-04 9/16"X18 Z1/4"X18 228 21 14
1JN4-06 9/16"X18 Z3/8"X18 24 24 19
1JN4-06-08 9/16"X18 Z1/2"X14 25 295| 22
1JN4-08-04 3/4"X16 Z1/4"X18 26.8| 22 19
1JN4-08-06 3/4"X16 Z3/8"X18 26.8| 24 19
1JN4-08 3/4"X16 Z1/2"X14 28 295| 22
1JN4-08-12 3/4"X16 Z3/4"X14 29 35 27
1JN4-10-08 7/8"X14 Z1/2"X14 31 295| 22
1JN4-10-12 7/8"X14 Z3/4"X14 32 35 27
1JN4-12-08 1.1/16"X12 Z1/2"X14 355 31 27
1JN4-12 1.1/16"X12 Z3/4"X14 355| 35 27
1JN4-12-16 1.1/16"X12 Z1"X11.5 375| 39 33
1JN4-14-12 1.3/16"X12 Z3/4"X14 37 355| 30
1JN4-16-12 1.5/16"X12 Z3/4"X14 385| 365| 33
1JN4-16 1.5/16"X12 Z1"X11.5 385| 39 33
1JN4-16-20 1.5/16"X12 Z1.1/4"X11.5 42 425| 41
1JN4-20-16 1.5/8"X12 Z1"X11.5 43 425| 41
1JN4-20 1.5/8"X12 Z1.1/4"X11.5 43 42 41
1JN4-20-24 1.5/8"X12 Z1.1/2"X11.5 46 45 48
1JN4-24 1.7/8"X12 Z1.1/2"X11.5 49 45 48
1JN4-32 2.1/2"X12 Z2"X11.5 58 50 63

1JN9 909IC HMERLL 74° S /A B SMEBLL
--------- - 90? ELBOW JIC MALE 74? CONE / NPT MALE
RS 124 THREAD R~F DIMENSIONS
PART NO. E = A B S
1JN9-02 5/16"X24 Z1/8"X27 21 21 11
1JN9-03-02 3/8"X24 Z1/8"X27 22 21 11
1JN9-04 7/16"X20 Z1/4"X18 266 | 255| 14
1JN9-04-02 7/16"X20 Z1/8"X27 245| 21 11
1JN9-04-06 7/16"X20 Z3/8"X18 295| 31 19
1JN9-05-02 1/2"X20 Z1/8"X27 26.6| 235 14
1JN9-05-04 1/2"X20 Z1/4"X18 266| 255| 14
1JN9-05-06 1/2"X20 Z3/8"X18 295| 31 19
1JN9-06 9/16"X18 Z3/8"X18 30 31 19
1JN9-06-04 9/16"X18 Z1/4"X18 269 | 255| 14
1JN9-06-08 9/16"X18 Z1/2"X14 32 36.7| 22
1JN9-08 3/4"X16 Z1/2"X14 348 | 373 22
1JN9-08-04 3/4"X16 Z1/4"X18 32 285 19
1JN9-08-06 3/4"X16 Z3/8"X18 32 31 19
1JN9-08-12 3/4"X16 Z3/4"X14 379 | 44 27
1JN9-10-06 7/8"X14 Z3/8"X18 378| 325| 22
1JN9-10-08 7/8"X14 Z1/2"X14 378| 373 22
1JN9-10-12 7/8"X14 Z3/4"X14 41 44 27
1JN9-10-16 7/8"X14 Z1"X11.5 445| 50 33
1JN9-12 1.1/16"X12 Z3/4"X14 442 | 44 27
1JN9-12-08 1.1/16"X12 Z1/2"X14 442 | 40 27
1JN9-12-16 1.1/16"X12 Z1"X11.5 49 50 33
1JN9-12-20 1.1/16"X12 | Z1.1/4"X11.5 525 | 545| 4J_
1JN9-14-12 1.3/16"X12 Z3/4"X14 475 | 45 30
1JN9-14-16 1.3/16"X12 Z1"X11.5 487 | 50 33
1JN9-16 1.5/16"X12 Z1"X11.5 49 50 33
1JN9-16-12 1.5/16"X12 Z3/4"X14 49 452| 33
1JN9-16-20 1.5/16"X12 |  Z1.1/4"X11.5 54 60.5| 4J_
1JN9-16-24 1.5/16"X12 |  Z1.1/2"X11.5 594 | 595| 48
1JN9-20 1.5/8"X12 Z1.1/4"X11.5 555 | 545 41
1JN9-20-16 1.5/8"X12 Z1"X11.5 555 | 545| 4J_




R S8

8-
ZHHB4 JIC THREAD

74’%

45 NUT

(AN
QE

145 SLEEVE \\% ‘

R £ S

ADAPTORS

ADAPTORS
| e
ZHMRL JIC THREAD
BEWR
K5 ¥4 THREAD R~} DIMENSIONS
PART NO. E F A B S1
1JN9-20-24 1.5/8"X12 Z1.1/2"X11.5 504 | 63 48
1JN9-24 1.7/8"X12 Z1.1/2"X11.5 625| 63 48
1JN9-24-20 1.7/8"X12 Z1.1/4"X11.5 625| 63 48
1JN9-32-24 2.1/2"X12 Z1.1/2"X11.5 754 | 70 63
1JN9-32 2.1/2"X12 Z2"X11.5 754 | 675| 63
L
LA FIAESLEEVE  d2EENUT
T 77272 //
z>< | —
; \F
5N
5JN FEH] JIC FMBLL 74° ST HES IR
------------ JIC MALE 74°CONE / NPT FEMALE
RE5 ¥R4 THREAD R~} DIMENSIONS
PART NO. E F A L X
5JN-04-02 7/16"X20 Z1/8"X27 14 30 17
5JN-04 7/16"X20 Z1/4"X18 14 355| 19
5JN-05-04 1/2"X20 Z1/4"X18 14 353 19
5JN-06-04 9/16"X18 Z1/4"X18 141| 356/| 19
5JN-06 9/16"X18 Z3/8"X18 141 371| 22
5JN-06-08 9/16"X18 Z1/2"X14 14.1| 425| 30
5JN-08-06 3/4"X16 Z3/8"X18 16.7| 396/| 22
5JN-08 3/4"X16 Z1/2"X14 16.7| 456/| 30
5JN-08-12 3/4"X16 Z3/4"X14 16.7| 45 36
5JN-10-08 7/8"X14 Z1/2"X14 19.3| 48 30
5JN-10-12 7/8"X14 Z3/4"X14 19.3| 497| 36
5JN-12-08 1.1/16"X12|  Z1/2"X14 219| 521| 30
5JN-12 1.1/16"X12|  Z3/4"X14 219| 523| 36
5IN-16-12 1.5/16"X12|  Z3/4"X14 231| 50 36
5IN-16 1.5/16"X12|  Z1"X11.5 231 59.7| 41
5JN-20 1.5/8"X12 | Z1.1/4"X11.5 243| 615| 50
5JN-24 1.7/8"X12 | Z1.1/2"X11.5 275| 625| 60
5JN-32 2.1/2"X12 Z2"X11.5 339| 70 70

1JT-SP
1JT-SP £ JIC SMRBLL 74° SNk /AR SMBLL
--------- - JIC MALE 74?7 CONE / BSPT MALE

RS PART 24 THREAD R~ DIMENSIONS
NO. E F A B L S1
1JT-04-02SP 7/16"X20 R1/8"X28 14 10 30 12
1JT-04SP 7/16"X20 R1/4"X19 14 145| 345| 14
1JT-04-06SP 7/16"X20 R3/8"X 19 14 15 35 17
1JT-05-02SP 1/2"X20 R1/8"X28 14 105| 305| 14
1JT-05-04SP 1/2"X20 R1/4"X19 14 145| 34 14
1JT-05-06SP 1/2"X20 R3/8"X19 14 15 35 19
1JT-06-02SP 9/16"X18 R1/8"X28 141 105| 305| 17
1JT-06-04SP 9/16"X18 R1/4"X19 141 | 145| 34 17
1JT-06SP 9/16"X18 R3/8"X19 1441| 15 34 17
1JT-06-08SP 9/16"X18 R1/2"X14 1441 | 20 41 22
1JT-08-06SP 3/4"X16 R3/8"X19 16.7| 15 39 22
1JT-08SP 3/4"X16 R1/2"X14 16.7| 20 445| 22
1JT-08-12SP 3/4"X16 R3/4"X14 16.7| 20 46 30
1JT-10-06SP 7/8"X 14 R3/8"X19 19.3| 15 425| 24
1JT-10-08SP 7/8"X14 R1/2"X14 19.3| 20 465 | 24
1JT-10-12SP 7/8"X14 R3/4"X14 19.3| 20 485 | 30
1JT-12-08SP 1.1/16"X12 R1/2"X14 219] 20 51 30
1JT-12SP 1.1/16"X12 R3/4"X14 21.9| 20 51 30
1JT-12-16SP 1.1/16"X12 R1"X11 21.9| 255| 575| 36
1JT-14-12SP 1.3/16"X12 R3/4"X14 226 20 525| 32
1JT-14-16SP 1.3/16"X12 R1"X11 22.6| 255| 575| 36
1JT-16-12SP 1.5/16"X12 R3/4"X14 23.1] 20 53 36
1JT-16SP 1.5/16"X12 R1"X11 23.1| 255| 59 36
1JT-16-20SP 1.5/16"X12 R1.1/4"X11 23.1| 265| 61.5| 46
1JT-20-16SP 1.5/8"X12 R1"X11 243 | 255| 625| 46
1JT-20SP 1.5/8"X12 R1.1/4"X11 243| 265| 63 46
1JT-20-24SP 1.5/8"X12 R1.1/2"X11 243| 265| 66.5| 50
1JT-24-20SP 1.7/8"X12 R1.1/4"X11 275| 265| 675| 50
1JT-24SP 1.7/8"X12 R1.1/2"X11 275| 265| 69.5| 50
1JT-24-32SP 1.7/8"X12 R2"X11 275| 30 745| 65
1JT-32-24SP 2.1/2"X12 R1.1/2"X11 339| 265 775| 65
1JT-32SP 2.1/2"X12 R2"X11 339| 30 80 65




®-5%s

Z %84 JIC THREAD

R S

ADAPTORS

®-7us

Z %84 JIC THREAD

7d%]

BEENUT

A =K
#1142 SLEEVE :
\ o
TSSL
DL

R £ S

ADAPTORS

740
1JT4-SP
1JT4-SP 45° £ JIC SMEBZL 74° SME/TE4EE SMBSL
------------ 45°ELBOW JIC MALE 74°CONE / BSPT MALE
RS PART NO. I8 4 THREAD R~ DIMENSIONS

E F A B S1
1JT4-04-02SP 7/16"X20 R1/8"X28 215 17 11
1JT4-04SP 7/16"X20 R1/4"X19 22.3 21 14
1JT4-04-06SP 7/16"X20 R3/8"X19 225 23 16
1JT4-04-08SP 7/16"X2Q R1/2"X14 245 295 22
1JT4-05-02SP 1/2"X20 R1/8"X28 215 175 14
1JT4-05-04SP 1/2"X20 R1/4"X19 22.3 21 14
1JT4-05-06SP 1/2"X20 R3/8"X19 22.8 23 16
1JT4-06-02SP 9/16"X18 R1/8"X28 22.8 18 14
1JT4-06-04SP 9/16"X18 R1/4"X19 22.8 21 14
1JT4-06SP 9/16"X18 R3/8"X19 23 23 16
1JT4-06-08SP 9/16"X18 R1/2"X14 25 295 22
1JT4-08-04SP 3/4"X16 R1/4"X19 26.8 22 19
1JT4-08-06SP 3/4"X16 R3/8"X19 26.8 24 19
1JT4-08SP 3/4"X16 R1/2"X14 28 295 22
1JT4-08-12SP 3/4"X16 R3/4"X14 29 305| 27
1JT4-10-06SP 7/8"X14 R3/8"X19 31 25 22
1JT4-10-08SP 7/8"X14 R1/2"X14 31 295 22
1JT4-10-12SP 7/8"X14 R3/4"X14 33 315| 27
1JT4-12-08SP 1.1/16"X12 R1/2"X14 35.5 30 27
1JT4-12SP 1.1/16"X12 R3/4"X14 35.5 305| 27
1JT4-12-16SP 1.1/16"X12 R1"X11 375 38 33
1JT4-16-12SP 1.5/16"X12 R3/4"X14 385 325 33
1JT4-16SP 1.5/16"X12 R1"X11 385 38 33
1JT4-16-20SP 1.5/16"X12 R1.1/4"X11 42 43 41
1JT4-20-16SP 1.5/8"X12 R1"X11 43 42 41
1JT4-20SP 1.5/8"X12 R1.1/4"X11 43 43 41
1JT4-20-24SP 1.5/8"X12 R1.1/2"X11 46 475| 48
1JT4-24-20SP 1.7/8"X12 R1.1/4"X11 49 455| 48
1JT4-24SP 1.7/8"X12 R1.1/2"X11 49 475| 48
1JT4-32SP 2.1/2" R2"X11 58 50 63

1JT9-SP

1JT9-SP 90° 341 JIC SMRLL 74° SN /S SMEBLL

------------ 90°ELBOW JIC MALE 74°CONE/BSPT MALE

RE PART NO. 124 THREAD R~} DIMENSIONS
E F A B S1

1JT9-02SP 5/16"X24 R1/8"X28 205| 21 11
1JT9-04-02SP 7/16"X20 R1/8"X28 245| 21 11
1JT9-04SP 7/16"X20 R1/4"X19 26.6| 255| 14
1JT9-04-06SP 7/16"X20 R3/8"X19 275| 28 16
1JT9-05-02SP 1/2"X20 R1/8"X28 26.6| 235| 14
1JT9-05-04SP 1/2"X20 R1/4"X19 26.6| 255| 14
1JT9-05-06SP 1/2"X20 R3/8"X19 275| 28 16
1JT9-06-02SP 9/16"X18 R1/8"X28 269| 235| 14
1JT9-06-04SP 9/16"X18 R1/4"X19 269| 255| 14
1JT9-06SP 9/16"X18 R3/8"X19 285| 285| 16
1JT9-06-08SP 9/16"X18 R1/2"X14 32 36 22
1JT9-08-04SP 3/4"X16 R1/4"X19 32 28 19
1JT9-08-06SP 3/4"X16 R3/8"X19 32 305, 19
1JT9-08SP 3/4"X16 R1/2"X14 348| 36 22
1JT9-08-12SP 3/4"X16 R3/4"X14 379 | 435 27
1JT9-10-06SP 7/8"X14 R3/8"X19 38 32 22
1JT9-10-08SP 7/8"X14 R1/2"X14 378 | 36 22
1JT9-10-12SP 7/8"X14 R3/4"X14 41 435| 27
1JT9-12-08SP 1.1/16"X12|  R1/2"X14 442 | 40 27
1JT9-12SP 1.1/16"X12 |  R3/4"X14 442 | 435| 27
1JT9-12-16SP 1.1/16"X12 |  R1"X11 478 | 50 33
1JT9-16-12SP 1.5/16"X12 |  R3/4"X14 49 475| 33
1JT9-16SP 1.5/16"X12|  R1"X11 49 50 33
1JT9-16-20SP 1.5/16"X12 |  R1.1/4"X11 54 56.5| 41
1JT9-20-16SP 1.5/8"X12 R1"X11 555| 565 | 41
1JT9-20SP 1.5/8"X12 R1.1/4"X11 555| 565 | 41
1JT9-24-20SP 1.7/8"X12 R1.1/4"X11 62.5| 61 48
1JT9-24SP 1.7/8"X12 R1.1/2"X11 625| 625 48
1JT9-24-32SP 1.7/8"X12 R2"X 11 745 | 67 63
1JT9-32SP 2.1/2"X12 R2"X11 754 | 67 63




®-5%s

Z %84 JIC THREAD

R S

ADAPTORS

74“(‘)@

¥ 45 SLEEVE

PEEENUT

R £ S

sy/
1JO
1JO £ JIC SMRLL 74° SMEE/SAE SMB LG O L% R 51 1SO11926-3

------------ JIC MALE 74°CONE ISAE O-RING BOSS L-SERIES I1SO 11926-3
RS PART 124 THREAD O #E O-RING R~ DIMENSIONS
NO. E F F % A B L S1
1JO-04-02 7/16"X20 5/16"X24 0902 14 7.54 27.5 14
1JO-04-03 7/16"X20 3/8"X24 0903 14 7.54 27.5 14
1J0-04 7/16"X20 7/16"X20 0904 14 9.14 29 14
1J0-04-05 7/16"X20 1/2"X20 0905 14 9.14 29 17
1J0-04-06 7/16"X20 9/16"X18 0906 14 9.93 30 17
1J0-04-08 7/16"X20 3/4"X16 0908 14 11.13 33 22
1J0O-05 1/2"X20 1/2"X20 0905 14 9.14 29 17
1J0O-05-04 1/2"X20 7/16"X20 0904 14 9.14 29 14
1J0O-05-06 1/2"X20 9/16"X18 0906 14 9.93 30 17
1JO -05-08 1/2"X20 3/4"X16 0908 14 11.13 33 22
1J0O-06 9/16"X18 9/16"X18 0906 14.1 9.93 30 17
1J0-06-04 9/16"X18 7/16"X20 0904 14.1 9.14 29 17
1J0-06-05 9/16"X18 1/2"X20 0905 14.1 9.14 29.5 17
1J0O-06-08 9/16"X18 3/4"X16 0908 14.1 11.13 33 22
1J0O-06-10 9/16"X18 7/8"X14 0910 141 12.7 37 27
1J0O-06-12 9/16"X18 1.1/16"X12 0912 14.1 15.09 40 32
1JO-08 3/4"X16 3/4"X16 0908 16.7 11.13 36 22
1J0-08-04 3/4"X16 7/16"X20 0904 16.7 9.14 34 22
1J0O-08-06 3/4"X16 9/16"X18 0906 16.7 9.93 35 22
1J0O-08-10 3/4"X16 7/8"X14 0910 16.7 12.7 40 27
1J0O-08-12 3/4"X16 1.1/16"X12 0912 16.7 15.09 43 32
1J0O-08-14 3/4"X16 1.3/16"X12 0914 16.7 15.09 43 36
1JO-10 7/8"X14 7/8"X14 0910 19.3 12.7 42.5 27
1JO-10-08 7/8"X14 3/4"X16 0908 19.3 11.13 39 24
1J0O-10-12 7/8"X14 1.1/16"X12 0912 19.3 15.09 45.5 32
1JO-10-14 7/8"X14 1.3/16"X12 0914 19.3 15.09 45.5 36
1J0O-12 1.1/16"X12 1.1/16"X12 0912 21.9 15.09 48 32
1J0O-12-08 1.1/16"X12 3/4"X16 0908 21.9 11.13 43 30
1J0O-12-10 1.1/16"X12 7/8"X14 0910 21.9 12.7 45 30
1J0O-12-14 1.1/16"X12 1.3/16"X12 0914 21.9 15.09 48 36
1J0O-12-16 1.1/16"X12 1.5/16"X12 0916 21.9 15.09 48 38
1J0O-14 1.3/16"X12 1.3/16"X12 0914 22.6 15.09 48.5 36
1J0-14-12 1.3/16"X12 1.1/16"X12 0912 22.6 15.09 48.5 32
1J0O-14-16 1.3/16"X12 1.5/16"X12 0916 22.6 15.09 50.5 38

ADAPTORS
| e
E #8840 JIC THREAD
BER
KRS PART 184 THREAD O #ME O-RING R~ DIMENSIONS
NO. E F F ¥ A L S1
1JO-16 1.5/16"X12 1.5/16"X12 0916 231 | 15.09 49 38
1J0-16-12 1.5/16"X12 1.1/16"X12 0912 23.1| 15.09 49 36
1JO-16-14 1.5/16"X12 1.3/16"X12 0914 231 | 15.09] 49 36
1J0-16-20 1.5/16"X12 1.5/8"X12 0920 231 | 15.09| 53 50
1J0-20 1.5/8"X12 1.5/8"X12 0920 243 | 15.09| 545 | 50
1J0-20-16 1.5/8"X12 1.5/16"X12 0916 243 | 15.09| 525 | 46
1J0-20-24 1.5/8"X 12 1.7/8"X12 0924 243 | 15.09| 545 | 55
1J0-24 1.7/8"X12 1.7/8"X12 0924 275 | 15.09| 575| 55
1J0-24-20 1.7/8"X12 1.5/8"X12 0920 275 | 15.09| 575 | 50
1J0-24-32 1.7/8"X12 2.1/2"X12 0932 275 | 15.09| 595 | 70
1J0-32 2.1/2"X12 2.1/2"X12 0932 33.9| 15.09| 66 70
F
f ity [
| - s _%\\\ | ,.
” o @F‘QM =
=T -
AJOJ-0G
AJOJ-0G M) JIC FMELL 74° HME/SAE SMESGE O BUER2 R %) 1ISO11926-3 43X =il
------------ JIC MALE 74?CONE/SAE O -RING BOSS L-SERIES IS0 11926-3 RUN TEE
RS PART NO. Y2 4r THREAD oFil:: R~ DIMENSIONS
O-RING
E F G F %% A B C S2
AJOJ -040G 7/16"X20 7/16"X20 7/16"X20 0904 24.5 |27.2 24.5 11 17
AJOJ -05-04-050G 1/2"X20 7/16"X20 1/2"X20 0904 26.6 |30 26.6 14 17
AJOJ -050G 1/2"X20 1/2"X20 1/2"X20 0905 26.6 |29 26.6 14 17
AJOJ -06-04-060G 9/16"X18 7/16"X20 9/16"X18 0904 26.9 |30 26.9 14 17
AJOJ -06-05-060G 9/16"X18 1/2"X20 9/16"X18 0905 26.9 |30 26.9 14 17
AJOJ -060G 9/16"X18 9/16"X18 9/16"X18 0906 26.9 [31.8 [26.9 14 19
AJOJ -08-06-080G 3/4"X16 9/16"X18 3/4"X16 0906 32 33.5 [32 19 19
AJOJ -080G 3/4"X16 3/4"X16 3/4"X16 0908 33 36.8 33 19 24
AJOJ -10-08-100G 7/8"X14 3/4"X16 7/8"X14 0908 38 40 38 22 24
AJOJ -100G 7/8"X14 7/8"X14 7/8"X14 0910 37.8 44 37.8 22 27
AJOJ -12-08-120G 1.1/16"X12 3/4"X16 1.1/16"X12 0908 45 44 45 27 24
AJOJ -12-10-120G 1.1/16"X12 7/8"X14 1.1/16"X12 0910 44.2 149 44.2 27 27
AJOJ -120G 1.1/16"X12 1.1/16"X12 [1.1/16"X12 0912 44.2 |51 44.2 27 32
AJOJ -160G 1.5/16"X12 1.5/16"X12 [1.5/16"X12 0916 48.8 545 |48.8 33 41
AJOJ -20-16-200G 1.5/8"X12 1.5/16"X12 |1.5/8"X12 0916 55.5 |59.5 [55.5 41 41
AJOJ -200G 1.5/8"X12 1.5/8"X12 1.5/8"X12 0920 55.3 |59 55.3 41 50
AJO0J-240G 1.7/8"X12 1.7/8"X12 1.7/8"X12 0924 62.5 |63 62.5 48 55




R £ S R £ S

ADAPTORS ADAPTORS
@B @B
E#g4c JIC THREAD ZH4ELC JIC THREAD
|
& | |
LR NUT .
145 SLEEVE ?/‘_ ) 240 w = _: -
[ Bice siie: : {51
Of +-- A
X
1J09-0G
1J09-OG  90° ZE#l| JIC FMELL 74° 4ME/SAE SMRLH O BIE & & 51 1SO11926-3
1J04-0G —— 90? ELBOW JIC MALE 74? CONE ISAE 0- RING BOSS L-SERIES | SO
11926-3
1J04-OG  45° %8 JIC SMELL 74° ISAE SMEZH#; O &% 1SO11926-3
--------- ~ 457 élé_ﬁgjow Jﬁgii/léiLE ﬁfﬁc:ONEﬁii?an?Gﬁe%isﬁ IJ_-SERIES ISO 11926-3 5 PART NO. #240 THREAD O Z M@ O-RING R~ DIMENSIONS
RS PART NO. 24X THREAD O #B O-RING R~ DIMENSIONS E F F ¥ A B S1 | s2
E F F 3 A B S1 S2 1J09-04-030G 7/16"X20 3/8"X24 0903 245 | 28 11 14
1J04-040G 7/16"X20 7/16"X20 0904 21 24 11 17 1J09-040G 7/16"X20 7/16"X20 0904 24.5 27.2 1 17
1J04-04-060G 7/16"X20 9/16"X18 0906 | 223| 275| 14 19 1J09-04-050G 7/16"X20 1/2'X20 0905 266 | 299 14 17
» . 1J09-04-060G 7/16"X20 9/16"X18 0906 26.6 31.8 14 19
1J04-04-080G 7/16"X20 3/4"X16 0908 | 245| 325| 19 24 1109-05-040C 172"%20 2/16"X20 0904 266 | 30 1 17
1J04-05-040G 1/2"X20 7/16"X20 0904 22 26.7 14 17 1J09-05-060G 1/2"X20 9/16"X18 0906 26.6 31.8 14 19
1J04-060G 9/16"X18 9/16"X18 0906 23.5 28 14 19 1J09-06-040G 9/16"X18 7/16"X20 0904 26.9 30 14 17
1J04-06-040G 9/16"X18 7/16"X20 0904 228 1| 26 14 17 1J09-06-050G 9/16"X18 1/2"X20 0905 26.9 29.9 14 17
1J04-06-080G | 9/16"X18 3/4"X16 0908 | 25 | 325| 19 | 24 1J09-06-980G | 9ne™X1s SH’X16 0%8 | 0 | 368 19 | 24
. . 1J09-08-040G 3/4"X16 7/16"X20 0904 32 33 19 17
1J04-06-100G 9/16"X18 7/8"X14 0910 | 255| 385| 22 27 1109.08-060G 2416 916'X18 0906 23 P 9
1J04-080G 3/4"X16 3/4"X16 0908 | 25.8| 325| 19 24 1109-080G 3/4"X16 3/4"X16 0908 33 %8| 19 24
1J04-08-060G 3/4"X16 9/16"X18 0906 | 255| 28 19 19 1J09-08-100G 3/4"X16 7/8"X14 0910 348 | 44 22 57
1J04-08-100G 3/4"X16 7/8"X14 0910 28 38.7 22 27 1J09-08-120G 3/4"X16 1.1/16"X12 0912 37.9 51 27 32
1J04-08-120G 3/4"X16 1.1/16"X12 0912 | 30 439 | 27 32 1J09-10-080G 7/8"X14 3/4"X16 0908 38 40 22 27
1J04-100G 7/8"X14 7/8"X14 0910 | 295| 387 | 22 27 1J069-100G 7/8"X14 7/8"X14 0910 37.8 | 44 22 27
1J04-10-080G 7/8"X14 3/4"X16 0908 205 33 22 27 1J09-10-120G 7/8"X14 1.1/16"X12 0912 41 51 27 32
1J04-10-120G 7/8"X14 1.1/16"X12 0912 | 33 439 | 27 32 1J09-12:080G 1.1/16"X12 3/4"X16 ©908 45 44 27 24
" » 1J09-12-100G 1.1/16"X12 7/8"X14 0910 44.2 47 27 27
1J04-120G 1.1/16"X12 1.1/16"X12 0912 | 34 435| 27 32 1J09.120G 11/16"X12 1 116"X12 0912 a2 | 51 - ”
1J04-12-100G 1.1/16"X12 7/8"X14 0910 | 34 42 27 27 1J09-12-160G 1.1/16"X12 1.5/16"X12 0916 478 | 545| 33 41
1J04-12-160G 1.1/16"X12 1.5/16"X12 0916 37 455 33 41 1J09-140G 1.3/16"X12 1.3/16"X12 0914 475 53 30 36
1J04-140G 1.3/16"X12 1.3/16"X12 0914 | 37 44 30 36 1J09-14-160G 1.3/16"X12 1.5/16"X12 0916 485 | 545| 33 41_
1J04-160G 1.5/16"X12 1.5/16"X12 0916 | 38 455 | 33 41 1409-16-120G 1.5/16"X12 1.1/16"X12 0912 488 | 545| 33 32
1J04-16-120G | 1.5/16"X12 1.1/16"X12 0912 | 38 | 45 | 33 | 32 1J09-16-140G 1.516X12 1.3/16"X12 0914 49 56 33 | 36
1J04-16-200G 1 5/16"X12 1 5/8"X12 0920 405 47 41 50 1J09-160G 1.5/16"X12 1.5/16"X12 0916 48.8 54.5 33 41
. " 1J09-16-200G 1.5/16"X12 1.5/8"X12 0920 53.8 59 41 50
1J04-200G 1.5/8"X12 1.5/8'X12 0920 | 42 485| 41 50 1J09-20-160G 1.5/8"X12 1.5/16"X12 0916 555 | 59.5| 41 41
1J04-20-240G 1.5/8"X12 1.7/8"X12 0924 | 46 50 48 55 11092006 1 5/8"X12 1 5/8"%12 0820 553 | 50 1 50
1J04-240G 1.7/8"X12 1.7/8"X12 0924 | 48 50 48 59 1J09-20-240G 1.5/8" X12 1.7/8"X12 0924 59.4 | 63 48 55
1J04-320G 2.1/2"X12 2.1/2"X12 0932 58 54 63 70 1J09-240G 1.7/8"X12 1.7/8"X12 0924 62.5 63 48 55
1J09-320G 2.1/2"x12 2.1/2"x12 0932 80 76 63 70




B-nus
ZH|HEZC JIC THREAD

8-
ZHIB4 JIC THREAD

B RENUT
HAESLEEVE |

1JH

AJJO-0G 1JH JIC MBS 74° A1 A HISMBE SR R 51 1SO9974

AJJO-OG  %#i] JIC SMESL 74° 41M4E/SAE SMELSHE O R RF 1S011926-3 =38 JIC MALE 74? CONE/ METRIC MALE END L -SERIES 1SO 9974
--------- - JIC MALE 74? CONE/SAE O-RING BOSS L-SERIES IS0 11926-3 RUN TEE RS PART 84 THREAD O ZIf O-RING R~ DIMENSIONS
&S PART NO. 424 THREAD O %M O-RING R~ DIMENSIONS NO. E F F % A B L S1
E F G GH | A B C S1| s2 1JH-04-10 7/16"X20 M10X1 008.1X1.6 | 14 85| 285 14
AJJ 0-040G 7/16"X20| 7/16"X20| 7/16"X20 0904 | 245| 245| 272| 11 | 17 1JH-04-12 7/16"X2Q M12X1.5 009.3X2.4 | 14 11 | 31 17
AJJO-050G | 1/2"X20 | 1/2"X20 | 1/2"X20 0905 | 26.6| 26.6| 29 | 14 | 17 1JH-04-14 7/16"X20 M14X1.5 011.3X2.4 | 14 11 | 31 19
AJJ O -05-05-040G| 1/2"X20 | 1/2"X20 | 7/16"X20 0904 | 26.6| 26.6| 30 | 14 | 17 1JH-05-10 1/2"X20 M10X1 008.1X1.6 | 14 85| 29 | 14
AJJ O -060G 9/16"X18| 9/16"X18| 9/16"X18 0906 | 269| 269| 318| 14 | 19 1JH-05-12 1/2"X20 M12X1.5 009.3X2.4 | 14 11 | 31 17
AJJ O -06-06-040G| 9/16"X18| 9/16"X18| 7/16"X20 0904 | 269| 269| 301| 14 | 17 1JH-05-14 1/2"X20 M14X1.5 011.3X2.4 | 14 11 | 33 | 19
AJJ 0-06-06-050G | 9/16"X18| 9/16"X18| 1/2"X20 0905 | 269| 269| 30 | 14 | 17 1JH-06-14 9/16"X18 M14X1.5 011.3X2.4 | 141| 11 | 31 19
AJJO-06-06-080G| 9/16"X18| 9/16"X18| 3/4"X16 0908 | 30 | 30 | 375| 19 | 24 1JH-06-16 9/16"X18 M16X1.5 013.3X2.4 | 141| 115/ 335 22
AJJ 0-080G 3/4"X16 | 3/4"X16 | 3/4"X16 0908 | 33 | 33 | 368| 19 | 24 1JH-06-18 9/16"X18 M18X1.5 015.3X2.4 | 141| 125 345 24
AJJ 0-08-08-060G | 3/4"X16 | 3/4"X16 | 9/16"X18 0906 | 32 | 32 | 335 19 | 19 1JH-08-14 3/4"X16 M18X1.5 015.3X2.4 | 167| 11 | 38 | 22
AJJO-08-08-100G | 3/4"X16 | 3/4"X16 | 7/8"X14 0910 | 34.8| 348| 44 | 22 | 27 1JH-08-16 3/4"X16 M16X1.5 013.3X2.4 | 167| 115/ 36 | 22
AJJO-100G 7/8"X14 | 7/8"X14 | 7/8"X14 0910 | 37.8| 37.8| 44 | 22 | 27 1JH-08-18 3/4"X16 M18X1.5 015.3X2.4 | 167 | 125/ 37 | 24
AJJO-10-10-080G | 7/8"X14 | 7/8"X14 | 3/4"X16 0908 | 37.8| 37.8| 395| 22 | 24 1JH-08-22 3/4"X16 M22X1.5 019.3X2.4 | 167| 13 | 395 27
AJJO-120G  [1.1/16"X12 [1.1/16"X12 |1.1/16"X12 0912 | 44.2| 442| 51 27 | 32 1JH-10-16 7/8"X14 M16X1.5 013.3X2.4 | 193 | 115/ 41 | 24
AJJ 0-12-12-080G [1.1/16"X12 [1.1/16"X12 [3/4"X16 0908 | 44.2| 442| 43 | 27 | 24 1JH-10-18 7/8"X14 M18X1.5 015.3X2.4 | 193 | 125/ 40 | 24
AJJO-12-12-100G [1.1/16"X12 [1.1/16"X12 [7/8"X14 0910 | 44.2| 442| 49 | 27 | 27 1JH-10-22 7/8"X14 M22X1.5 019.3X2.4 | 193| 13 | 42 | 27
AJJO-160G  [1.5/16"X12 [1.5/16"X12 |1.5/16"X12 0916 | 48.8| 488| 545| 33 | 41 1JH-12-22 1-116"X12|  M22X1.5 019.3X2.4 | 219| 13 | 475 30
AJJO-200G  [1.5/8"X12 [1.5/8"X12 |1.5/8"X12 0920 | 553| 553| 59 | 41 | 50 1JH-12-27 1-116"X12|  M27X2 0235X3.0 | 219| 16 | 49 | 32
AJJO-240G  [1.7/8"X12 [1.7/8"X12 [1.7/8"X12 0924 | 625| 625| 63 | 48 | 55 1JH-16-27 1-5/16"X12|  M27X2 0235X3.0 | 231| 16 | 525 36
1JH-16-33 1-5/16"X12|  M33X2 029.5X3.0 | 231| 16 | 52 | 41
1JH-20-42 1-5/8"X12 M42X2 038.5X3.0 | 243| 16 | 58 | 50
1JH-24-48 1-7/8"X12 M48X2 044.5X3.0 | 275| 175/ 63 | 55




B-5%s

ZHMRL JIC THREAD

R £ S

ADAPTORS

| [ e
E #4824 JIC THREAD

1JH4-0G

1JH4-0G  45° Z3eH JIC FMELL 74° HME/A FIESCRT I AR B R 51 1S09974

----------- 45? ELBOW JIC MALE 74? CONE /METRIC MALE ADJUSTABLE STUD END L -SERIES ISO

9974

5 PART 124 THREAD O #I O-RING R~ DIMENSIONS

NO. E F F o A B S1 | s2
1JH4-04-100G 7/16"X20 M10X1 008.1X1.6 | 215| 235| 11 14
1JH4-04-120G 7/16"X20 M12X1.5 009.3X2.4 | 215| 275| 11 17
1JH4-04-140G 7/16"X20 M14X1.5 011.3X2.4 | 223 | 283| 14 19
1JH4-05-120G 1/2"X20 M12X1.5 009.3X2.4 | 223 | 283| 14 17
1JH4-05-140G 1/2"X20 M14X1.5 O11.3X2.4 | 223 | 283| 14 19
1JH4-06-140G 9/16"X18 M14X1.5 011.3X2.4 | 228 | 283| 14 19
1JH4-06-160G 9/16"X18 M16X1.5 013.3X2.4 | 22 29 16 22
1JH4-08-160G 3/4"X16 M16X1.5 013.3X2.4 | 268 | 30 19 22
1JH4-08-180G 3/4"X16 M18X1.5 015.3X2.4 | 268 | 31 19 24
1JH4-10-160G 7/8"X14 M16X1.5 013.3X2.4 | 31 31 22 22
1JH4-1Q-180G | 7/8"X14 M18X1.5 015.3X2.4 | 31 32 22 24
1JH4-10-220G 7/8"X14 M22X1.5 019.3X2.4 | 31 33 22 27
1JH4-12-220G 1.1/16"X12 M22X1.5 019.3X2.4 | 355 | 345| 27 27
1JH4-12-270G 1.1/16"X12 M27X2 023.5X3.0 | 355 | 395| 27 32
1JH4-16-270G 1.5/16"X12 M27X2 023.5X3.0 | 385 | 41 33 32
1JH4-16-330G 1.5/16"X12 M33X2 029.5X3.0 | 385| 415| 33 41
1JH4-20-420G 1.5/8"X12 M42X2 038.5X3.0 | 43 45 41 50
1JH4-24-480G 1.7/8"X12 M48X2 044.5X3.0 | 49 495 | 48 55

1JH9-0G
1JH9-OG  90° B EHl JIC FMEBLL 74° FhE /A FIESCRTE HAE IR % R 51 1S09974
—— 90? ELBOWJIC MALE 74? CONE/METRIC MALE ADJUSTABLE STUD END L -SERIES
1S09974
RE PART NO. 24 THREAD O % O-RING R~} DIMENSIONS
E F A B S1 S2
1JH9-04-100G 7/16"X20 M10X1 008.1X1.6| 245 | 275| 11 14
1JH9-04-120G 7/16"X20 M12X1.5 009.3X2.4| 245 | 303 | 11 17
1JH9-04-140G 7/16"X20 M14X1.5 011.3X2.4| 266 | 32 14 19
1JH9-05-100G 1/2"X20 M10X1 008.1X1.6| 26.5| 285| 14 14
1JH9-05-120G 1/2"X20 M12X1.5 009.3X2.4| 265 | 32 14 17
1JH9-05-140G 1/2"X20 M14X1.5 011.3X2.4| 265 | 32 14 19
1JH9-06-140G 9/16"X18 M14X1.5 011.3X2.4| 269 | 32 14 19
1JH9-06-160G 9/16"X18 M16X1.5 013.3X2.4| 28 348| 16 22
1JH9-06-180G 9/16"X18 M18X1.5 015.3X2.4| 30 37 19 24
1JH9-08-160G 3/4"X16 M16X1.5 013.3X2.4| 32 38 19 22
1JH9-08-180G 3/4"X16 M18X1.5 015.3X2.4| 33 38 19 24
1JH9-08-220G 3/4"X16 M22X1.5 019.3X2.4| 348 | 402| 22 27
1JH9-10-160G 7/8"X14 M16X1.5 013.3X2.4| 38 38 22 22
1JH9-10-180G 7/8"X14 M18X1.5 015.3X2.4| 38 395| 22 24
1JH9-10-220G 7/8"X14 M22X1.5 019.3X2.4| 38 425| 22 27
1JH9-12-220G 1.1/16"X12 M22X1.5 019.3X2.4| 45 44 27 27
1JH9-12-270G 1.1/16"X12 M27X2 023.5X3.0| 442 | 485| 27 32
1JH9-16-270G 1.5/16"X12 M27X2 023.5X3.0| 49 52 33 32
1JH9-16-330G 1.5/16"X12 M33X2 029.5X3.0| 49 525| 33 41
1JH9-20420G 1.5/8"X12 M42X2 038.5X3.0| 555 | 57.2| 41 50
1JH9-24-480G 1.7/8"X12 M48X2 044.5X3.0| 625 | 625| 48 55




-5 %s

ZHMRL JIC THREAD

WERENUT
#HESLEEVE

W I 4 e
51
1JG
1JG FEH JIC SMRELL 74° SMEAEE SMBELL O U 1ISO1179

JIC MALE74TONE/BS P MALE O-RING ISO1179

R, S

ADAPTORS

8-
E #4824 JIC THREAD

R £ S

ADAPTORS

1JG4-0G
1JG4-0G  45° TEH| JIC FMELL 74° SME/FEE SRS O RIME 1SO1179
------------ 45°ELBOW JIC MALE 74°CONE / BSP MALE O -RING 1SO1179
5 PART NO. ¥24r THREAD O % O-RING R~} DIMENSIONS
E F F ¥ A B S1 S2
1JG4-040G 7/16"X20 G1/4"X19 0111 21 28 14 19
1JG4-05-040G 1/2"X20 G1/4"X19 0111 21 28 14 19
1JG4-06-040G 9/16"X18 G1/4"X19 0111 22 28 14 19
1JG4-060G 9/16"X18 G3/8"X19 0113 23 32 19 22
1JG4-08-060G 3/4"X16 G3/8"X19 0113 258 | 32 19 22
1JG4-080G 3/4"X16 G1/2"X14 0115 275| 36 22 27
1JG4-10-080G 7/8"X14 G1/2"X14 0115 295| 38 22 27
1JG4-100G 7/8"X14 G5/8"X14 0910 295| 38 22 30
1JG4-12-100G 1.1/16"X12 G5/8"X14 0910 34 385| 27 30
1JG4-12-160G 1.1/16"X12 G1"X11 0217 375| 44 33 41
1JG4-120G 1.1/16"X12 G3/4"X14 0119 34 42 27 32
1JG4-16-120G 1.5/16"X12 G3/4"X14 0119 38 44 33 32
1JG4-160G 1.5/16"X12 G1"X11 0217 38 44 33 41
1JG4-200G 1.5/8"X12 G1.1/4"X11 0222 43 475| 41 50
1JG4-240G 1.7/8"X12 G1.1/2"X11 0224 49 515| 48 55

RE PART 840 THREAD O % O-RING R~F DIMENSIONS
NO. E F F o A B L S1
1JG-04-02 7/16"X20 G1/8"X28 0011 14 9.5 | 31 14
1JG-04 7/16"X20 G1/4"X19 0111 14 10 | 325| 19
1JG-04-06 7/16"X20 G3/8"X19 0113 14 115| 34 22
1JG-04-08 7/16"X 20 G1/2"X14 0115 14 14 | 39 27
1JG-05-04 1/2"X20 G1/4"X19 0111 14 10 | 33 19
1JG-05-06 1/2"X20 G3/8"X19 0113 14 115| 36 22
1JG-05-08 1/2"X20 G1/2"X14 0115 14 14 | 39 27
1JG-06-04 9/16"X18 G1/4"X19 0111 1441 11 | 315] 19
1JG-06 9/16"X18 G3/8"X19 0113 141| 115| 34 22
1JG-06-08 9/16"X18 G1/2"X14 0115 141| 14 | 39 27
1JG-08-04 3/4"X16 G1/4"X19 0111 16.7| 10 | 36 22
1JG-08-06 3/4"X16 G3/8"X19 0113 16.7| 115| 37 22
1JG-08 3/4"X16 G1/2"X14 0115 16.7 | 14 | 42 27
1JG-08-12 3/4"X16 G3/4"X14 0119 16.7| 155| 44 32
1JG-10-06 7/8"X14 G3/8"X19 0113 193 | 115| 395| 24
1JG-10-08 7/8"X14 G1/2"X14 0115 193 | 14 | 445| 27
1JG-10-12 7/8"X14 G3/4"X14 0119 193 | 155| 485| 32
1JG-12-08 1.116"X12 |  G1/2"X14 0115 22 14 | 49 30
1JG-12 1.116"X12 |  G3/4"X14 0119 22 155| 495| 32
1JG-12-16 1.116"X12 | G1"X11 0217 22 18 | 54 41
1JG-12-20 1.116"X12 | G1.1/4"X11 0222 22 20 | 57 50
1JG-16-12 1.5/16"X12 |  G3/4"X14 0119 23 155| 525| 36
1JG-16 1.5116"X12 |  G1"X11 0217 23 18 | 55 41
1JG-16-20 1.5/16"X12 | G1.1/4"X11 0222 23 20 | 58 50
1JG-20-16 1.5/8"X12 G1"X11 0217 243| 18 | 58 46
1JG-2Q 1.5/8"X12 G1.1/4"X11 0222 243| 20 | 595| 50
1JG-24-16 1.7/8"X12 G1"X11 0217 275| 18 | 635| 50
1JG-24-20 1.7/8"X12 G1.1/4"X11 0222 275| 20 | 655| 50
1JG-24 1.7/8"X12 G1.1/2"X11 0224 275| 215| 64 55




R £ S

ADAPTORS

R £ S

ADAPTORS

8-
E #4824 JIC THREAD

8-
E #4824 JIC THREAD

F
S2 -
w (¥ » e
. AJGJ-0G
1JG9-0G AJGJ-OG  90°JIC SMBELL 74° S4B HMEBLL O BB 4y X =38
1JG9-OG  90° B4 JIC SMEBLL 74° SMESE S B4 O B 1SO1179 "'%%";ARTQOC’E'—BOW J'ng-%;;%"“f /BSP Mngé'T;i?NZRANCH;iLE ETE——
------------ 90ELBOW JICMALE74TCONE/BSP MALE O -RING ISO1179 NO. = 2= = = o A 5 c e~
5 PART #24 THREAD O %I O-RING R~} DIMENSIONS
NO. E = i n = = = AJGJ -04-02-040G | 7/16"X20 | G1/8"X28 | 7/16"X20 O111 | 245 [ 262 | 245 | 11 19
AJGJ -040G 7/16"X20 | G1/4"X19 | 7/16"X20 O111 | 266 | 31.8| 266 | 14 19
1JG9-04-020G 7716"X2Q G1/8"X28 o011 245 | 262| 1 14 AJGJ-05-02-050G | 1/2'X20 | G1/8"X28 | 1/2"X20 o111 | 266 | 29 | 266 | 14 19
1JG9-04-060G 7/16"X2Q G3/8"X19 0113 275 | 36.8 16 22 AJGJ -05-04-050G | 1/2"X20 | G1/4"X19 | 1/2"X20 0111 | 26.6 | 31.8 | 26.6 14 19
1JG9-040G 7/16"X2Q G1/4"X19 0111 266 | 313| 14 19 AJGJ-06-04-060G | 9/16"X18 | G1/4"X19 | 9/16"X18 o111 37 | 31 | 27 14 19
1JG9-05-040G 1/2"X20 G1/4"X19 0111 26.5 31.8 14 19 AJGJ -060G 9/16"X18 G3/8"X19 9/16"X18 0113 28.5 | 36.8 | 28.5 16 22
1JG9-05-0600 1/2"X20 G3/8X19 o113 2751 3581 16 > AJGJ-08-06-080G | 3/4"X16 | G3/8"X19 | 3/4"X16 0113 33 | 37 | 33 19 22
AJGJ -080G 3/4"X16 | G1/2"X14 | 3/4"X16 0115 35 | 432 35 22 27
1JG9-05-080G 1/2'X20 G1/2'X14 0115 315) 432 | 22 27 AJGJ-10-08-100G | 7/8"X14 | G1/2"X14 |  7/8"X14 O115 | 37.8 | 435 | 378 | 22 27
1JG9-06-040G 9/16"X18 G1/4"X19 o111 269 | 313 | 14 19 AJGJ -120G 1.1/16"X12 | G3/4"X14 | 1.1/16"X12 0119 | 442 | 51 | 442 | 27 32
1JG9-06-080G 9/16"X18 G1/2"X14 0115 325 43.2 22 27 AJGJ -160G 1.5/16"X12 | G1"X11 1.5/16"X12 0217 48.8 | 53 | 48.8 33 41
1JG9-060G 9/16"X18 G3/8"X19 0113 28.5 35.8 16 22 w
1JG9-08-040G 3/4"X16 G1/4"X19 0111 32 335 19 19 E
1JG9-080G 3/4"X16 G1/2"X14 0115 348 | 432 | 22 27 |
1JG9-08-060G 3/4"X16 G3/8"X19 0113 32 36.8 19 22 ‘
1JG9-08-120G 3/4"X16 G3/4"X14 o119 | 379 | 493 | 27 | 32 4 -
1JG9-10-060G 7/8"X14 G3/8"X19 0113 37.8 39.2 22 22 g
1JG9-10-080G 7/8"X14 G1/2"X14 0115 37.8 43.2 22 27 ALJG-OG
1JG9-10-120G 7/8"X14 G3/4"X14 0119 41 493 | 27 32
1JG9-120G 1.1/16"X12 |  G3/4"X14 0119 442 | 493 | 27 32 AJG-0G  S0IC SMRE 74° SHESURSMELL O MM XX =38
————— 907ELBOW JIC MALE 74? CONE / BSP MALE O-RING RUN TEE
1JG9-12-080G 1.1/16"X12 |  G1/2"X14 0115 442 | 465 | 27 27 RE PART B4 THREAD O ZfE O-RING R~F DIMENSIONS
1JG9-12-160G 1.1/16"X12 | G1"X11 0217 48 53 33 41 NO. E G = o | A B C S1 S92
1JG9-160G 1.516"X12|  G1"X11 217 | 49 | &3 33 | 41 AJJG -040G 7/16"X20 | 7/16"X20 | G1/4"X19 o111 | 266 | 265 | 319 | 14 19
1JG9-16-120G 1.5/16"X12 G3/4"X14 0119 49 53 33 32 AJJG -05-05-04PG | 1/2"X20 1/2"X20 | G1/4"X19 O111 | 26.6 | 266 | 31.3 14 19
1JG9-16-200G 1.5/16"X12 |  G1.1/4"X11 0222 538 | 58 41 50 AJJG-05-06-04PG | 1/2"X20 | 9/16"X18 | G1/4"X19 O111 | 266 | 269 | 313 | 14 19
1JG9-200G 1.5/8"X12 G1.1/4"X11 0222 555 | 58 41 50 AJJG -06PG 9/16"X18 | 9/16"X18 | G3/8"X19 O113 | 285 | 285 | 368 | 16 22
11G9-20-160G 1 5/8"%12 G1X11 0217 555 | 58 a1 y AJJG-06-06-04PG | 9/16"X18 | 9/16"X18 | G1/4"X19 O111 | 269 | 269 | 313 | 14 19
AJJG-08-08-06PG | 3/4"X16 3/4"X16 | G3/8"X19 o113 | 32 32 | 368 | 19 22
1JG9-24-160G 1.7/8°X12 G1"X11 0217 625 | 63 48 4“1 AJJG -080G 3/4"X16 3/4"X16 | G1/2"X14 o115 | 35 35 | 432 | 22 27
1JG9-24-200G 1.7/8"X12 G1.1/4"X11 0222 625 | 63 48 50 AJJG -10-10-080G | 7/8"X14 7/8"X14 | G1/2"X14 O115 | 37.8 | 378 | 44 22 27
1JG9-240G 1.7/8"X12 G1.1/2"X11 0224 62.5 63 48 55 AJJG -120G 1.1/16"X12 | 1.1/16"X12 | G3/4"X14 0119 44 44 49.5 27 32
AJJG -160G 1.5116"X12 | 1.5/16"X12 | G1"X11 0217 | 488 | 48.8 | 53 33 41




R, S R £ S

ADAPTORS ADAPTORS
B-i%s i
FHIBL JIC THREAD F MRS JIC THREAD
L L
Y - : : g
m HIESLEEVE \_\“ - M s '«'"«>("’-4W%”
wi| 74° w 74" + w 2 3
o pu( g
st TSt
1JB-ED 1JF
1JB-ED JIC MRS 74° ShfESEE SMROUR B Bt 1JF Al JIC SMBSL 74° S1M4E/ORFS SHMRSC
----------- JIC MALE74CONE/BSP MALE CAPTIVE SEAL ————— _ JIC MALE 74?CONE / ORFS MALE
RE PART ¥4 THREAD We# CAPTIVE R~F DIMENSIONS RE ¥ES THREAD O #E O-RING =t DIMENSIONS
NO. E F Fe | A B | L 51 PR N E F F % Al B L | s1
1JB-04-02ED | 7/16"X20 | G1/8"X28 ED-B02 | 14 | 8 | 295 | 14 1JF-04 7716"X20 | 9167X18 o011 14 | 98 | 295 | 17
1 IB.04ED ez | G1axie om0 | 12 | 12 | 34 | 19 1JF-05-04 |  1/2'X20 9/16"X18 0011 14 | 98 | 2905 | 17
1JB-04-06ED | 7/16"X20 G3/8"X19 ED-BO6 | 14 | 12 | 345 | 22 1JF-0506 | 1/2'%X20 11/16°X16 0012 14 | 112315 | 19
1JB-04-08ED | 7/16'X20 | G1/2'X14 ED-BOS | 14 | 14 | 41 | 27 1JF-06-04 | 9/16°X18 | 9/16"X18 o011 | 141 ] 98 | 30 | 17
1JB-05-04ED |  1/2'X20 G1/4"X19 ED-BO4 | 14 | 12 | 34 | 19 1JF-06 9M16"x18 | 11/16"X16 ©012 | 14| 112 | 31 | 19
1JB-05-06ED |  1/2"X20 G3/8"X19 ED-BO6 | 14 | 12 | 345 | 22 1JF-08-06 | 3/4'X16 11116"X16 012 | 16.7 | 112 | 36 | 22
1JB-06-02ED | 9/16'X18 | G1/8"X28 ED-BO2 | 141 | 8 | 295 | 17 1JF-08 3/4"X16 13/16"X16 o014 | 167 | 128 | 375 | 22
1JB-06-04ED | 9/16'X18 | G1/4"X19 ED-BO4 | 141 | 12 | 34 | 19 1JF-10-08 | 7/8™X14 13/16°X16 o014 | 193 | 128 | 40 | 24
1JB-06ED 9/16'X18 | G3/8"X19 ED-BO6 | 141 | 12 | 345 | 22 1JF-10 7/8°X14 1"x14 ©016 | 193 | 155 | 445 | 27
1JB-06-08ED | 9/16"X18 G1/2"X14 ED-B0S | 141 | 14 | 41 | 27 1JF-12-10 | 1.1/16"X12 1"X14 0016 | 219 | 155 | 475 | 30
1JB-08-04ED | 3/4'X16 G1/4"X19 ED-BO4 | 167 | 12 | 37 | 22 P12 | 111612 | 1.3/16°X12 ©018 | 219 | 17 | S0 | 32
1JB-08-06ED |  3/4"X16 G3/8"X19 ED-BO6 | 167 | 12 | 375 | 22 1JF-16-12 | 1.5/16°X12 | 1.3/16"X12 ©o18 | 231 | 17 | 51 | 36
1B.08ED 2416 C1/2'%14 co508 | 167 | 14 | 235 | 27 1UF-16 | 1.516'X12 | 1.7/16"X12 0021 | 231 | 175 | 515 | 38
1B1008eD | 7/8'x14 S1/2'%14 0508 | 193 | 14 265 | 27 1JF-20-16 | 158°X12 | 1.716"X12 0021 | 243 | 175 | 545 | 46
1 B10-12eD | 7/8x14 G3/4"x14 o512 [ 103 | 16 | a75 | 32 1JF-20 15/8"X12 | 1.11/16"X12 0025 | 243 | 175 | 545 | 46
1JB-12-08ED | 1.116"X12 | G1/2"X14 ED-BO8 | 219 | 14 | 485 | 30 1JF-24-20 | 1.7/8°X12 | 1.11/16X12 ©025 | 275 | 175 | 60 | S0
1JB-12ED | 1.1/16"X12 | G3/4"X14 ED-B12 | 219 | 16 | 50 | 32 1JF-24 1.7/8°X12 2'X12 0029 | 275 | 175 | 60 | 55
1JB-12-16ED | 1.116"X12 | G1"X11 ED-B16 | 219 | 18 | 56 | 41
1JB-16-12ED | 1.516"X12 | G3/4"X14 ED-B12 | 231 | 16 | 53 | 36
1JB-16ED | 1.516"X12 | G1"X11 ED-B16 | 231 | 18 | 57 | 41
1JB-16-20ED | 1.516"X12 | G1.1/4"X11 ED-B20 | 231 | 20 | 61 | 50
1JB-20-16ED | 1.5/8"X12 G1"X11 ED-B16 | 243 | 18 | 58 | 46
1JB-20ED 15/8"X12 | G1.1/4"X11 ED-B20 | 243 | 20 | 62 | 50
1JB-20-24ED | 1.5/8"X12 | G1.1/2"X11 ED-B24 | 243 | 22 | 64 | 55
1JB-24-20ED | 1.7/8"X12 | G1.1/4"X11 ED-B20 | 275 | 20 | 655 | 50
1JB-24ED 17/8°X12 | G1.1/2"X11 ED-B24 | 275 | 22 | 675 | 55




®-7vs

E %84 JIC THREAD

R £ S

ADAPTORS

R S

ADAPTORS
| e
£ #1884 JIC THREAD
S VNN
S2
—O-O—Xﬁ
w
~ N
L
NB200
NB200 E£H JIC IO BB LR
------------ JIC FLARE TUBE END NUT
5 PART &4 THREAD F 41412 INCH SLEEVE Afill#tE METRIC SLEEVE | R~ DIMENSIONS
oL E % T4z OD] HERE | ETHME | HERENO| L | s2
NO. 0O.D.
NB200-04 7/16"X20 1/4" NB300-04 6 NB500-06 15.8 14
NB200-05 1/2"X20 5/16" NB300-05 8 NB500-08 17.3 17
NB200-06 9/16"X18 3/8" NB300-06 10 NB500-10 18.5 19
NB200-08 3/4"X16 1/2" NB300-08 12 NB500-12 21.6 24
NB200-10 7/8"X14 14 NB500-14 249 27
NB200-10 7/18"X14 15 NB500-15 249 27
NB200-10 7/8"X14 5/8" NB300-10 16 NB500-16 24.9 27
NB200-12 1.1/16"X12 3/4" NB300-12 18 NB500-18 26.2 32
NB200-12A 1.1/16"X12 20 NB500-20A 26.2 32
NB200-14 1.3/16"X12 20 NB500-20 27.7 36
NB200-14 1.3/16"X12 7/8" NB300-14 22 NB500-22 27.7 36
NB200-16 1.5/16"X12 1™ NB300-16 25 NB500-25 28.7 38
NB200-20 1.5/8"X12 28 NB500-28 31.2 50
NB200-20 1.5/8"X12 30 NB500-30 31.2 50
NB200-20 1.5/8"X12 1.1/4" NB300-20 32 NB500-32 31.2 50
NB200-24 1.7/8"X12 35 NB500-35 36.1 60
NB200-24 1.7/8"X12 1.1/2" NB300-24 38 NB500-38 36.1 60
NB200-32 2.1/2"X12 2" NB300-32 50 NB500-50 445 75

1JM-ED
1JM-ED JIC SMBREZL 74° SMEE/A B SRS %
------------ JIC MALE 74°CONE/METRIC MALE CAPTIVESEAL
R5 124 THREAD & CAPTIVE R~} DIMENSIONS
PART NO. E F F o A B L S1
1JM-04-10ED |  7/16"X20 M10X1 ED-B02 14 8 295 | 17
1JM-04-12ED |  7/16"X20 M12X1.5 ED-M12 14 12 34 17
1JM-05-14ED 1/2"X20 M14X1.5 ED-B04 14 12 34 19
1JM-06-14ED |  9/16"X18 M14X1.5 ED-B04 141 | 12 34 19
1JM-06-18ED |  9/16"X18 M18X1.5 ED-M18 141 | 12 | 365 | 24
1JM-06-20ED |  9/16"X18 M20X1.5 ED-M20 141 | 14 | 405 | 27
1JM-08-18ED 3/4"X16 M18X1.5 ED-M18 16.7 | 12 39 24
1JM-08-20ED 3/4"X16 M20X1.5 ED-M20 16.7 | 14 43 27
1JM-08-22ED 3/4"X16 M22X1.5 ED-M22 16.7 | 14 | 435 | 27
1JM-10-18ED 7/8"X14 M18X1.5 ED-M18 193 | 12 | 415 | 24
1JM-10-20ED 7/8"X14 M20X1.5 ED-M20 193 | 14 | 455 | 27
1JM-10-22ED 7/8"X14 M22X1.5 ED-M22 193 | 14 46 27
1JM-12-20ED | 1.1/16"X12 M20X1.5 ED-M20 219 | 14 | 485 | 30
1JM-12-22ED | 1.1/16"X12 M22X1.5 ED-M22 219 | 14 49 30
1IM-12-26ED | 1.1/16"X12 M26X1.5 ED-B12 219 | 16 52 32
1JM-12-27ED | 1.1/16"X12 M27X2 ED-B12 219 | 16 52 32
1JM-16-26ED | 1.5/16"X12 M26X1.5 ED-B12 231 | 16 53 36
1JM-16-33ED | 1.5/16"X12 M33X2 ED-B16 231 | 18 57 41
1JM-20-42ED | 1.5/8"X12 M42X2 ED-B20 243 | 20 62 50
1JM-20-48ED | 1.5/8"X12 M48X2 ED-B24 243 | 22 64 55
1JM-24-48ED | 1.7/8"X12 M48X2 ED-B24 275 | 22 | 675 | 55




R S8 R £ S

ADAPTORS ADAPTORS
W5t b i A
EH8Z JIC THREAD ZH4ELC JIC THREAD
L, L
. %.
() _ @] —St
NB300 NB500
NB300 JIC EHIERE NB500 JIC AHIERE
------------ JIC INCH SLEEVE eome-—m=- JIC METRIC SLEEVE
RS PART ¥4 THREAD % F4M& TUBE O.D. R~ DIMENSIONS 5 PART ¥4, THREAD & F4M& TUBE O.D. R~} DIMENSIONS
NO. in D | L NO. mm D L
NB300-04 7/16"X20 1/4" 9.73 | 104 NB500-06 7/16"X20 6 9.7 | 104
NB300-05 1/2"X20 5/16" 113 | 11.2 NB500-08 1/2"X20 8 113 | 11.2
NB300-06 9/16"X18 3/8" 12.75| 127 NB500-10 9/16"X18 10 127 | 12.7
NB300-08 3/4"X16 1/2" 17.32| 142 NB500-12 3/4"X16 12 173 | 14.2
NB300-10 7/8"X14 5/8" 20.24| 1638 NB500-14 7/8"X14 14 202 | 168
NB300-12 1.1/16"X12 3/4" 2469 173 NB500-15 7/8"X14 15 202 | 16.8
NB300-14 1.3/16"X12 7/8" 27.86| 19.3 NB500-16 7/8"X14 16 202 | 168
NB300-16 1.5/16"X12 " 31.04| 19.8 NB500-18 1.1/16"X12 18 247 | 173
NB300-20 1.5/8"X12 1.1/4" 38.96| 23.1 NB500-20A 1.1/16"X12 20 247 | 173
NB300-24 1.7/8"X12 1.1/2" 4531| 284 NB500-20 1.3/16"X12 20 278 | 193
NB300-32 2.1/2"X12 2" 61.19| 30.2 NB500-22 1.3/16"X12 22 278 | 193
NB500-25 1.5/16"X12 25 31 19.8
NB500-28 1.5/8"X12 28 38.9 | 23.1
NB500-30 1.5/8"X12 30 38.9 | 23.1
NB500-32 1.5/8"X12 32 38.9 | 23.1
NB500-35 1.7/8"X12 35 453 | 284
NB500-38 1.7/8"X12 38 453 | 284
NB500-50 2.1/2"X12 50 61.2 | 30.2




R £ S

R £ S

ADAPTORS
.F‘nn—','.""i B
¥:22 FLANGE
SgS S
i
. =
a -4 m
N [ *
et a - ‘ -—
A
1CFL
1CFL EEREL RS
------------ SAE FLANGE WITH STANDARD SERIES
% i s
PART | L UBE M d1 | L1 11 i M1 | 81| 82| 86| g3
NOMBER
OD. bar
1CFL-15L-08 | 1/2 15-L | M22x15 |12 |56 | 410 | 115 |M8 |24 |27 |6 | 315
1CFL-16S-08 | 1/2 16-S | M24x15 |12 |60 |[415 | 115 | M8 |24 |30 |6 |350
1CFL-18L-12 | 3/4 18-L | M26x15 |15 |62 | 455 | 155 | M10 |30 |32 |8 |315
1CFL-22L-12 | 3/4 | 22-L | M30x2 19 |62 | 455 | 155 |M10 |30 |36 [8 | 160
1CFL-20S-12 | 3/4 | 20-S | M30x2 16 |68 | 465 | 155 | M10 |30 |36 |8 |[350
1CFL-25S-12 | 3/4 | 25-S | M36x2 17 |69 | 450 | 155 | M10 |30 |46 |8 |[350
1CFL-28L-16 | 1 28-L | M36x2 24 |63 | 465 | 135 |M10 |36 |41 |8 | 160
1CFL-30S-16 | 1 30-S | M42x2 24 |76 | 495 | 135 | M10 |36 |50 |8 | 350
1CFL-35L-20 | 1 1/4 | 35-L | M45x2 30 |69 | 475 | 185 |M10 |41 |50 |8 | 160
1CFL-255-20 | 1 1/4 | 25-S | M36x2 20 | 72 | 480 | 185 |M10 |41 |46 |8 |280
1CFL-30S-20 | 1 1/4 | 30-S | M42x2 25 |75 | 485 | 185 |M10 |41 |50 |8 | 280
1CFL-38S-20 | 1 1/4 | 38-S | M52x2 28 |81 | 500 (185 |M10 |46 |60 |8 |280
1CFL-42L-24 | 11/2 | 42-L | M52x2 36 |76 | 530 |[185 |M12 |46 |60 |10 | 160
1CFL-385-24 | 11/2 | 38-S | M52x2 32 |85 | 540 |[185 |M12 |46 |60 |10 | 210

ADAPTORS
.F‘nn—'ﬁ B
%2 FLANGE
REE T I
r A B > | s,
+ a T 4: J_j(
N K | RESY |
3
= A il ) Y il stz
1CFL9
1CFL9 BE=AEMEL MRS
------------ 90°ELBOW SAE FLANGE WITH STANDARD SERIES
mE
5 Bk 1%% M a1 | Lt i i M1 | 1| s2 | s6 %j/;
PART NOMBER EO E71
D. bar
1CFL9-15L-08 12 | 15L |M22x15 |12 |56 | 410 | 115 |M8 |24 |27 |6 |315
1CFL9-16S-08 12 | 168 |M24x15 |12 |60 |415 [115 [mM8 |24 |30 |6 |350
1CFL9-18L-12 3/4 | 18-L | M26x15 |15 |62 |455 | 155 |M10 |30 |32 |8 |315
1CFL9-22L-12 3/4 |22.L |M30x2 |19 |62 |455 | 155 |M10 |30 |36 |8 | 160
1CFL9-20S-12 3/4 |20-S |M30x2 |16 |68 |465 | 155 |M10 |30 |36 |8 |350
1CFL9-25S-12 34 |25 |M36x2 |17 |69 [450 |155 |M10 |30 |46 |8 |350
1CFL9-28L-16 1 28-L | M36x2 |24 |63 |465 | 135 |M10 |36 |41 |8 | 160
1CFL9-30S-16 1 30-S | Md2x2 |24 |76 |495 | 135 |M10 |36 |50 |8 |350
1CFL9-35L-20 11/4 | 255 |M36x2 |20 |72 [480 [235 | M10 |41 |46 |10 | 280
1CFL9-255-20 11/4 | 30-S |Ma2x2 |25 |75 |485 | 235 | M10 |41 |50 |10 | 280
1CFL9-30S-20 11/4 | 38S |M52x2 |28 |81 |500 | 235 | M10 |46 |60 |10 | 280
1CFL9-385-20 11/4 | 42-L |[M52x2 |36 |76 |530 | 185 | M10 |46 |60 |10 | 160
1CFL9-42L-24 112 | 38S |M52x2 |32 |85 |540 |185 [M12 |46 |60 |10 | 210




.Fﬁnn—'ﬁ B
2% FLANGE
o =+ (i3]
HOAD | |
a
— A -
1CFS
1CFS HERBEL-TERY
------------ SAE FLANGE WITH HIGH PRESSURE SERIES
ME
25 St s
PART #iE | TUB M d1 | L1 11 i M1 | 81| 82|86 |
NOMBER EO .
D. bar

1CFS-16S08 | 1/2 | 16-S | M24x15 | 12 | 63 445 | 135 | M8 |24 [30 |6 | 400
1CFS-16S-12 | 3/4 | 16-S | M24x15 | 12 | 69 505 | 155 | M10 |30 |30 |8 |400
1CFS-20S-12 | 3/4 | 20-S | M30x2 16 | 72 505 | 155 | M10 |30 |36 |8 |400
1CFS-25S-12 | 3/4 | 25-S | M36x2 17 | 75 510 | 155 | M10 |30 |46 |8 |400
1CFS-25S-16 | 1 25-S | M36x2 | 20 | 84 60.0 | 205 | M12 |36 |46 |10 | 400
1CFS-30S-16 | 1 30-S | M42x2 | 24 | 87 605 | 205 | M12 |36 |50 |10 | 400
1CFS-30S20 | 11/4 | 30-S | M42x2 | 25 | 92 655 | 225 | M14 |41 |50 |12 | 400
1CFS-38S20 | 11/4 | 38-S | M52x2 | 30 | 98 670 | 225 | M14 |46 |60 |12 | 315
1CFS-38S24 | 11/2 | 38-S | M52x2 |30 | 104 |73.0 | 245 |M16 |46 |60 | 14 | 315

ADAPTORS
.F‘nn—ﬁ B
2 FLANGE
1FLW
1FLW B2 REEEL RS
------------ WELD AE FLANGE WITH STANDARD SERIES
e %ﬂjﬁ% =N
PART A% 7 A a | B| b |S6| i M1 | a1 | a7 | 11 | LfF
NOMBER TUBE EA
OD. bar
1FLW-08-15x2 1/2 | 15x2 54 | 381|46|175| 6 |11.5| M8 11| 239 | 38 | 353
1FLW-08-16x3 1/2 | 16x3 54 | 38.1|46|175| 6 |11.5| M8 10 | 23.9 | 38 | 350
1FLW-12-18x2 3/4 | 18x2 65 | 476 |52 |222| 8 |155| M10| 14| 31.8 | 50 | 210
1FLW-12-22x2 3/4 | 22x2 65 | 476 |52 |222| 8 |155| M10| 18| 31.8 | 50 | 228
1FLW-12-20x3 3/4 | 20x3 65 | 476 |52 |222| 8 |155| M10| 14| 31.8 | 50 | 350
1FLW-12-25x3 3/4 | 25x3 65 | 476 |52 |222| 8 |155| M10| 19| 31.8 | 50 | 350
1FLW-16-28x3 1 | 28x3 70 | 524 59265 8 |135| M10| 22| 38.0 | 50 | 182
1FLW-16-30x4 1 | 30x4 70 | 524 |59 |265| 8 |135| M10| 22| 38.0 | 50 | 350
1FLW-20-35x4 1.1/4 | 35x4 79 | 587 |73|302|10 |235| M10| 27| 43.0 | 55 | 147
1FLW-20-25x3 1.1/4 | 25x3 79 | 587 |73/302|10 |235| M10| 19| 43.0 | 55 | 280
1FLW-20-30x4 1.1/4 | 30x4 79 | 58.7|73|302 |10 |235| M10| 22| 43.0 | 55 | 280
1FLW-20-38x5 1.1/4 | 38x5 79 | 587 |73/302|10 |235| M10| 28| 43.0 | 55| 280
1FLW-24-42x3 1.1/2 | 42x3 94 | 69983357 |10 | 185 | M12| 36| 50.0 | 57 | 182
1FLW-24-38x4 1.1/2 | 38x4 94 | 69983357 |10 | 185 | M12| 30| 50.0 | 57 | 210
1FLW-32-50x6 2 | 50x6 102 | 77.8 | 97 | 429 | 10 | 19.0 | M12| 38| 62.0 | 62 | 210
1FLW-32-65x8 2 | 65x8 102 | 77.8 | 97 | 429 | 10 | 19.0 | M12| 49| 65.0 | 62 | 210




R S

R £ S

ADAPTORS
.F':nn_"'}'f B
¥ FLANGE
N
, o _ S
r /| S
Y s -
a + | [ 1
- =l |
- M—] Sz
UL
1CFS9
1CFS9 EEREAEL-TERS
------------ 90°ELBOW SAE FLANGE WITH HIGH PRESSURE SERIES
W BK
K5 sz Ik
PART NOMBER HRHE TUBE M d1 L2 12 13 | M1 S1 S2 | S6 E
OD. bar
1CFS9-16S-08 1/2 16-S | M24x1.5 12 48 |1 295 (39| 135 | M8 24 30 6 400
1CFS9-16S-12 3/4 16-S M24x1.5 12 55136.5|48| 155 | M10 32 30 8 400
1CFS9-20S-12 3/4 20-S M30x2 16 57 1355|148 | 155 | M10 32 36 8 400
1CFS9-25S8-12 3/4 25-S M36x2 17 60 | 36.0 | 48 | 15.5 | M10 32 46 8 400
1CFS9-25S-16 1 25-S M36x2 20 65|44.0| 60| 205 | M12 41 46 | 10 400
1CFS9-30S-16 1 30-S M42x2 24 68| 415 |60 | 20.5| M12 41 50| 10 400
1CFS9-30S-20 1.1/4 | 30-S M42x2 25 711 68.0| 68| 225| M14 46 50| 12 400
1CFS9-38S-20 1.1/4 | 38-S M52x2 30 76 | 68.0 | 60| 225 | M14 46 60 | 12 315
1CFS9-38S-24 1.1/2 | 38-S M52x2 30 87 |56.0| 76| 245 | M16 50 60 | 14 | 315

ADAPTORS
.F':nn—'yl"xf. B
¥:2% FLANGE
/&
N — j__l\r 6«%3 Fl
| —
i
E— I1 -
1FSW
1FSW EEAREEL-RERT
------------ WELD AE FLANGE WITH HIGH PRESSURE SERIES
PART/rIEO%MBER b ?Ljé%ﬁg S6 i M1 | d1 | d7 11 %Kfﬁ’ij’
1FSW-08-16X3 1/2 1ol 6 | 135 | M8 | 10 | 239 | 41 415
1FSW-12-16X3 3/4 16- 8 | 155 | M10 | 10 | 31.8 | 55 415
1FSW-12-20X4 3/4 20- 8 | 155 | M10 | 12 | 31.8 | 55 415
1FSW-12-25X5 3/4 25- 8 | 155 | M10 | 15 | 31.8 | 55 415
1FSW-16-25X5 1 25- 10 | 205 | M12 | 15 | 38.0 | 67 415
1FSW-16-30X4 1 30- 10 | 205 | M12 | 22 | 38.0 | 67 323
1FSW-16-30X6 1 30- 10 | 205 | M12 | 18 | 38.0 | 67 415
1FSW-20-30X4 11/4 30- 12 | 225 | M14 | 22 | 437 | 78 323
1FSW-20-30X6 11/4 30- 12 | 225 | M14 | 18 | 437 | 78 415
1FSW-20-38X5 11/4 38- 12 | 225 | M14 | 28 | 437 | 78 319
1FSW-20-38X8 11/4 38- 12 | 225 | M14 | 22 | 437 | 78 415
1FSW-24-38X5 11/2 38- 14 | 245 | M16 | 28 | 50.8 | 85 319
1FSW-24-38X8 11/2 38- 14 | 245 | M16 | 22 | 50.8 | 85 415
1FSW-32-50X9 2 50- 17 | 325 | M20 | 32 | 66.6 | 116 415
1FSW-32-65X8 2 65- 17 | 325 | M20 | 49 | 66.6 | 116 300




R £ S

.F‘nn—'ﬁ B
¥ FLANGE

1JFL

JIC #MBRLL 74° M2 R 122 1SO6162-1
JIC MALE 740 NE L-SERIES FLANGE 1S06162-1

HESLEEVE

R EFNUT

R £ S

ADAPTORS

RE $24r THREAD HERS (OF:t): R~ DIMENSIONS
PART NO. E FLANGE SIZE |0 RING d1 L
1JFL-08 | 3/4"X16 1/2" 0210 6.73 | 30.2 435
1JFL-08-12| 3/4"X16 3/4" 0214 6.73 | 38.1 454
1JFL-10-08 | 7/8"X14 1/2" 0210 6.73 | 30.2 48
1JFL-10-12| 7/8"X14 3/4" 0214 6.73 | 38.1 48
1JFL-12-08| 1.1/16X12 1/2" 0210 6.73 | 30.2 49
1JFL-12 1.1/16X12 3/4" 0214 6.73 | 38.1 50.5
1JFL-12-16| 1.1/16X12 1" 0219 8 | 444 52.2
1JFL-16-12| 1.5/16"X12 3/4" 0214 6.73 | 38.1 52
1JFL-16 1.5/16"X12 1" 0219 8 | 444 53.4
1JFL-16-20| 1.5/16"X12 1.1/4" 0222 8 | 50.8 52.2
1JFL-20-16| 1.5/8"X12 1" 0219 8 | 444 54.5
1JFL-20 1.5/8"X12 1.1/4" 0222 8 | 508 53.1
1JFL-20-24 | 1.5/8"X12 1.1/2" 0225 8 | 60.3 56
1JFL-24-20| 1.7/8"X12 1.1/4" 0222 8 | 50.8 56.5
1JFL-24 1.7/8"X12 1.1/2" 0225 8 | 60.3 59.2
1JFL-24-32| 1.7/8"X12 2" 0228 9.53| 714 60
1JFL-32 | 2.1/2"X12 2" 0228 953 | 714 66.3

ADAPTORS
.Fﬁnn—%ﬁ B
%% FLANGE
1CF-LK
1CF-LK W 7 Rk 2 ek
------------ FLANG CONNECTION
fofsy Vs
PART/FISCJ?M BER T?JﬂBgE%){%. B ES Rz =g e | G = %qu/f}ij
1CF-10L-35LK 10-L 39 |35[390|30| 70 | 8 |125| M6 19 315
1CF-12L-35LK 12-L 39 | 35 390 /30| 7.0 | 10| 125| M6 22 315
1CF-15L-35LK 15-L 39 | 35 380 /30| 7.0 |12 125| M6 27 250
1CF-16S-35LK 16-s 39 | 35|395|30| 85 | 12| 125| M6 30 315
1CF-15L40LK 15-L 42 | 40 | 43.0 35| 7.0 | 12| 125| M6 27 100
1CF-18L40LK 18-L 42 | 40 | 440 | 35| 75 | 15| 125 | M6 32 100
1CF-22L-40LK 22-L 42 | 40 | 445 35| 75 [ 19| 125 | M6 36 100
1CF-28L-40LK 28-L 42 | 40 | 445 | 35| 7.5 | 24 | 125 | M6X22 | 41 100
1CF-20S-55LK 20-S 57 | 55 | 61 | 50| 105 | 16 | 12.5 | M8X25 | 36 250
hz
;I2,5 hy
i=
TE o~
5 -I % |
1CF9-LK
1CF9-LK WES R L R E AL
------------ 90°ELBOW FLANGE CONNECTION
RE M sz BAT/EES
PART NOMBER TuBEOD. | 1| XK L2 ' L it i) e bar
1CF9-10L35LK 10 39 |35 470 |38 70 | 165 265 | 19 | 315
1CF9-12L-35LK 12 39 |35 470 |38 70 | 165 265 | 22 | 315
1CF9-15L-40LK 15 42 | 40 46.0 | 38 70 | 225 36.5 | 27 | 100
1CF9-15L-35LK 15 39 |35 46.0 | 38 70 |165 265 | 27 | 250
1CF916S-35LK 16 39 |35 480 |38 8.5 |20.0 31.0 |30 | 315
1CF9-18L-40LK 18 42 | 40 470 | 38 75 | 225 365 | 32 | 100
1CF9-20S-55LK 20 58 | 55 56.0 | 45 10.5 | 24.0 38.0 | 36 | 250
1CF9-20S-40LK 20 42 | 40 50.0 |40 105 | 225 355 | 36 | 250
1CF9-22L-40LK 22 42 | 40 475 | 38 75 | 225 36.5 | 36 | 100
1CF9-25S-55LK 25 58 |55 61.0 | 49 12.0 | 30.0 46.0 | 46 | 250
1CF9-28L-40LK 28 42 | 40 49.0 |40 75 | 280 43.0 |41 | 100
1CF9-30S-55LK 30 58 | 55 62.0 | 49 13.5 | 32.0 50.0 | 50 | 250
1CF9-35L-40LK 35 42 | 40 52.0 | 41 10.5 | 32.0 55.0 | 50 | 100
1CF9-35L-55LK 35 58 |55 62.0 | 49 10.5 | 32.0 515 | 50 | 100
1CF9-42L-55LK 42 58 |55 61.0 | 49 11.0 | 40.0 645 | 60 | 100




.F‘nn_‘ﬁ B
¥ FLANGE

1JFL9 90° &) JIC AMELL 74° 4 R Bk 1S06162-1
90%ELBOW JIC MALE 74CONE L

ST
HTESLEEVE

1JFL9

-SERIES FLANGE ISO6162 -1

R £ S

ADAPTORS

.F': m— B
¥:2% FLANGE
L L q BBENUT

ot SLEEVE

RS ¥24 THREAD BERE | ORE R} DIMENSIONS

PART NO. E FLANGE SIZE |ORING A B i d1 S1
1JFL9-08 3/4"X16 1/2" 0210 325| 44 | 673 | 302 | 19
1JFLO-08-12 | 3/4"X16 3/4" 0214 38 | 541 | 6.73 | 381 | 27
1JFL9-10-08 | 7/8"X14 1/2" 0210 375| 44 | 673 | 302 | 22
1JFL9-1Q-12 | 7/8"X14 3/4" 0214 41 541 | 6.73 | 381 | 27
1JFL9-12 1.1/16"X12 3/4" 0214 445 541 | 673 | 381 | 27
1JFL9-12-16 | 1.1/16"X12 1" 0219 48 | 602 | 8 | 444 | 33
1JFL9-16 1.5/16"X12 1" 0219 49 | 602 | 8 | 444 | 33
1JFL9-16-12 | 1.5/16"X12 3/4" 0214 49 | 58 | 6.73 | 38.1 | 33
1JFL9-16-20 | 1.5/16"X12 1.1/4" 0222 54 | 665| 8 | 508 | 41
1JFL9-20 1.5/8"X12 1.1/4" 0222 555| 665| 8 | 50.8 | 41
1JFL9-2Q-16 | 1.5/8"X12 1" 0219 555 | 65 8 | 444 | 41
1JFL9-20-24 | 1.5/8"X12 1.1/2" 0225 60 | 793 | 8 | 603 | 48
1JFL9 -24 1.7/8"X12 1.1/2" 0225 625| 793 | 8 | 603 | 48
1JFL9-24-20 | 1.7/8"X12 1.1/4" 0222 625| 755| 8 | 50.8 | 48
1JFL9-24-32 | 1.7/8"X12 2" 0228 745| 108 | 953 | 714 | 63
1JFL9-32 2.1/2"X12 2" 0228 80 108 | 953 | 714 | 63

74% w ° a
1
I ]
1JFS
1JFS Sl JIC FMZRLL 74° SMNE/F R B2 1S06162-2
---------- - JIC MALE 74° CONE S-SERIES FLANGE 1S06162-2
An=7 Y24 THREAD BERE oFil:] JR~F' DIMENSIONS
PART NO. E FLANGE SIZE O RING I d1 L
1JFS-08 3/4"X16 1/2" 0210 7.75 31.7 47.5
1JFS-10-08 7/8"X14 1/2" 0210 7.75 31.7 50
1JFS-10-12 7/8"X14 3/4" 0214 8.76 41.3 55
1JFS-12 1.1/16"X12 3/4" 0214 8.76 41.3 56.7
1JFS-12-16 1.1/16"X12 1" 0219 9.53 47.6 61.5
1JFS-16-12 1.5/16"X12 3/4" 0214 8.76 41.3 57.8
1JFS-16 1.5/16"X12 1" 0219 9.53 47.6 62.8
1JFS-16-20 1,5/16"X"2 1.1/4" 0222 10.29 54 67.7
1JFS-20-16 1.5/8"X12 1" 0219 9.53 47.6 64
1JFS-20 1.5/8"X12 1.1/4" 0222 10.29 54 68.9
1JFS-20-24 1.5/8"X12 1.1/2" 0225 12.57 63.5 73.5
1JFS-24-20 1.7/8"X12 1.1/4" 0222 10.29 54 72
1JFS-24 1.7/8"X12 1.1/2" 0225 12.57 63.5 76.7
_ooda
_F i
WEENUT
@ =
#TAESLEEVE
74 : b @ | C: ;
] s1 o
L . -

1JFS9

1JFS9 907?73 JIC SMERLL 74° #ME/E RFVEZ 1SO6162-2
90°ELBOW JIC MALE 74Z0ONE S -SERIES FLANGE 1S06162 -2

K5 B4 THREAD HEXRS O Zipg| R~ DIMENSIONS

PART NO. E FLANGE SIZE |ORING A B i d1 S1
1JFS9-08 3/4"X16 1/2" 0210 32.5 44 7.75 31.7 19
1JFS9-10-08 7/8"X14 1/2" 0210 37.5 46 7.75 31.7 22
1JFS9-10-12 7/8"X14 3/4" 0214 41 54.1 8.76 41.3 27
1JFS9-12 1.1/16"X12 3/4" 0214 44.2 54.1 8.76 41.3 27
1JFS9-12-16 1.1/16"X12 1" 0219 48 60.2 9.6 47.6 33
1JFS9-16 1.5/16"X12 1" 0219 49 60.2 9.53 47.6 33
1JFS9-16-12 1.5/16"X12 3/4" 0214 49 57 8.76 41.3 33
1JFS9-16-20 1.5/16"X12 1.1/4" 0222 54 66.5 10.29 54 41
1JFS9-20 1.5/8"X12 1.1/4" 0222 55.5 66.5 10.29 54 41
1JFS9-20-16 1.5/8"X12 1" 0219 55.5 65 9.53 47.6 41
1JFS9-20-24 1.5/8"X12 1.1/2" 0225 59.5 79.3 12.57 63.5 48
1JFS9-24 1.7/8"X12 1.1/2" 0225 62.5 79.3 12.57 63.5 48
1JFS9-24-20 1.7/8"X12 1.1/4" 0222 62.5 70 10.29 54 48




	1.pdf
	页 1

	未命名
	页 1

	未命名
	页 1

	康迪册子�
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50
	页 51
	页 52
	页 53
	页 54
	页 55
	页 56
	页 57
	页 58
	页 59
	页 60
	页 61
	页 62
	页 63
	页 64
	页 65
	页 66
	页 67
	页 68
	页 69
	页 70
	页 71
	页 72
	页 73
	页 74
	页 75
	页 76
	页 77
	页 78
	页 79
	页 80
	页 81
	页 82
	页 83
	页 84
	页 85
	页 86
	页 87
	页 88
	页 89
	页 90

	康迪
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42




